|_|q HAavKON®

PNEUNMATIC

vioc




PDF Compressor Free Version

CON

HavKon®

PNEUMATIC

DNC Series ISO6431 Standard Cylinder. 01-02
DNG Series ISO15552 Standard Cylinder. 03
Sl Series [S06431 Standard Cylinder. ..04-06
SC/SU Series Standard Cylinder. 07-09
MB Series Standard Cylinder(Japanese standard) 10
CA1 Series Standard Cylinder. 11
MAG432 Series Stainless Steel Mini CylinderISO6432).......ccv i 12-13
MA Series Stainless Steel Mini Cylinder. 14-16
MAL Series Aluminum alloy Mini Cylinder. w17-19
CM2 Series Stainless Steel mini Cylinder. 20
CJ2 Series Stainless Steel Type Cylinder. 21-22
ADVU Series Compact Cylinder. 23
SDA Series Thin Type{Compact) Cylinder. 24-29
CQ2 Series Compact Cylinder. 30-32
CIP Series Needle Cylinder, 33
TN Series Double-Shaft Cylinder. 34-35
CXS Series Double-Shaft Cylinder. 36-37
CU Series Free Installation Cylinder. 38-40
STM Series Slide Bearing Cylinder. 41-45
MGP Series Three-Shaft Cylinder. 46-49
RSQ Series Stopper Cylinder(Fixed Mounting height) 50-51
XCK Series Clamping Cylinder. 52
MS( Series Rotary Table,Rack & Pinion Cylinder. 53-55
XHZ2/XHC2/XH(2 Series Pneumatic Gripper. 56
XHT2 Series Angle Style Air Gripper/CY1 Series Rodless Cylinder. 57
Cylinder Accessories 58-64
Assembly kits/Tube and piston rod for pneumatic cylinder. 65-68
XC-03/XC-21R/XC-31R/XC-11R Series Magnetism Switch 69-72
BK/PBN/PN Series Clamp 73
PI/PAC/PM/SU Series Bracket 74-75
HAC/HAD/HR series Shock Absorbers 76
XAT Series Pneumatic Actuator. 77-85
XOU Series Air Source Treatment Unit 46-87
XOFR Series Filter & Regulator. 38-B9
XOR Series Regulator. 90-91
XOF Series Air Filter. 92-93
XOL Series Lubricator. 94-95
KACLO00~5000 Series Air Filter Combination{F.R.L Combination) 97-98
XAC1010~5010 Series Air Filter Combination{FR.L Combination)} 99-100
XAF1000~5000 Series Air Filter. 101
XAR 1000~5000 Series Regulator. 102
XAW 1000~5000 Series Filter & Regulator. 103
XAL 1000~5000 Series Lubricator. 104
XG Series 2000~5000 Source Treatmat Unit 105

&

HavKon™
PHNEUMATIC
XMAC 2000~5000 Series Air Filter Combination{Three Elements) 106
XMAC 2010~5010 Series Air Filter Combination{Two Elements) 107
XMAW 2000~5000 Series Filter & Regulator. 108
XMAF 2000~5000 Series Air Filter 109
XMAL 2000~5000 Series Lubricator. 110
ACBC Series Air Source Treatment Unit{F.R.L) 111
AFC,BFC Series Air Source Treatment Unit{FR.L) 112
AFR BFR Series Filter&Regulator. 113
AF,BF Series Air Filter. 114
AR.BR Series Regulator. 115
ALBL Series Lubricator. 116
XACT200 Series Air Source Treatment Unit 117
XACP300 Series Air Source Treatment Unit 118
PIR Series Precision Regulator. 118
X5/XC Series Air Source Treatment Unit. 120
XU Series Air Source Treatment Unit 121
H Series High Pressure Regulator/Filter. 121
HADA02/5AHA02/XADY series Auto Drain 122-124
XO/XA Series Air Unit Accessories 124-126
4V,3V100 Series Solenoid Valve 4A,3A100 Series Pneumatic Control Valve 129-132
4V,3V200 Series Solencid Valve 4A,3A200 Series Pneumatic Control Valve 133-136
4V,3v300 Series Solenoid Valve 4A,3A300 Series Pneumatic Control Valve 137-140
AV, 3VA00 Series Solenoid Valve, 4A,3A400 Series Pneumatic Control Valve 141-142
4M Series Plate Type Valve 143-144
VF, VZ Series Solenocid Valve 145-146
3V1 Series Salenoid Valve 147
Base For 4V/4A/VF/VZ/AM Series Valve 148-149
M5V Series Mechanical Valve 150
JMJ Series Mechanical Valve 151
JM/MOV Series Mechanical Valve 152
4R Series Hand-draw Valve 153
HV,K34/4HV Series Hand-switching Valve 154
TSV Series Hand-pull Valve 155
4H Series Hand-pull Valve 156
XC Series Mechanical Manual Valve 157
XC Series Mechanical Hand-draw Valve 158
XC Series Hand-Pull Vahve 158-160
XC-MV Series Mechanical Valve 160-162
4F.FV Series Foot Valve 163-164
RE Series Flow Control Valve/ASC Series Check Valve 165
KLA Series Check Valve 166
KA Series Check Valve 167
KAM Series Check Valve/X(Q Series Quick Exhaust Valve 168
AS Series Check Valve/QE Series Quick Exhaust Valve 189




PDF Compressor Free Version

-Is HavKon®

PNEUMATIC

andard Cylinders

XKP Series Quick Exhaust Valve 170

ST Series Shuttle Valve/CV Series Vacuum Valve 171 cylinder is composed of Front & End Cover, Barrel, Piston, Piston Rod and Seal Rings, which
HSV Hand Sliding Valve. 172 regular pneumatic cylinder. XCPC manufactured standard cylinder for over 20 years, it became
2V Serles 2/2 Solencld Valve HF1e leader in this filed in China. The bore range is from 32mm to 320mm. Our standard cylinder
2P Series 2/2 Solenoid Valve {Plastic Steel Type) 177 B

2W{UD) Series 2/2 Direct Drive Type Solenoid Valve (Small Aperture) 178-179 pNC (ISO6431,VDMA24562,) DNG(ISO15552 ) ,SI(ISO6431), SC/SU, MB{Japanese Standard),
2W(UW) Series 2/2 Direct Drive Type Solencid Valve(Large Aperture) 180-181 so produce specialized cylinder according to customer's requirement.

25 Series Solenoid Valve 182

2W/2S Normal Open Series Sclenoid Valve 183

2L{UsS) Series 2/2 Solenoid Valve 184

PU220 Series 2/2 Solenoid Valve(Direct drive type) 185-186

PU 225 Series 2/2 Solenoid Valve{Guide type) 187

PU 225 Series Solenoid Valve(Steam Type). 188

VX Series 2/2 Solenoid Valve 139

VXF Series Solenoid Valve 150-191

C22/23 Series Solenoid Valve 192

XC5404 Series High Pressure,High Temperature Solenoid Valve 193

XC6213 Series Diaphragm Type Solenoid Valve 194

2Q} Series Air Contor Two-Way Valve. 185

SLP Series 2/2 Solencid Valve{Normal Close) 196-197

SLP Series 2/2 Solenoid Valve(Normal Open) 198-199

THP Series 2/2 Solenoid Valve(Normal Close) 200-201

THP Series 2/2 Solenoid Valve(Normal Open) 202

XMFZ Series Right Angle Pulse Valve 203

XMFY Series In Line Pulse Valve 204 % =

XMF Series Insert Pipe Type Pulse Valve 205 8

XCP Series Plastic Actuator Bevel Valve 206 : "ﬁ % 1

XC Series Stainless Steel Bevel Valve 207 B~

XQ22HD Series (Right angle valve) 208 - >

HLP Series Pressure Controller. 209 ;% c:

Special Solenoid Valve s 210 z g

Solenoid Valve Accessories 211-212 - E-S
Pneumatic Tube Fittings/With G Thread{o-ring) 213-220 z 2
Speed Controls 221 % E % El g §
Mini Fittings 222-223 ce ce | 9=
Hand Valve/Ball Valve 223-224 55 58

Stop Fittings/Check Valves 225 o Vs

Matel Push-In Fittings/With G Thread{O-Ring) 226-234

Stainless Steel 316 Push-In Fittings 234-235

Metal Speed Controls 235-236

Rapid Fittings For The Plastic Tubings 237-239

Pipe Joint Fittings wessnnrorassaranss meens 280-241

Pipe Fittings 242-244

Quick coupler/Multipass Quick Coupler 245

Silencer. 246-247

Air Gun/Pipe 248




IS HavKon®

PNEUMATIC

IS HavKon®

PNEUMATIC

'.
e

. | | | DNC Series 1506431 Standard Cylinder

¥

za+((§tmke)h
L2 L3+{Strake
P v v
vo 3
L&, | |
l l
"OI'I'IIIITIII. u @ L /‘\
DNC-% a3 § v Zj| <3 VNN d .
s 3 & . ||= g
H‘—/l“;-@
= —
awy/
el LS
[ MDNC-80X100 | [ TDNC-30X100 |
| Bore [AM| B [D2[D5 D7 | E [EEG) 43| J4| KK _[12[L3 4[5 16]L7 L6 SW1SW2 VD |WH
32 2 30 12 325 M6 45 1B 6 52 MIOX125 416 628 4 26 16 33 10 10 & 12 26
L] — DNC — 63 X %0 — 25 — § — = 40 24 35 16 38 M6 54 14 B 6 MI2x125 44 77 4 208 16 38 105 13 6 20 30
‘ ‘ ‘ ‘ 50 32 40 20 485 M8 B4 14 10 B85 MI6X15 & 78 4 30 17 51 M5 17 8 27 37
Tube ™ — o o s . Firad T ©3 32 45 20 565 M8 75 M8 124 10 MI6X15 54 87 4 356 17 66 15 17 8 27 97
ube Type riss Code Inder Bors roke  Adjust Storke Magnet Code ixed Typs
BlankiSquare Type  DNC:SO08431 Standard  32mm-125mm 26:25mm Blank:Without Magnet BlanicNommal type & & & B Fina S En 6 Bl B e o den o 1S b o8 il uti
T:Tle-rod Type Double Action Type 50:50mm S:With Magnet LB:Front and back fixed type 100 40 55 25 80 MIO 10 12 118 10 M20X15 698 1004 4 39 17 8 192 2 10 38 S
M:Mickey Mouse Type DNCD:IS06431 Standard Two 75:75mm FA:Front cover flxed type{Front flange typse) ' B4 &0 32 M0 M2 134 1 135 B M27 X2 B3 124 6 447 22 14 905 2 12 48 B5
Axis Doubla Action Type FB:Back cover fixad typs{Back flange type) 128 2 . .
DNCUISO8431 Two Axis CA:Beck covar fixed type (Single Earring)
Stroke Adjust Type CB:Bark cover fixed type(Double Earming) | Overall Dimenslon

SDB:Back cover fixad type

I L P PN M

e i

5 [ NO|  Designation | NO| __Dasignation | boutto patonroatiee 5 (] |1 A
DNC-D-$ o Lp4 1 'A-I_M_J
1 Pleton Rod Nut 2 Piston Rod — %% i
1% X Front Cover Seal Ring 4 Bearing . —
5 Front Cover 6 Buffering O-Ring i
7 i O-Ring 8 Plstion rod O-Ring ZB+(Stroke) vD
18 9 Pigton O-Ring 10 Magne{Optional) - L15+{Stroke)
131 Wear Ring 12 Barrel MIMSNEION SN
13 Piston 14 Cushion Seel | Boe | 3% | 4 [ s | 6 [ 8 | 00 |
15 Cushlon Nesdls 16 Back Over B 30 as 40 45 45 55
17 Hex Sockst Screw 18 Profile Bolt L15 46 165 180 195 220 240
VD 18 20 27 27 247 28.2
ZB 120 135 143 158 174 189

e IET | | | DNCB Series Booster Cylinder )}
| Bore(mm) | 3240 50 [ 63 ] 80 100[125]

Motion Pattern Fitered Alr 32 » e
~ Working Medium Double Action 40 - - | Speciication .

Compression Pressure 1.5MPa 50 25 40 50 80 o -
T e | M e 1 = 100 125 180 - Y | r‘qr{_..»‘ : e T = B r Inder mmblnﬂ 2 or more ISO15552
g Pressu 1.0MPa I o o o 10~2000 A Motion Pattern Fitered Alr smnmda“’rdﬁlmm kit
g Prassure 0.1MPa a0 400 500 - - Compression Pressure 1.5MPa c o o e aﬂasm o :
Alr Buffer(Standard) 100 o Max Operating Pressure  1.0MPa The connection of 2 or more cylinders are linked
5~70C 125 35 MIn.?pergﬂng P ossUre 0.1MPa with the same materal Compact structure and

50~800mm/e ConditionTemparature -5~70T sasy for installartion.
Gie G Gag" Gl [ DNCB-50X25X50 |




PDE Qmpressor Free \lgrsion
.l i

AR

u'| I |

-l |Hav Kon® | 1 * I5|HAav Kon®

PNEUMATIC 1 J PNEUMNMATIC
rr 1..' "n b A
Kl
g 1n i

DNG Series 1S015552 Standard Cylinder | | | ! Series 1506431 Standard Cylinder

i
|

N p 2
L = e
|DNGQ-200X100-5 | | DNG-250X200-5 |
I | $-50X100-25 |
DNG — 160 x 100 — 25 — §  — [ | Ordoring Codo
Serles Code Cylinder Bore Stroke  Adjust Storke  Magnet Code Fixed Type Sl o 50 X B0 — 25 — 8 o L
DNG:IS0 15552 Standard 160mm-320mm 25:25mm Blank:Without Magnst Blank:Nemal type
Double Action Type 50:50mm S:With Magnest LB:Front and back fixed type
DNGD:IS015552 Standard Two 75:75mm FA:Front cover fixed type(Front flanpge typa) Serles Code Cylinder Bors Stroke Ad]ust Storka Magnet Code Fixed Typs
Axls Double Action Type FB:Back cover fbxad type(Back flange type) 811806431 Standard 32mm-200mm 25:26mm Blank-Without Megnet  Blank:Normal type
CB:Back cover fixed type{Double Earring) SID:IS06431 Standard Two 76:75mm FAfront cover fixed type{Front flange type)
I Axis Double Actlon Type FB:back cover fad typa(Back flange type)
SLLIS06431 Two Axls CaA:back cover fixed type (Single Earring)
Stroke Adjust Type CB:back cover fixed type{Double Eaming)
| Bogorm) | w0 | 200 | 250 | 30 | TC:Central Trunrion Type
Mgation Pattemn Double Action TC-M:Central Trunnlon type attaching foot seat
Wor Nl w
Fixed Type Normal type FAfype FBtypa CAtype CBtype LBtiyps TCiype
Warking Pressure Rangs 0.1~1.0MPa : ST | NO | Designation | NO | Deslgnaﬂnn
Ensured Prassure Resistance 1.5MPa L 1 Plston Rod Nut 10
Operating Temperature Range 5-60T = e - = Piston rod " WeMng
Operating Speed Range 50~500mm/s il q " PT—.:| i 3 Front cover seal ring 12 Magnet{Optional)
BwhrType Adjustabls Buffer ] o 3\ _I 4 O-Ring 13 Pistion O-Ring
Port Size G4 GI" 4 NI 5 Bearing 14 Flpe wall O-Ring
Lubreation Not reguired (Use Turbine olll30 Vg32 when nacessary} 1 2 14 B Front cover 15 Damping
7 Buffering O-Ring 16 Hex socket screw
I VO Pl DS !/g/d \U\EW\E | a Piston rmd O-Ring A7 Back cover
H B ActSiroks as ] Barral
[ D BuiTer nut 8] E or
7 | | Specification
2 i _-__é_ __________ 1. | | Borerm) | 3 | 4 [ s | 6 | 8 | 100 | 125 | 160 | 20 |
L = [} Motion Pattern Dauble Action
K . ‘Working Medium Air
Breadth W | - G % Fixed Type Nomal fype FAlype FBiype CAtype CBiype LBtype TCtype
e 0 e Working Pressure Range 0.1~0.9MPa
Ensured Pressure Resistance 1.35MPa
Bore/Symbol “ﬂﬂﬂﬂﬂﬂﬂ“-“-nﬂ-ﬂ Operating Temperature Range 700
200 180 95 70 5O 8 ©78 25 72 ®75 4D  M38X2 MI16 0B 220 175 GIM4" Buffer Type Adjustble Buffer
250 200 105 BY 52 10 80 3 84 B0 50 M42x2 M20 @30 270 220 G1° Buffer Stroke 24 32
320 218 120 82 52 10 10 3 ¢ 110 83 MSX2 M24 o34 340 270 61 Port Size e e i i T




PDELQmpressor Free \jﬁrsion - " =
=g |HavKon™ T 5 |HAvKoN®

'l. ‘ PNEUMATIC .ql J PREUMATIC
.. " Al — n .. " A

'!:,,. | - vis | .
L o2t o L o' "o

| | | S1Series 1506431 Standard Cylinder [ | | S1 Series 1506431 Standard Cylinder
[ Cyiinder theory output
Cylnder Coipres sl
Diaisior s -nnnnn-nn R e — ——
Presa Side 8.04 1608 2412 3216 4020 4B24 5628 || et ==
Admn Full Side 8.80 8.80 13.80 2007 27.80 34.50 4140 48.30 55.20 62.10 F=] i @ F
. " Double Press Side 12.56 1256 2542 3768 5024 6280 7538 8782 10024  113.04 =T e 1P o (-
at 1 Acon  py)l Sida 10.55 1055 2110 3165 4220 5275 6330 7385  B440 8465 - 3 ' @rﬂ* 54 =
50 Doubks Presa Side 1863 18.63 38.26 58.88 78.52 98.15 11776 13741 15704 17667 ma‘:ﬁh 20/ i 1] ﬂ/@
Action  pyil Side 1648 16.49 32.98 49.47 65.98 82.45 8.4 11543 13882 14841 il e e
Doubla  Press Side a7 iz 62.34 83.51 12488 15585 187.02 21819 24838  280.53 AlH X2
& Acion byl Side 2803 28.03 56.06 B4.08 12.12 14015 16818 18621 22424 25227 E B E g * Bw{&nﬂ I._liﬂl'_.ll:ls
' i e = H e
80 25 Doubda Press Side 50.26 50.26 10052 15078 20104 25130 30156 35182 402.08 452.34 i
Adion ) Side 45,36 45,36 80.72 138.08 18144 22680 27216 31752 326388 40824
100 - Dousi Press Side  78.53 7853 15706 23558 31412 39285 47118 42882 62824  706.77 SiD g B i :L@f eI 3l @jﬁ _\
' Pull Side 7147 7147 14294 21441 28588 35735 42882 50029 517.76 64323 j/‘ w i t bl O @» : %
125 a2 Doutda Press Side 122.72 12272 24544 38816  4B0.88 61380 73632 85004 pB1.TE 110448 4/3kin’s Ereacth || N, =/
Aclon  pyji Side 114.68 11468 22036 34404 45372 57340 68808 80276 91744 103212 = =
150 i Double PressSids 20108 20108 40242 B03.18  A04.24 100530 1206836 140742 160848 1809.54 ; T
— : Acon Py Side 188.49 188.49 37698 56547 75396 94245 113094 131943 1507.92 1695.41 e =l F . cstroke ”’;F
200 40 Doubls Press Slde 314.18 31416 628.32 B4248 125684 157080 188486 218812 251328 2827.44 ._!:‘M — = rY
Acfion  pyil Side 301.57 30157 60314  BDAT1 120828 1507.80 180942 210099 241256 2714.13 e e | % '
S i do =11 5
| Stroke Sk ;/_ J&‘L al[[ 4] ) e . N
AT e 2oaF
25 50 75 80 100125 180 175 200 250300 350 400 450 500 1000 2000 - —/aH.
40 25 50 75 B0 100 125 160 175 200 250 300 350 400 450500 600 700 BOO 1200 2000
50 25 50 75 80 100 125 16¢ 175 200 250300 350 400 450 500 600 700 BOO 500 1000 1200 2000 Im
BSIL 2650 75 50100125160 76 200 250300 30 400 45050 00 700 800 500 100 15 2000 B S S T T S
80 25 50 75 BO 100 125 160 175 200 250300 350 400 450500 600 700 800 800 1000 1500 2000 275 M10X1.25
1°n 25 50 75 B0 100 125 160 175 200 250 300 350 400 450 500 600 700 B0O 800 1000 1500 2000 4,0 159 213 207 54 i05 a5 32 18 29 24 19 7 Mizx1.25 Me
125 25 50 75 80100 125 180 175 200 250 300 350 400 450 500 600 700 80O 800 1000 1500 2000 50 175 244 233 B9 105 40 42 25 a0 32 24 8 M18X1.5 M8
160 25 50 75 B0 100125 180 175 200 250 300 350 400 450 500 €00 700 80D 300 1000 1500 2000 63 180 250 250 B9 120 40 40 24 215 32 24 8 MI16X1.5 MB
200 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 BOO 00 1000 1500 2000 a0 214 300 208 88 128 40 53 an 5.5 40 30 10 MZ0X%1.5 M0
M If you need special stroke, please Tell us, we can make according your require. 100 29 320 308 81 138 45 55 32 38 40 30 10 M20X1.5 M10
125 279 388 3725 18 180 80 74 45 48 54 41 135 M27 X 2 M12
1&0 332 484 448 152 180 65 84 58 50 72 55 18 M36 X2 M18
72 18 M38x 2 M16
-:--_-“-:-n——“-
13.5 G1/8"
40 16 G1/a" 6 8.5 53 a8 16 13 21
50 15.5 G1/4" 8.5 7.5 7.5 85 48.5 20 17 23
§3 16.5 B33/8" 75 85 8 75 56.5 20 17 23
80 185 G3/g" 1" K] 13.5 25 72 25 22 28
100 18.5 G1/2° 135 B85 145 115 89 25 22 29
125 23 [chfrig 14 12 14 140 110 32 27 35
160 25 a3/ 15 12 20 180 140 40 6 40
200 25 G3/4" 15 12 20 220 175 40 8 40




IS HavKon®

PNEUMATIC

=
e

¥

| | SC/SU Series Standard Cylinder

SU-50 100 [sCJ-50x100-25]

sC — 50 X 5% — 26 — S == [l
Series Code Cylinder Borw Stroke  Adjust Storke  Magnet Code Fixed Type
SC:Standard double action(Tle-rod Type)  32mm-200mm 25:25mm Blank-Without Magnet  Blank:Normal type
SCD:Double-ghaft double action(Tle-rod Type) §0:50mm S:With Magnst LB:front and back fbead typs
8CJ:Double axls double acting 75:75mm FA-front cover fixed type{Front flangs type)
edjustabls type{Tierod Typs) FB:back cover fowed type(Back flange type}
SU:Standard doubls acting Chcback cover fixed type (Single Eaming)
{Micky Mouse Typa) CB:back cover fixed typa{Double Earring}

TC:Cortral Trunnion Typa
TC-M:Central Trunnloh Type athaching oot seat

| NO | Daslignation m Deslgnation
1 2 3 4 5§ 8 7 B 9 1M 12 7 u

1 Piston Rod Nut Woear Ring
‘\‘\\‘\ [ 2 Piston rod ?I.‘-‘I‘ Barral
nw \Ill —— Lg‘ / /E 3 Front cover seal ring 12 Buffering Bamrel o-fing
y 4 Bearing 13 Damping adjustable screw
—— I?] T | f /E 5 Frontcover 14 Back cover
— % \+\||‘|| E = 6 Buifering o-ring 15 Hex socket scrow
= A —— 7 Fipe well o-fng 16 Tia Rod Nut
— \1e 12/ 8 Plston o-ring L Tie rod
E Pigton 18 Piston rod o-ing
| Specification &
| Boemm) | 32 | 40 | 50 [ 6 | 80 [ 100 | 125 | 160 | 200 |
Mohon Patbem Double Action
B o5
Baslciyps FAtype FBiyps CAfype CBiype LBtyps TCiype TG-Mtype
‘Operating Voitage Range 0.1~0.8kgffcm®
Ensursd Prassure Resistance 1.35Mpa
sperdt b - = o
Operahng Spaad Range 300~B00mm/s
‘Buffer Type Adjustable Buffer
Buffer Stroke 24 32
Port Skze feufi: o (eh 170 Gam" el Ga"

ESCD,3C) Fixed Type:FAFB,LB,TC & TC-M Type.

IG5 |Hav Kon®

PNEUMATIC

1

T
3 g Mu

| | | SC/SU Series Standard Cylinder

| | Cyiinder theory output

- ——
Olaongtor | of g od e O S 0 0
Dousle PressSide 804 1608 2412 3218 4824 5628 642
Adion  pyll Side 8.50 680 1380 2007 2780 350 4140 4830 5520 8240
40 16 Doubls Press Slde 12.56 12.56 2512 37.68 5024 6280 75.26 8792 100.24 113.04
Acion  pyll Side 10.55 10.55 21.10 31.85 4220 52.75 63.30 73.85 84.40 B4.95
5 Dousle PressSide  19.63 1963 2926 5880 7852 9815 11778 13741 15704 17667
Adion  pyjl Side 18.48 18.49 3298 4947 65.98 8245 98.94 11543 13892 14841
20 Dousle  Press Slde 3117 7 62.34 93.51 12468 15585 18702 21818 24836 28053
S Afon puiside 2809 28603 5606 8400 11212 14015 16818 18621 22424 25227
5 Dousle PressSide  50.28 5026 10052 15078 20104 25130 30158 35182 40208 45234
Acon  py)) Side 45.38 45.38 an.72 13608 18144 226B0 27218 317.52 326488 408.24
100 25 m Prags Side 78.53 78.53 157.06 23559 31412 38265 47118 42882 62824 2 706.77
- Pull Side 7147 7147 14284 21441 28588 367.35 42882 50029 51776 84323
- % Dowle PressSlide 12272 12272 24544 36818 49088 61360 73632 850.04 98178 110448
Adlon  pyliside 11488 114688 22836 34404 45072 57340 68A0B 80278 91744 103212
1@ : 4" ' m Preas Side 201.06 201.06 40212 60318 80424 100530 1206.36 140742 160848 1808.54
- : | PulSide 18848 18840 37606 56547 75306 4245 113084 131943 1507.92 160641
- i Dowle PressSide 31418 31418 62832 94248 125684 157080 1684.98 2199.12 251328 2827.44
Acdion  pyll Side 201.57 30167 60314 90471 120828 1507.80 180942 210099 2412668 2714.13
| stroke
25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 1000 2000
;._.m-: 25 50 75 80100 125 160 175 200 250300 350 400 450500 600 700 RO 1200 2000
50 25 50 75 80100125160 175 200 250 300 350 400 450 500 600 700 800 800 100D 1200 2000
83 25 50 75 80100 125 160 175 200 250 300 350 400 450500 600 700 B0C 800 1000 1500 2000
80 25 50 75 80100 125 160 175 200 250300 350 400 450 500 60O 70D 800 90D 1000 1500 2000
100 25 B0 75 80100 125 180 175 200 250 300 350 400 450 500 600 700 BOQ 900 1000 1500 2000
125 25 B0 75 8D 100125160 175 200 250 300 350 400 430 500 600 700 BOD 900 1000 1500 2000
160 25 50 75 80 100125 160 175 200 250 300 350 400 450500 600 700 800 900 1000 1500 2000




PDEGQmpressor Free \jﬁrsion

b ]
&

'!'-P L
$C/SU Series Standard Cylinder |

HavKon®

PNEUMATIC

HaviKon®

PNEUMATIC

H4 e

| *
& o !
L '14- '
Tl e

" '| | B

MB Series Standard Cylinder{Japanese standard)
| Ordering Code &

At {Siroks) 1 S L - s =
— - o k) ’ . MB 50 X 50 S 1
e © 8 =% ‘ ‘ ‘
LN, | 20 My o
& £ % Serles Code Stroke Fixed Type
$C /§ L © Japansss standard Blanicbaslc type
— # Pl ] Double Action Type LB:front and back fixed type
ggI = e @ FA:front cover fixed type(Front flange type)
= : FB:back cover fixed type(Rear f
X i MB 50X 100 CylinderBore  Magnet Code o ek *over fuet bReliesr frado bPe)
K w /7 \ & D 32mm-100mm BlankWithout  ~p.y o0 fixed osible Exind
48lda"sBremdth > Magnet A cover fix fypal; L] g}
4] \&(&MEIL [+ SWith Magnet 1< wentral Trunnion type
I p— o : ag TC-M:Coantral Trunnion typs attaching foot seat
" i —
A1+{Stroka) X 2+ {Ad]ustable Stroke) as
B Birake: HStroka)
E __FlL @ . LE Eﬁm::u:; " og | NO | Designation | NO | Designation | NO | Deslignation
E L AL X 1 = i ; 1 Front cover 6 Buffer ring 1 Tie rod nut
6D _( o) @ % @[ 2 Back Cover 7 Bearing 12 Wear ring
— a o = t 3 Barrel 8  CushknScrew 13 Plston rod nut
ol = 1A 2 Fal o L - &4 : s
) I 7 ,r; i o ~ jaI S % J &ﬁ 4 Piston rod 9  CushionSeal | 17  Buffersealring
K/ w/ \ & & 5 Piston 10 Tie rod 18 Piston O-ring
45kde'sBreadth i Pt
| spectiication
A2+ {Sirake) X2+{Ad] Stroka} -
B rforom) o Cylinder diameter EIEIEIEIIEEIIE!I
HE 2 ‘f—' s a8 L F, [ E""l Working Medlum
= — £l Action type Double ad.lng
SCLL]e [ stroke
SCJ - e " = 8 N 7 Proof pressure 15.3kgtlem?(1.5Mpa)
o2 [ D BEL o s )} Max.prassure 10 2iegtiom’{1.0Mpa) Standard stroke
i v - - 0.5kgficm'(0.05Mpa) 32 2550,75,100,125,150,175,200,250,300,350,400 450,500
asity Bosedth Pr— 2 ron -40~+80'C 40 25,50,75,100,125,150,175,200,250,300,350,400,450,500
HEE= Plston veocity 50~1000mmis 50 25,50,75,100,125,150,175,200,250,300,360,400,450,500,800
IC . Buffering Alr bufferng 63 25,50,75,100,125,150,175,200,250,300,350,400,450,500,600
Stroke tolerance ~0-250° , 251~10007 , 1001~1500" 80 25,50,75,100,125,150,175,200,250,300,350,400,450,500,600,700,750
-mﬂ-“ﬂ-ﬂ---- Re(PTildintsze e G14T G 61 460/ 25,50,75,100,125,150,175,200,250,300,350,400,450,500,600,700,750
8 M10X 125
4_0'_ 142 191 185 49 83 32 3 15 27.5 24 17 7 M12X1.25 .
50 150 207 196 57 93 36 4z 15 275 32 23 8 M16X1.5 - o . i
63 153 210 189 ST o6 % 42 15 275 32 2 8 M16X1.5 \ 4 1
80 182 257 242 75 107 47 54 21 33 40 26 10 M20X1.5 & rt -
T
100 188 263 248 75 108 47 54 21 33 a0 28 10 M20X1.6 ME Serles ¢ 32~ $ 200 &is] I
125 238 330 363 104 136 56 71 3z @ 54 36 9 M27 X2 = e i
ﬁ'ﬁc 201 412 450 121 162 62 92 80 50 72 50 16 M3B %2 _— ﬂ% E
vt MA
30 50 Magx2 A __KIF[ N h2xd.l i ; N -
H
-““n-“““--“— Z: it

MEX 1 137 G1/8"

40 M&x 1 8.5 13.5 G1/4" L+ B.2 g 50 37 16 14 21 froke Thmad length

% wx s s ow s k9 @ @ m u oa IEMEEHMM-HMHHHINHE
63 M8 X1.25 85 13.5 G/a" 7 8.2 8.5 75 B8 20 17 23 32 195 MEX10 6 MIOX128 27 4 85

80 M10X1.5 15 16.5 Gag" 10 8.5 14 B4 70 25 22 29 40 ~500 27 3 52 38 16 35 13 14 16 4 MEX10 & MI4xX15 27 14 B4 4 & 51 138
1Qﬂ M10X1.5 11.5 16.5 Gl 11 25 14 112 84 25 22 28 50 ~600 32 35 B5 465 20 40 14 155 16 5 MBX125 7 MIBX15 3.5 1/4 B4 5 105 58 156
125 M12X1.75 21 18.5 Gl ! f ! 140 110 32 28 33 33 ~800 a2 35 75 565 20 45 14 185 16 &5 MBXxX125 7 MIBX15 3.5 38 84 8 12 58 156
160 M16x2 25 26 GaM= f f ! 180 140 40 36 a8 a0 ~750 KY g 44 895 F2 25 45 20 19 18 § MIOX15 10 M22X15 38 3B 14 115 14 72 190
200 M16X2 25 225 Gan" f ! f 220 175 a5 42 42 100 ~750 37 40 114 88 30 55 20 18 168 65 MIOX16 10 M26X15 38 12 14 17 16 72 180




PNEUNMATIC

ressor Free \?rsion .
L o 3 g HavKon®
Ii o 4 g HavKKon

LN

Il’lf

| | Ordering Code

CA1 40 == 100
2o Serise Cods Cylinder Bore Stroke
".F CA1B:Normal Type 40mm-100mm
ol CDA1B:Attach Magnet Typa
ok CA1B 40X 100
| specification
I S S S S S S N
Working Medium
Mation Pattem Double astion 'pro
Ensured Pressure Resistance 15.3kgfom’(1.5Mpa)
‘Max.pressure 10.2kgfiem®(1.0Mpa)
Min, pressure 0.5kgtfcm{0.05Mpa)
Bpamﬂng Tamnamtura Rangat 5~+80°C
Operating Speed Range 50-500mm/s
' Buffering Air buffering
Margln of Stroka Error(mm) ~0~250°7 251~10007 1001~1500™"
Port size G1/4" G3/B" cae" (chfrsd Gz
QA GB

— FET 4
N\ & e BN
= A ﬁ%ﬁ /o
v N S o
T T e
Thraad lergth evetabls { :] | N )
A K F N N Oc
H E-+Strolos L [m]:]
FT+Gtroks L "._
Mind/Compeact Cylinders
lﬁmlmmnnnmna e
MBX125 B M14X 1.5 8 widely used on the compact and well-designed machmes, wb demandis
5 MiBoCl2R [ Mis1e a growing fast in the world, Mini cylinder include: MA6432(1506432), MA,
63 ~600 32 35 85 84 20 40 10 17 17 MIOX1.25 7 14 M18x15 31 38 88 0 58 170
8 -7 %5 ol s ol kel L e el e Ll il e e CM2, CJ2(Stainless Steel), MAL(Aluminum), the bore range is from 8mm
100  -750 a 40 116 92 30 52 14 21 21 MI2X175 11 17 M2BX15 40 12 126 0 72 215 to 40mm, Compact cylinder include: ADVU(ISO standard)CQ2(Japanese

Standard) and SDA. the bore range is from 10 mm to 100mm.




-l |Hav Kon®

PNEUMATIC

l&|HAav Kon®

PNEUMATIC

Cylinder{ISO 6432}
" ; L1+{Stroke)
e .‘E KC+H{Strake)
g ' L2
oy .'. -'r = AN WH
'{} ! [ ol L4
* i Ky Ls Lys{Btroks) ol
EW
|MAS432 10X50 | | MAS432 25X50 |
o il
I Ordeoring Code | f”" B w - . 3 a2l gI ol _
] swz —
MA6asz — [ 20 Xx 50 — 25 s — O == \,I
] B
Typs Back Cover Type Cylinder Bors S8troke Ad|ustable Stroke Type Magnet Code Fixad Type
MA:Double Action Typa Blank:Flehtall type Bmm=-25mm O~100mm Blank:Without Magnet Blank:Normal type
MSASingle-Extrusion Type CM:Rounded type S:With Magnet LB:Front and back fixed type mmmmm-mmmmmm-mmm
MAD:Double-shaft U:Hortzontal type FA:Front cover fixed lype M12X1.25
Doubls Action Type SDB:Back covar swinging type
MAJ:Double-shaft and adjustable stroke typa U:Back cover fixed type ‘19 12 M16X1.25 4 i 15 12 M5 8 12 M4 19 €& 6 78 2 34 12 10 - 18 64
MAC:With Cushion Type 12 18 MIgX15 8 20 20 18 M5 12 18 M8 24 8 9 B89 28 38 17 1§ 5 22 75
16 |16 M16X15 6 20 20 16 M5 12 16 M6 24 B 9 95 2B 4 17 15 5 22 B2
mm 20 20 M2x15 8 2r 27 2 G 16 20 M8 32 1 12 112 32 518 20 18 7 24 85
1 2 1 4 8 s 7 8 910 11 12 13 14 15 18 1 Piston Rod Barrel 25 22 M2x15 8 27 27 2 GUE" 18 2 MIOX125 32 11 12 120 38 531 22 20 B 26 104
/_ 2 Piston Red Nut -*'ftl Piston rod O-ting
v 3 Front Cover Saal 1 Plston O-ring I I MAG6432-
4 Bearing 12  Magnet{Optional)
i 5 Hexagon Screw 13 Waar Ring |MAS432-N25 X 150
T 6 Front Cover 14 Piston T Non Magnet Inslde Magnet Rubber Buffer
7 Cushion Ring 15  Hex Socket Borew L - XC+{Siroks)
8 O-rin 16 Back Cover ..ug_l,r o e ﬂ\\ = .
; = =] B ¢
| spocHication 5 1 Bl HEEET
N S N N S S S JJ' 5
it |||Aosuz-|uox1so| H B susto .
Fluld g [RR]
Motb“ Pmm Double Action or single Action inatallby OrbH Install by Tanh Strap
Ensured Pressure Resistance 15.3kgflen™(1.5Mpa)
¢ TERSUNS B Non Magnet Inside Magnet Rubber Buffer
M. pressurs | 10.2kgren(1.0Mpa) Eﬂlﬂ:@@ﬂﬂﬂﬁﬂﬂ i
Min.pressure 0.5kgfcm™(0.05Mpa) 1kgiem’(0_1Mpa) M12X1.25 M5X08
Environment and fluid temp -10~+B0'C(Intemal Magnstic Inatall by Tach strap:Type Max60T) ;_M _l‘,l' 12 MIBX125 4 4 17 M5X08 8 12 .[:I..
Plston veocity Rubber Bufer{Standanrd) Alr Buffer{Option) ¢12 18 MIBX15 8 ] 20 MBX08 12 17 B
Buffering 50~750mm/a 218 16 MIEX15 & 6 20 MEXQB 12 17 ] svrer
Kinetic energy To Lerance(kgffcm) 0.2 0.3 04 0.9 27 4 $20 20 MZX15 B 8 28 GIF 16 20 R 5 e
Pipe Size M5%0.8 aly ®25 22 M2x15 10 8 335 GI& 16 22 e L

| stroke -mmmmnmnmmmmmmmmnmmmmnm
Moz LTI

8 10,25,40,50,80,100, 125,160,200 prey 4»10 7(5.5; 7(5.5) 105 45 28 105 - MIX07 19 6 ME13595138) 15 12 10 43(53) 7 & 18 34{71; m(as) as(sa)
10 10,25,40,50,80,100,125,160,200 400 12 B8(55) 655 95 55 B 14 5 MEx4 24 B 125(125)105{125) 18 18 14 50(84) 10 § 22 75(79) 21(85) 105{(108)
12 10,25,40,50,80,100,125,160,200 400 ¢16 B(5.5) 6(55) 95 55 3B 14 & MEX08 24 B8 125 105(125 18 16 13 &6 10 8 22 B2 9B M

16 10,25,40,50,80,100,125,160,200 o 220 8 8 17 B85 44 17 6 MBX125 32 1 15 15 24 22 11 62 13 12 24 9 95 126

20 25,40,50,80,100,125,150,160,175,200,250,300 1660 425 8 8 20 10 50 20 8 MIOX126 32 1 15 15 30 22 11 65 17 12 28 104 128 137

25 280,030,100, 155, 50,100,110, 200,250, %00 1000 mOur company can also provide SMC IS06432 standard stalnless steal minl cylinder, If you nead this, pls add -N after nommal ordering code.




HavKon®

FPNEUMATIC

-I5|HAv Kon®

PNEUMATIC

[ | | MA Series Stainless Steel Mini Cylinder
4 ':I..L' I Dwarall Dimensions

"_-.'3.'.-'

=
= V . | N D
p] - ah E’gﬁ/’ 2 = /L(HD

b HE ._@ﬁ
".& 4l ﬁ A i -_"-
| “A _+_ [%I il
[MAJ 25X50-25 | - o — -3
| Orddaring Code . wiw ' =
MA = | 20 X 50 — 25 S — O

Type Back Cover Type Cylinder Bore S8troke Adjustable Magnet Code Fixed Type

MA:Double Action Type Blank:Fishtall typs  16mm~40mm Stroke Type Blank:Without Blank:Nomal type

MSA:Singla Exdrusion Typa CM:Rounded type 0~100mm Magnet LE:Front and back fixad type MA-CM
MAD:Double Shaft Doulla Action Typs U:Horlzontal type S:With Magnet  FA:Front cover fixad type =
MACD:Double Shaft Double Action Damping Typs SDR:Back cover swinging typs

MAJ:Double-shaft And Adjust Able Stroks Type U:Back cover fixed type

MAC:With Cushion Typs

oL Dt | Nol__pedgraion

1 Piston Rod Nut Piston Rod
3 Front Cover Seal Ring 'ﬂi. Oilad Bearing
=7 5 Front Gover Nut 6 Front Cover
gz T Stainless stesl ube 8 Anti-crash cushion MA-U
I H 9 Platon 10 Plgton O-Ring
h ii Y ‘ 1 11 Magnet{Optional) 12 Wear ring sl
L | 13 Back cushion 14 Hax socket screw
15 Back Cover

Speclification
- nmnnnmﬂﬂﬂn--

Mollon pattem Double Action or Single Aclion 132.9 | 137 128 18 40 78 21 12 28 12 16 20 12 B M8Xx1.25
Air 25 144 134 120 44 76 21 14 30 14 18 22 17 6 M10X1.25
Nommal Type LBType FAType SDBType UType 32 147 134 120 44 78 27 14 30 14 16 22 17 B M10X1.25
‘Operating Voltage Range 0.1~0.9MPa 48 32 16.7 7 M12x1.25
Ensured Pressure Resistance 1.35MPa —nnnnmnn-nnmm
Operating Temperature Range % 18 M18X1.5 6 275
Operating Speed Range 50~B00mmys '20 M22X1.5 10 8 16 18 10 12 27 1 & Gl 7 a3 28
Buflor Type Standard Typs Arllccrashcushion 25 . M22X15 12 8 16 18 12 12 a0 10 8 G 7 33 29
Damping Type - Adjustable cushion 32 M24X20 12 10 16 25 12 15 35 12 10 a1m 8 7 a2
Pipe Size M5 X0.8 G118 el G G1/B" 40 M30X2.0 12 12 20 25 12 15 418 18 14 G1/e" 9 47 41
HOur Company can also make flat for cylinder covers inlet and outiet position. If you require this, it should be specified. II MALG432 Seorios Aluminum alloy mini leindﬁl‘(lsmazli
m _
' T spocitcation % T Prosuct instruct
.
25 50 75 8D 100 126 180 175 200 - ™ Pl _ Motion Pattern Double Action or Single Action  Our company can also provide
:;gg 25 50 75 80 100 125 180 175 200 250 300 500 850 Loy ‘_“ . Opsrating Voltage Range ¢.1~0.8MPa MAL ssries IS06432 standard
25 25 50 75 BO 100 125 160 175 200 250 300 350 400 4S0 500 500 850 ‘_:i-.;;tlw‘"“- eured Pressure Resistance 1.35MPa alUﬂ:‘:l:dﬂ;;“W min| Wmnlf
22 25 50 75 80 100 125 160 175 200 250 300 360 400 450 500 500 650 [MAL6432 20 x 75| OPerahn_i_J Temperature Range S~70C e bALT xmsz ™
40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650 Operating Speed Range 30-800mm/s )




15 HavKon®

PNEUMATIC

e e e R R K R K
mmmmmm

114 153 60 85 5
m:; 137 1682 134 159 118 141 40 78 ™M 21 12 28 12 18 20 12 8
25 141 166 134 158 120 145 44 76 101 21 14 30 14 16 22 17 6
32 147 172 136 161 120 145 44 76 101 27 14 30 14 16 2 17 &
147 101 7
Cisabemonismod T "L T e e Tn B T U Ty T T T
MBEX 1 M16X1.5
Max1.25 M22x1.5 10 ] 16 19 10 12 27 8 & G| T 3a 29
25 M10x1.25 M22x1.5 12 8 18 19 12 12 4] 10 8 GiB" 7 33 20
Sﬁ - M10X1.25 M24 X2.0 12 10 18 25 12 15 as 12 10 G118 L] a7 az
40 M12X1.325 M30xX2.0 12 12 20 25 12 18 4186 16 14 Gia" ] 47 41
MAD MAJ
5 Srlovote B ] ar 5 I R— —
- ~ JE"L X 7 ey _
£ = _%\ i | =N
T T ey ey L - — =8 ()
| & : 5 Y
N o/ wf M

I AINESNEIoN SN
-““-ﬂ-ﬂ“---

5

29 156 153 40 70 . 12 16 20 12 ] MEX 1.25
25 184 181 44 70 30 14 18 2 17 8 M10X1.25
32 164 161 44 70 a0 14 16 22 17 -] M10X1.25

82 a3z 7 M12X1.25

—“-_—“nmm——
M16X1.5 g 25

é'a'. M22X15 10 29 9 6 Gee 7 23 29 19
25 M22X1.5 12 34 10 8 G1/8° 7 33 29 21
32 | M24X1.5 12 20.5 12 10 Gime” 8 ar 32 21
40 M30X2.0 12 495 1% 12 G1e° 8 47 #1 21

=|5|Hav Kon®

PNEUMATIC

| | | MAL Series Aluminum alloy Mini Cylinder

MAL 25 X 50| [MALJ 28 X50-28|
| | Ordering Code
MAL = L] 20 X 50 — 25 S — |l
Type Back Cover Type Cylinder Bore S8troke Ad|ustable Magnet Cede  Fixed Type
MAL: Double Action type Blank:Fishtall type 16mm-40mm Stroke Type  BlankWithout Blank:Normal type
MALC:With cushion type CM:Rounded type 0~100mm Magnet LB:Front and back fixad type
MSAL: Single Extrusion Type U:Horizontal yps S:With Magnst FA:Front cover fixed type
MALD: Dual Doubla Action Typa SDB:Back cover swinging type

MALCD: Dual Shaft Action Damping Type
MALJ:Dauble-shaft And Adjust Able Stroke Typs
MALC:With Cushion Typs

internal structure
Lol Dosorion L Vol Desreion

Piston Rod Nut Piston Rod

AN A AR ] :
b 1 - :” 3 | Front Cover Seal Ring 4 Olled Baaring
\M V _ 5 Front Cover Nut 8 Front Cover
4 | 7 8
‘ 9

Pipa wall O-ring ,_ Allminum ube
Auti-crash cushion 10 Pleton red O-Ring

=

4

J= 11 Plston O-Ring 12 Plston
13 Waenr ring 14 Back cushlon
15 Hex socket screw 16 Back Cover
| specification
| Boepm) | | 20 | 2% | 32 | 40 |
Motion pattem Double Action or Single Action
Working Medium Air
Flxed Type Normal Type LB Type FAType SDB Type
‘Operating Voltage Range 0.1~0.9MPa
Ensured Pressure Reslstance 1.35MPa
Operating Temperatura Range 5~707
Operatlng Spead Range 30~800mmis
o . Standard Type Anthcrash cushlon
Btlﬂil" : Damping Type ] Adjustable cushlon
Port Size M5X0.8 a1/ G G G4

EOur Company can also make flat for cylinder covers Inlet and outlet position. If you require this, i should ba specified.




H4

HavKon®

PNEUMATIC

Standard Stroke
16 25 50 75 &0 100 126 180 176 200
20 25 50 75 80 100 125 180 175 200 250 300
25 25 50 75 B0 100 125 160 175 200 250 300 350 400 450 500
32 25 50 75 B0 100 125 160 175 200 250 300 350 400 450 500
40 25 50 T5 B0 100 125 180 175 200 250 300 350 400 450 500

D
. GF 8 4P (HaX
iy T : T ’,'
MAL i _ L‘( iy
&
R
C+[Eiroke] D1
lR1]
T
MAL-CM B ﬁ 13
A (Btroke)
= -+ {Btroke) e)
= 8 M T
= i
5 A {_Z.ZL FP_%
MAL-U i } ]l‘
I ] | B
4 / /
aw/  w/

ggggs

500
850
650

850
850

Max Siroke | Permisslbla Stroka

Hi4

HavKon®

PNELUMATIC

N
L
[1V]

L
&

| Symbdl ] A | A1 | ﬂ
mmmmmm
-

13 147 10
135 180 180 153 114 139 44 70

32 141 1686 166 153 114

95 21 14 30 14 18 22 17 ]

139 44 70 95 27 14 30 14 16 22 17 ]
165 177 17 27
insido n-amaterrsm -:-—nnnnmnn-mnmm
MBX1.25 M22X1.5 G118
25 M1Gx1.25 M22x1.5 12 8 16 19 12 12 34 10 8 G 7 33 29
32 MiGx1.25 M24 X2.0 12 10 16 25 12 165 385 12 10 @Glig" 8 37 3z
dﬂ M12x1.26 M30X2.0 12 12 20 25 12 15 48.5 16 14 Gi4" 8 47 41
MALJ
ALk
‘l‘r E ] F ] B f lmlfm -
- : 2 H
== =
m\ o MG — —] ) "
N2 &2
T Adt Strua \

nmmﬂ-nmﬂ-ﬂn-n-r-

““ﬂﬂﬂﬂ““——-

M18x1.5
M22X15
M22X15
M24X2.0
M30x2.0

10
1
12
12

8
8
10
12

16
16
18
20

18

18
25
25

10
12
12
12

12

28
34
8.5
49.5

a
10
12
18

8
8
10
14

G18"
G1B"
G1/8"
G4

8
7
7
8
9

33
a3
a7
a7

5
20’ 131 122 10 40 0 21 12 28 18 16 20 12 6 MBx1.25
25 135 128 114 44 70 21 14 30 16 16 22 17 6 M10x1.25
32 141 128 fd 70 27 14 30 16 16 22 17 L] M10x1.25
45 92 32 24 7 M12X1.25

—nnnﬂmﬂn-mnmm

28
28
a2
41

158
158

155
155

>k 23

70
70

30 14 186

30 14

22
22

17
17

(]
L]
6
7

M8x1.25
M10x1.25
M10X1.25
M12X1.25

—“n—“-:-mm——

gzgs

M22X1.5
M22X%1.5
M24x1.5
M3gx2.0

12
12
12

34
39.5
48.5

10
12
18

8
10
14

G1/8"
chfig
a114"

L - - ]

33
37

47

29
32
4

21
21
21




CDM2B 20%50

| \\W

14

HavKon®

PMNELMATIC

cM2 — 32 150 — A

Serles Code Cylinder Bore Stroke Buffer
CM2B:Normal Type 20mm-40mm 0~1000mm Blank: Rubber Buffer

CDM2B:Attach AcAlr Buffer

magnet Type
u Deslgnation

Back Cover
Barral

]
L

Uﬁ‘—‘

HI

i

Plston
Pigton md

o\

[N

{

Oiled Bearing
Front Cover Seal Ring

Anti-crash cushion

Piston Saal
Wear Ring

Be@~masen -

““-_-_

Worlnng Msdlum
Ensured Pressure Reslstance

Operatlng Speed Range
Buffering
Margin of Stroke Ermor{mmy}

I WaP

IMenesson

Gime"

Double action
15.3kgfem™{1.5Mpa)
10.2kgf/om'(1.0Mpa)
0.5kgffcm’(0.05Mpa)

=10~-+70'C
50~750mm/s

Rubber buffer{Standard),Alr buffer{Qptional)
+1.4
Dmm

G1e" G15" G1/4"

155 13
25 ~300 22 185 17 32 10
a2 ~300 22 185 17 32 12
40 ~00 24 21 22 41 14

20 Jop
26 Jom
26 3 g3
32 f0m

13
13
16

8
a
11

45
45
&0

B @ &

116 11.5 85
120 1.5 10
122 15 15
154 14 15

M8xX125 15 24 M20X1.5 1/8
M10X1.26 15 30 M26X15 1/8 82
M10X1.26 15 34.5 M28X1.5 1/8 84

M14X1.8 215425 M32X2 1/4 BB

8 335 55
8 375 55
10 465 7

Ha

PNELMATIC

HavKon®

.-#"':F
' CJ2 — 10 — 60 S — O
L) 6328 16x50) | | |
-y g Serles Code Cylinder Bore Stroke  Actlon The type of alr hele on
| CJ2B:Normal Type  Bmm-16mm 0~200mm  S:single action the head cover end
S CDJ2B:Aftach magnet Type {with spring retum) _
4 _ Tsingls action Va2 | 08 | @10 @ 18]
& ﬂl {with spring extent) L | arical
Ll [CJ2B 6X 25|
R Horizontal

 Spociication

“____

Working Madlum
Motion Pattemn Double action/Single Action Extruslon typa“SIngIe Action Drawing-in Tvpe
Ensured Pressure Resistance 1.08Mpa(10.8kglicm®)
M 0.7Mpa(7. 1 kgtion’)
0.25Mpa(2.Skgliem®) 0.15Mpa(1.5kgfiem®)
) -10~470°C
Operatlng Speed Range 50~750mm/e
Buﬁ'anng Both slde Rubber buffer(Standard)
Margin of Stroke Error(mm) O
Port slze M5X0.8
I Dverall Dimonsion Normal Type
5
Z e, PEING Do (MEX0.8)
MM Piging port{M5 0.8) L1
$0 — T : :
|: —
CJ2B6 e = (=
':—| - Al 1 A
A F T [ NA NB
H S+Stroke 0e
2Z+Siroke
i 5 aa Plping port (M5X0.8)
MM ] GA Plping port (M53¢0.8)
AD T [ Pz
CJ2B10/18 I § E
N | EaN
A F NA NB |
$+5troke
2 Zedio Port location on head cover:

nnnnﬂmnmmmm-m-n-n

14.5 -
1:0"' 16 12 14 4 8 8 5
16 15 18 20 5 8 8 5

M3X0.5
28 M4 Xx0.7 125 85
28 M5x0.8 125 95

ME&X1.0

8 Mg x<1.0 48 -
10 M10X1.0 47 -



- HavKon®

PNEUMATIC

Type Cylinder

I Dver dmenslon Normal Type:Spring return CJ2B-CDJ2B
2 ;
ki NN % Piping port (M5X0.8) GB Pl M5X0.8
ﬂ 1 [T 1 \
— (LN
= = w Al I
A F___[NA NB
H S+Biroka
SR Port location on head covar:
Bm .5 O | £ 7 S —
NB b8 46~ 46—~
EEHHHHHMMI--E-E@@.ﬂ.ﬂ@%@
158183 8 - 28M3xX05 3 7 G5 @en won Ghe) - - i (o) @om B4)
10_ 151214 4 8 5 28 M4AX0T 55 85 B" 455 53 65 77 - - - = T35 81 8 105 - - - -
16 151820 6§ B8 5 28 M5X08 55 95 105 455 54 68 78 84 108 126 138 745 82 84 1086 112 138 154 1es
3% Aftach Magnet skze
I Dverall Dimension Mormal Type:Spring extent CJ2B-CDJ2B
@
NN é GA Piping port M5 X (.8 i
— T
HE =
| EL_ o=
—
CJ2B6 F | T | NA NB
H+Siroke S+Siroke e
242 x Siroke
E BA. P it (M5 X 0.8
— T
i —
CJ2B10/16 i PR e
Ht8troke S+Siroks
Z+2 x Stroke

Bure NB __“
46~ 46~
HEEEHEHW“MH. bk RSk kR Ak e Ik

a
15 8 14 3 B 14528 MIX05 MEX1 16 3 6Ym 3 oo mon oo oom - iy e T L

10 151214 4 8 B 28 MAX07 MBX1 125 55 BYha - 4B5 56 68 B0 - - - - 765 84 B85 108 - - - -
186 151820 5 8 8 2B MSXDB M10X1125 55100 - 485 57 68 81 87 111 1286 141 785 85 97 108 115 139 157 168
¥ Aftach Magnet size
| | | Special Cylinder
i — - i
e ‘# - 5] o ) T e v =2 "'l 1"1 -
- A L F] Lot il ey ¥
LB ’ - - R e ‘}qﬁ . \{ar;'.--""‘ i
£ .A."’" - 4 " £ o 5 4 ] ) T, i i = _;-—- E --".
-y, ) - | S TP
MARU 20x 30 THAL-AC-40X23 TMAL 30X30-T MALC 30100 E" MAB 20 <100x30

= Our company has R&D department,can research,develop and produce all kinds of cylinders with advanced technology
and sufficient professional experience. We can research and develop new products according to customer's drawing,
and sirive all products for excellence. If you have new product to develop,pls don't hesitate 1o contact us,we will iry our best
to help you.

4 HaviKon®

PNEUMATIC

| Ordering Code

- ADVU = 50 X 80 — A — P — A — 82
i , ] | |
NS . Type Cylinder Bore Stroke Cog Tvpe Buffer Type Magnet Cods Plunger Code
. RV _ ‘H;-l ADVU:Doubls Action Type 18mm-100mm  Normal Typa: Blank=nnar Thread BlankWithout  Blank:Single end
o et AEVUZ:SIngle-driven type ©16-25:1-200mm A-Qutar Thread Magret connacting rod
LR g AEVUD:Doubls-shalf ©32-63:1-300mm AAtiach Magnet $2Both ends
e Wj’ Double Actlon Type © 80-100:1-400mm eonnecting rod
g 4 Singhe Action:
©12:1-10mm
I 7 ifcation @ 16-100:1-25mm
| Boefrm) | 16 | 20 | 26 | 3 | 40 | 50 | 63 | 80 | 100 |
Actlon Double acting, single rod/double rod
Engured Pressure Resistance 1.5MPa
Operating ADVU-P-A  012M00Pa 0.1=1.0MPa 0.08~1.0MPa 0.06~1.0MPa
pressure range ADVU - P-A-S2 013-10#Pa  0.12~1.0MPa 0.1~1.0MPa 0.8~1.0MPa
Amblent and fluld temperature -20~80 {No freezing)
Port size M5 G1e" G1/4"
Femals thread M4 M5 MG M8 M10 M12
Plston rod thread
Male thread M8 M10X1.25 M12X1.25 M16X1.5 M20X15
Cushion Rubbar burmper
| | Overall Dimsnsions ADVUCI-[]-P-A /Series

B Note
To attech cylinder. 12 and 16 mmfrom abova, use
only 2 screwsdlagonslly or non-magnetic screws.
+= plus giroka length

= 2 Minlmum screw-n depth

_

Q 1 @

HIMeN%E=on =

A EE G CE
6 4 185 8
20 6 355 M5 1.5 38 4 18.5 10 8 M5 4 22 41 8
25 L] 39.5 M5 156 39.5 4 185 10 B M5 4 26 435 ]
a2 - 49.5 G118 2 44.5 5 22 12 8 Me 4 32 485 10
40 1 58.5 G1/8 25 455 5 22 12 B ME 4 42 51 10
50 6 68 G1/8 28 4585 5 22 16 8 MB 4 50 53 14
83 8 a5 @18 4 50 6 26 16 8 M10 4 82 56 14
B0 8 108 G1/B 4 56 8 28 20 8.5 M10 4 82 82 17
100 B 128 G1/4 5 B86.5 a 26 as 105 M10 4 103 76.5 22

W Note:ADVU Series Cylinder With 100mm Bore s Being Developed, Not Available At The Moment.




$DA 32X28
| | Ovdering Code
SDA — 20 — 30
Type Cylinder Bore Stroke
SDA: Double Actlon Type 12mm~100mm

S8A: Singla Action Extrusion Type

STA: Single Action Drawing-in Type

SDAD: Doubla-shalf Doubls Action Typa
SDAJ:Doubla-shalf and Adjustahle Stroke Type

I LLL- g P | e

1 2}\_4\ [51_/1/1/_{ 0 11 12
\ Fi |“-|

y
ad “, ]
$DA Typo A7)
A -
_ll—'—l—'l_-
N A LA
$3A Type Al
&)
_|_|—|_|_‘
| — ]
$TA Type

IS |HAav Kon®

PNEUMATIC

[SDAJ 32X 25-10|

— B - s — B
Adjust Stroke Magnet Code Cog Type
5mm Blank:Without Magnat Blank:Innar Thraad
15mm S:Atiach Magnet B:outer Thread
25mm N:no Thraad

(N0 Designaton | NO | Designation

1 Back cover 2 Type C buckle ring
|l O-ring 4 Anti-crash cushlon
& Pistan 6 Pigton O-ring

7 Anti-crash cushlon 8 Barrel
g Front cover saal ring 10 Front cover
M Pigton rod 12 Platon Rod Nut

N

1 Back cover Type C buckle ring
3 Anti-crash cushion -'4'_ Plston
§ Piston O-ring 6 Comprassad spring
7 Barrel 8 Slisncar
8 Cover Q-ring 10 Front cover
i Piston rod

(N0 Designaton | NO | Designation

1 Back cover 2 Type C buckle ring
3 Covar O-ring 4 Sllencer

& Barrel 6 Comprassad spring

7 Plsion 8 Piston O-ring

g Anti-crash cushlon 10 Frount cover sealing
M Front covar 12 Plston rod

i

| | | SDA Series Thin Type{Compact) Cylinder

HavKon®
PNEUMATIC

“““““““-E-“m

Double Acting
Single Acting Extrusion type Single Acting Drawing-in Type =

Wnrklng Medium Alr
ting Voltage nauhtaMun 0.1~0.9MPa

nge Slngle Acuon 0.2~0.8MPa -
Ensured Pressure Res : 1.35MPa
Opara‘ung Temperaiure Range 5-707C
| thle i\wm 30~500mmia 30~350mmis

Slngle Action 100~-500mmv/s -
Buffer TYFB Fixad Type Buffer
Port Size M5X0.8 G1B" G4

30~250mm/s

Gaa"

| Bore(nm) | 42 | 6 | 20 | 25 32|40 |50 |63 80 |100]

560 mm 5~B5 mm 580 mm 100-110 mm 5-90 mm 100~130 mm
attam Evary Smm Evary Smm Evary 5mi ry Smm ry Smm Every Smm
Double magngt |sgu.padasunagaia is groupad as one grade |sgu.|padasnnaga|h |sgu.padasumgzia ugu.padascl'agrada iz grouped B8 ona grade
Action | Atfe 5~50 pm, E3;75mm 5-90mm i Esve-so pm 1oo~1zgmmmm
msﬁ"ﬁ Is grouped &8 ohe grade Isyupedr%somm Isgmpadamem i Isgotpedr!lsmgm Is grouped as one grads
5--30rnm 5-30 mm
ry Smm ry Smrm -
mgruupadasmgada ugnmadasmagmda
530 mm 5~30 mm
Every Smm EverySmm &
Is grouped as one grade Is grouped a5 one grade
80mm 160mm 120mm 130mm
I | N L EYRE
" B2 +iroke
E+Singls acting Sirols
E-+Singie ecting|Strols
H F8ingle acing Stroks ” ngle acting Biroka
|
ﬁ o
—
$12~416 3|3 s20~9100 3 [ [ [] @
g2 w/ 1/ w/
1/ w

25lde'sBreadth |

25ide'sBreadth | | |G

—ed

k4
T

“-!-“----E--“-“

4
-1&_: 175 16 4 1.5 10 8
20 20,5 19 4 1.5 13 10
25 23 21 4 2 15 12
32 25 22 4 3 15 17
40 a5 a2 4 3 25 19
50 a7 33 5 4 25 27
63 37 33 5 4 25 27
80 44 39 8 5 an az
100 50 45 7 5 3s 36

J

4 MEX 0.8

4 M5X0.B 11 28
5 MEX1.0 16 28
6 M10X1.5 17 28
(] M14X1.5 22 28
8 M18X1.5 28 28
1 M18X1.5 38 28
1 M22X1.5 40 28
13 M22X 1.5 45 4

13 M26X1.5 55 4

REBBERB @




SDA.SDAS Type
$12-416

b
20
25
32
50
30
100

ﬁsaggﬁﬁea

SDA.SDAS Type
$20-4100

fad
2NnRER

BREYB:;

6 M5X0.8
65 M5x08

M5X0.8
M5X0.8
G1/8°
Gl
G1ia"
G1i4°
Ga/s”
Gag”

)

33 —
& &
‘EI. N1
KA
AsfBioiml
B, P3 = P3
L ﬂTA
J P
2=l 4 20 o
el N N7
a
HL, L

HavKon®

PNELUMATIC

e | Stndarutpo | Atacn Magnet |
-mn-mn

e sa 0

55 185 A 55 288 - 8

55 185 35 55 2805 36 8
L] 21 ar L] 3 42 10
7 245 4.5 7 345 &0 12
7 28 43 7 38 5A.5 12
8 28 47 8 B’ 715 15
g a2 51 ] 42 845 15
i 41 62 11 81 104 15

12 51 73 12 81 124 18

Double Sidas: O 8.5/Thread:M5 » 0.8/Through ports: 4.2
Double Sides: ©6.5/Thread:-M5X 0.8/Through ports: © 4.2
Double Sldes: ©6.5/Thread:M5X 0.8Through porte: 4.2
Double Sldes: &8 2/Thread:M8 X 1.0/Through ports: &4.8
Duouble Sides: ©8.2/Thread:-ME X 1.0/Through ports: &4.6
Double Sides: ¢ 10/Thread: M8 X 1.25/Through ports: 8.5
Double Sides: © 11/Thread:M8 X 1.25/Through ports: 8.5
Double Sides: ©11/Thread:M8 X 1.25/Through ports: 8.5
Dauble Sides: ¢ 14/Thread:M12 X175 Through ports: ©9.2
Double Sides: @ 17.5/Thread:M14 X 2/Through ports: © 11.3

NP EBsaRRR

20
20

4.5
45
5.5
5.5
75
8.5
8.5
10.5
13

~N ®m o BBk B

M3X0.5
M3X05
MaxX07
Msx0.8
Max1
MBX1.25
M1DX1§
M10X1.5
M14X1.8
M18X1.5

256 182 28
29 198 28

EERABR2BE
2rgesERRER

114

18
21

31
215
225
415
3.5
3.85
385

10.2

EhiBEagagweo

11
15
17
22
28
a8
40
45
56

28
28
2.8
2.8
28
28
2.8
4
4

1.3
12
18.3
213
30
287
36
35

73
75
8
9
10
105
118
145
20.5

—mn—_mmnau-mn-

10

BEB88awss

HI5

HavKon®

PNELUMATIC

| | | SDA Series Thin Type{Compact) Cylinder

S

bz

SSA.SSAS Type ¢i12-4 16
Ak Bk
1 Lot {Biroka}
El pa Pa
M 4 4 Ml
] =
:?[ 2 23
e d = _@ P NaI F I
i r
[ Hinin g/ K1 (oupine /
£l
STA.STAS TypediZ-$ 16

STA.STAS Type ¢ 20- 440

At (Simim)x2
1+ ({Strn| ka
o
M 2

Ee=———
e

B

Bore/Stroke/ | A | [ © | A |
SY’“‘”‘
& 27

42 a7 42 B2 5 4 M3X05 102
‘-1_&- 34 44 55 285 385 44 54 55 385 485 - L] 4 15  M3X05 11
20 38 45 55 205 305 45 55 55 305 495 38 8 4 15  MaAxe7 18
25 37 47 8 M M1 47 5T 8 41 5 42 10 4 M5X0.8 17
32 415 515 7 345 445 55 615 7 445 545 50 12 4 ME X1 22
40 43 53 7 3/ 4 53 63 7 4 58 585 12 4 3 MBX125 28
mn—z—mmnnu-mn-
M5%0.8 Double Sides: ®8.5/Thread:M5X (.8/Through ports: ©4.2 182 23
-*ié 65 M5X08 Double Sides: D85 ThreadMSX0.8Muoughports: @42 12 45 - 29 198 28 18 &
20 - M5X08 Double Sides: ©6.5/Thread:M5X 0.8Through ports: @42 14 45 2 34 24 - 21 8
25 - M5x08 Double Sides:®38.2ThreadMBX 1.0/Throughporte:®48 15 55 2 40 28 - 31 10
32 - Gif" Double Sides:®8.2Thread:MBX1.0/Through ports:®48 16 55 6 44 34 - 215 12
40 - G1/g" Double Sides:®10/Thread:M8X 1.25/Through ports: ®8.5 20 75 85 52 40 - 225 18

o
o
T

®__
T

28
28
28
28
2.8

1.3
12
183
213

37 47

7.3
75
8
9
10




=5 |HAav Kon®

PNEUMATIC

& |Hav Kon®

PNEUMATIC

| | | SDA Series Thin Type{Compact) Cylinder | | | SDA Series Thin Type{Compact) Cylinder
I Dverall Dimension Owrall Pimensions
Ar{trokes) 2+ Aduat Sirake) ;
; A (Btroke}x 2 o CHStroke) s
GHBiroka) B +{Sioa) " i N =] Ba | {Stoks) cH{AdustStrake) i
/| es P2, [ Friarmta), e
- W by, F_E: MM L)
— 7 S i g =T AN SDAJ.SDAJS Type
I | S| $12~¢6186
$DAD.SDADS Typs —
$12~916 3'{ ___% ________ E_I_.l_ (@3 o
@ Of @ .
[ 2L L oS
&l
Bl Pick bl :
i o Bl By 8 >
My i ! il A 3 x B £ oo &
I /I_ = 7 s r@.a_n_-.© ry
T — e | ] . AP
2 Bl o) Sd a5
s _{f- LS J[ SDAJ.SDAJS Type ¥ 31:%& =
2m_...,/ \ mL/ $20~46100 a , ;;’
&_ﬁ’ \eo .ﬂ_i‘ i) FRN Y N |, iy | mwjy‘lama)
|t CH{Stroin) . Bi+{trokn) H ]
—— x2+{Adunt Stroke!

I Mamension Snee
nm-nm- e Ao A T
5 17 32 5 7

M3x<05 102 12 22 M3x0s 102
"13-:' 295 55 185 395 55 285 - 6 4 15 MIX05 M 28 73 16 24 55 185 34 55 285 - & 4 15 MIx05 11 28 73
20 305 55 185 405 55 285 35 8(Stroke=5/l1s6.5) 4 15 M4X0T 16 28 75 20 25 55 185 3 55 285 28 8 4 15 M4x07 15 28 7§
25 3 L] 21 43 L] k4 | 42 10{Stroke=5ts7) 4 2 M5x 08 17 2.8 8 25 27 6 21 a7 [ 34 42 10 4 2 M5X0.8 17 28 8
32 85 7 245 485 7 45 50 B 12 4 3 Max1 22 28 9 az M5 7 245 415 7 345 50 12 4 3 MBx1 22 2.8 g
40 40 7 28 50 7 3 585 ] 12 4 3 MBX125 28 28 10 40 33 7 28 43 7 3 585 12 4 3 Mex125 28 28 10
50 46 ;] 28 56 ] B 1S5 1 15 5 4 MIOX15 a8 28 105 50 v a 28 47 a B/ s 15 5 4 MIOX15 38 28 105
83 50 8 32 80 8 42 845 1 18 5 4 MIOX15 40 28 1.8 63 41 8 az 51 8 42 B4S 15 5§ 4 MIDX15 40 28 18
80 83 1 41 73 11 51 14 14 20 8 5 M4x15 4§ 4 145 80 52 1 41 62 1 51 104 15 20 & 5 Midx1s 45 4 145
-1&& 75 12 81 85 12 B1 124 18 20 7 § MIBX15 5§ 4 205 100 63 12 | 73 12 61 124 18 20 7 5§ Miexis 55 4 205
—mn—z—mmnnm-mn- mn—:—mmnnmu-mn-
M5x0.8 Double Sides:®8.5/Thread:M5X 0.8/Through ports: 4.2 182 23 1.8 M5X0.8  Doubls Sides: ©6.5/Thread:MS X 0.8/Through ports: 4.2 25 162 23
‘IE 6.5 M5x08 Double Sides: ®8.5/Thread:M5X0.8/Through portsid.2 12 45 - 29 198 28 186 & 5 - - ! 15 85 M5EXD.E  Double Sldes: ©8.5Thread:MS X0.8Through porte:®4.2 12 45 - 20 198 28 18 & 5 - -
20 -  M5X08 Doubls Sides:®6.5/Thread:M5X0.8/Throughporte:®42 14 45 2 34 24 - 24 8 6 113 10 20 - MS5X08  Doubls Sides: 08.5/Thread:M5X0.8/Through ports:®4.2 14 45 2 34 24 - 21 8 6 13 10
25 -  M5X08 Doubls Sldes:@8.2Thread:MEX 1.0/Throughports:®46 15 55 2 40 28 - 31 10 8 12 10 25 -  M5X08 Double Sides: &6.5/Thread:M6EX1.0/Throughports: @46 15 55 2 40 28 - 31 10 8 12 10
a2 - G18" Double Sides:#8.2Thread:M8 X 1.0/Through ports:®4.6 18 55 @ 44 34 - 215 12 10 183 15 32 - e Double Sides: #6.5/Thraad:MEX 1.0/Through porte: 46 16 65 6 44 34 - 216 12 10 183 1§
40 - GUE"  Double Sides:®10/Thread:MBX 1.26/Through ports:®8.5 20 75 65 52 40 - 226 18 14 213 16 40 G I (RSl e S S THrac:hin i aainnag v poraciet Bl eIl 62 = 50 el [l | v 2% | e 2 e
50 - G1/4"  Double Sides: @ 11/Thread:MBX 1.25/Through ports: ®65 25 B85 85 62 48 - 415 20 17 30 20 50 - G1i4" Double Sides: D 8.5/Thread:MB X 1.26/Through ports-®85 25 B5 85 62 48 - 415 20 17 30 20
Ea == Gi/4"  Double Sides: @ 11/Thread:MBX 1.25/Through ports! @65 25 B85 95 75 60 - 315 20 17 287 20 63 - G1ia” Double Sides: ©6.5Thread: M8 X 1.28/Through ports: 065 25 B85 85 75 60 - 315 20 17 287 20
BO & GA8"  Double Sides: P14iThread M12 X 1.75Mhroughports:®82 256 1065 10 8 74 - 385 25 22 36 28 80 - G38"  Double Sldes: 08.5Thread:M12X1.76/Through ports: @82 25 105 10 94 74 - 385 25 22 36 26
100 = Ga#"  Double Skles; ®17.5Thread:M14X 2Through ports: @113 30 13 10 114 90 - 365 32 27 35 2% 1 Dﬁ ] - G¥8" Double Sides: ®6.5/Thread:M12X 1.75Through ports: @113 30 13 10 14 890 - 385 32 27 35 28




=I5 |HAav Kon®

PNEUMATIC

IS HavKon®

PNEUMATIC

Note 2) Long Siroke

CaB12-01D 17488 6 25 5 M3XD5 - 5 3515535 G5deph35 MEX08 75100 33 7.5 10.5
M'IB-DD 1B5+5t 8 28 B.6 MAXOTF - 6 35 20 35 65depth35 M5X0.3 _40 75100 395 B 18 11
cazB201D 5~sn 195+at 10 38 5.5 MGX0R 7 47 - B 4525565 Sdeph? M5X0.8 s - 10 =

CUZBISTID|  5-50 226+t 12 40 55 MEXI0 12 52 - 10 5 28 55  Sdepth? MEXU8 M - 10 50 75100 405 105 1/4 105
cQ2B32-01D 15 2345t 16 46 55mx1zs 12 80 46 14 7 34 65 9deph7 Ms:;f"’ :;‘249.5 ¢ B3 75100 46 105 14 15
CcQzea0-0D  5-50 205+t 16 52 a MBX125 13 B8 5 14 7 40 55  Odepth? 18 11 57 18 80 7100 BRR-A0R. A 15
COZB5000D  10~50 305+t 20 64105 MOX15 15 86 7 17 8 50 66  11depths 17 w671 22 | 100 75100 83 13 a8 23
‘COZBESTID| 10-50 36+t 20 77 IOGMOXIS 15 103 7 17 8 80 8B 14dephi0s 174 15 B4 22 St=Stroke
CCZBEOLID 1050 435+t 25 98126 MIX2D 21 132 6 22 10 77 11 175depth135 3B 16 104 26

CO2B100CD 1050 63+t 30 117 13 MXX25 27 16665 27 12 84 11 175depth135 &8 23 1235 28

Note 1}The standard stroke is at a distance of sach § mm.
Note 2}The stroke between 55mm-100mm(55,60,65,70,80,85,90,95,}nead to be added thickness of 5,10,15 or 20mm pad.
Note 3)Extemal dimensions with rumpar are same as stsndard typs aa shown above.

LR BIRE IO

[CQ2B 32X 30-M| CQ2B 16X 26
| | Ordering Code
cQz2 — O 12 — 10 D O
Serles Code Mounting Style Cylinder Bore Stroke  Action Cylinder body (optional)
CQ2:Normal Type B:with through bore  Single action:12mm-50mm 0-100mm  D:Doubla action Blank:Inner Thread Typa
CDQ2:Aftach magnet Typa  A:with female Double action:12mm-100mm 8:Single action{with spring retum} M:Thraad outer Type

thraad on both ends T:Single action{with spring extent} C:With cushion

| Specification &
mmmmmmmmmm

Working Medium
Mgotlon Pattern Doubla action/Single Action Extrusion lypalBlnglsAcllnn Drawing-n Typs
Ensured Pressure Resistance 15.3kglem(1.5Mpa)
Max.pressure 10 2kgifem’{1.0Mpa}
Environment and fluld temp 5~+0°C
Thread Type Inner Thread{StandardYOuter Thread{Optional)
Buffering NO
Margin of Stroke Error(mm) b
Installation Through Hole {(Standard), Inner size on the two sidex(Optional)
Port size M5X 0.8 G18" G1M4" Gag"

B Note:Pls Confirm Single Type Can't With Cushion.

I Overall Dimenslons
Through Hole Type/CQO2B Series

H Thread sffeciva c 4
H-Ow} W E

H Thread affective dapih ¢

2. L oo N
e =

/ ¢ 3 7

6 & $82- 4100 ]* . b P

2]

$12~425

Je

Model
mmmﬁﬂ e T O Y I e - e

CQzB12-008 22 27 5 5 M3X05 35 155 3.5 65depth35 MOIX0B - 75 75
cqzsm:[s 235 285 - 8 28 55 65 M4x07 8 38 " 8 35 20 35 65depth35 M5xX08 - 8 B - 10
CQ2B20-(1S 245 206 - 10 38 55 655 M5x08 7 47 =~ B 45 255 55 Ocepth7 M5x08 - ¢ 9 - 10
CQ2B25-[ 18 275 325 - 12 4) 55 55 MeX10 12 52 -~ 10 5 28 55 Sdepth7 M5EXDE - 1 11 - 10
CQ2R32-[1S 28 33 - 16 45 55 7.5 M8x125 13 60 *5 14 7 34 55 odepth7 Mo0A 1B - 116 115495 18
H‘—DE 345 395 - 18 52 B 8 M8x125 13 68 9 14 7 40 55 Odepth? 1/8 - 11 11 5 18
COZBS0-C]S - 405 505 20 64 105 105 MIOX15 15 B8 ' 17 8 50 88 11depth8 - 14 105105 71 22
St=Stroke
Thread outer Type {inner Thread Type}/CO2A Single Action (with Spring extent) ¢ 12~ $ 50
_ .9 FPotsizm
O-Thread $ N Through
i
Tt 7
o :
g (-
.c, |
- R L
B-+Siroke
Thread outer Type Nota3}innar Thread Typs Singla Action (with Spring axtant)
.ﬂﬁ“lﬂ -_- e mmmmlmm
105 6 M5x08 M4 x0.7 12 305 405 13.5
‘IB.- 10 12 & MBx10 155 8 ‘_Ia; M4 Xx0.7 7 16 32 42 - 85 138 -
20 12 14 10 MBX125 185 8 20 MEX10 10 20 34 44 - 85 145 -
25 | 15 175 12 Mioxi2525 10 25 Msx1.0 10 25 375 475 - 0 15 -
32 205 235 16 Mi4x1.5 285 14 az M8X1.0 10 3z 40 50 - 12 17 -
40 | 205 235 18 Mi4x15 285 14 40 MEX1.0 10 40 485 585 - 12 17 =
50 26 285 20 M18X15 335 17 50 MBX1.25 14 50 - 585 785 - 18 28
3 | 26 285 20 M18X15 335 17 M10x1.5 18
63 63 *Extemal dimsnsions with rumpar ara sams as
80 325 355 256 M22x1.5 435 22 B0 Mi2x1.75 22 stendard type s shown above.
100 325 355 30 M28X1.5 485 27 100 M12X1.75 22




=|5|HAavKon -

PNEUMATIC

CDQ2E Serles
432~ 4100
H Thresd sffscliva dapth © 2P
ot e , u + &N (Throwgt)
n E40 e W2, o
|
| |
g g IR '!
H|
a4, 147 | 1=
=TGN [N O
y— T 2 e e k\
mrhdmhnﬂu LI
.
k" LB tEﬂ 4
B3l fiim Tl ] L Bt
AtBiroks ! At Stroks
P ira
Stmkemnga
5-30 35 28 & 32 B85 MIxX05 a5 22 65depthdSs MSX08 11 355 195
CDQ?B‘IB 5~30 34 305 8 38 55 MAxXoT 8 - - 8 35 28 35 GE5depthads MSX08 10 415 225 280 -
CDQ2B20 5~50 36 M5 10 468 55 MSX0B 7 - - B8 45 36 55  Sdeph7 MSX0E 105 48 245 36 -
CDQ2B25 5~50 375 325 12 52 55 M6X10 12 - - 10 5 40 55 Sdeph7 M5X08 11 535275 40 -
CDQ2B32 5~50 40 33 16 45 75 MBX125 13 60 45 14 7 24 55 Goepth 7 178 1055853185 - 18
CDQ2B40 5~50 485 395 18 52 8 MBX125 13 89 5 14 7 40 55  SGdeph?7 1 1 68 35 - 1B
CDQ2B50 10~50 485 405 20 64 105 M1OX15 15 86 7 17 B 50 6.6  1ldepths %4 105 80 41 - 22
CDQ2BE3 10~50 54 46 20 77 105 M10X15 15 103 7 17 B8 60 B 14deph105 14 15 93 475 - 22
CDG2BR0 10~50 635 535 25 98 125 M16xX20 21 132 6 22 10 77 1M1 175depth135 e 16 11255785 - 28
CDO2B100 10-50 75 83 30 17 13 M20X25 27 188 B85 27 12 @4 1 17hdephf136 X8 23 1325875 - 28
Note2) (Long Stroks)

Model Nete 1)The standard ziroke s =t a distance of sach & mm.
Note 2JThe stroke bebwesn 55mm-100mm{55,60,85,70,80,85,90,95 Jnead to be added thidknsss of 5,10,15 or 20mm pacd.

75,100 40 33 7.5 18 105 Note 3)BExtarnal dimenslons with rumper are same as stendard fype as shown above.
40; 75100 465335 B 1/8 ™ Note 4)The siroks of cylinder In 5 mm can ba fixed only one magnetism swith
50 75,100 485 405 105 1/4 105
63 75100 54 48 105 14 15
80 75,100 635 535 125 38 18
400 75100 75 63 13 a8 23

Note3)Iinner Thraad Typa Thread outer typs
EIER EIDECENDD
{mm} {mm)}
Inner Thread Type
cDO24A 12 max07 7 Thread suter typs 108 68 M5X08
18 M4x07 7 16 10 12 8 MEX10 155 8
&N (Through) 20 MEX10 10 20 12 14 10 MBX1.25 185 8
i% 25 | MexX1.0 10 26 15 175 12 M10X1.25225 10
32 MBxX10 10 32 205 235 18 M14%x15 285 14
? 40 | MEX10 10 40 205 235 18 M14X1.5 285 14
R R 50 MEBX125 14 50 26 285 20 MI1BX15 335 17
e 63  M1OX15 18 63 | 26 285 20 M18X15 335 17
B0 M12x175 22 BO 325 355 25 M22x15 435 2
100 M12x1.75 22 100 325 355 30 M26X15 435 27

I_Iq HavKon®

PNEUMATIC

| | ordering Code

cJP — 10 — 5 — B
Serles Cods Cylinder Bore Stroke Thread Type
CJFB:Panel Smm-Smm 0~30mm BlanicWith Thread
mount Type 10mm-10mm B:Mo. Thread
CJPS:invisible Typa 1Smm-15mm

CJIJPB10-15

 specitioation
I T Y A I

Working Medium
Motion Pattern Double action / Smgla Achnn(Dmmng-m Type)
Ensured Prezsure Registance 10.5kgffem’{1.05Mpa)
Max.pressura Tkgiiem'(0.7Mpa)
Min.pressure 2kgffem™{D.2Mpa) 1.5kgtfem?(0.15Mpa)
Operating Temperature Range 5~+30'C
Buffering NO
Margin of Stroke Error{mm}) e
Port size M53% 0.8 Panal mount Type
I dal e U Ly [ . M
P Pon Bors M?fn. - ik M08
\ =) 5 4
(7 | = I — [ 1 il
Panel Mounting Style & % el_ LCF Ak g
CJPB ] d
H
x P
R H 5
B with rod end thread
St={Stroke) mm
- mmm mmﬂm mlmm
12 138 6 125 195 285 B85S M3X05 M10X1.0 185 225 325 275 345 415
10 0 19 22 6 145 21 28 12 12 35 MAX0T MISX15 13 205 27 34 4 325 38 46 5
15 12 21 A 7T 165 225 28 18 14 42 M5X08 M22x15 20 235 205 38 5§ 375 435 50 [
I LTI LN 1 O
RN 10,1881 MM Q
i & e ) ] i ] B
{Plug Mounting Styls)CJPS &ﬁ ® |
ey
H
L
" A E E
B wlith rod end thread i &
- mIEEIIES! EIEEIIE!.I mmm
139 125 195 265 BS M3X0.5 M10X1.0 185 225 325 275 345 415
1_ﬂ ¢ 19 22 8 145 219 28 12 12 35 M4X0T7 MISX15 13 205 27 M 4 325 38 45 5
15 12 27 #AH 7 185 225 20 19 114 42 MSEXO08 M22X15 20 235 205 38 5§ 375 435 &0 8




5 |Hav Kon®

PMNEUMATIC

HavKon

PNEUMATIC

Cylinders for special industries and requirement. XCPC provide the highest quality products of
these cylinders in China. It is the high cost effective product you can find in our company. They
are include: MSQ(Rotary table), XHZ/XHC(Clamp Gripper), XHL(Parallel style), XHT(Angle Gripper}

TN — 20 X 50 — S
and CY1{Rod-less).etc. - ‘ ‘
Series Cods Cylinder Bore  Stroke Magnet Code
Double-Shalf 10mm Blank:Without Magnet
- Double Action Type 16mm S:Attach Magnet
- 20mm
. 25mm
32mm
TH 26X 25
| specification =
Bcra(mm) “““““
_ Motlon Pattern Doubla action
Working Medium Alr
i Operating Voltage Range 1~Bkgticm’
i Ensured Pressure Resistance 10.5kgffem*
' j{ Operating Temperature Range -5~+70C
7T Operating Speed Ranga 100~500mm/s
12 | Adjustabls Stroke -10~0mm
§ : Gushion Type Adjustable Cushion
2] Non-rotating Precision 04T 0.3T
Port Size M5 X 0.8 G1/8"
I Overall Dimensions
Aot Sirckn
B Coioks
T D10.2+Sirke
17 Thiu.hole2- # 8.4
R | 5 Stoks 7 Et0.2 Both sldes: 26
|' K dp 5.2 Mouting hols
& - 2 ke 5y £ A # 10
$10 ol 1 / 5 T [L— L T
35 @ =@ i i & @ q ] [ I_l == T P
i B 3 )
)] B2 W | [ 2M5%0.8 Postaiza
y
j; kg ’
Yerra— i grnar
dp 3.3 Wouting hole
L o - ——
| dem w0 [ 2 [ s | 4 | &0 | 60 | 70 |
10 B3 12 51 10 a0 30 35 40 45 50 55




IG5 |HAv Kon®

PHNEUMATIC

A+Siroks
B CrBimks
" |, 15 |, D02+8imks
[[] -E- H E+D.2 m,zu_mm.
< A ﬁd— [ L _;%_ N1 Nz
$16~425 ; " i / 3 AN !
e 854 [P =2_© g 135 J.[+&E § b
7] )t KN I_I “‘
?’ = Yl \ 2usxas postuz)
L g ry

M %07 J
= e R e e e e w0
| fem | | 10 [ 20 | 30 | 40 | 50 | 60 ] 70| 80 | 90 [ 100 125 [ 150

18 1% 53 20 30 ) 7.5
20 78 20 B8 20 35 a5 40 45 80 55 65 70 75 B75 100 10 55 a 28
25 B1 18 62 30 40 40 45 50 56 60 8 70 75 80 825 105 10 66 8 34

| Boresizaltem | J___K/LIMININ2l P | P2 JQIR[SIT[V/W]

Both skies ;& 7.5(dp} 7.2mm Both aies: & Bldp) 4.4mm

16 MAX0.7idp5 47 83 20 22 N Thrihole: 4.5 Thruhole: §4.5 34 3 M M B8 81
Both skies: & 7.5(dp} 7.2mm Eoth skdea: 4 B{dp) 4.4mm
20 Mex0.7/dps 55 61 24 25 12 el m:(ﬂs e mﬂﬁh 44 35 62 25 10 8.1
Both sldes: & 7.5(dp} 7.2mm Both sides: 4 B{dp) 4.4mm ;
25 M4X0.7/dpB 66 72 29 27 12 RS T I Lo Bick A4 56 7 73 30 12 102
I P LT SNEIDnS
A+Siroks
B C+Straka
7 Di02Stmim | mmﬁ%ﬁs
KE2 13 E+0.2 {dp}13.2 Wouling ol
14 - ! 2
/_} iy A o
ht]
432 g = / (} H 1 |
L |
& I o O] & gl ] [ , ' & %
o Ea=
] U 1
Yl 2T (Poat aizw)
X b \Y r,
2K Th.hole2- 5.5
\ZMex1 Both sldoa: 49

Moyrting hole

nnun__
o o [z | % [ 40 | w0 [ e | 7 | e | 0 | o0 | i | a0

32 108 30 78 35 45 1025 115

|_|q HavKon®

PNEUMATIC

; | Ordoring Godo 3

CXs — M — 20 X 50
Series Code  Type of Bearing Cylinder Bore Stroke
CXS:Attach M:Slide Bearing Type Emm 0~100mm
magnet Type L:Ball Guide Baaring Type 10mm

18mm

20mm

25mm

| Specitication 8 32mm

--_-_“-_“

Working Madlum
Motion Patiemn Double action
Ensured Pressure Registance 1.05Mpa(10.7kgllom)
‘Max.pressure 0.7Mpa(7. 1kgicm?)
Min.pressure 0.15\ipe(1 Segfon?) 0.1Mpa(1.Okgien?) 0.05Mpa(0.51kgffer’)
Operating Temperature Range 5-H0'C
Buffering Both ends buffer
Stmctam Double Power
Stroke Adjustable Range Retumn Stroke: 0~5mm
Bearing Slide Bearing/Ball Gulda Baaring
Precision of Slide Bearing +0.1 +0.15 +0.13 +0.11 +0.1 +0.08
Piston rod Nor-rotating Ball Gulde Baaring 40.1 +0.1 10.07 +0.06 10.06 +0.04
Port size M5%0.8 G1/8”
B8.5+Stroka i:g
¢6 56| 8 45+Stroka /w
i IX05X5 275 19, 0112 Biobs {M\ o
b snnket hasd wet sorew é // I—
3 51| 7 —aYo
MES J e 4 i
LR 8l g ) | E €
= @ 2 HF
R mM2sxn4sxer 2MIX05 7&“ |_ X _ 3 T 2-M5X0.8 thread depth
7 il Thiough-iola MIXDEX1ZEMIX 0.5 |8 _)4.5 Fiping part IN
205 Heomgon bokt / Hecosgon nut
Through-hale
{13) 10+1/2 Stroke
254300.5 thread dapth fe)

10 13+ Stroke 45 lia Sldanams
i

(6] (7]

mxl}.&mdﬂﬂs
. Piping port KOpposits 54 ™

iCEE m 58.5+Stroke

CXs6-10 23

CXS5[16-20 20 20 33 85 785
CXSOe-30 30 25 43 75 885
CXSO6-40 40 a0 53 85 955
CXSI6-50 50 35 63 85 108.5




HavKon®

PNEUMATIC

HavKon®

PNELMATIC

H4 1

EEEEEEEEE@EEE@EEB@EE

B
[+
= :
5 .
& e )
ton s20 3 2 { ©) | N
& ' o)
1 o N R _ %j CDU 25X 30 CDUK 16X 30
k X Hazagon sosost ks
. \-L hmicep mrre N ggumm
Héatagon nut
o | Ordering Code
N
w
$10~15 $20~32 ; L < /
1 . . o ) , Y 7 cu — ] — 10 X 30 — [l
[ ] i b /
]
et E i & 7
g | g © q # 3 b & g;" ?‘E{ ® 1 g @ Serles Code Kinds Cylinder Bore Stroke Action
= 5 GU:Normal Type BlankcNormal Type 6mm 0~50mm D:Double action
] |-"— & CDU:Attach K:Non-Rotating 10mm 3:8ingle Action Spring
magnet Type piston rod Type 16mm Drawing-in Type
| DEmension Shes 20mm T:SIngle Action Spring
25mm Extusion Type
| Model |A[BIC/DIEl F [G[H[I]J[K]L|] M | N INNJO| 00 [P 3zmm
CXSO10-10 2:%3 Athrough 2M3X05
o 48 17 44 1575 2M4X0.7 35 20 4 & 8§ 20 2-06.5 @8 5 M4xD.7X14.5L 33.8 | Spociiication
0Aorso Counteroore deptn3.3  Tread deph & IE
E— 2-04,Mhrough
ey |58 20 56 18 B 2M5x08 45 25 5 10 8 30 208 heatdesne 08 & MAXOTX14.5L 48 mmmmmm
D/30/40/50 Countarbore depthé.4 Working Medium
2-@5.5fthrough
O 02 64 25 62 23115 2.M5X0.8 50 28 8 12 12 %0 e L haadote  ©10 8 MEX1.0x18.6L 53 Motion Patfern DoubleacﬂonfSlngleActlonE)m'uslonlypelSIngleAcﬂonDraudng-lnTyps
/4015017 !
Ensurad Praessure Reslatance 1.06Mpa(10._Skgicm’}
2-DE.9fthrough : phianll :
_mwwazs‘m"sm, 80 30 78 28 14 2-MEX1.0 60 35 & 12 12 30 2011 e et 7s @12 10 MEX1.0X18.5L 64 Mex. Working-pressure 0.7Mpa(7. 1kgtiem’)
: i s " Singl 0.2MPa 0.15MP 0.13MP
' ngle ; : a : 5
g 2-98.8through Min. operating pressure
CXSCIG2020) o0 a5 g5 2 18 2-MBX1.0 75 44 8 16 14 30 2011 2-M5X 0.8 @18 13 MBX12.5X23L 76 " Double 0.12MPa 0.08MPa 0.05MPa
30/40/50/75/100 Countsibore depthé.3 thread depth &
Ambient and Medium Temperatura Wikt sulo switch:<10-701C (Ne freocing)
™Mot | PP lQGQRIRRTITIUl W v w | X | v - With ko . 0-60(No Foszig
CXSO10-10 4-M5X0.8 4-M3X0.5 2-M4X0.7 Lulrieatio Nan-uba
M4x0785 7 30 7 - 5 3 M3X0.5X10L M3X0.5X5L ubrication
£20/30/40/50 thread depth 4.5 thread depth 4.5 thread depth 7 . _
€X8015-10 4-M5X0.8 4-M4X0.7 2-MBX0.8 ; Rubber bumper "=
pomoapso | M4XO7 10 1038510 - 5 8y oliiliis threat detn throad depthe  MBX0.BX10L M4X0.7X4L mc::::" _ Maleﬂ'lrl:ad
GXSC120-10/204 4-M5X%0.8 B-M4X0.7 2-MEX1.0 Thread folerance Class 2
aoomosiio0  MBX10 77512545 7750585 8y ol o thread depth & thread depth 10 MBX1.0X12L M5X0.8X5L o ety
CxsO2zs-10/20f 4-1/8 B-M5X0.8 2-MAX1.25 Ma inofstrﬁkeE P 2 om
So/40mofsio  MEX1.0 8.5 15 46 15 13 8 8 4 Tl oo thread depth 7.5 thread depth 12 MBX1.0X14L MEX1.0X5L ot ! rmr( )__ ) 0 .
sttt Precision of Plston rod with Non-rotating +0.8 +0.5
GXSI32-10/20/ 4-1/8 B-M5X0.8 2-M8Xx1.25 Port Size M5X0.8 G/
saomorsio MEX1:25 9 18 68 18 2011610 L, o o thread dopth 7.5 thread depth 12 MBX1.25X16L M8X1.25eL

Note} &8 single acting with auto swiltch type: One side rubber bumper.

| Standard stroke &

CXSCI10-10 BS 82 coxsO1510 10 70 - cxsOzo10 10 80 - 104 cxsnzsm 10 82 - 108 ez 10 92 122

CXSC1020 20 75 92 OX8CJ1520 20 B0 99 OXSCI2020 20 20 114 20 %5 116 CxsCmasy 20 102 182 ,

- e o g [ Boesme(m) | Standard stroke(mm)

CXSC110-30 30 85 102 1530 30 90 108 sl 30 100 124 102 128 30 112 142 ! . — ——

CXSCI1040 40 95 40 112 CXSCI1540 40 100 35 119 CXS[I2040 40 110 40 134 40 112 40 138 | CxMsCmad0 40 122 50 152 Double Acting 2625'32 510'15'20'25'30' 555

cxs]1050 50 108 122 ¢xs1560 50 110 123 cxs20-50 50 120 144 50 122 148 OECwEy 50 132 182 P 8101‘;2; e =t '51'01'5 A0,
CXsO2075 75 145 169 | ©X 75 75 147 i 171 | cxsrsaTs 75 157 3 187 ngie Acing v10,16,20,26, A
CEPoao0 100170 184 CXSCD5400 100 172 196 CoEmoqo0 100 182 212




o A
&/

&+

H4

HavKon®

PNEUMATIC

Double Acting, Single Rod

@ B
& "
= R c |-
W aA
\ 3 |
\ ° i}ﬁ.@l [ |
= j’\\x\‘ @l < ||
\_ 2-®P Thrugh
LA | _E.| s"s::Tmm Auto Guich
H 2+ Broka
o “fﬂ\ / z-usxn; ©32-Ho 1A
. R ET b i B
CES {5
| —
e | Los |
W A
\ 8 7\%@ =
oF:
-» ‘-
// —\@ Bl = ] =)
X N
A 2-0P \
L& | LLE| 40T Counderbore \
H B+ St Hurtn Sudion
Z+ Sinoke

nmﬂnnﬂmmnnn--m-

$6~¢10
$16~$32
|
.im 10 -
16 1" 12.5
20 12 14
25 155 18
195

Bore slze
“ﬂﬂﬂﬂ-

M3X0.5 dopth 5
.10 M3X0.5 depth 5
18 M4X0.7 depth 6
20 M5X0.8 depth 8
25 M5X0.8 dopth B
32 M5 X 1.0 depth 8

Nota}d {CU16-50):14.5mm

i - i

3.2
4.5
5.5
55
8.8

O wm oW

.5

(- - T

7

7 165
7 168.5""
] 19
10 21.5

6 depth 4.8
c 9 & depth 5
2 12 78 depth 65
45 18 9.3 depth 8
45 9.3 depth 9
45 24 11 depth 115
Note)5 Stroke{CU16-5D):14.5mm

10 18 18
15 16 25
125 18 30

13 2 38
12.5 27 48

Without Aute Switch

B8 8 H

Z22HERS

REE8s 8 H

M3xX0.5
11 - M4 x{.7
14 5 M5X0.8
16 & MEX1.0
20 8 M8 x1.25
24 10 M10Xx1.25

33 B8RS

14

Ry
HavKon®

PNELMATIC

Single Acting, Spring Extend

\Mnsum

0P M5X0.8 a |
Rod snd it Pugwih fod orllos i He & I | j=|
o 1 { o i I [N = £ 5
v H— &) 5 = N ) = =|
—cia = @ﬂﬂ Y
_g_ﬂ o T . . N 2P Thmugh Auto Bedich
| GA | ] e : N 4+0T Comwbos
AN
\ 1
MG X 0.8 M33:Re 178 - 2 T —
Rd g Fart Pl /73&”“ _la_t" {Ei_ _.I Ih":"r—a w
I = & o /] @ 01 . @& ; by 5
kY N
LLFLL‘;-EJG} i e - Midthnoross Sats L4 LA 2-0P Thmugh
_ﬂ-__‘_.v_ |.E.| 43T Counlerbare
A E_J Hs8troke . s N Aui Selich
B
Hmea | Single Acting, Spring Retum
4NN MM
Pt M‘% B psxas % N gl l
e 7 B mrom T —>
* jve S i ] 2 =]
E |08 | ‘_J N, 2-0P Thowh At Buhtch
QA LA \ i-onlm
H
B
4-HN -
m:’::ﬂ'“‘"' - /ML MEX 0.8 S32Rx 18 b & S‘L g |
o o P / I/ |1 & C‘\' &) =T /@_
T
LW & — b B i ;J B X !\I -]
.E.| e \ ?
= LE.| z:—’:T Qll-h!l\

nnnnﬂmml:ln---m--m-n

'11!
18
20
25

Bore size

{mm)

10

i1

12
1855

- 15
12.5 20
14 28
18 az
22 40

24
32
40
80
62

7
4 7
8 7
8 8
10 10
12

16.5
18.5
19
215
23

10
10
1.5
125
13
125

16
18
18
23
27

18

25
30
as

11
14
18
20

M3X0.5

- M4X0.7
M5x0.8
M8x1.0
M8X1.25
M10X 1.25

[T -]

M3X0.5 (depth) 5
M3X0.5 (depth) 5
M4X0.7 {depth) 6
M5X0.8 (depth) 8
MSX0.8 (depth) 8
MEX1.0 (dspth) 8

3.2
4.5
5.5
55

4

8

9
135

18.5

7

- 9
2 12
45 16
45 20
45 24

A S A S N S RSN
| Lot Lo e Lo Lt Lo e Lot s

8 (depth) 4.6 -
6 (depth) & ”

7.6 (dapth) 6.5

3.5

8.3 (depth) 8 5

9.3 (depth) 8 5
M (depth) 11.5 &
Nota} “V* Only for Single Acting,Spring Extend

38
a1
a5
4
a5
a7

BRB8588 %5

56
&0
56
80
62

228 BRE

72
76
75
B3
Bg

87
]
90
a8
104

BRERBE B

a8
56 62 72
50 66 76
86 75 85
0 83 23
72 a8

87
91
100
108
114




l_lq HavKon®

PNEUMATIC

=I5 HavKon®

PNEUMATIC

g Cylinder
I LW L TR 5 O O
P 14MAX, BB+8trokax 2 14MAX s
3MIN 12ZMAX 10 [3MIN -E-’
i _---_ _5. — -—-]
o THIN °
%«-L 2 & 2-M3x0.5 |
1 B Bothaiden | 2
eIt R ® | E - o
3 % = b
- = A N2z-o8xi8{dp)  ? 2.MBx1.0x25 Langth
STMB 16X 50 STMS 16X125 (4= 04y x840B) T Counsemink “Straks Adjustabls sorew
D
| Ordering Code 2l 5T & + = o
\2-MSx 0.8 AM1x0.4
In{out)port 4{dp)
STM - B - 16 x 50 STMB—"O
4 80sSirokex2 4 mmm
A 106 131
Seories Cods Mounting type Cylinder Bore Stroke | i ; 5
Shding Type B:Bodly fixed Type 10mm-25mm 0~250mm B 65 85 85 85
[l [ _ = | g
%I T Tt g-p D 45 £4| g8 121
|| Specification [ TN o . wowoe
. Bosm) | w0 | %6 | 2 | 25 TR 200 Cors $43 xb(dp)
olion Pattemn ouble action 408 holes x5(d 2-94.5Thiu.hole 2-D8x4, Coursersink
Motion P Double actio %8 Long hols x5(dp} M Lol
Warldng Medium Alr ZRXOTX
Operating Tomperature Range SH~4+70C
Qpamﬂu‘ i ” R’ﬂm 1.U~S.Dkgﬂcm' I LW L B N
Ensured Pressure Resistance 13.5Mpa
e 20MAX 07+Stroke X2 23
Operating Speed Range i WIN | 12, 21eax '
Lubrieation NG 7 @ 8
- a ¢ g :
Non—mta.tlrl.g.Preclslon +0.1 +0.05 LT N N a _ }a
Port size M5X0.8 18" ©| o W & © i @‘ -
ik = @_
/[N | : 2
| Standard stroke VX103 Lange / AP
Standard sroks (mm)
10 25 50 75 100 D
18 25 50 75 100 125 150 175 200 ﬁ|a alﬂ & R I = il
20 25 50 75 100 125 150 175 200 250
o 2-MBX0.8 4-M2x0.4
25 25 50 75 100 125 150 175 200 250 \m 4{dp)

| Throretical thrust 3 “T:““xz 3 3 EEMEEN

Bore skza Rod slze Pressure area Operating pressure{Kgf/mm’) |_ . . A in 181 211 238 281
il N O S 20 N : M 05 i ;; 1 i

10mm 0.50 048 095 1.43 343 01 i -4 B
16mm 8 1.51 143 287 430 5.74 7.17 8.61 10.04 11.48 12.91 g \\\ \\ o} 48 73 88 123 148 173 188 223
20mm 10 2.36 2.24 4.48 8,73 897 M.21 1345 1569 17.84 2018 FE— ) . NN os50 xeim  |E) E 25 6 45 70 W0 W 90 80
25mm 12 378 3.51 7148 1077 1486 1796 2155 2514 2873 8232 T B4 5(dp) Counforsink L[\ \2H5x08xbik)

B x7 bl 2M6x1 Thnihole 2-®86x

Ba” xTloghdlex6idp) Countersink X Both ses




IG5 |Hav Kon®

PNEUMATIC

=I5 |Hav Kon®

FPNEUMATIC

g Cylinder

20MAX, 106+ StrokeX2 | . 20MAX 28 105 4 B0+ SrokeX 2 4
AMIN | 1Z__ZTMAX AMIN is P A
| BT 1MIN = o 13 o I
k3 E' /@— -
¥ ; B ] @ \_2-M3x0.6
& 2-Mdx0.7 / H Both sides
Rl8| frf— 0§ to}  Bomeides {5 8 -G Bt -¥{ - 8 &
/ L ! e i - ] [ i
IMKX 10X 30 Langt | T — ' 3 2-M5%0.8 FosATmlM 7] E D47%S0)
Stroke Ad|ustabls screw —— 4'“3*:,,‘2_.*“3_::‘:% c 2.04 5 Thu hola_ 2084 4{dp} Counteraink
. 2 B \ 20407 x 4]
. o 4-M2%04
=
&'[ulﬂt p <i 4 —— / 4(d:!)
of \2-M5x0.8 LMHM @~ I & =
= — |-':-|
In{out}port 4{dp) :
STM
i 5 1 0 s i
8 83+Sthroke X2 B - 75 14MAX 88+Stroke X 2 14MAX
A 3 i aMIN TZHAX SHIN ltemiStroke | 25 | 50 | 75 [ 100 |
N : A 119 144 169 134 219 244 269 319 MIN _[E |
Bl i B 60 B5 110 135 150 150 150 150 150 = A R R IR
JTH iH 93 B 65 85 B85 85
3 1 & @_ i _Pq f i G 50 50 75 100 120 120 120 120 120 :[ - s ] c a5 80 80 121
Il \\ N ] (»} 53 T8 103 1286 153 178 203 228 278 Hl ‘\ i | o E 15 40 40 A0
=l i L = E 35 45 45 70 90 90 S0 90 90 = X,
4045 Thathdle E ‘ a3y x5 ;\ 5 8l
AR s ¢ N\ M5 x08x5E) v S 2-M8x1.0x25 Length
B N 2M6x1 Thauhols_2-085x55(dp) 14-047" xa{dp) _ 2 @Bx3.8{dp} Countareink Sirake AdjusTabla sorew
52727 Long hole x 6(cp} Coutrnk % Boh siisa
I L LI Y S 1 1
I LW Pl |
5 5 87+8trokex2 5 23
19MAX 116+Stroke X2 13MAX 2 A 3 11.5
4HMIN 4 1gmMAx 14/ AMIN 18 8
7 7 18 t
Al o
] L3 /,I@‘ ?‘; 2-M4x0.7
E ¥ 2-MEx0.8 A &g & f 8| Tt Bothaides
pot 14 Fe-@---@---@ e Bothaides 0] © ANIANAN &
1 ¥ | \ 3 .1 i
} 1 l\g.msxl:l.a ? - \ D5 x Bidp)
- | i } e
2M12x1.0x30 Lerght/ 4-087 wB(dp) O % e  \EMoxDEx
Straks Adjustabls screw &4 =7/ Long holexB{dp} 26 1{Thnihaole 2-08.6X6.6(d

Counteraink x Both sides
2PT1/8 D 4-M2x0.4x4{dp} oo =R
J betdm = S apy
31591“*0 i ® AR R ' 1 m®
STMB-26
STMS-18
S — 5% s ] s s A P
l IMIN ZTMAX 1 aMIN Item/
= = A 101 126 151 176 201 226 251 276 326 & MIN B Stmke
i B 85 00 115 140 140 140 140 140 140 I i o 111 136 161 186 211 236 261
4 # &8¢ —h#l D (4 5 50 50 75 100 100 10Q 100 100 100 % i ' B- 55 70 105 130 150 150 150 150
/ yeie D | 50 75 100 125 150 175 200 225 175 3|8| T &——© -8 freg] ¢ - - 75 100 120 120 120 120
i a1 ] e
4-©5.5 Thhole y E 08" %6k E 35 45 45 7O 95 100 100 100 100 / ‘\_ _t ;— E 25 50 45 70 90 90 S0 a0
4-08.6x6.4{dp} Countersink c e @ 2-M6x0.8
6" xB/Long hole x Bidp) B 2MEX 125 Thuhe 2-MBX4.0X30 Langth / \4-053" x8{dp)

4-M5x0.8x6(dp) 2-0 11 x65{dp) Countarsink x Boh sides Sty Adjuatale sorew




=I5 |HAav Kon®

PRNEUMAAT IC

3 o = % \ 2-M5x0.8
S %‘ M s 1 S8 R| 152 Both skies
=4 AN @
3 4
4055 Thuhole L E
F-T9.6%6.4(dp) Countersik c \es3'xeep)
638 Long hole x 6icp) B 2M3x125 Thauhole
4-M5x0.0%6(d 2-0 11 X B.5(dp) Courdarsank % Bokh aides
4-M2x0.4x4(dp)
™
A | A
3|a[® P 8
STMS-20
e N - - - - oo
AMIN |14 18mAX 14| |4MIN Stroke
7 |1MIN 17, 119 144 189 194 219 244 289 319
- ; : E [ B 60 B85 110 135 150 150 150 150 150
i ] & 50 50 75 100 120 120 120 120 120
g;s&%—l@““j* E 35 45 45 70 S0 90 90 0 90
0 et 2-M5x0.8
/ .‘*5\ o] \2Mexas
2-M12x1.0%30 Length | 4-067" xB{d
Btroke Adjustably screw
I g Jipaid |
58 F+StrokaX2 B -2—185-
2M5x 08 2 - _Ind
Poria
T _=# — k2
H { @PN
5 \_ 2-M4x0.7
b:A il & o ]sl it 3 Both sldes
&7 —c =
@ 1§ \f}\.— @5 x ¥

4-04.5 Thruhols E %
4-@8x4.5dp) Counersink g 46X 0.8x
S \_ 2051 Thuhds 2-095X55(dp)
_BaT Longhtte X6k} | Courlsreink X Bolh sides
” 4-M2xD.4
s [adn)
| I
al& B ® i 3[
1
STMS-25
ZOMAX 105+5trokeX2 20MAX
3MIN TIAX
e .
1 dk b B e
il
4T .
HEE EM &8 i .
e e el 35
/ i 2 +
/ g 2-M5x0.3

2-M10x1.0x30 Length /[

\ 4-055" xB{dp}

Siruks Adjustsbls screw

128 151 176 201 226 251 276 328
80 115 140 140 140 140 149 140
80 75 100 100 100 100 100 100
45 45 70 B5 100 100 100 100

: Item{
TR St |25 |50 75|10]125]160 175 200 250
= 101

s 9
ls » "
MGPM 20X30
| Grdoring Code
MGP — M -
| |
Serles Code Type of Bearing
MGP:Attach M:Slide Bearing
magnet Typs L:Ball Guide Baaring

{ speciticntion

=I5 |HAv Kon®

PNEUMATIC

12mm-100mm

——
I'- ; —
l . s FT e
v = 'ﬁ= - ﬂ
§
S
ih P gt
25 9 “
| |
Cylinder Eore Stroke
10~200mm

mmmmmmmmmm

Working Medlum
Motion Pattem
Ensured Pressure Resistance
Max.Operating pressure
Min. Operating pressure
Ambient and Medium Temperature
Plston Speed
Buffer
Tolerance of Stroke
Bearing
Slide Baaring +0.08°
Bal Guide Baaring +0.10°
Port size M5X0.8

Precision of
Pision rod Non-rotating

| standard stroke

Doubls-action
1.5Mpa(15_3kgficm’}
1.0Mpa(10.2kgticn)
0.12Mpe(1.2kgfiem™)

-10-+E0C

50~500mm/s
Rubber Cushlon
+115 mm
Slids bearing/ball guids bearing

+0.07" +0.08" +0.05°
+0.09" +0.08" 008"
G1/a" Gi4"

50-400mm/s

+0.04°
+0.05"
Gams”

12,18

20,25
32 to 100

10,20,30,40,50,75,100,125,150,175,200,250
20,30,40,50,75,100,125,150,175,200,250,300,350 400
25,50,75,100,125,150,175,200,250,300,350 400




=|5|HAvVKoN .

PNEUMATIC

- . B i T a
===W\CC M%“S

nnmmnmmnmnn.mmmm

10,20,30,40, MAX0.7 MeX07
15 50,75,100 46 33 8 B8 5 a0 1 B8 B4 M4 15 15 22 M5XDB 12 M5X08 43
20 20304050,75, 53 37 10 10 6 36 105 85 83 M5 18 18 24 M5X08 13 M5X08 58
25 100,125,150175200 536 a75 12 10 6 42 M5 9 93 M5 21 21 30 MBx10 15 MEx10 58
E—ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ-ﬂ
10,20,30,40, M5X0.8 13
-1.3_ 023,500 B 45 MSX08 15 10 19 16 54 25 62 46 56 3|/ 24 3 35 3 10 5
20 20304050,75, 95 55 RCUS 125 105 25 18 70 30 81 54 72 44 28 3 85 3 12 A7
25 100,125150,175.200 g5 55 RCHS 125 135 285 26 78 38 91 64 82 50 M 4 45 3 12 17

P “__
s g el Over 406t 1008 Over 408t 104
1

10,20,20,40, i
16 50,775,100 24 a4 L 17 27 - 3 M5X0.B
20 20,30,40,50, 75, 24 4“ 120 2 3 7 6 MEX 1.0
% 100,125,150,175,200 54 “ 120 29 39 7 6 MBX 1.0

MGPG Slide bearing MGPL Ball bushing hearing

A ] _— -_ . — ¢
-- - - --

85 18.5 13
'1'6 46 64.5 85 10 0 18.5 48 48 65 g5 8 3 18 48

MGPM Slide beerlng

3.5
2'5 535 85 122 20 ¢ 31.5 68.5 685 805 45 122 13 18 a2 51 68.5

MGPL Ball bushlng bearing

-I&|HAv Kon®

PHNEUMATIC

Il‘.ﬁlu‘ | I" ploE sl |'=

$32~$63
T VidptI YL -
/7 x{Enton] 4N gy ,M_ B, WA me&
[/ £
/7 ——l
—i7 d j Il -,
® el E A= %i_ x| 3
Lo o T E
| \\ %I - ‘?\Q
%! gLl LY @ L'ﬂ JETR NP
S

—nnmmmnmmmnm-n-m-mm

585 37.5 125 125 112 MBX 125 MBX125
49 255070400, 86 44 18 12 10 54 14 10 14 120 M8 27 27 40 MSX125 20 MIX125 68
50 125160175200 32 44 20 18 12 84 14 11 12 148 M8 32 32 46 MIOX15 22 MIOX15 88
63 77 48 20 16 12 78 165 135 165 162 M0 33 233 58 MIOX15 22 MIDX15 86
m-mmmnnn-nmnmmmmn
RC1/8 10
.m- 25,50,70,100, 11 75 RCI® 13 18 38 30 104 44 118 8 106 72 50 4 45 3 & 22
50 126150175200 44 g9 RC14 9 215 47 40 130 60 146 110 130 92 6 & 6 4 & 24
9 RCI4 14 28 55 50 130 70 158 124 142 10 B0 5 4 8
____
m-
24 33 MBX1.25
4:0 ﬁf}lgg 24 48 124 34 46 B84 MBx1.25 16
50 150,175,200 24 48 124 kT 48 86 M10X 1.5 20
63 28 52 128 38 50 88 M10X 1.5 20
MGPM Slide bearing
__ﬂ
| sost> | Sest<2oo0st> | 200s< | _— >
425
.40- 97 102 140 20 31 38 74
50 106.5 18 181 25 345 48 89
63 108.6 118 181 25 295 a1 84

MGPL Ball bushing bearing

Y -
___ __

16 215 8.5
40 a1 ga 118 140 18 15 a2 52 74
50 23 114 134 161 20 21 42 62 : ]
63 83 114 134 161 20 16 a7 57 84




g |HAv Kon®

PNELUMATIC

$ 80~ ¢ 100
A-HNhraugh) x SR z o l--ommw l.._ln_..l R ML
— L @ O O O :
< | B o g
L~ 6 i
. Ly

i edieiOn

B Standard sirok
e size (mm}

5, 855 565 25 22 18 #M5 19 155 145 202 M12 455 38 75 46 54 M2ZX1B 30 MEX1EB 1086

100125
1pq 150175200 116 66 30 25 25 1115 23 106 18 240 M14 555 45 105 S6 62 MM4X20 32 M#x20 125
ﬂﬂﬂﬂﬂﬂﬂﬂ-ﬂﬂﬂﬂﬂﬂﬂ
21%(5}?';55 175 RC38 145 255 74 52 174 75 198 140
1og 160,175,200 20 8 RCAR 175 325 89 B4 210 80 236 188 210 188 124 8 7 & 10 1
tandand stroke ___'E—
sz i [ ] s Lo e | o7
20,50, 75,
100,125, M12x1.75
'1-._on 150,175,200 48 72 148 as a7 B5 M14X2.0 28
MGPM Slide bearing
_——ﬂ——
185
1‘00' 137 162 203 38 21 48 a7

MGPL Ball bushing bearing

-___ﬂ 25s1<50st= _

108.5
'1;0;0 121 147 186 203 30 5 K| 84 87

=I5 HavKon®

PNEUMATIC

RSQ — B — 20 X 15 — D R

Serles Code Installatlon Cylinder Stroke Action Rod end Type

REQ:Baslc Type B:hole Bore D:Duouble action BlankzRound bar type(4:20- 2 50)

RSDQ:Magnet  Acintermal thread  12mm &:8ingle action K:Charmfored Typa(220-250}

Within Typs both ends 16mm {with spring retum) R:Roller type({*20-©50)
20mm TSingle actlon L:Level typa with shock absorbar( ®32-050)
A2mm {with spring extent) B:Leval type with adjustable shock absorber
40mm {v32-050)

Cilevel type with adjustable shock absorber,
with cancel cap{ ® 32-050)

D:Level fype with adjustable shock absorbaer,
with lock manchaniam{® 32-050)

E:Lavsl typa with adjustable shock absorber,
with cancel cap & lock{ P32- 050}

50mm

| Spocification
I N S S A

Motion Pattemn Double acting, Double acting with spring loaded,Singls scting(Spring extand)
Fluid Alr
Ensured Pressure Reslstance 1.5Mpa{15.3kglem®)
Max.prossure 1,0Mpa{10.2kgficm’)
Ambient and fluid temperature -10~+70°C With autn switch:No freezing +60'C
Buffering Rubher bumper
Tolerance of stroke e
*Lubrication Mot required
Mounting Through-hole,Beth ands tapped common
Port size M5X0.8 RC{PT1/8)
| Model
e S .
Through-hole
Mogrting Both ends tapped style » . . . . .
Bullt-In magnet B ° ® & % @
Biping Scm-ln type M5X0.8 Rec 1/8
Built-in One-touch filings - b G/4 & 8/6
Actlon Double acting Single acting{Single extend),Double acting with spring leaded
Round bar @ [
o Chamfered ® @
Rod end configuration Rala e s &
Levar type - @

&12 tubas can have both through-hole and tap mountings In the same tuba.

Bore size (mm) Rod end configuration
Round bar,Chamfered type Roller type Lever type with shock absorber
12 10 10 -
16 10,15 10,15 -
20 -
10,15,20 10,15,20
32 10,15,20
g 20,25,30 20,2530 20,2530




HavKon®

PNEUMATIC

=|5|HavKon =

PNELUMATIC

| | | XCK Series Clamping Cylinder

I Dverall Dimension i Waelding equipment for automative use
1. Di bl
Basic style:Through-hole mounting, Serew mounting RSTIQA \‘“ 5 Ulgslmh:and Compact

Screw muuniing siyle:Both ends mppad style (mm) 3. No Lubrication

0,
These 5 figures show the piston rod extended. fsugiitoe  thresid
/ IEIIII“IEI 4. Build-n epeed control
Bore slze: 4 12|RSCIQB12-1000 RSDQMS 415 MAX0.7 7 5. No need dust cover
I RSCIQA20 45 55 ME X4 10 6. Can be used for walding equipment which used to generate the electromgnetics
R

T-1.5 Countarboms 4 ]

RSOOAZ 48 55 WeX1 10 S ol | A

- % [ BH{stake)~ | SIS 525 95 Mex1 | 10 e 5 Width of saring TR XCKE3 XCK50 165
i . RSLIQAS0 & 66 Max125 14 i 195mm  XMNB Series XCK63B  XCK50B 185
= 2MEXD8 :'-':nmf" Tood wire bonding rodue 10 I Ordering Code
oo 24407 offsctive dopth 7 Sks | qg5 ..Il._ XCK — 50 X 100 — S - B
T 7 G| gfl  Petwes | | | | |
= 3=t = IE Serles Code Cylinder Bore Stroke Magnet Cods Width of earring
R = 50mm-B3rmm Blari:No Magnet Blarik;16.5mm
RSCIOB ;g o-00 L i S:Magnet inside B:19.5mm
B, X ““_
Working Medium
@,’ _— ‘ Ensured Pressure Resistarice 1-5Mpﬂt15k9ﬂw’)
ﬁ‘) Max.Worﬂpg pressurs 1.0Mpa(10kgiem?)
' Min.Working pressure 0.1Mpa(1kglicm’)
" . El — Temperatqre Range -5~60T
) & Plston Speed 50~500mm/s
’q.”} Alr Buffer Yes
¥ ] u . Lubrication No Need
> Thread Tolerance 5H
[Bore size: $32.$ 40, $ 50 RSL1QB és ~C=00] H+Stroke mmm Stroke Tolerance 1 (mm
"L‘ Speed Confroller Yes
Tl & 2 Biuks G /_AL £ Mounting Type Double Ear Ring
Ry . Re{PT)Port size G144
BT T
=

T B i

T
D

H N N S+Etroks i 1 %
L] H18X1.8-8H [T .
r“\-\ P = e oA,
T1 T, P LRI e
v $50~$63 B e = y T et
— & ; —'_4‘1
Hegteks BeStokn 30 g I_Tﬂ&{( |
e £ pe N i
ﬁEA 1m 80+5troke iz

“ﬂﬂﬂﬂﬂﬂn.ﬂﬂ_ﬂ.ﬂ.ﬂ.ﬂ SBosmiom | M et s
50

595 415 6.5 dapth 4 M5X 0.8 20 225 18 418

= . ;: 2 ;; : :ﬁ e : Ty :L’ o 63 & 2 o7 4 58

32 : - ot - - N Type(Standard}

L B e I Lo e e = e s " Code | W | L]

50 B2 54 25 64 8 i0 28 @86 T 5 66 11 dapth 8 Re 1/8 245 58 41 28 80 - 19
ot 3D varicions whhoii o i ARG Stroke{mm) 50 75 100 125 150 50 75 100 125 150
Note2)These figuras show the dimenslons when equipped with D-A 73 or D-A 80 auto switches. Bore 50 52 62 7 83 83 97 107 15 128 128
Note3)These figures show the piston rod extened. ~ (mm) 63 62 70 83 83 o7 107 115 128 128




=|5|HAavKon ©

PNEUMATIC

MSQB 20-A MSGEB 30-
| Ordoring Codo
Msa — B X 10 — A - 8
Serles Code Basic Type Siza Code AWith Adjustable Angle Screw Always with magnet
10mm~200mm R:With Shock Absorber
| Specification
B | 0 | 2 | % | & | 70 | 10 | 20 |
Fluld Air{non-luba)
e With adjustment bole 1Mpa(10.2kgf/iem’)
VIEXDIBESUR RiWith Shp;km 0.6 MPa {B.1kgf/cm*)¥/Nota
, Basic type 0.1 Mpa{1_0kgffem®)
Min,
VS High precision type 0.2Mpa 0.1 Mpa z
Ambisnt and fiuld temperatura 0~B0°C(No freszing)
With adjustment bole Rubber bumper
Cusghlon
R:with Shock Absorbar Shock absorbar
Angle ad|ustment range 0~180°C
Maximum rotation 180T
Piston bore ¢15 18 21 25 28 32 440
End ports M5X0.8 RC1/8"
Port slze 8lde ports M5Xx0.8

M Note:The maximum operating pressure of the actuator is restricted by the maximun allowable thrust of the shock absorber.

[ Allowable K

cile Energy and Rotation » ik T _
Allowable kinectic enengy({mJ) Rotation time adjiustment range for stable opsration {s/90* )
With adjustment bolt | With Intemal shock absotber | With adjustment ot
7 39

10mm

20mm 25 18

30mm 48 18 0210 1.0 021007
50mm 81 294

70mm 240 1100 021015

100mm 320 1600 0210 2.0 0.2t61.0
200mm 560 2900 0210 2.5

W Note:Be careful if a type with Intemal absorber Is used below the minimum speed,the energy absorption ablity will decrease drastlacally.

|_|q HavKon®

PNEUMATIC

| | | MSQ Series Rotary Table,Rack & Pinion Cylinder
I b WP Pllgg e gt ooyt

Basic style:MAQBOA

.
, R

&WD d WE(8

Circumfersnce:8 squivalents
4-1 depth 8 q® &
2-J) Through J
JA Counterbore |
Countarbora depth JB \@ =
Ny E
@ @ f\
410,420, $ 30, $ 50 A d H
r L] r @_ ®~\__\®__/®\ @
; 20 a7
8D 30 M7
Piping port Plugged 50 517
With internal shock absorber MAQBOR
View
— 0D : i BB
oD 5| o -
CA _ODE ru ; N B oy
2—JC de JD i | ; | s ms ||||| il L1 L Ly ....||||||..|.|||| Puﬂ SIze
20U = {55
T i S
8 B e = a z o
= = a AY ~
t oo =
Through 2
: F
Ayl | |Ba oo PA BE B o
Max.approx. SU s 4 AA depth YC

mnmmmmmmnmm.

185 95 278 48h8 20H9
2(] 708 65 108 275 16 14 ) 12 48 20 B7 34 L] 305  60hB 61h9 28H9 g
30 - 106 29 18.5 14 5 12 50 a2 84 ar 65 335 65h9 67hB 32H9 g

8 155 83 375 100

80
lﬂﬂlﬂﬂﬂﬂ-_---—

15Hg Max1.26 MsXx0.8 Max1 M5X0.8
2[} 17HS 10 8 25 8.5 17 8.6 14 8.5 M10X1.5 i5 Ma X1 M10x1 Ma5x0.8
30 22Hg 10 45 a 8.5 17 B8 14 a5 MI10X1.5 15 MB X1 M10X1 Re 1/8
7.5 20 10.5 18 105 M12X1.75 13 MaxX 125 M14X1.5 Re 1/8
nnmmmmmmmmmn
17.7 3Hg M5X0.8

36 4He 45 24 4HB 45
4H8 45 28 4H8 45
45 BHg &5 33 5H9 55

aFr v 10 12 e 25 564 205 4H8 45 Méx 1 10
40 127 15 14 85 25 57 23 4H3 45 M8x1 10
48 152 145 15 75 314 88 285 ©5H8 55 MB X125 12

2883
35258
8




=I5 |Hav Kon®

PNEUMATIC

8-WD {depth) WE 8
Circumferance.8 equivalents
4-JJ depth JK
2-J{Through}J
JA
(Counterbore depth) JB
—
$70,4100, 4200 I .
- 5( Bore Size FU
. i! (mmy)
| By
—, ' G ) 70 55.4.
100 556.5
200 747
Max.approx. FU
With shock absorber MAQBLOR
DD @ View
2-JC (depth) JD 9 (‘:SE éﬁ 22 2.Re 1/8
2-Msx0.8/ 2 = Port Size &
Plping port ! . |.
Pluggsd uu..l.}*rrr‘vmnnf—rrr‘n’..l.uu T T [ RN TSR RAr o 111 %
o \ ),
) g |3
| = L = 28 8 b
U “ = o
o -
% frl
8 | |BA 25
Mecapprox. SU w3 Effactiva
dapth YC

110 57 80hg 46Hg

10[1 1™ 102 895 50 295 27 -] 17 85 50.5 130 68 42 58h8 100h9 56H9
18 120 13 a0 38.56 38 10 24 103 85.5 180 ap 57 118h8 118h8 84H9

e e s e e e T

mmnmmmmmmnmm
25.5

22H9 104 1756 105 M12X1.75 M8x1.25 M20X 1.5
.‘mﬂ 19 24H3 145 8 35 12 27 104 178 105 M12X1.75 18 Me X125 10 M20X1.5
200 24 32H8 16.5 8 55 15 142 20 125 M16X2 25 M12X1.75 13 M27X1.5
nﬂmﬂmmmmmmmmn
79 342 5H8 MBX1.25 125 5H9
10U 58 189 2 80 343 B8 375 ©6HB 65 M10x1.55 45 77 58 &H® 4.5 48  6HB 45
200 T4 240 20 108 402 108 44 aHs a5 Mi2Xx1.75 i6s =0 69 8He 45 54 &H® 8.5

=I5 |Hav Kon®

PNEUMATIC

ss Style Pneumatic Gripper

| ordering Code

XHZ — 2 X 32 — D — L]
* al "' Model Finger Quantity Bore Acting Type Dusty Seal Material
il 4 XHZ:XHZ Parallel 2PCS Smm-40mm D:Double-acting Blank:CR
& 1 il Type Grippar S:Single-acting{Normally opan)  F:FKM
* XHC:XHC Puint C.Single-acting(Nomally closed) S:Si
| Typa Gripper

T specitioation &
I A N N S N

Fluid
Motlon Pattern Double-acting,single ad.lng(Nom\aIIy opan/Normally closed)
Mao.pressure MPa 0.7MPa
i F Double Acting 0.15 0.2 0.1
M pasis i Single Acting 0.3 0.35 025
Amblent and fluld temperature -10~80C
Max.operating frequency 180 c.p.m 80 c.p.m
Repeatabillity Precislon{mm) +0.01 +0.02
*Lubrication Not required
Port Size M3x0.5 Max0.8
|| | XHL2 Serles Parallel style wide Opening Alr Gripper
| | Ordering Code
we : XHL — 2 X 18 — D O — 8
" | | | |
. Model Finger Quantity Bore Actlon Finger Open/Close  Ablways with
. . & XHL:XHL wids 2PCS 10mm-40mm D:Double-Acting  Stroke magnet
‘ f,-f. Opening Air Grippar
W~ S
B

1 40 80 80 100 120 180
2 80 B 100 120 B0 200

| spocifiostion
I N N S " N

Fluid
'Matlon Pattarn Dnuhle—Acﬂng
Max.pressure Mpa(kgflcn’) 0.6{6.1}
Max._pressure Mpa| ) 0.15(1.5) 8.1(1.9)
Ambient and fluid temparatura =10~60°C
Repeaﬁbilly Preﬁsbn(mm) +0.1mm
Effective gripping force (N) at 0.5 Mpa 14 45 74 131 228 396
Port Size M5X0.8 G18




IS HavKon®

PRNEUMATIC

n | | | XHT2 Series Angle Style Air Gripper Toggle Type

| Ordering Code

XHT — 2 X 32 — D — S
Model Finger Quantity Cylinder Diameter Action Always with magnet
XHTXHT ToggleType 2PCS 32mm-E3mm D:Double-Acting
Alr Grppar
| Specification &
-EEEQ-
Bore 5|ze
) attern Double acting
Alr
- Range 0.1~0.6 MPa
Ambient and fluid temperature _ 5~60C
Lk on Not required
Finger opening angle (Total} -3° ~28° 3" ~27" -2" ~23° -2° ~23°
iz ! 0.80 1.08 1.83 28
Mifective gripping force (N.m) at 0.5 Mpa 124 38.0 83.0 108

| | | €Y1 Series Rodless Cylinder _

| Ordering Code

cYytr— B — 25 X 50— B
=0 | | -
ﬁ_p "-'-
i _;;-__:-;;'f;,fz" Series Code  Modsl Cylinder Stroke  Magnet Code
BATt e Rodless Cylinder B:Normal Type Bore 0~1000mm Blank:Without magne
S:8liding Type Bmm B:Attach magnet

Mf o L:Sliding Type Ball 10mm
-- Y18 20%400 qidobearrTipe t5mm
@ SR 20 R:Magnetically Couplad-  20mm
Direct Mout type 25mm
RG:Magnetlically 32mm
Couplad-Direct A0mm
I = = mout-Single Joint Typs  50mm
—

“““““““““

Workm Mednum
M | Double action

_'?_"ﬁ':'_.'.‘.’.‘-,‘_'?.'f??‘_'f!'ﬁ Res'shm 10.Skgtlom’(1.05Mps)
Me 7.1kgticm(0.7Mpa)
1.8kgfem’(0.18Mpa)

Cyl B/S:5~+80TC CylL-10~+80T Cyl R-10~+807T
Cy1 BIS:50~400mmfs Gyl L-50~1000mmfa  Cyl R:S0~500mm/s
Ly1 B/S:Both ends buffer Cy1 L: Shock absorber/Rubber bumper
~3~250°" 251~1000°  1004~1500""
T LuDrcanon ) Not required
Port size M5xX0.8 Gig" GiM"

HavKoN

PNEUMATIC

Cylinder accessories include the mounting parts
to fix the air cylinder, made by aluminum or steel.
They are available for Standard Cylinders and Mini
Cylinders. Magnetism Switch are used as sensor
which connected with PLC, to recognize the position
of piston inside of air cylinder.




& 1T

14

ISO 6431 Standard Cylinder Accessories

HavKon®

PNEUMATIC

5

ISO 6431 Standard Cylinder Accessories

HaviKon®

PNEUMATIC

et e 40| %03 &0 0 125 e e TN s mivoiore| 32 | 40 | 50| 63 | 80 | 100 125 | 160 200
SEiinderdeniarine ::Elj AA 158 178 180 208 248 268 290 340 380 4 % Ad M1 M 14 14 17 T 18 2B 25
. n:% % : AC 142 181 170 185 210 228 250 300 320 , 1) i 2]:% AK 7 7 98 8 # M 18 17 17
| AD D AD 8 & 10 12 18 1 2 20 2 2 P gl = BA 305 355 405 455 455 555 605 655 755
— AC AE 47 53 65 75 95 115 140 180 220 : T — § BB 10 10 12 12 18 16 20 20 25
% - e AF 32 38 45 50 6 75 90 M5 135 : ‘alh .. o BC 47 53 6 75 9 115 140 180 220
e SN & T e AG 24 2 32 32 41 45 45 60 70 2D ._j,‘_-n?-'" ® D @] i BD 32 3 4 50 63 75 80 15 135
ﬂ‘{ 2 AR E[g AH 32 3 45 50 63 71 B0 115 135 f, s / \ i BE 80 90 110 125 154 186 224 280 320
@/_ il i) AP 7 9 B8 8 12 145 185 185 24 -.—-'f'.g"_‘.__;-;,. \ j BF B4 72 ) 100 126 150 180 230 270
AT 3 3 3 3 4 4 8 8 8 ' ©; (O — BH 4 4 4 8 6 8 B 8 12
180-LB Typs Foot Bracket = L S BP 7 8 9 8 125 145 185 185 24
® - - SymboliBors] 32 | 40 | 60 | 63 | 80 | 100 125 | 160 | ISO-FA/FB Type Flange AR T 325 38 465 565 72 B9 M0 140 175
With bearing LB DDQ-EI'; 8 47 53 65 75 85 115 140 180 220
=31 - - | T 325 28 465 565 72 89 110 140 175
T ed L Hl s B8 x 2xmmowoaoa s w e = SymbolBorel 32 | 40 | 50 | 63 | 60 | 00 |
R *'i-f-_} | p | [>]+] 9 12 12 15 15 20 25 30 3 o EE 0.4 EQ EB 100 13 125 140 160 182
. ‘Eﬁ, N . DE 0 12 12 18 16 20 26 30 320 SHE EC 52 63 74 80 105 128
Wi " mo-ca = ot ® & DJ 13 18 17 2 2 2! 33 B5 % - - (] _ ED 225 a8 465 565 72 89
Single Earring | | ~— DGQ 258 278 I17 397 497 597 697 897 897 ; SF/\#{ EE 52 63 75 80 105 128
PN — %u EG 25 25 25 2% 25 25
SymiciBore 52 | 40 | 50 | 63 80 [ 100 125 | 160 200] - o B
cC 2 2 27 32 3 4 5 55 60 < - ET S — R S B . R
€D 9 12 12 15 15 20 25 30 30 . = e 2 98 = ® S|
CE 0 12 12 16 16 20 25 30 30 1$0-S1-TC
i 13 186 17 22 2 27 3 3B5 %
cP 2% 28 32 40 50 8 70 90 60
cT 45 52 6 70 90 M0 130 170 170 NQ NE
PA1 51 s9 67 77 87 18 139 181 181 ND ND
PB1 | 455 525 605 705 B0S5 1105 1305 170.5 1705 I1SO-Y Joint NP —
. s 47 53 €5 75 95 115 140 180 220 e R ! \\ e N ! /m
Double Earving i 325 38 465 565 72 89 110 140 175 i 8 & ;I\ - /Jn ‘E {H .
s [ L
Symbol/Borel 32 | 40 | 50 | 63 | 80 [ 100 | 125 | 1 ( A IR
A 66 86 8 9 i 1" 14 - Y Type >/ ——--1 1Type
B 1 1 15 15 18 18 20 1 ENE ]
= BG %8 22 30 3 4 5 80 e
B s % 5 % @ ™ PPN < oolBorel 32 | 40| 50 | 63 | 80 | 100 | 125 | 180 | 200
Bl 2 24 3 3 4 8B 710 NA 19 5.4 3z az 444 444 56 70 70
BL 8 10 12 14 14 17 2 NC 10 12 16 16 20 20 30 35 35
BM 32 3% 4 50 6 7 90 ND 40 43 84 84 80 80 110 144 144
BN 3 M 50 52 8 78 o4 'NE 52 67 89 89 112 112 155 201 201
BO 51 54 6 67 88 98 124 1 NF 15 24 3z az 40 40 50 50 55
- BS 0 15 16 16 20 20 X w NG 20 20 2 % 30 30 56 72 72
| BR 20 22 26 30 30 38 45 i NH M10X1.25 M12X125 M18X15 MI8X15 M20X15 M20X1.5 M2Z7X20 MIEX20 M3IBX20
A [ G 16 18 18 18 25 25 82 NM | 10 12 16 16 20 20 a0 35 as
o Ll : D 1 12 12 18 18 20 25 l NP 20 24 32 32 40 40 54 72 72
L ' F 5 105 105 105 105 105 105 : m 52 62 83 83 105 105 148 181 181
ISO-SDB Typs }'—“—" 6 3 3 3 3 3 3 3 PA 282 228 9.3 93 533 53.3 64 a0 80
BQ 26 28 22 40 50 80 70 180-1 Joint PB 20 265 33 33 45 45 55.6 70.6 70.6




IS |HAv Kon®

PNEUMATIC

IS HavKon®

PNEUMATIC

| | | Standard Cylinder Accessories &
os pG Py
S o v o e v s E NI
MJ - Q-4 112
e ne 7 M10%:1:28 | -""r 33 37 47 S8 70 84 110 140 175
am 58 22 B 21 28 N5 B 12 MIzX125 12 & I & Be a 84 s 8x an an a0 w2k en
] DD
W 50 90 27 10 41 45 20 10 17 MIBX15 7 ] T BEEEEE w5 m % B %%
63 80 27 10 41 445 20 10 17 MIEX1S5 7 <4 £ —
L] W DE 12 14 14 14 20 20 25 30 30
80 102 20 13 48 57 M4 13 2 M2X15 10 $DE N s s @ (20 % s 50
100 102 28 13 48 B 24 13 22 MOX1S 10 & T & .DQ e 0 | g0 2w sz | @ | 'm |80 | s
125 147 54 13 B4 62 3 14 30 MzTX20 B
1680 147 43 23 58 8@ 35 135 3@ MIBx20 15
200 147 43 23 58 88 35 135 36 MIGX20 15
ISO-UJ Type Float Joint mmmmmmmmm
os 19 50 &5 80
i i arT g
y . @B 5 5 3 2 8 B 25 30 30
: L21 ce, &
Symbol/Bore | PA | PB | PC | PD | PE | PF| PG | PH | 4 ,r b e CE 12 14 14 14 2 20 2 3
32 1 28 10 21 43 56 MIOX125 13 3 R o 3 | S ] o) 14 13 15 15 24 21 25 30 0
‘ﬂ 12 30 12 24 50 B85 Mi2x125 13 “H .::;-i":"’ﬂ j.::‘“r:."_ I —] — /_GL CP 16 205 203 =203 323 323 70 80 90
50 15 38 16 3 64 83 M16X1.5 15 | SR T GT 2z 44 52 52 64 84 120 180 180
y 83 1% 38 18 33 84 B3 MIBxX1E 15 — | N SEE PAI 41 518 603 603 738 738 130 170 170
1 - 80 18 46 20 40 77 100 MOX1E 15 o | @ | " PBI | 335 458 54 54 655 655 1215 1615 1615
i W SR w B S S BERNSD dS o DT s 3 47 56 70 70 0 140 175
160 43 80 35 56 125 165 M3IBXZ0 16 '
BE 200 48 80 35 58 125 185 M3IEX20 18 W Note:CA and CB From 32-100,we can supply two kinds of

materials products:1.iron 2. Aluminium .When placing order,
150-PHS Type Fish eye Joint please Indlcate product material. From 125-200 are all Iron.

CB +Pin Typ» Double Earring
| | | Standard Cylinder

oo NE
— ND ND
S —mmmmmmmmm - NP ==
i M 188 210 _ < _ 11 Tt % T 1L
AC 134 140 149 158 167 174 213 288 320 R 3 g] ------------- |} ----- - ﬁ EI A
ACH AD 85 145 12 13 18 18 18 20 30 B L W — :
Ak AE 50 57 & B0 97 112 140 180 220 B AN il A NH
AF 33 3 47 S6 70 84 80 115 135 r { Qé = <€§ N e '
I AG 208 235 28 3 30 30 45 6 70 Y Type I Typo
AP o ’
Al 28 30 365 41 49 57 B0 115 135 ;
' AP 9 12 12 12 1M MU 18 18 2 —mmmmmmmmm
{B AT 3 3 3 3 4 4 8 8 10 Y+Pin Typa Jolnt 55 80 80
LB Type Foot Bracket MB 20 21 a2 a2 40 & 45 54 54
NG 1 12 16 16 20 20 25 30 3o
Srrioteaslez [ o [so L3 oo Lios Lizs oo o] MO e 4w s @ w0 o w
283 323 383 383 473 473 NE 52 67 B9 89 1z 1z 155 130 130
.'a_‘gg; 10 10 10 12 18 18 20 25 25 ' NF 15 24 32 32 40 40 40 35 35
BC 47 62 85 78 85 115 140 180 220 NG 20 20 23 23 30 30 56 50 50
BD 3 3 47 56 70 84 90 15 135 NH T M10X125 MIZX1.25 M16X15 MIEX15 M20X1.5 M20X15 M27xX2 M36X2  M36x2
BE 72 e4 104 118 143 162 224 280 320 NJ 12 20 22 22 30 0 30 40 40
BF 58 70 8 98 118 138 180 230 270 NK 18 2 ao 30 39 38 54 54 54
BH 65 85 65 85 105 105 15 20 20 NM 10 12 16 18 20 20 48 40 40
Al | 105 105 135 135 5 5§ 18 25 25 MP . 24 3z 32 40 a0 64 35 a5
AK 65 65 65 85 105 105 125 165 165 NQ 52 62 83 X 105 105 148 150 150
BP 7 7 9 8§ M M 18 18 2 PA 25 328 3g.3 393 533 53.3 64 91 #
T 3 37 47 S6 70 84 10 140 175 PB 19.5 %5 33 33 45 45 55 8 8




e \Versio

i

.
HavKon™

PNEUMATIC

mm-mmmmm

113 210
g@ B3 76 88 M4 132 180 200 240
ED aFr 4T 56 70 B4 110 140 175
EE 62 76 88 114 132 180 200 240
EG 25 25 25 25 25 25 32 48
EF 25 25 25 25 25 25 32 ar
ET 1] an 30 30 40 30 38 44
s 455 555 685 675 1075 1345 1725 2125
BHC HG  HR
/% N
N
K §
NGB % =
b we
TC-M Type HE
SY‘“‘”"B“"’ IEIIEIIEIIEIILIIEI—IIEIIEIIEI
815 2
m 110 o 555 2 122 98 38 50 23 2 12 12
63 10 80 68.5 22 134 i1 84 &80 23 2 12 12
m 120 a5 875 22 160 137 127 70 23 2 14 14
100 120 8 1075 22 178 155 136 70 23 2 14 14
| | | Mini Cylinder Accessories
MK MJ MF
‘%/_
‘:I:Q% Symbolf
1 ) .
53 -
_‘J_hi M8X1.25 12 24 8 M8x1.25
” 25 .53 2 7 21 B MIOX125 12 28 17 10 M10Xx1.25
M
i A B 32 5B 22 T 21 8 MIOX125 12 26 17 10 MIDX1.25
MD ME
o 4058 2 8 21 7 MI2XI25 12 28 18 12 Mi2X1.25
M-UJ Type MA
pg PE
PG
Figs (©
_ \\/ / p—
3 Bore
& || S m ]- 8 104 22 36 47 MBX125 17 16 125 &
i _ zg 10 14 11120 28 43 56 MIOX125 21 18 15 65 17
| # 25
¥ | [ 1 e 32 10 14 11 120 28 43 56 M10X125 21 19 16 65 17
|EH. m 12 16 12 154 30 S50 B5S MI2X125 24 22 17565 18
M-PHS Type PM L—H—I

‘}t

M-FA-A Type

[ Symbol [ | € |
MALSaﬂas

A A

Mini Cylinder Accessories

Ha

HavKon®

PHRNEUMATIC

25
40

Gttsg
dad88

70
70
70
a2

COMSA Sorcs
mmmm
&0 85 - -

78
76
76
76

C+3troke BC B G+Biroks BC

F D

= )

& b
o ey R w el i A2 | idw
\.h_/) k/l m

i #la
2 1e-428 LR B2 32440 |[eeee

52
m 70 85 4 38 - ®© 50 85
101 70 a5 4 3 - 64 50 65
101 70 85 4 47 33 72 58 &5
101 82 17 4 50 3B B4 T0O &5

H Our company can also provide this used for mini eylinder flange, if you need, pls add A after all ordering code, like M-FA-32-A

H-LE Type

12 122
14 122

14 142
14 142

B E
= el L-L'. H C:)\
L 2B H; - -
111 e L1 LI [
AL 4- G AP E‘
AC+ AF
AA+ AE

123
147
147
167
187

122
122
142
142

116
118
138
158

141
141
161
183

25 106
28 108
19 126
21 126

100
100
120
142

11
131
13
151
151

106
106
126
126

100
100
120
142

125 54
126 54
145 58
187 64

65
6.5
8.5
6.5

BH&EER
3 o
- 0F W Lo

M-SDB Type

comn
Senes)

16

20 : 21
25 21
rid

12
12
15
15

i6
16
18
20

CB+8troke D cQ
FA 8] e
PB R ) T il ™
e 7] Piasiy
ﬁ IE=1
o (¥
F_?;rfil’ |6

51 128 122
51 132 126
51 135 128
55 137 153

mmmm
107 132 - - 185 21
128 153 122 147 48 @7 32 32 3 85 22 27
132 157 126 151 48 67 32 32 3 65 22 27
135 160 128 154 62 &7 3 36 4 65 24 30
137 162 153 178 56 T 40 40 4 85 28 M

12
14
14
14

25
25
32
a8

SR R R E Al
S o) 50t OS5 0L S Seres -mmznm
16 B8 16 o8 - a8 -
20 40
25 44
32 44
48




| | | Mini Cylinder Accessories

M-Y Joint

)

| 1]

M-Y+Clip

[:_7:;’
Ly | =

M-Y+Pin

=

"

|

M-1 Joint

—mmmmmm“mmmmmmmm

MBX125

::-ﬁa- 19 10 40
32 19 10 40
40 254 10 45

HavKon®

PNEUMATIC

e

===
.
) o e —
!
—— !
8.
7| 21
s o
p v
_ /F“!J e
=L
L e i |
N 7
’__N.L._Nﬂ_..
— ND
NG

—

52
52
57

o
w

NG

NJ

15
15
15

20
20
25

~la i ! = 21._12.5_.
o

418

A0
i
12

+ 20~ 40

—
! M—

M10X 125 12 20 18 10 10 20 52
Miox1.25 12 20 18 10 10 20 52
M12x1.25 15 24 23 14 10 20 57

BU
N ad
b = @ .
. A
“‘.‘.‘;5 - s><45
M-U+Pin Joint p——————
ﬂﬂﬂ“-nﬂﬂﬂﬂmmﬂ
3110 12.5
1218 5.5 s 15 27 25 13 18 ? 3 s 19 5.6 0.3 24 0.4
20125 8.8 8 20 205 32 161 24 10 4 8 252 76 09 2095 05
|| | Speclal cylinder accessorles b
B Ouwr company coan cusiomize

¢

Lk

2 sample.

\a

SNK

25
25
<3|

18.5

195

18.5
26

all kinds of non-standard
cylinder accassories acco-
rding to your drawlng or

Model/
Sonchcnr
DNC Kiis
(IS064318Y
DMA24582)
Bore size:
$ 32,40,
50,63,80,
100,125

1 2 34 67 B 81
5

=3

Uty | 245C hard chrome carbon stesl

mmm
|

. W_.
11

o Profile halt | !'5 . Mjustubla acrew
3 Front Cover saal T Block elip
4 s — '8 Self Lubricating bearing | 12

| $1 Serles Cylinder Kits 8

Model/ Part
Specification HELOANIE
F

Aluminum alloy
(gm) ) Aluminum alloy _
Bore slze: } | S45C hard chroma carbon steel|
$ 32,40 50 Hard anodized aluminum
63,80,100,125, ' :g;
180,200 et
NBR

|4 |Hav Kon®

PNEUMATIC

Malerial

Aluminum alloy
Aluminym alloy
Aluminum alloy

Plstoesal
ring

Gushlon nesdle
Hexagon screw

Hard anodized aluminum
PUR
NER
NER
NBR

Seif lubfiacting baanng"

Despaton INOL_ Dosruton oL Dosrain__J

Cushlon seal Rod O-ing
Cover O-ring . ‘W Piaton saal
Bamel{Without} 15 Magnet{optional)
Plston red(Without) 15 Plston

Maleral
Aluminum alloy

1:.5_
L]

Wear ring

Hex Socket Screw

Back cover

I

NBR
PABS
PTFE+Brass
RbFab
Brags
Carbon stasl
Carbon steel
Carbon stesl

Profile boit 8
Front Cover seal 7
8

] Bk 5 B iy
1 Nut 5 C-ring

2 A
3
4

Front covar

Adjustable acrew

Block slip

'_ﬁa_:n: '_

11

| Self Lubricating bearing |12

Cushion Saal Reod O-ring
Cover O-ring '_rq.g,-___ Piston seal
Barrel{Without) 16 Magnef{optional)
Piston red(Without) | 16 Pistan

_ ’1'-§
1e

B B T

Wear ring
Hex Socket screw
Back cover




IS HavKon®

PNEUMATIC

("
I HavKon I

| | | Assembly kits for pneumatic cylinder | | | Assembly kits for pneumatic cylinder ﬂ
| || MAL Sorles Cyiinder Khs

ant ownr Aluminum alioy Piston seal NER Front cover Aluminum alloy Plston saal NBR
Aluminum aloy Wear ing PASS S " Backcover ] Aluminum alloy . Wearring PASS
SC Kits Plston Aluminum alioy Serr Iubrlacilng hsaﬂng PTFE+Brass MAL Kits Piaton Aluminum alloy Salf lubriacting baaring PTFE+Braas
Bora size: Pisten rod(Without} S45C hard chrome carbon sieel | _ } RbFsh Bore size: "Pleton rod(Without) || 545C hard chrome carbon steel| Magrist{ppticnal) RbFeb
$32,40,50, Barrel(Without) Hard anodized aluminum Cushion naadls Brass $18,20, Barral{Without} Hard snodized aluminum Cushion neadls Brass
63.80.100.125, SN, NER e vl Carbon stsel & 253240  [WARtFbUmP cushlon NBR Haxagon screw Carbon steel
160,200, Cushion seal NBR Nut Carbon steel Front Cover seal NBR Nut Carbon steel
NBR
%
&

g
T@@
1 ? 3

oL petraion TN Desrain N0 _Destratin_INO__Deogaton _[NoL__pednuin___ Mol peiraion N0l Dosirain o _Desratie __[NoL_ bosaten _[NoL_Desorwin__|
1
3

i2 14 08 18 117

O-ing Cughion Hng 13  Pisonrod{Without) 17 Rod nut Solf Lubricating bearing Rod O-ing 13 Magnat{optional} 17 Back cover
Cover Nut EB' Covar O-ring 1:5- Anti-bump cushion 14 Wear ring

Front Cover asal T Barral(Without} 11 Pigtion seal 15 Imp&ct gasket
Front cover 8 Piston rod(Whthout) [ 12 Piston 18 Nut

Tle-rod mt -_B‘ Adjustabls scrow 1& Covar O-ing 14 Rod O-ring 18  Hex Socket Screw
Front Cover seal 7 Block slip 11 Bamal{Without) 15 Piston saal 19 Back cover
8  SelfLubricaingbearng | 12 Tie rod{Without) 16 Waar ring

“SpT) I

Front cover

i | SDA Series Cylinder Kiis &

Model/ . : Model/
e Em | e | e e | e i
Front

MA Aluminum alloy Plston seal NER Front cover Aluminum alloy NER
Boro?lzl:: Aluminum alloy Wear ring PAGE S8DAKite | ‘Back cover ] Aluminum alloy Self i Aing bearing PTFE+Braas
‘*l $16,20,25,3240 ____ - Aluminum alloy Self lubriacting bearing PTFE+Brass » 8 o | Bore size: Plston Aluminum slioy RbFab
- 1‘1} L MAB432 Kits iout) S45C hard chrome carbon steel| Magnat{eptional) RbFab LI a $12,16,20, [Pigion Fod{Witholit)") S45C hard chrome carbon steel G de Steal
H (1506432) Stainless Stael Gushion needle Brass ‘ 25,32,40, Hard anodized aluminum Nut Garbon steal
AN i Bore size: . G 50,63,80,100 e Muffer Cu
- €8,10,12,
16,20,25

NBR [
NBR 5 @

7 0

4/5 e
mmmrm
Rod nut 5 O-ring Cover O-ing Buack cover mm Deslgnation m Designation INO| Daslgnation m Deslgnation
1

Cover Nut 5 Adjustable scrow 1;_}. Bamel(Without) 1‘_4._ Waar ring _ C type buckla Front covar Platon rod{Without) 10  Anti-bump cushion Cover O-ring
Front Cover seal 7  Salf Lubricating bearing 11 Pigton md{Without) 15 Magnet{optional) | Front covar seal -5- Self Lubricating bearing ?’ZB_i' Pigton 11 Barmel{(Without) '1#_1{. C type buckle
Front cover 8 Cushion ring 12 Piston saal 16 Hexagon Screw ' 3 Cover O-fing 6 Antkbump cushlon 9 Piston Seel 12 Back cover

I.IEI
1
3
g




II

Mode/Speciicaton

. MB Kits
(Japan Standard)
Bore size:
§ 32,40,
50,63,80,100

ADVU Kits

3. B (1S06431)

% = W Bore alze:
k e - } $ 18,20,

% 25,32,40,50,

e '

-I5|HAv Kon®

PNEUMATIC

Assembly kits for pneumatic cylinder

DNG Kits(i3015552)

Bore siza: ¢ 180,200,250,320

| | | Tube and piston rod for pneumatic cylinder

ModelSpecicaton Model/Specitcation
8C MaL 8i
Round Aluminum Tube S Mickey
Bore siza: ¢ 185,20, Mouse Aluminum Tube
- 25,32 40,50,63, Bors slze: ¢ 32,40,50,
// 80,100,125, 180, 83,80,100,
g 200,250,320 125,160,200
SDA
Aluminum Tube

DNC
Square Aluminum Tube
Bore slze: ¢ 32,40,50,
63,80,100,125

ADVU
Aluminum Tube
Bore size: $ ,20,

25,32.40,50,63,80

Pigton rod
{45# Steel Chrome-plated)
Bora skza: 4 8,8,10,12,
186,20,25,32,40, 45,
50,80,70,stc.

Bore sizu: ¢ 12,16,20,25,
32,40,50,63.80,100

Note:Normally we provide SDA un-
oxidad aluminium tube, If you naesd
that with oxide, pls be specifled,
because price Is differant.

MA MASB432
Stainleas Stesl Tuba
{High precision)
Bore size: ¢ §,10,12,
16,20,25,32,40

Note:Our company can provide diffarent diamsteres

plston rodes Including Stainless stesl matadars
acconding to customers requirement.

IS HavKon®

PNEUMATIC

| | | XC-03 Series Magnetism Switch

1.Compact design

2.LS8U typa LED light

3.Antl-vlbratlon application

4_Simple installation

5.BK serlag metal brand together
6.5ultable Tor many kinds of alr cylinder.

| specification
Tywe [ XCOR | XCON [ XG0P
E i BRN BRN BRN
P 4'—-—T b + % .+
e POWER Bl LOADPOWER EA‘J Bl oLrER
BLU ) BLU ZF BLU |
Parameter * e & ®— O s .-
'Mdng m&ihnd 2-WlraType 3-WireType
Switching logle SPST Nommally Opan Solld State Output, Nommally Open
Sensor typ;; Reed gwitch NPN Input PNP Output
Operating voltage 5-240V DCIAC 530V DC
Contact rating 10W ment. 6W max.
Ve Nor 20mA max @ 24V(Switch Active)
3.0V max. 0.5V mex & 200mA
Nong 0.01mA max.
Rad LED Red LED Grsen LED
Temperature range =10~70°C
 Shock 306 506G
8G
IEC 528 IP&7(NEMA 8}
Nona With protaction

©2.8.2C PVC Gray colonsil meistance FVC

XC-03R,XC-03R-QD

7x1
T Olo ] o=t
(P S—

| Joint

1000120

PBK metal band for XC-03 serles
For round cylinder &6-&863

+2.8,2C PVC Blank calor,oil resistance PVC

XC-03P XC-03P-QD
XC-03N XC-03N-QD

ft1
T [Ole [ o=t
b—2¢

1000420
I ==
P10 L ts0kio |

ost sensltive position

QD Pinout

2 wire QD wiring 3 wire QD wiring

BROWN(+) BROWN({+)

BLUE{—} BLUE(—}




Pt

=g HavKon”

PNEUMATIC

=Ig|HAav Kon®

PNEUMATIC

|| | XC-21R Series Magnetism Switch | | | XC-31R Series Magnetism Switch

\ " ' 1.Compact design 1.Compact design
: 2.LED light 2.LED light
. 3.Anti-vibration application 3.Antl-vibration appllcation

4.P|,PM serias clamp together
5.8Imples Installation
6.Sultable for all kKinds of standard tle-rod and mlcky-mouse barrel cylinder.

4.For groove and bandage fixing type
5.5Imple Ingtallatlon
6.5ultable Tor all kinds of groove type and minl type cylindar.

I Specilcation
XC-21R XC-21N XC-21P

| Speciication

XC-31R ______XCIN._ | XC3P |

BRN BRN BRN ERN BRN BRN
Connect Diagram EOAD] ‘ 2 " oLy [OAD + ':A,J ik ; Connect Diagram *—LoaD} T % ’ o1 [OAD * ':A,J Bk
. POWER - 3 POWER - s iOWER . POWER - 3 POWER - 3 iOWER
_ BLU }_ 4 BLU 2 BLU _ BLU }_ 4 BLU 2 BLU
Parameter e e _ 2 - £ Paramster - & = » - £
Wiring method 2WireType 3-WireType Wiring method 2WirsTypa 3 WiraType
Switching logic SPST Nomally Opan Solid State Output,Normally Opan Switching logic SPST Nommally Opan Solid Stata Output, Nermally Opan
Sensor type Reed switch NPN Input PNP Output Sensor type Reed switch NPN Input PNP Output
Operating voltage 5-240V DCIAC 5-30V DC Operating voltage 5-240V DGIAC 530V DC
Max.switching current 100mA max. 200mA max, Max.switching current 100mA men. ol
Contact rating 10W max. W max. Contact rating 10W manx. 3W mas.
Gurrent consumption Nane 20mA max@ 24V{Switch Active) Current consumption Nons 17mA max @ 24V(Switch Active) 14mA maxgp24V(Switch Active)
Vultage drop 3.5V max. 0.5V max Voltage drop 2.5V max.@ 100mA 0.5V max @ 200mA
Leakage current Nene 0.01mA mex. Leakage current Nene 0.01mA max.
Indlcator Red LED Red LED Graen LED Indlcator Red LED Red LED Green LED
Max exchange frequency 200Hz 1000Hz Max.exchange frequency 200Hz 100
Temperature range 10~-70°C Temperature range -10~-70C
Shack G 50G Shock 306 50G
Vibration G Vibration aG
Enclosure classification IEC 529 IP67(NEMA 5) Enclosure classification [EC 528 IPE7(NEMA, )
Protection circuit Nona With protection Protection circuit Nona With protection
Cable ©4.0,2C PVC Gray oolarol resistance PVC $4,0,2C PVC Blank color,oll resistance PYC Cable $3.0,2C PVC Gray anlorol resistance PVC %302 Blanicomonol resisance FVE:
XC-21R XC-21R-QD §g§} Eﬁ%‘_ﬂﬁ% - XC-31RXC-31R-QD §gg: z',);cc-_a;&%%

12.8

P = 741 741
el 1P Lol [P ® o e =S I o = =

' | 28.0 | 1c00+20 | 20.0 | 1000420
r f__ﬂb\:[gﬁﬁ:mm -r{ (. . Iom—m 50 | ' 5.0 | '

LS. T, 150410 | 1 i t i 160+10 | = , = _

|13 \ L8] \ asf () o &= |LCEHRIWU] as] () o &= |L\:ﬁﬁﬁuuu

_ Most sensitive postion Most sensitive postion 13 15010 | 13 16010 |

I setisioian, bt Most sensifive postion Maost sensitive postion

Installation of XC-21 _ - —
PM PAC PAB PN PI Qb Pinit Groove dimenslon of XC-31 serles
Fixad clamping lead damplng Flxad Flxed Fixed clamping 2 wire QD wining 3 wire QD wining QD Pinout
device steel balt steel belt device 5.0+0.1

2 wire QD wining 3 wire QD wining

0.2%4
] BROWHN(+} BROWN(+}
J : &
Forte-rod cylindsr  For tisrod cylinder Fnrils-rodwllndar Fnrmmdw,ﬂndar For micky-mouse BLUE{—} .

£ BROWN(+) BROWN(+)
H
- . \
- @ & BLACK(OUT)
$32-2150 $32-4125 #12- 4100 12-4100 cylinder $32-4 100 BLUEL™) 6.3+0.1 —
be-fod dinwmelon  tie-rod cmwnsion  tie-rod dimwnslon BLUE{(—) =)
25018 5412 #12- 4100 For DNG cylinder




& HavKon®

PNEUMATIC

I 1L LI inG

1. Compact design

2. LED light

3. Anti-vibration application

4. For groove and bandage fixing type

5. Simpls installation

6. Suitabls for thin typs{compact) eylindsr

I Specilcation
XC-11R XC-11RB XC-11N ____ XciP |
250

320  Connect Diagram ﬁ“ —'—-—TBRN LOAD— * e +
. Iag POWER B POWER
Parameter ' _B'Lu—l E | —El‘u—‘l' 3
Switching logle | SPST NormallyOpen  SPST Nomally Closed Solld State Output,Normally Open
Sensor type Reed switch NPN Input PNP Qutput
Operating voltage 5240V DC/AC 5120V DC/AC §-30VDC
Mepe.switching current 100mA max. 200mA max.
‘Caontact rating 10W max. SW mex,
Current consumption Nona 20mA meaxg@ 24V{Switch Active)
Voltags drop 2.5V mex.@100mA 0.5V max @ 200mA
Leakagé current None 0.01mA max.
Indicator Red LED Red LED Groon LED
Cabel b 3.2,2C PYC Gray coloroll resistance PVC $3.2,3C PVC Blank color,oll reslstance PVC
‘Sensitivity A0Gauas
Max.swilch frequency 200Hz 1000Hz
Temperature range ~10~70C
Shock 06 50G
Vibration 9G
Enciosure classification IEC 529 IP&7(NEMA 6)
Protection cireuit None With protection

155 15{[__1_1_4 150+ 10 15.5 15.i[_:|:u 156110

o AK0HA0 2 e 950410,
Xc-11R XC-11N ' ‘

XC-11R-QR @ 1 JoB0zE XC-11N-QD 100020

® l E@ﬁﬂ & [ E@ﬁﬂ
g.iin.ﬂ_
3-21"-11 E ’_ QD Plnout
@ @ Unllataral Groova 2 wirs QD wining 3 wire QD wining

BROWN({+) BROWRN(+}

BLACK{OUT} @ BLACK(OUT)

BLUE(—) BLUE(—}

7.140.1
3.2i0.1I;E

Biletaral Groove

I.ML
@ @ azeoq 1 L

Double Unllateral Groove

HavKon®

PNEUMATIC

|| BK/PBN /PN Series Clamp .

Product

Clamp Is designad for mounting XC-03 serles senzoran 3§ bore and above round cylinder

‘; Step 1 Step 2 Step 3 Step 4
oF f 1.Put ona and of the band to the
4 | S 1.Cut the matal
g
: 1.Releasa the r‘fl%l e i - band at the opposite ;i;nilttbmne matal band an the markad
S ke tho scrow, | metal hang. face of the marked  3.nstall the switoh,lock the soreww.
withinthe collect ~ 3.Anothar and of the band to the  P® 3.Finally lock the screw nut.
hanger and make mari.

e

BK-81:For round cylind cylinder and tle-rod cylinder ¢68-483.
BK-82:For round cylind eylinder and tle-rod cylinder 4 6-4 125.{Speed design for= ¢ 125)

PBN Serles Clam
Im Clamp ls deslgned for mounting XC-20 soerles sensor on ¢ 12 bore and abave round cylinder

Product | Dimension | Mounng |

e Stap 1 Stap 2 Step 3 Step 4
w og S 1.Put one end of the band to the
-4 = ! 1.Cut the metal
; Rela:;a the mml T E:ed ;t ‘::: mﬂa ;;:l:li'tninmn.a metal band on the marked
2.Make the screw  metal hand. 2.Install the switch,lock the screw.

= withinthe collsct  3.Another and of the band to the  POSfion

hanger and make mark.

3.Finally lock the screw nut.

g i

BK-B81:For round cylind cylinder and tie-rod cylinder ¢ 6-363.
BK-82:For round cylind cylinder and tle-rod cylinder ¢8-4125.(Spesd design for= $125)

| PN Serdas Clamp

Product

Clamp Is designed for mounting XC-20series sensor on ¢ 12 bore and akove round cylinder

Stap 1 Stap 2 Stap 3 Step &
1.Put one and of the band to the
a .%‘H 1.Relaase the hanger ;ﬁ:t‘g,l?ml #te 1-Put the metal band on the marked
y T 2.Install the switch and stain the PR lah.
; ;? T N s e sciew | mats! hand. 1o e o i ek e
g within the collect  3.Another end of the band to the P8 3.Flnally lock the screw nut.
- 4 hanger and make mark.

12:Round cylinder ¢12
PN — S 20 R i o1a
‘ | 150:Round cylindar 4150

S:Stainiess stesl round cylinder
AcAlyminum mund cyllnder




IS HavKon®

PNEUMATIC

IG5 |Hav Kon®

PNEUMATIC

Pl / PAC Series Bracket

| | | PM/SU Series Bracket u

[P Serles Bracket | PM Sotes Bracket
Bracket Is deslgned for mounting XC-21 serles sensaor on ISO profile cylinder.(mickey mouse Typea) Bracket |z designed for mounting XC-21 serles on tle-rod cylinder.
Dimension/installation DimensioryInstallation
Pl-1(32/40) PI-2(50/83) PM-8{32/40/50) PM-8{83)
A A - v )
L'11_5:4 14.1
PM-10(30/100) PM-12(125)
PI-3(80) Pl-4{100) : :( } [J z
) m PM-16(160/200)
v -
. 16.3 -
s
Pl-5{125) PI-6{160)
- Bracket is designed for mounting XC-21R sensor on mickey mouss Type cylindar {(SUTypa).
5 A @ Dimenso/ntlaton
| i o
" 4 ErETY | 27.35 _ 8U-32
: n #
P1-7(200) ) 10.50
- 8SU-50
; - B P
| . ==
J | 28.66 ‘11 _“L
SU-80
- =
Bracket Is dealgned for meunting XC-21 serles on tie-rod cylinder. : = ; 4‘ L
Dimensloninstaliation 11
8SU-125
i 45 11.6 £ -
' : — 1 e . ﬁq %

B, ‘ o
o ) 2 - @
» ' Using for tle-rod cylinder 4¢32-¢ 100,hydraullc cylinder {tie-rod bore ¢4-$10) £__piameterof tirrod ‘ L_




HavKon® .

PNEUMATIC

Hav KON

PNEUMATIC

=

Pneumatic Actuator

. || | HAC/HAD series Shock Absorbers
According to ISO5211, DIN3337, VD/VDE3845 and NAMUR international standard, XCPC

HAD 25 50 N provide the qualified pneumatic actuator which is compact, modernized design for your
‘ ‘ ‘ selection. Single acting and double acting as optional, size from 32mm to 270mm, and meet

Serles Bushing Stroke Impactspsed Buffercap
HAC:Purous  outer Thraad 6~150mm  1.high-apead Blanlcwith

| 1 Spesd buffer cap

[HAD2050-2 [HAD2016 [HAD1275)| fixed 2. Mederats :
HAD:AdJustable 3.Low spesd N:Without
buffer cap

HAC Serlas

HACD: Multi-buffer-type
Model Max.Absorbing Max_Absorb. Max.EfI'ecﬁve Mass{kg) Max.Impact Spesd (m/s}
i Energy {NM} Enargy!Hour {NM) 2 3 2 3

2 ] 1 0.5

3 7 1.5 0.8
8 15 n.a

30 1.5 0.8

100 15 0.8

150 1.5 0.8

160 15 0.8

700 : 2

700 i 2

1200 : 2

1500 25

2000 25

160 25

200 25

2400 25

BOG . 2

650 . 2

f application to satisfy our customers.

the different requirem

10 BI:II:I
14,400
18,000
36,000
40,000
48,000
48,000
54,000
85,000
80,000
84,000
98,000
127,500
125,000
54,000
84,400

~
S W R L0 L N N

HAC-2030
HAC-2035
H Working Toemperature-10—-80C

5888288888 2 0an =
B8EesB8888s3ss

&
5
8
10
12
18
20
20
0
50
25
40
50
a0
60
30
5

IIIIMHEIIIIIIHHEEEIEEIIEMEEEIEEEEIEEEEIEBIIEHEEIEEHIIE@E

22 25 39 85 95 93 150
26,400 32,000 38,000 51,000 57,000 i 8E,000 127,500
ax.Effective M 120 zuo 312 400 4&0 720 aon
Max, Impect Speed(rm's) 3.2

IIIIMEDIIIIlﬁllIIIIIlﬂﬂﬁﬂIIHﬁHIllﬂﬂlllﬁﬂlﬁﬁmﬂlllﬁﬂ

150 300 zso sun 750 12 000 24 ouu as oou

50,000 108,000 130,000 155,000 187,000 1,560,000 1920000 2,520,000

‘Max.Effsctiv ) 1,400 1,400 3,000 4,000 8,000 12,727 18,181 23,638
Max Impact Speed(mis) 3.2 48 36 4.8 4.8 1.8 18 18

B Working Temperature-10~80C

| | | HR serles speed regulator
| | ordering Code
HR 30 { il ‘li_'_ y
Series Stroks REBT . I
A

HR:.adjustable 15~100mm
oll speed ragulater




H4

HavKon®

PNEUMATIC

X AT O == Ll — L]
XCPC Product  Actuator Type Skze DAAIr return Type Gity of Spring
33-270mm SR:Spring retum Type 5~12pcs

| Destgning Foatures

Designing Features {of Hawks 10 Series Pneumatic Actuator)

Extruded aluminum ASTME6005 body with both internal and external corresion protection having honed
cylinder surface for longer life and low coefficient of friction.

Dual piston rack and pinion design for compact construction, symmetric mounting position, high-cycle life
and fast operation, reverse rotaticn can be accomplished in the field by simply inverting the pistons.

Multiple bearings and guides on racks and pistons, low friction, high cycle life and prevent shaft blowout.
Modular preloaded spring cartridge design, with coated spring for simple versatile range,greater safely and
corrosion resistance, longer cycle life.

Fully machined testh on piston and pinion for accurate low backlash rack and pinion engagement, maximum
efficiency.

Carbon steel with nickel plated or stainless steel fasteners for long term cormosion resistance.

E Full conformance to the latest specifications: 1SO5211, DIN 3337 and Namur or product interchangeability

and easy mounting of solenoids, limit switches and other accessories.

-4

HavKon®

PNEUMATIC

1 Indicator Screw

2 Indicator

3 Circlip

4 Gasket

5 Body

& Retainer Ring

7 Cam

8 O Ring {Upper Bearing)
8 Upper Bearing

10 Pinion

1" Lower Bearing

12 O Ring (Lower Bearing)
13 O Ring {Adjust Screw)
14 Nut (Adjust Screw}
15 Adjust Screw

16 Piston

17 Guide (Piston)

18 O Ring {Platon)

19 Washer (Piston)
20 Spring {Single Acting)
21 O Ring {(End Cap)
22 End Cap

23 Cap Screw

o
t
o
ha

1

MR MMBMMBM-S 3 32 & & 3 & - % & -k

o M N

|

|

Il
|

I
ill

= 11

5 12

=

Plastics
Plastics
Carbon Steel
Engineering Plastics
Cast Aluminum
Engineering Plastics
Stesl Alloy
NBR
Englneering Plastics
Carbon Stesl/Stainless Steel
Enginsering Plastics
NBER
NBR
Carbon Steel
Carbon Steel
Cast Aluminum/Casting
Engineering Plastics
NER
Engineering Plastics
Spring Steel
NBR
Cast Aluminum
Carbon Stesl

Nickal Plated

Hard Anodize, Etc

Nickel Plated

Nickal Plated
Nickel Plated
Anodized/Zinc Galvanized

Dipping Paint

Powder Coating, Efc
Nicksl Plated

[No | Dosignation | Qiy | Standard Metort Opional Vera

Stalnless Steel

Flugrine Rubber/Silicone Rubber

Stainless Steel
Fluorine Rubber/Silicons Rubber
Fluorne Rubber/Sllicone Rubber
Stainless Stes|
Stainless Steel
Stalnless Steel

Fluerine Rubber/Silicone Rubher

Flugrine Rubber/Silicons Rubher

Stalnless Steal




14

HavKon®

PNEUMATIC

il

4

/2
I

=
=

k

nnnnﬂﬂnn--n-mnnm

32DA
40DA
52DA/SR
B83DASSR
T5DA/SR
83DASSR
92DAISR
105DA/SR
127DAISR
140DAISR
160DASSR
180DAISR
210DASSR
240DASSR
270DASSR

25
30
35
42
48
50
57.5
88.5
75
88
103
113
128
148

32
40
44
50
57
57
84
89
77
76
103
113
128
146

a0 BI'J 50
743 85 59
88 1078 74
100.5 121 805
108.5 128.7 B&
M7 137 96.5
133 153 1085
181 181 132
180 200 1375
188 218 158
230 280 189
256 285 210
280 320 245
326 386 273

25
30
30
30
30
30
30
30
30
30
30
30
30
30

50 NB
an D36
&0 950
80 ®50
&0 ®50
a0 P50
a0 D70
80/130 @70
801130 @102

804130 @102
130
130
130
130

M5x8
D50 M5x8
¢S50 M5x8
o780 M6x10
070 MBx10
70 MEx10
L] MBx10
$102 MBx13
$102  M8x13
9125 M10x16
$125 M10x18
@140
140
D185
D165

MExB
MEx8
Max13
MEx13
M8x13
M8x13
M10x18
M10x16
M12x20
M12x20
M18x25
M18x25
M20x25
M20x25

9!9
11x11
14x14
14x14
17x17
17x17
22x22
22x22
27x27
2727
A8x36
36x36
46x486
46x46

12
15
18
16
18
22
26
28
31
3|
40
40
50
50

100
108
135
142
168
188
192
258
310
a70
as7
525
532
602
722

40
40
40
40
40
40
40
55
55
55
80
80D
80
8D

g st = ﬁ =g
D Km | a
E E O hﬂT E{\fj; =
IR | “wl 1 @l “ 1 e
N /<[j>> '] OB (D)
T TIIT TH rsemein samammens

NAMUR Rp 1/8"
NAMUR Rp 1/8"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4°
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/4"
NAMUR Rp 1/2°

Ha

| | | XAT Series

-connoctlon Type and W

r
L] L
( =
L] - 4 L
| Connection Type

HavKon®

PNEUMATIC

® e

1. Air supply connection is designed in accordance with NAMUR Standard to install sclenoid valves.

2. The NAMUR drive pinion and the NAMUR top mounting connection permit direct installation of accessories

such as limit switch box and positioner.

3. Bottorn mounting connection is designed in accordance with 1S05211 and DIN3337 standards for direct

mounting with valve gear boxes or mounting brackets.

New Type

New connection types are continued researching and developing.

Customer Need

We can design and produce all kinds of connection types according to customer'needs.

Air Volume (cm )’

mmmmmmmmmmmmm

11000 17000
1890 2100 3080 5900 7500 3000 14000

mmmmmmmmmmmmm

135 220 350 540 760 1100
ccw ao 43 110 160 270 410 570 860
Weight (kgs)
0.5 0.75 1.1 186 24 29 385 58
SR 1.6 2.1 3 3.8 5.4 8.1

Note: Spring Retumn unit weights are with full 6 sets of springs per piston.

2150 2850 4260 5800 7500

14.5
18.7

17.5
23.5

31.3
35.3

46.8
58.8

67.3

12.9 80.2




5 |Hav Kon®

PNEUMATIC

-5 |HAav Kon®

PNEUMATIC

[ | | XAT Series F

I Double Acting Torque Lis

| | Double Acting Operating Principl

Torqus List and Reference Sslection

Alr Pressure(Bar)
XAT-32D 3.2 3.8 44 5.0 5.7 6.3 8.9 7.8 8.8 10.1
XAT-40DA 4.8 8.0 6.9 7.9 8.9 .85 10.8 11.8 13.8 15.8
XAT-52DA 8.9 12.0 13.8 15.8 17.7 19.7 21.7 23.8 27.8 3.5
XAT-63DA 14.5 17.7 20.3 23.2 26 .1 250 s 34.8 406 45 .4
XAT-75DA 24.8 30.2 24,7 39.8 448 49.5 54.5 59.4 60.3 79.2
XAT-83DA 35.3 43.0 49.4 56.4 63.5 70.5 77.6 B4.8 98.7 112.8
XAT-82DA 49.5 60.4 69.3 75.2 89.1 89.0 108.9 118.8 138.8 158.4
XAT-105DA 80.5 98.2 127 128.8 144.9 181.0 177.1 193.2 225.4 257.8
KAT-127DA 141.5 172.6 188.1 226.4 254.7 283.0 311.3 339.6 3852 452.8
XAT-140DA 215.0 282.3 301.0 344.0 387.0 430.0 473.0 518.0 602.0 838.0
CCW CCw XAT-160DA 281.0 342.8 303.4 4498 505.8 562.0 618.2 674.4 786.8 899.2
Input the compressed air from the A, the left and right Input the compressed air from the A, the Isft and right SATSIENCA 532.0 638.4 744.8 851.2 957.6 10640 11704 12768 14896 17024
plungers move reversely, the output pinion rotates plungers move reversely, the output pinion rotates XAT-210DA 685.0 798.0 931.0 1084.0 11970  1330.0 14620 15860 18820  2128.0
counter-clockwise, and the air at the sides of the both counter-clockwise, and the air at the sides of the both x:’;;gg: — e i O e e 0 8
plungers exhausts from B, plungers exhausts from B. - 1482.0 1754.4 2046.8 2339.2 2631.6 2024.0 3216.4 3508.8 4093.8 4878.4
CwW cw
Input the compressed air from the B, the left and right When it is out of air or power, the two plungers move TYPE: Double acling pneumatic actuator ' Quiput
plungers move to the center, the oulput pinion rotates 1o the center under the spring action, the output pinion The suggested safe factor for double acting actuators Torque
clockwise, and the air between the two plungers rotates clockwise, and the air exhausts from A. under normal working conditions is 20%~30%. OUTPUT TORQUE OF

DOUBLE ACTING ACTUATORS

exhausts from A. Example: 54
The torque needed by valve=100 Nm /
The torque conzidered safe factor=100 {1+30%)=130 Nm /
Alr supply pressure=5Bar
I e i oo According to the above table, we can chooss the
0 a5t 50°

minimum model iz XAT-105DA. -
. . Rotaton
1. Operating Media
Dry and clear air, or the non-corrosive gases
The maximum particle diameter must less than 40um .. "= o
. +5| -5
2. Air Supply Pressure _ [ Model | Karprossuro | Roforence | Referonce | Vave | Double | ISO5211 |
The minimum supply pressure is 2.5Bar XAT-32DA 4 5 Etis
The maximum supply pressure is 10Bar KATAODA § '85 5 BT
3. Operaiing Temperature XAT-52DA 18.7 40 2" 9 ] FO3/05
Standard: -20C~+80TC XAT-63DA 28 85 2.5° 11 11 FOS/07
- p s XAT-75DA 49.5 a0 kY 20 14 FO5/07
Low temperature: -35°C~+80C(can be customized) ERTESTTR s e = s 7 bt
High temperature: -15C~+150'C(can be customized) P @ T ™ - 7 =
H _5 XAT-105DA 161 125 5" a2 22 FO7/10
4. Travel Adjustment . XAT-127DA 283 150 6" 130 22 FOTH0
Have adjustment range of +-5 degree for the rotation at 0 and 90 degree + 5 SRAAHR - - " B - 1
' ' XAT-160DA 562 250 10" 360 27 F10/12
5. lication
Eﬁﬁer indoer oroutdoar XAT-190DA 1084 300 12" 475 38 F14
XAT-210DA 1330 350 14" 760 a6 F14
XAT-240DA 1824 400 18" 1300 48 Fi8
XAT-27T0DA 2924 500 20 2340 48 F18




IS HavKon®

PNEUMATIC

IG5 |HAav Kon®

PNEUMATIC

| | | XAT Series

| Single Acting Torque

Spring Alr Pregsure{Bar)
sg;',’;’ m_‘-‘}---}--_-}--_

[ 8 |
| 90° ] o0 | 0° | 80°| 0° [90° | 0° [90°] 0° [ 90°] 0° [80°] 0° [80°[ 0° [90°] 0° |80°[ 0° | 90°] 0° [ 90°]
8.6

L]

=
=
=

(=]

. Spring Air Preasure(Bar}
Sets “‘-mn-m-_-}-““
1 80° [ 0° | 0° [80° | 0° [80° [ 0° [B0°| ©° [80° ) 0° [90°| 0° [80° [ 0° [80°| 0° [BO°[ 0° [80°] @ [80°|

uﬂ
181 102 113 343 168 773 199 120 242 183 285 2086 328 248 371 282 414 336 &S00 421 588 &O7

4
4 38 61 33 81 &2 100 7.2 120 92 138 111 168 131 178 161 188 17.0 238 21.0 277 24.9 5 228 {28 191 3214 174 754 218 148 280 181 203 204 348 247 388 280 475 878 581 482
6 8.3 4.8 51 88 80 65 110 7.6 130 95 160 1.5 168 134 188 154 228 193 268 233 & 271 158 148 288 181 728 234 1B 277 158 A20 202 883 245 4489 331 535 417
8 88 57 81 38 101 58 120 7.8 140 988 180 M8 17.9 137 219 177 258 218 7 a1 178 186 277 208 707 253 114 9295 157 998 200 424 286 510 472
7 118 &7 81 42 14 62 151 62 150 1604 170 121 208 180 248 200 140 8 261 204 183 2586 226 GB.E 269 112 312 165 398 241 484 337
52 8 132 76 101 45 121 65 141 85 160 104 200 4144 2998 183 RS e 201 23.4 244 G6.4 287 108 373 186 453 281
8 148 88 82 28 1.2 48 131 68 151 &8 19.0 127 230 167 10 452 258 218 212 261 842 7 150 433 238
10 186 9.6 0.2 3.2 122 652 141 74 181 111 220 160 1 aa7 a1 298 1p 322 105 408 184
1 182 105 M2 35 132 &5 171 84 214 134 12 542 308 206 80 882 148
12 18 114 122 238 162 78 201 A7 4 234 143 138 47 184 108 251 159 307 216 363 272 410 0328 475 384 532 440 644 553 756 665
4 108 53 82 89 121 68 150 87 178 126 208 155 217 184 288 213 205 242 353 0.0 411 358 5 993 W78 6 ST 216 ST 2t WG @y Toim QLT T270 MA0E [3UE. MSG 97 GDE: TA84 721 IGOT
5 133 6.7 108 41 187 7.0 166 99 195 128 224 157 253 186 282 215 340 27.3 398 331 8 a1 214 179 424 235 98.6 202 156 748 211 404 267 480 323 573 435 685 548
& 160 8.0 123 43 152 72 184 104 21.0 130 238 159 268 188 326 246 384 304 7 4i0 250 200 404 258 983 312 153 568 200 425 285 537 877 64D 490
: 7 186 9.3 138 46 168 7.6 197 104 225 133 265 162 313 220 374 278 160 & 488 288 250 8T8 278 84 333 150 488 208 501 318 814 434
63 8 212 108 155 4.8 184 7.7 213 108 242 135 30.0 183 358 254 8 527 921 241 955 9267 917 1353 148 466 280 578 373
;] 238 1290 7.0 51 198 80 228 109 288 187 344 235 10 585 357 261 332 317 894 430 202 542 314
10 288 133 188 53 215 B2 273 140 334 188 1 44 193 282 308 394 143 807 258
1 203 14.6 202 55 260 11.3 318 174 12 702 428 358 B4R 471 197
12 319 1640 246 87 2304 145 4 247 480 372 290 478 306 565 503 G880 79 7IE 604 B22 101G £28 1117 1035 1330 1248 1542 1480
4 187 108 135 6.0 188 110 258 159 287 208 337 268 36.8 30.8 436 357 485 407 G684 G608 683 606 5  aps 200 1332 229 438 920 545 438 851 542 758 648 884 755 O70 881 1077 98B 1280 1181 1502 1383
-] 234 138 181 83 210 113 280 182 309 212 358 281 408 311 458 3B.OG 557 459 058 554 & 271 240 292 161 908 267 505 374 E11 480 718 587 B24 EB93 930 709 1037 O0& 1250 1119 1482 1334
& 281 1083 183 66 233 1.5 282 185 312 214 861 284 431 2.3 530 412 628 514 7 433 980 252 60 358 205 485 312 671 418 678 526 784 31 890 737 997 844 1240 1067 1432 1259
7 228 184 205 6.8 255 11.8 304 167 364 21.7 403 266 50.2 365 601 464 180 8 496 3z, 318 143 425 260 531 366 G638 483 744 G693 B0 G676 967 782 1170 996 1382 1207
75 8 374 8 228 74 277 124 327 17.0 376 220 475 19 674 418 ¢ 557 380 285 188 481 234 598 401 704 507 B0 B43 87 720 1130 833 1342 1145
9 421 245 260 74 29.8 123 4.9 173 448 272 b47 371 10  &18 400 451 233 558 240 64 448 770 S52 677 658 1080 872 1302 1084
10 468 272 27.2 T.7 322 128 421 225 520 324 11 &80 440 518 278 624 384 730 490 @37 587 1050 810 1282 1022
M 8.5 300 294 78 W3 178 402 277 12 742 480 584 322 BO0 428 797 535 1010 748 1222 960
12 582 327 8.6 131 485 230 4 304 220 446 361 678 494 711 627 844 760 O77 893 1110 1026 1243 1168 1376 1292 1842 1568 1308 1824
4 208 174 1841 64 252 135 322 205 393 276 463 946 534 417 604 487 €75 558 616 699 957 840 5  asn 275 350 D85 523 415 858 G551 789 B84 522 817 1055 B50 1188 1083 1321 1218 1587 1482 1853 1748
6 361 214 208 63 279 133 350 204 420 274 491 346 551 41.6 63.2 486 77.3 627 914 76.8 8 48 940 335 208 488 342 801 475 734 608 887 741 1000 BT4 1133 1007 1288 1140 1532 14086 1788 1672
8 433 267 2386 61 307 WA 7 202 448 272 518 43 §BI 413 730 664 BT 696 7 532 885 280 183 413 208 548 390 @70 532 812 @85 D45 788 1078 931 1211 1084 1477 1330 1743 1598
7 505 300 264 58 335 13.0 40.5 200 478 271 S48 4.1 GA7T 4B2 628 623 210 &  sca 440 358 180 481 928 €24 456 757 588 890 722 1023 655 1156 98B 1422 1254 1688 1520
83 B 577 M3 28.2 6H 382 128 433 188 503 268 B44 410 TAS 54 9 684 496 436 247 568 380 702 G513 B36 646 868 77® 1101 912 1367 1178 1633 1444
8 649 308 #.8 58 390 127 460 197 601 338 T42 478 10 760 G560 614 304 @47 437 780 G670 913 703 1048 836 1312 1102 1578 1368
10 721 428 3.7 55 418 125 559 266 700 407 1 838 605 582 381 725 48B4 856 627 981 7H0 1257 1026 1523 1262
1 793 471 3756 &3 G616 194 B67 336 12 912 @se 670 418 B03 551 838 684 1202 950 1488 1218
12 B8E 514 47,3 122 014 283 4 4431 928 B34 519 B26 711 1019 904 1211 1088 1404 1289 1596 1481 1788 1873 1581 1866 2388 2251 2750 2835
4 AT 237 258 120 357 227 458 J28 555 425 654 524 753 B23 852 T22 651 B21 M5 102 135 22 5 554 410 552 408 744 KOO 937 795 1120 985 1322 1178 1514 1370 1708 1562 1899 1755 2284 2140 2688 2524
§ 458 208 188 3.8 208 135 167 234 496 18 505 432 854 531 TOA 830 802 720 100 827 1280 iz 6 686 497 470 D297 B62 489 866 €82 1047 B74 1240 1067 1432 1258 1824 1451 1817 1644 2302 2029 D686 2443
& 551 355 23.9 43 338 142 437 241 536 340 635 438 734 538 B33 637 103 @835 123 103 7 776 G675 387 186 679 378 772 571 984 783 1167 856 1348 1148 1641 1340 1734 1533 2115 1918 2503 2302
. LIS RN AT S 2 LR ISR O RS A A e Bl 10 S T SO T 0 EOR TR e A2 E0a G RS2 BT ol R EI PR 0o 240 | ®  as7  @se AB8 267 681 480 BE3 652 1078 845 1288 1037 1480 1220 1653 1422 2038 1607 2422 2184
82 B 736 474 a8 67 417 168 616 266 616 364 714 463 612 BE1 111 849 5 pen 738 808 348 80D 541 903 T34 1185 B28 1377 1118 1570 1811 1955 18pE 2330 208D
8 827 533 A B84 457 183 558 282 655 6.1 853 858 108 75T 10 1108 821 718 431 911 624 1103 B16 1295 1008 1488 1201 1873 1586 2257 1870
0 918 592 3R T2 407 171 588 270 784 488 W02 ga8 1 1218 803 828 513 1021 706 1213 887 1406 1080 1781 1476 2175 1859
1 101 851 438 78 537 178 735 378 9033 574 12 1330 986 938 684 1131 7B6 1324 979 1709 1364 2093 1748
12 110 710 478 86 676 284 874 482 4 631 448 1014 831 1308 1123 1589 1418 1691 1708 2184 2001 24768 2293 2788 2585 3081 2078 3646 3463 4230 4047
4 B32 344 4B41 173 622 334 783 495 844 666 111 817 127 978 143 114 163 130 191 162 223 184 5§ 787 NGO D02 HYS 1184 GAT 1487 1200 1778 1552 2072 1BAN 2984 2437 2058 2420 2048 2722 $534 3307 4118 2804
5 780 430 3.6 178 697 33.7 6858 488 102 eGP 118 820 134 861 150 114 18z 148 295 178 8 943 872 790 518 1082 811 1375 1104 1887 1308 1980 1860 2252 1881 2544 2273 2837 2586 S422 3151 4008 3735
g 948 514 811 179 772 349 93 S04 108 882 120 P23 142 pB4 174 13 208 163 7 1101 783 679 861 971 653 1264 946 1556 1238 1840 1531 2141 1823 2433 2115 2726 2408 3311 2983 3895 3577
: 7 111 602 Bd6 182 847 343 101 S04 117 6.5 133 828 165 115 187 147 270 | 8 1268 895 859 496 1162 789 1444 1081 1737 1374 2028 1666 2321 1968 2614 2251 3189 2836 3783 3420
105 8 126 68.8 761 185 6822 346 108 507 124 €64 157 980 188 1 ' g 1416 1007 1040 831 1332 923 1826 1216 1917 1608 2209 1800 2602 2093 3087 2678 3871 3262
9 142 774 836 188 100 348 116 G510 148 832 180 16 10 1572 1118 1220 787 1513 1080 1805 1352 2087 1844 2380 1837 2975 2522 23550 3108
10 168 860 811 181 107 362 138 674 172 100 1 1780 1281 1401 802 1893 1184 1985 1488 2278 1779 2683 2384 3447 2848
1M 174 4.8 8.6 18.4 131 518 183 8348 12 1887 1342 1582 1037 1874 1320 2187 1822 2752 2207 93336 2794
12 1po  oa 122 358 154 @80
4 128 771 @44 138 927 421 121 704 149 987 178 127 206 155 234 184 283 212 M9 260 378 325 Springs mounting from for spring return actuators:
5 160 964 734 102 102 385 130 B6.8 158 951 187 123 215 152 243 180 300 237 356 203
6 192 118 111 248 139 632 187 91.6 198 120 224 4148 281 206 337 261
- 7 223 136 120 313 148 598 176 E7.9 206 116 261 173 318 229 O@O O@O O@O O@O O@O @O@ @O@ @O@
127 ] 255 154 128 274 157 S56.B 185 B4.2 242 141 208 187
8 287 17 188 24.0 188 523 223 108 278 166 O O @ @ @ @ @ @ @ @ @ @ @ @ @ @
10 818 183 147 204 203 77.0 260 134 @ O O O Q Q O O
1 381 212 184 451 241 102
12 382 23 165 132 222 B9.8 Spes 6 pes 7pecs 8pes

2 0, 2%, (% 2% % & 2%, %¢
60 00 0.0 0.0 6,0 -0 0,0 ¢g0

9pes 10 pes 11 pes 12 pcs




=I§|HAav Kon®

I-|& |Hav I(o~®ﬂ

PNEUMATIC

| | | XAT Series F

I Reference Selection -

TYPE:
Single acting pneumatic actuator
The suggested safe factor for single acting actuators under nermal working

conditions is 20%~30%.
Example:

The torque nesded by valve=100 Nm . ‘- 2 ‘_ :

The torque considered safe factor=100 (1+30%)=130 Nm . : _—— ' > " "y
Air supply pressure=5Bar | _ . y e ; i L .
According to the above table, we can choose the minimum model is XAT-40SR with full 6pes spring. ' 5 | —-— .

HaviKon®

l-'NEuMA.T'L_J

Output
A Toroue OUTPUT TORQUE OF A i OUTPUT TORQUE OF
SPRING RETURN ACTUATORS SPRING RETURN ACTUATORS
Rotaion % Rotaion
- < o
o. 45‘ mﬂ o. 45’ mn

HA\(I(ONE

PNE:(_JMATIC




-5 |HAav Kon®

FNEUMATIC

(|| OU Series Air Source Treatment Unit

[ The XOU conslsted of XOFR and XOL,each unit can be ocrderod separately.
i Tha XOF with water separator cleans the compressed air of fluid oil, condensation and dirt.

! Hot Bl | _1"" Particles.For special application,the standard 40um filter element may sasily be replaced by a
[ T Sum filter element.
A ﬂ The XOR maintain imputting constant operating pressure despite fluchsstion in ine pressure
u ,/ )i and the amount of air consumed.The proportional lubricator adds a regulated quantity of oil to
-~ the filtered alr.The oll-mist contant proportional to the flow and oll can bs added during operation.
| I H The ol drip rate is controiled by the adjustable bolt. Normally, 1to 12 dropa/000L of the air is Suffdent
. | Ordering Code
||'_i X0 —U — 14 — O 0O — MINI
| | | | | |

" Serles Function code PortSize  Gradeof Manometer Size

X0 Serias FRL Combination G1/8" G122 flitration Blank:12bar MINI

G1/4" G34"  BlankcdOpum 7:.7har MIDI

| speciiication G¥E" GT"  5MSum el
Service units _ﬂm__ﬂ_-m-‘

Working pressure:12bard0um  XOU-1/8-MINI - XOU-1/4-MINI  XOU-3/8-MINI  XOU-3/8-MIDI  XOU-1/2-MIDI  XOU-3/4-MIDI  XOU-3/4-MAX]  XOU-1-MAXI
Wmmm KOU-178-T-MINI XOU-1A-D-7-MINI XOU-3/8-7-MINI XOU-¥3-7-MIDI  XOU-1/2-7-MIDI XOU-344-7-MIDI XOU-34-7-MAX]  XOU-1-7-MAXT

Working prassure:12bar5um  XOU-1SM-MINI SO0U-12-5MMINL XOU-JB-5MAMIND XOU-S8-5V-MIDN XEUH/2-5MMIDI XOU-3A-SM-MIDN XOU-J4-SM-MAN  XOLH1-SVMHAXE
Manometer | 0~12bar OMA-40-16-1/8 OMA-50-16-1/4
O~Thar OMA-40-10-1/3 OMA-50-10-1/4
Features of structure Sintered filter with water sparator,MINVMIDI:MAX:Piston regulator;Diaphragm type regulator;Direct constant-tensity lubricator
Mounting fype Pips mounting or foot mounting
Assembly position Vertical £5°
eonnacﬂm G1ue (ehl Gae Gag G2 Gan" Gad" 1"
Standard XOU-...(-A) 700 1600 1200 2000 2600 2600 7000 8000
nominal U—..._-H;._m.. B0 1300 1500 2500 2800 2800 8500 8700
flow rate XOU-..-5M--A} 600 850 1050 1700 1800 2100 6500 7200
Primary  Manualcondensate drain 1~18bar
Pressure  a inmafic condensate drain 1.5~12bar
‘Working pressure 0.5~12bar/0.5~Thar
Min.Standard nominal fiow rate 3 Limin 8 Limin 10 Limin
Grade of filtration ' ADum/Sum
Capedty of condensate fluld 22ml
Timpamtum larlqa 0~80T

Materials Information HouslingZin: die-casting;Fliter bowl and oll bowl:PC;Meta bowl guard:Alsminium alloy;Sealing:NBR;Adusting knob:POM

| intemal structure &

4 5 & 7
ol I
T L \ 1 Flangs-IN Zinc alloy
% 2, — | e 2 Fliter + Regulator
3 Lubricator
II IT[ H U 4 Flangs - OUT Zincalloy
& Bracket 8PCC
6 Allan scraw 835C
7 Pressure guage
K

=I5 HavKon®

PNELUIMATIC

| | | XOU Series Air Source Treatment Unit
|| Overall Dimensions

Graphic Symbol ouT
E1 EB
E2
=2 E2 . Drap olkvalums E
ad]usting screw !
Release | |1
Bracket
Assambly
£
i¢] e Syl F e #
[l HERNT
T
IO e
b
£

““Eﬂﬂmﬂ_-_

XOU-...-MINI Gl Gl M4" 63" M38X1.5
XOU-...-MIDI 140 125 55 47 83 112 3 G1/8"G1/2", 634" M52X1.5
XOU-...-MAXI 2182 148,157 66 53 104 124 3 GH4",G1" M36X 1.5
-m_mmm-mmmmmmm
XOU-...-MINI a1 1" 169 69 17.5 20
XOL-...-MIDI 50 M5 55 52 7 60 22 250 206 a7 245 az 15
XCU-...-MAX] a1 M5 55 63 71 80 22 252 223 80 245 3240 15

Note: The Color Can Be Customized According to Your Reqirement.

Standard flow rate qn as a function of the output pressure p2

OU-1/4-MINI OU-1/2-MIDI OuU-1-MAXI
i kg .
8 B =] e —
: | 7 7
= = B = 6 |
B — 25 B S —
) o ] o
4 | 4 \ 4 e ———
3 3 —— E
: ‘H—\_‘_‘“—‘———_,_\_\_\_ 2 | 2 e |
1 1
¢] 5oO 1000 1600 2000 0 1000 2000 3000 4000 GOOD BOOQ [} 4000 8000 12000
qn[lfmin] o qn[lfmin] - qnfl/min] -

Primary pressurs: p1=10 bar




=I5 |Hav Kon®

PNEUMATIC

||| XOFR Series Filter & Regulator

Fliter and pressure regulator combine a single unit, and cleans the comprassad alr of fluld
oil,condensation and dirt particles.For spacial application the standard 40um filter slemsnt may
easily be replaced by a Sum fitter element.

The XOR maintain im putting constant operating pressure despite flucuation in line pressure
and the amount of air consumed.

Hot

,._-H.
L1
1 Ordering Gode

l J X0 —iFR — 1/4 — [0 — 0 — MINI
Serles Function code Port Slze Grade of Manometer Slze
- XO Serles FilterdRegulatr  G1/8" G1/2° filtration Blank:12bar MINI
G1/4" Cie” BlankA0um  7:7har MIDI
Gim" G1" SM:5um MAXI

{ spocitication
Faerroquistors |y g T

Working pressurs: 12bar40pm MOFR-/8-MINI  MOFR-1M4-MINI  XOFR-V8-MINI  XOFR-Y8-MIDI  XOFR-1/2MIDI  XOFR-M4-MIDI XOFR-34-MAXI  XOFR-1-MAXD
Ihlauual_ \Abﬂdngprmum‘?bar.m XOFR-1/8-7-MINI XOFR-14-D-7MNl XOFR-3/B-7-MINI  XOFR-38-7-MIDI  XOFR-12-7-MDl  XOFR-34-7-MIDI  XOFR-34-7-MAX  XOFR-1-7-MAX]

Rl Working preasure;12ber,Sum  XOFR-US-6VHMIND XOFR-T4-GM-MIN| XOFR-35-SVHMNI XOFR-35-SMMDI XOFR-UZEMMIDN XOFR-34-GMMIN XOFR-34-GM-MAXI XOFR-1-BVMAX]
Siaromeder 0~12bar OMA-40-16-1/8 OMA-50-18-1/4
0~7bar OMA-40-10-1/8 OMA-50-10-1/4
Medium Compressed air
Featuras.of structure Sinterad fitter with water sparatorMINVMID: Diaphragm typa-regulatorMAXI: Piston regulator;
Mourting type Plpe mounting or foot mounting
Assembly position Vertical +5°
ngnecﬁon a18" a1/4" a3e" G3/g" (¢} fra G3/4" a34" a1"
Standard XOFR-... 750 1400 1600 3100 3400 3400 8000 10000
nominal XOFR-...-T 900 1500 1700 3400 3300 3800 8500 16000
flow rate XOFR-...-5M 850 1200 1350 2400 2500 2500 7300 7600
Primary pressure  Manual drain 1~18bar
Working pressure 0.5~12bar/0.5~7bar
Grade of flltration 40um/Sum
Mzo. Condansate Cepaclty 22ml
Timperalure range 0-B80C

Heusing:Zinc die-casting;Fliter bowl:PC;Meta bowd guard:Aluminium alloy; Sealing:NBR;Adjusting knob:POM

Materals Information

En Graphic Symbol ouT
IN

XOFR-.-MINI 40 39 78 85 64 52 OGI87GI4.GIE"  MIBX15

E XOFR-.-MID| 55 47 83 112 85 70 GUEGIZ'GI4"  ME2X15

U U M_‘“’\H H XOFR-.-MAXI 66 53 104 124 96,116 8081  G¥4"GI° M3EX 1.5
XOFR-.-MINI 31 M4 45 184 69 175 20

XOFR-.-MIDI S0 M5 55 52 71 6 22 250 98 245 32 15

@ XOFR-.-MAXI 31 M5 55 63 71 60 22 252 80 245 3240 15

HavKon®

PNEUMATIC

ol e e fuol e e

1 Pragsure knob 18 Inner Joint

2 Regulator cap POM 18 Condansate drain POM

3 Regulator nut 83s5C 20 Wearing sheet Insulatlon sheet
4 Adjusting spindle 835C 21 OR Sheet NBR

5 Pragsure apring SWC 22 Ovarflow base 6061-T6

B Flxed ring BOE1-TE 23 Onepartofdiaphragm SPCC

7 Onepartof membrane PAB+G15 24 Dlaphragm NER+Nylon Mash
8 O-ring NBR 25 O-ring NBR

9 Flanga-IN Zine alloy 26 OR Body Zing alloy
10 Spool Brass 27 Plug POM

1 O-ring NBR 28 Q-ring NBR

12 Whirl wind Impeller FOM 28 Flangs-OUT Zinc alloy
13 Fliter slement PE a0 Allon screw 83a5C

14 Mangear POM 10 Q-ring NBER

18 Metal bowl guard Aluminiumalloy 32 Spring SWFPB

18 Fllter bowl PC a3 Fasteners Brass

17 O-ring NBR 34  Filter slement bass POM

Standard flow rate gn as a function of the output pressure p2

OFR-1/4-MINI QOFR-1/2-MIDI OFR-1-MAXI
] 8 jl!!
B — ] e |- By —
7 —_— T 7
=8 | =& M (=10 .
&ls ———— 25 —— als
o \ 8 =
2 P E—— 4 — al e ——
3 N 3 — 3
2 & 2
I |
1 N 1 1
- = T [T a 1doa 2000 3000 4000 5ODO . 050 500 12600
gqnflimin] gnfi/min] gqnfl/min]

Primary pressura: p1=10 bar




|5 |Hav Kon®

PNEUMATIC

|| | XOR Series Regulator

The XOR maintain imputting constant operating pressure despite fluctuation in line pressure
and the amount of alr consumed.

| | ordering Code

XO — R — 174 — O — MINI
Series Function code Port Slza Manometer Bize
XO Serles Ragulator G1/8" Blank12bar MINI

G4 7:7har MIDI
G3a" MAX]
G1/2"
G3a"

[ spociiication i
I S T A R N7 |

Working pressure 12bar XOR-1/8-MINI XOR-1/4-MINI XOR-8-MINI XOR-3/8-MIDI XOR-1/2-MIDI XOR-3/4-MIDI XOR-34-MAX] XOR-1-MAXI
R T e | XOR-1/8-7-MINI XOR-14-7-MINI XOR-38-7-MINI XOR-38-7-MIDI OXR-1/2-7-MID| XOR-34-7-MIDI XORIA7-MAX] XOR-1-7-MAX]
OMA-4D-16-1/8 OMA-50-16-1/4
OMA-40-10-1/8 OMA-50-10-1/4
Flitterad, comprasasad aln{lubricatsd or uniubricated)
MINI/MIDI:Diaphragm type regulator;MAXI: Plston regulator

Mountlng lype Pipaffoot/Plate mounting
Connection G1B" G1/a" Gas" Gag" G1/2" Ga4" Gy4" G1"
XOR-... ' 800 1500 1700 3200 3500 3500 11000 11500
XOR-. 1000 1600 1800 3300 4000 4500 12000 12500
Primary pressurs | 1~16har
Working pressure 0.5~12bar/0.5~7bar

Materialz information Housing:Zinc die-casfing; Sealing:NBR; Adjusting knob:POM

Graphic Symbol
Es
EB IN ! QuT
l— E3 [
| |
I o Bracket Assembly | OHG Type sasem|
S | | i 3|
a2 | “g“:% “Lq EETEE - —— -2
i '
| = -
| Exll.

I L TR IS N I 4
EEEEIEE-E-_@EIE“EW

XOR-.-MINI 40 39 76 95 84 52 G18.G14"Q38 M38x 15 Méi 45 40 44 35 Max3 69 175 96
XOR-..-MID| | 55 47 93 112 85 70 GUE"GI2"GI4" MEZX15 B0 ME S5 62 71 @) 22 Max5 98 245 98
XOR-.-MAX| 66 53 104 124 96,116 80,81 G3/4",G1" M36X15 3 M5 55 71 60 22 Maxd4 B0 245 BB

5 |Hav Kon®

PNEUMATIC

|| | XOR Series Regulator

| intomnal structure

(N0 | lem 1 Waiorl |

1 Pressure knob POM
2 Regulator cap POM
3 Regulator nut 835C
4 Adlusting spindle 835C
5 Pressure spring SWC
: 6 Fixad ring 6081-T8
‘ 7 Ons part of membrane NBER
' 8 O-ring NER
9 Flange-IN Zing alloy
10 Spool Brass
| ] 1 0-ring NER
12 O-ring NBR
B 13 Fasteners Brass
/ 14 Locker cover Zine alloy
i 16 Waearing shast Insulation gheat
16 OR Sheet NBR
17 Overflow base 6081-T6
18 One part of diaphragm SPCC
19 Dlaphragm NBR+Nylon Mash
20 Q-ring NER
21 OR Body Zinc alloy
22 Plug POM
23 O-ring NBR
24 Flange-QUT Zinc alloy
25 Allenh scraw S535C
26 Spring SWPB
| Flow diagram &
Standard flow rate qn as a function of the output pressure p2
OR-1/4-MINI OR-1/2-MIDI OR-1-MAXI
o 10 10
1; : X,
8 4 T
7 [ ] T B ] 7
—| & = L 5 = ol [ om— ———
E " é 5 e % 5
2 L a4 ki — S I I — —
; [ s T 3
2 2 2
=== 1 =
0 1000 2000 3000 4000 SG0C 6000 7OOD 4000 8000 12000

GO0 1000 1600 2000

qn[lfmin] gn[lfmin]

Primary pressura: p1=10 bar

qn[limin]




|_|q HavKon®

PNELMATIC

=I5 |Hav Kon®

PNEUMATIC

|| | OF Series Air Filter (|| OF Series Air Filter

The OF with water separator cleans the compressed air of fluid il condensation and dirt I T T —
- e [ particles,for special application,the standard 40um filter slement may easily be replaced by a
I Mot .,E Sum filte relement.
P | Ordoring Core (NO [ fem | Moterial |
1 Omament cover(round POM
I [ X0 — F — 174 — O — MN 1 tround)
2 O-ring NBR
‘ 3 Flange-IN Zinc alloy
}:' i u Serles Function code Port Size Grade of flltration Sliro 4 Fliter element base FOM
XO Series Filter G1/8” Blank:40um MINI
EoH G1/4" 5M:5um MIDI 5 Whirl wind Imprlier POM
Gam- MAXT 6 Filtar alemant PE
k| Al 7 Manger POM
Ga/a” . 4
I fet B Metal bowl guard Aluminlum a"oy
pecification
8 Filter bowl PC
T S T R R R T
40um Manual Draln | XOF-I/B-MINI  XOF-T4-MINI  XOF-¥B-MINI  XOF-¥B-MIDI  XOF-1Z-MIDI  XOF-34-MIDI  XOF-34-MAXI  XOF-1-MAXI 11 Inner jolnt POM
1 5pm L NOF-1-SMMIN| XOF-VASAMN XOF-38-SMN| XOF-28-S4MD1 XOF-A250MMD] XOF-24-5MMD XOF-34-5M-MAXT XOF-1-SM-MAX] 12 Condsnaate drain POM
Compressed air 13 OF Body Zing alloy
Ft Sirterad filker with watar apartor 14 Flange-QUT Zinc alloy
Mounllng type Plpa mounting or foot mounting 15 O-ring NBR
‘Assembly posttion Vertlcal +5° 16 Plug POM
Connegction G1/8" G14" G3m" Gag” Gl G4 G34" G1" 1 7 _ O-ring NBR
Stanldaqd OF-... 1000 1200 1400 2700 3000 3000 5000 5300 18 Alien gerow s35¢c
Hm :Rg OF-...-5M 500 850 1100 1800 1800 1800 3200 3300
Primary pressure  Manual drain 1~16bar
Gn_'ade _of _ﬁltraﬁon_ 40pm/Sum
Max.condensate capacity 22mi | Flow diagram
Timperature range 0~80°C
Materials information | Housing:Zinc dis-casting;Filter how :PC;Metal bowl guard:Aluminium alloy;Sesling:NBR
' Standard flow rate qn as a function of the output pressure p2
—E Graphic Symbol
= T phic Sy OF-1/4-MINI OF-1/2-MIDI OF-1-MAXI
E3 Ed [ & 5
L J A J 2]l
T T . — e | ] IN ouT 4 14 bar 4 14 b 4 14
— 3 Bbar |10bar 4lbar Bbar b albar 5027 10/bar
m% -1 - oy = R E 3 4 bar E 3 i Tl 4 |
i = ¥ / ¥ ¥
”—L E. 2 E]. z =| 2
= S F1 B
1 / 1 = = 1
- =" L]
2 Matel cup cover) . _% Lt
L. ] 1000 2000 2000 4000 5000 8000 0 1000 2000 30004000 5000 6000 7000 4000 o 4000 8000 1zboo | 18000
[ gn[ifmin] qniiimin] qnflimin]

Primary prassure: p1=10 bar

Manual Dain
x|
i |

—mmmmm-_mmmmmmmm

XOF-..-MINI 40 2 G1/8".G1/4°.63/8 M4 17.5
XOF-.-MIDI | 55 47 3 85 70 G188 Glf2"e3M4” M5 55 T 60 22 245 32 15 178 156
XOF-.-MAXI #8 53 3 96,116 809 G4 ,G1" ME 55 T 80 2 245 3240 15 203 175




=I5 HavKon®

PNEUMATIC

(|| 'OL Series Lubricator

_ The direct constant-density lubricator add regulatd quantity il to the compressed air A valve
F maintains oll mist content proportional to the compressad oll flow.
The prassure drop that oceurs when the air flow through a sight feed oil cup delives oil from

b
L Hot e ; the bowl to the sight oil indicator. The drop of the oil flows into the air channel when it is atomized.
i E The oll drip rata |s confrolled by means of the regulating screw.Nomally,1 to 12 drops/1000L
QT of the air is sufficient.
]
I | | Ordoring Codo
I s J X0 — L — 1/4 — MINI
tH Serles Functlon code Port Slze Size
X0 Series Lubricator G1a" G1/2” MINI
G1/4" G3i4" MIDI
GIm” G1° MA

st
MmN MDl ] MAX T

XOL-1/8-MINI XOL-1/4-MINI XOL-3/8-MINI XOL-3/8-MIDI XOL-1/2-MIDI XOL-3/4-MIDI XOL-3/4-MAX] XOL-1-MAX]

Medium Compressed air
Features of Qh'ucture Sirtered filter with water apartor The direst Constart-density Lubsicetor

Mounting type Plpe mounting or foot mounting

Assembly position Vertical +5°

E.‘nnnwbun G18" 14" a3 G3/g" ehlrg 34" a34" ar”
Standard nominal flow rate 1300 2300 2700 5500 8100 8300 8400 2000
Min.Standard nominal flow rate 3 Limin & Limin 10 Limin
Timperature range 0-80'C
Materials Information Housing=Zinc dle-casting;Oll bowl and Drip cap :PC;Metal bowl guard:Aluminium alloy;Sealing:NBR
Recommended il IS0 VG 32 or the sams grade
| | Overall Dimension Graphic Symbol
Rislsens .
[y W |
- Brackst Assam IN ouT
old |" i 4o g F -
ey [ H::,
il s
#
Idated oup cover
oo’ b s

| Model | E3 | E4 | E7 | K | F4 | F50 | L1 | 12 | 13 | H_| H5 |
2 M4 4.5 45 35 1 20

XOL-.-MINI 40 39 G187 G1/4~Gan" : 175
XOL-._.-MIDI &6 47 3 G1/8",G1/2",63M4" M5 55 ¥4 | 80 22 24.5 32
XOL-...-MAXI] 66 53 3 G344 .G1" M5 55 71 80 22 24.5 32,40

=& |HAavKon®

PNEUMATIC

| | _OL Series Lubricator

(N lom 1 hataral

1 Upper glass PC
' 2 Ad)ust screw Brass
a O-ring NER
1 13 4 Ornamant cover{cireular) PO
2 5 Windshleld chlp NBR
3 8 Windshield base Brass
4 ﬂ: ju 7 Flange-IN Zinc alloy
5 [ 8 O-ring NBR
8 Ul A 9 O-ring NBR
=1 10 Matal bowl guard Aluminium alloy
""" " 1" Lubrlcator bowl PC
s l ! [ 5 ' 12 Qil-filter plup Brass powder sintared
. M | M 13 O-ring NBER
i b ' 14 Screw base EBrass
] | | 15 Oil dropping PC
i | 16 Seal piece NER
' ii i i ] 17 OL Body Zinc alloy
| H | i i 18 Flanga-OUT Zinc alloy
itk i 18 Allen scraw S35C
lI — |f , e 20 Blesdsr screw POM
..____5§I:.|u:m;m:g!_l__,i w 21 O-ring NBR
22 Valva pin Brass
23 Double-end bolt sus
s Steel ball SUs304
25 Qil tuba connection POM
26 Olltubs PU
| Fiow dingram
Standard flow rate qn as a functlon of the output pressure p2
_ OL-1/4-MINI . QOL-1/2-MIDI . OL-1-MAXI
4 5 s 12Il|r 5 s 12ILr 5 ; 12 bar
&l i BJ bar L wl.g 8 hlar }0 er f | 4 VE ﬂlllbar
é Bbar / é di 6 hrr é 8 ?ar /
<| 3 4bar =|? =|? Spar
5 3 3 7 //
2 Zhbar 2 Zbar / 2 7bnr
1 1 1
— e =
0 ? 1000 2000 3000 4000 5000 £000 7000 8000 0 4000 8000 12000 16000 0 5000 10000 15000 20000 25000
[Ifmin] gnfl/min] qn[min]

Primary pressura: p1=10 bar




SOf F_L@gVersi SR
=1 [=|5|aviion-

PNEUMATIC

I&|Hav Kon®

PNEUMATIC

(|| A Serles Alr Source Treatment Unit
i

AR3000 T M HC [BRMANE & S M e

1 Regulator seat ZznAt 4-1 Regulator Body Aluminum
2 [ Oifing 1 Oing 1 NBR
3 O nng 1 Whlrhnrlng Hade 1 ABS
4 1 ‘Flter Element. 1 |  Brass
5 1 Bott blard 1 Carbon Stesl
6 1 Drain blard 1. | ABS
7 1 Watsr cup 1 Poly Carbonate
8 1 Valve Core = 1 Brass.
8 1 Spring 1 Stalnless steel
10 | 1 O-ing 1 | NBR
— 1 1 Drainvalve 1 Brass
12 1 - Oin 1. | NBR
13 1 Hex Nut 1 Brass =
14 1 Nut 1 Brags
15 1 Bowiguard 1  Carbon steal
16 | 1 ‘Spring 1 | Stainless stesl XAGS5000-10 XACA000-04 1000
17 1 Pin 1 ABS
18 | 1 Lock 1 ABS
18 1
20 1
2 1 Graphic Symbol
22 4 | | Ordering Code
23 4
24 1
25 1 XA C 3000 — 04 ]
28 | 1
| | | | |
Sorles Function Specification Code Port Slze Drain Type
XA series coda 1000 M5:M5 X 0.8 Blank:Manual
F.R.L Comblnation 2000 01:G11" Drain Type
3000 02:G1/4" D:Aute Drain Type
; : 3“""*’ toal 4000 oG {Avalble for 2000
o "’"”“s“‘” 1 1 NER 5000 4G/ or above)
0_-n'ng 1 1 NBR o
[ Olidoptube | 1 1 Brass e
O-ring 1 1 Brasa
Lubricator Body| 1 1 ABS
Regulate needls 4 1 ~ ABS
O-ring 1 1 | Stain Stesl | SpecHication .
OClreguninvehonest 1 1 Carbon stesl
R,E:‘f& . O— Modsi XAC1000 | XAG2000 | XAC2000 | XA G300 | XA C4000 | X XAC5000
R 1 | FEEOREEER M5 01 02 -02 -03 -os -10
sw:ﬂm_ 3 1 . Rated Flow 5000
I 1 1
Spring 1 1 Polycarbonate Port Size M5 G1e" G4 G1id" Gam" cas" G2 Ga" G34" G1"
18 Oewayvawsea 1 1 Carbon stesl ; i
18 Reedsestboard 1 1 NBR o F|rlsrPrec|5|on 22
20 [ Soew | 2 1 Brass Highest Working Pressure 1.0MPa
21  Filter Element 1 1 POM
22 EEETEEE 1 R Ensured pressure Reslstance 1.5MPa
23 Muddle Part 1 Numln;gld 23 1 NBR Operating Temperature Range 5-80C
24 |Spingwesher 4 | Carbon 24 1 Aluminum
25 4  Carbon stesl 25 T Caibon dta Range offf!.j.?stable Pressure 0.05-0.7MPa 0.05~0.85MPa
2 | 1 [ NBR 26 1 BR Recommended Oll Use IS0 VE 32
27 1 Carbon steel 27 1
2 1  ting 1 FOM - “Oring 1 Contﬂlnar Matsrial Polycarhonate
29 Fin 1 Carbon steel 20 Relsinerring 1 Protective Cover Net Avallable Avallable
20 Oil tuba 1 PU 30 | Sping | 1 Dirain Function Diffrential Draln Differential Draln/Automatic Draln
1 Q-ring 1 NBR 31 Owlowvalveseat 1
32 | O-ing 1 [ NBR' 32 [Regulate harklle 1 Vaive Typs With Over fiow
3 Bgi_l?\__lp : 1 Polycarbonate ﬁ Symbol ring : - Filter XAFI000-MS XAF2000-01 XAF2000-02 XAF3000-02 XAF3000-03 XAF4000-03 XAFAODO-04 XAF4000-08 XAF5000-06 XAF5000-10
ag Spring 1 summﬂu 35 ' 1 tSI Regulator | XAR1000M5 XAR200001 XAR2000-02 XAR3000-02 XAR3000-03 XARMOO0003 XARAGOD-04 XARAO00-06 XAR6000-08 XARG000-10
36 Pin 1 ABS 38 4 i Lubricator  XAL100D-MS XAL2000-01 XAL2000-02 XAL3000-0Z XALI0OD-03 XALA00O-03 XAL4DDD-04 XALAGOC-08 XALGODO-DE  XALGDODO-10
37 Lock 1 ABS 7 4
a8 1
a8 1
40 1
44 i




It

1] Ac100

I LA LT

E . F
N A Gauge Size 5
6/ |
[ 1 L-Typs Brackst
o — (5] P A /
o AN g T
m__zLu 2= TR e L LEAsE ) jour e @%__
| U 1 SR AT Een 1) e S
\“_“__;,'"f ﬁ “ 1 | L i j
= T m L] |
Fiping Adaptor{Option Iyl L L )
W K Port Size/
Regulator  Lubrlcator P
Drain & Filter
XAGC1000~-2000
A Gauge Slze
3 E b £ L-Typa Brackat
: Q —
IN T 11 T4 |our AT A —
| [ =E [ a2t NI
I | | e e | == 1 # T
| |I| !| -I— /
F I
Piping Adaptor{Option o | _l_ :
Port Si
i Regulator Lubrlcator P
Drain & Filter
XAG3000-5000

pressor F[_ee Version

-4

HavKon®

PNEUMATIC

_“ﬂﬂﬂﬂﬂnﬂ-ﬂ-“ﬂlﬂ

XAC1000
 XAG2000
XAC3000

XACA000-08

618" ~G1/4"°
G1/4" -G
Gas" ~1/2°
G334
G4 ~G1"

140
181
238
153
300

B4.5
125
1585
1915
183
2M5

255
k]
3
41

40.5
48

40
53
70
70
80

56.8
a0.a
65.5
68.5
75.5

30
41
50
50
68.8

80
64
84
89
106

3288 RE

85

12

1

L
7
7
7
D

175
2
342
422
48.2
5.5

23
28
33
»
40

50
0.5
88
88
115

| Ordering Codo &

XA C
Serles Function
XA saries code
F.R.L Combination

| spocinication 5

3010

SpecHication Code

1010
20190
3010
4010
5010

HA

HavKon®

PNEUMATIC

Graphic Symbol
T W
— 04 Ol
Port Skze Drailn Type
MGM5EX 0.8 Blank:Manual
01:G1/8" Drain Type
02:G1/4" D:Auto Drain Type
03:G3/8" {Avalble for 2000
04:G1/2" or above)
06:G3/4"
161"

Model XAC1010 | XAC2010 | XAC2010 | XAG3010 | XAC3010 | XA 10 XAC4D10 | XA 10 XACSDMD | XACSD10
-M§ -01 -02 02 -03 -04 -06 -1 0

Rated Flow
Port Size.
Filter Precision

M5

Ensured prassure_Rsaiatanm

e Range

Range ofAdjﬁs:t.al.:.:Ié”Pmssure 005-0.7MPa
Recommended Oil Uss

Contalner Matarial
Protective Cover
Drain Function

Valve Type

Elementsl

Not Available

Diffsrantial Draln

1700
G1/4*

Gye"

G3m"
251
1.0MPa
1.5MPa
5-60T
0.05~0.85MPa
180 VG 32

Polycarbonate
Availahla

G120

G34" Gaa" G1"

Differential Drain, Automatic Drain
With Over flow
.cmg Fiter&Ragulator XAW1000-ME XAW2000-01 XAW2000-02 XAWI000-02 NAWI000-03 XAWE000-03 XAW4000-04 XAWH000-08 XAWSOD00-08 KAWS000-10

Lum XALIDOO-MS XAL2000-01 XAL2000-02 XAL30D0-02 XAL300D-03 XALADDO-03 XALADOD-O4 XALADDO-06 XALSODO-08 XALSOOO-10




i

HavKon®

PNEUMATIC

|_|q HavKon®

PNEUMATIC

| Ordering Code

KEE

Draln ;

Lubrlcator

Fllter & Regulator

XAC1010~2010

n

L-Type Bracket

Kz
=

Gal

7
B

N

Lubricator

Draln,

.u—

Fllter & Regulator

XAC3010~5010

-m-“ﬂ-ﬂﬂﬂn“-n-lﬂ“ﬂ

XA F 3000 — 04 O
Serles Function Specification Code PortSlze Drain Type
Xhsotles code 1000 M5:M5%0.8 Blank:Manual
Filter 2000 01:G1/8" Drain Type
3000 02:61/4" D:Aute Draln Type
4000 02:Ga/s" {Avalble for 2000
500Q 04:G1i2" aor above)
06:G3/4"
10:G1"
[XAFS5000-10| | XAF4000-04 [XAF1000-M5
Graphic Symbeol
I!Ieatlon

Modal XAC1000 | XAC2000 C2000 XAC3000 00 00 XALCA000 XAC XACS000
M5 =01 =02 -03 06 -10

XAC1010 1085 BDS 25 2B 20 17.5 16
! G1e ~G14” 80 164.5 78 40 568 30 45 24 8.5 a5 S 22 23 a0
G4 ~33f" 17 21 82.5 53 50.8 4 58.5 35 7 11 7 34.2 26 70.5
G ~12 154 262 112 70 5 50 77 40 ] 18 7 422 a3 &8
GI-4" 164 267 114 70 70.5 S0 82 40 ) 13 7 46.2 36 88
G ~G1" 185 338 116 80 755 688 975 50 12 16 10. 55.5 40 115

Rated Flow 7000
Port Size M5 a1/t a1/m4" (ch 12 fexTh Y Gye" G2 fex 2L G3/4" (el
Flrler Preclslon 25p
g Pressure 1.0MPa
Ensured pressure Remstanoe 1.5MPa
arating Temperaturs Range 5~60'C
Contalner Material Polycarhonate
Protective Cover Not Avallable Avallabls
Drain Function Differantial Draln Differentlal Draln,Automatic Draln
|.“, Dinsansion: .
L A
é p F - ) Bragket %L
K M Brackst K LM L —.M
Til=l B 1 _'I D T Y, 2 iﬁ;}
@ = | Y el = L BT el
N [ DL?T* c.m -1 ‘H ouT [{,{ =y d ||| ||| ad -&é\%é‘ifr_‘\hrackat
< | | N
1 Port Skze
m %H N Port Stz o
m
* L M
Dr;ln ‘ P
Draln Draln
XAF1000-~-2000 XAF2000~-4000 XAFS000
| Dimension Shest &
“ﬂ-ﬂﬂﬂnﬂ-nﬂ“ﬂ
XAF1000
- XAF2000 G187 ~G1/4" 40 975 1 40 17 0 27 22 54 24 40 23 4
XAF3000 G1/4” ~GI/B" 53 1325 14 53 15 41 40 23 6.5 8 53 23 56
\F4000 GHg" ~1f2" 70 1685 18 70 7 5 54 2 85 15 70 23 13
G3~4" ™HO1T28 2 70 14 50 54 25 85 105 ™ 23 73
G ~G1" 80 2475 24 80 23 865 88 35 1 13 50 32 %)




|5 |HAavKon ©

PNEUMATIC

XA R 3000 — 04
Sorles Function code Specification Code Port Skze
XA gorles Regulator 1000 M5:M5X 0.8
2000 01:G1/8"
3000 02:61/4"
4000 02:G3/3"
5000 04:G1/2"
068.G3/4"
10:G1"
CGraphle Symbol ?
Model XAR1000 | XAR2 00 XAR3000 | XAR4000 | XAR: 4000 XARS000
M5 -01 -02 03 03 -06 -10
Ratsad Flow 8000
Pdliﬂzb MS G178 G1/4" G1/4" {e= fer iy GiZ fex ity G344 fetl
nghasl Wurkmg Pressure 1.0MPa
"Ensured pressurs Reslstance 1.5MPa
Operahng Tamperatuna Range 5607T
0.05-0.85MPa
With Overfiow
E E
D
Bracket
Panal cutting Hole
AR1000~3000:Max3.5
ARADND~5000; Maxb
XAR1000~5000

I LI LR 4
_-ﬂ-ﬂﬂﬂﬂﬂ-n-““

XAR1ODD 615 "
3 G1/8" ~G14" 40 85 17 40 56.8 30 M ad 54 15.4 55 23 335
G14" ~G3fe" 53 1275 3 53 60.8 38 40 45 6.5 8 53 23 42,5
Gyan -2 70 1495 375 70 85.5 48.5 54 54 8.5 105 Fil 23 525
G3-4" 75 154 40.5 70 89.5 4.5 54 555 45 105 i 23 525
G314 51" 80 168 48 80 755 49.5 54 62 8.5 10.5 70 23 525

15 |Hav Kon®

PNEUMATIC

XA W 3000 — 04 L]

Serles  Functlon cods Specification Code Port 8ize Draln Type

XAseres  Fliter & Regulater 1000 M5:M5X%0.8 Blank:Manual
2000 01:G1/8" Draln Type
3000 02:31/4"  D:Auto Drain Type
4000 03:G3/8"  {Avable for
5000 04:G1/2" 2000 or abova)
06:G3/4"
10:61"
XAWS000-10 | MAW4000-04 |[XAW1000-MS5| s
Graphic Symbol }—@@
ﬂtlnn RN 1
XAW1000 W2000 W2 W3000 | XAW3000 XAWA4000 | XA 0 | XAWS000 | XA
M5 -01 -02 03 -03 04 -08 -10
Rated Flow 4000
Port Size MS§ Gi/s" G1/4" G1M4" Gi/p" Gagn G2 G3i4" Ga4" G1"
FIIlar Pnaclslon 25n
hest’ king Pressure 1.0MPa
Ensured pressura Resnslanoe 1.5MPa
Range of Adjustable Pmssura 0.05~0.7MPa 0.05~0.85MPa
Polycarbonate
Not Avallable Avallable
Differential Drain Differential Drain,Automatic Drain
With Overfiow
. F L
H.[ ]ﬂ LM Bracket ﬁ LM g mekat
T ] ¢ = i
H F I > : o
1+ H I IN == ouTt
L m
Port Bize Pansl cutling hole e ’ [\ Pot Stze Pansl culting hols
AW1000:Max. 3.5 AW3I000:Max.. 3.5
] nwznun:u::.::g: 5 D.’.h Aw4ouo-sgstgﬁ:x.gaga 5
A

XAW1000~2000 XAWI000-5000

-ﬂ-ﬂﬂﬂﬂﬂ-“-nﬂﬂ

XAW1000 1095 505 28
XAW2000 G1/8" ~G1/4" 40 1645 7B 40 568 M 34 435 54 154 55 23 35 M@
XAW3000 G1/4” ~GaB" 53 211 825 53 608 38 40 46 B5 8 53 23 425 56
XAW4000 G~ TO 262 M2 70 705 492 54 535 85 108 70 23 522 T3
XAWA000-06 G3~4" 7% 267 M4 70 705 492 54 555 B5 105 ™ 23 525
XAWS000 G3/4" ~B1" 20 33 16 80 755 482 54 62 B5 105 70 23 525 90




=I5 |HAav Kon®

PNEUMATIC

l_lq HaviKon®

PHREUMATIC

-Onlnllng IO'II'IG i
i XA L 3000 — 04 Xecz — o1 — 0O — L
£ Tl _I . = ‘ ‘ ‘ ‘ XGC201  G1 ‘
[ &J : l;‘f-.: Serles Function code  Specification Cods Port Size e
: RS i . ressu
. - XAseries  Lubricator 1000 M5:MS 0.8 docaul G4 g:::ﬁfg:g% Port Stze E[!’Iﬂa:kr:.DIT#:r:nﬂal :hnk:smr:dE;ng°
# k| - - 2000 01:G1/8" XGC3-08  Gaar Lubricator Draln L:Low-Pressurs Type
N 3000 02:G1/4" :
" ' L 4000 03GaE" XGC304  GlIZ D:Autometlc Drain
i X v 5000 04:G1/2"
i v 08:G4"
. 10:G1"
TEHEE XGWL2 — 01 — — L
[XALS000-10) [XAL4000-04| |XAL1000-M5] Mﬂ -
cirmphic Symtel XGWL202  GiM® ‘ ‘ ‘ ‘
| Spectilcation & XGWL302 Gij4r  SerlesCode  PortSize DrianType  Pressurs Range
2 Fliter&Regulator+ Blank:Differantial  Blank:Standand
XAL1000 XAL2000 | XAL3000 xALsono XAL4000 4000 XAL4000 )(ALSOOD XAL5000 XGWL3-03 G Lubricator Draln L:Low-Fressure Type
-M5 -01 02 -02 -03 <06 -10 XCWL3D4 G- D:Automatlc Draln
Rated Flow 1700
Port Size MS G178 G4 Gl Ga" Ga/e" G2 Qa4 G34" a1
Highest Working Prassure 1.0MPa _ 5
Model XGFR2 — 01 — L — O
Enam'w pressune ﬁasuktanm 1.5MPa XGFR2.01  G1/8-
Operahng Temperalure Range 5~60°C XGFR202 Gl
Recommended Ol Use IS0 V@ 32 XGFR30Z G1/4® Series Cods Port Slzs Pressure Range Bracket
Contalner Material Polycarbonate XGFR3.03 G/ Flliter&Regulator Blank:Standard Blank:Without brackst
Fmiamamar Not Avallabla Avaliabls T L:Low-Pressurs Type J:With bracket
XGF2 — 01 — D — w
. o . . Port Stzn XGF201 Gl
. Bl [ a D . XGF202 G4
y gﬁ‘o S ] 'M/—““"""‘ ‘fl_ et XCF302 G4  Series Code  PortSke  Drian Type Precision Fllter
i 7 4 B 1ET.L:"([ m[; . = XGF3.03  Gape  Fier BlanicDfferertal Blank:40um
miin i i El IN Jour Drain W:Sum
T SRS s w1 5oy q:f‘_) = : : XGF304  GIf DrAutomatic Draln
o i =l
iy m EQ 2-Part Sizn n
I d H H [ T X6z — o1 — O
3 p - XGL2-01 G ‘ ‘ ‘
o X620z G4

XGL3-02 G4 8eries Code Port Size Thread Typa

% " Lubricator Blank: BSP
XAL1000~2000 XAL3000-4000 HALSO00 | — G NP'rll: : B8
XGL3-04 1/ PT: PT
P°"3'Z°(G) nﬂﬂﬂﬂﬂﬂ-“-“n
XAL1000 | Model | Port Size |
XAL2000 G ~G1A" 0 12 B 4 % 2 2 54 84 o 23 M@ = XGR2:01  GUE XGR2— 01 — 5 — In
xa_Lsooo G14" -CUB” 53 142 38 53 a 4 2 85 8 53 23 58 i XGR20z2 G4
Al 4000 Gy ~17Z" 70 177 41 70 50 54 26 85 10.5 70 23 73 r E XGR302 G114 Saiing Bt Bk e Prassure Range Hoakical
" [ ul
Cod e dr 8 W s o & 558 e W 23 _ A& s ARt e Reguistor Blank:Standard Blanke:Without bracket
G4 ~G1" 90 254 45 80 8.5 28 35 11 13 0 22 90 = XGR3-4  Gifr L:iLow-Pressure Type  J:With bracket




=I5 |Hav Kon®

PNEUMATIC

| Ordering Code

XMA C 3000 — 04 1
| | | | |
Serios Function Specification Code Port Slze Draln Type
XMAsaries code 2000 01:G1/8"  BlankManual
Fllter+Regulator+ 3000 02:G1/4"  Draln Type
LubHcator 4000 03:G3/8"  D:Auto Draln Type
5000 04:G1/2°  {Avalble for
06:G3/4" 3000 or above)
10:G1"
HEACAG00-04 XMAC2000-02 .
Graphic Symbol
Ientlon
XMAC2000 | XMAC2000 | XMA XMAC3000 | XMAC4000 | X 04000 XMACS000 | XMACS5000
] -01 02 -03 -03 -06 -10
Ensured Pressure Reslstance 1.5MPa(1Skgfiem®)
Highest Working Pressure 1.0MPa(10kgifem?)
Operating Temperature Range: 5607
Fliter Precislon 251n& Sul S0u
Recommended Oil Use Turbls NO.1 Ol IBOVG32
Container Material Aluminum Dl Gasting
Pressure Regulating Range 0.05~0.85MPa(D.05~0.85kgflem”)
‘Valve Type With Ovarfiow
Filter XMAF2000 XMAF3000 XMAF4000 MBAAFA000-D8 XMAF5000
Regulator XMAR2000 XMAR300D XMAR4000 XMARAI00-06 XMARS000
Lubricator XMAL2000 HMALINN XMAL4000 ¥MALA00C-08 XMALS000
Rated Flow(L/min} 500 2000 4000 4500 5000
Port Size{G) 18" 114" 154" k1 g 1z 34" 1 1
A F E A E

]
iR=Sq i o
3 r T IMH“||| _ ﬂ
I ::1 [Tl eer=f Il Part
= ! '_ + +

b U o L1 i Pluzr: ml L
fl
fl

“ﬂ-ﬂﬂ-ﬂﬂ-nﬂﬂﬂ
1/8°1 14° 140 147 56.8 5 Gi/8
1/47-3/8" 181 178 38 53 §0.8 41 B4 a5 7 11 7 70.5 8 G1/8

18" 238 207 41 70 85.5 50 84 40 ] 13 7 87.5 8 G1/4

XMAC4000-06 3n" 253 2085 405 70 69.5 50 B8 40 | 13 7 B7.5 ¢8 G1/4

HMALED00 340" 300 287 45 80 755 688 105 50 12 16 0.8 116 8 G1/4

oy

=I5 HavKKon®

PNEUMATIC

| | Ordering Code

XMA C 3010 — 04 O
| | | | |
Serias Function Specification Coda Port 8ize Dtlan Type
XMA sariag code 2010 01:G1/8" Blank:Manual
FR.L Combination 3010 02:G14" Dmin Type
4010 03:G38" D:Auto Drain Typs
5010 04:G1/2"  {Avaible for
08:G34" 3000 or above)
10:G1
! ! 4_§_J | !
Graphic Symbol @ O
"Iu“.n il |____J |
XMAC2010 | XMAC2010 | XMAC3010 | XMAC3010 | XMAC4010 | X 04010 XMAC4010 | XMACS5010 | XMACS5010
-01 02 03 -03 -06 06
Ensuned Pressure Reslstance 1.5MPa(15kgfien’)
st Tiorng Pres 1.0MPalt 5
Operating Temperature Range 5-60°C
Fllhr pmn 251 & 5Su& S50u
Recommended Oil Use Turbis NO.1 il IBOVG32
‘Container Material Aluminum Dle Cagting
Prassura Regulatlng Range 0.05~0.85MPa({0.05~0.85kgficm’)
o ;;[gg;uw,ymdm XMAW2000 XMAW3000 XMAWA00D XMAWA000-06 XMAWS000
- Lubrcator XMAR2000 XMAR3D00 XMARAGD0 XMARADNO-06 XMARSD00
Rated Flow{L/min} 500 1700 3000 3000 4000
Port Size(G) 1" 174 14" afe" 3 112 24" 34" 1"
I b Pl ]y | A F E
A i Y
A F E & ;
] D
L A L ==}
Ll = = T | L _L {E | ZH| |
M= : i %j&l - I gfa\ I
e Al red L i 1 ‘L == Fon
1T | k T B
n K =L INCa I | - E o i d L
g T
i N:
XMAC2010 XMAC3010-~-4010 XMACS010
m Port Size(G) “ﬂ-ﬂﬂ-ﬂﬂ-nﬂﬂﬂ
XMAC2010 1/8"-1 /4" 186.5 56.8 5 G1/8
- XMAC3010 1/4"-3/8"s 117 2325 925 53 60.8 41 58.5 is T 11 T 89.5 G1/8
XMAC4010 142" 154 277 12 70 85.5 50 77 40 9 13 7 87.5 G1/4
XMAC4010-06 3i4" 164 2825 114 70 £9.5 50 B2 40 - 13 7 B7T.5 G1/4
XMACS5010 341" 195 3535 118 80 75.5 69.8 875 50 12 16 105 115 G1/4




H4

HavKon

PNEUMATIC

®

(|| MAW 2000-5000 Series Filter & Regulator

|| Ordering Code
XMA w 3000 —
Serles Function Specification Code
XMA serles code 2000
Filter&Regulator 3000
4000
5000

[(XMAW2000-04|

[NMAW2000-02]

Illcatlon

Operalmg Tempamiure Range
FllhrPraﬂalnn

Contalner Matsnal

1.5MPa(1Skgflem™
1.0MPa(10kgtiom™
560
250 & 5ud 50p
Aluminum Die Casting
0.05~0.85MPa(0.5~0.85kgllonr)
With Overflow
4000
1/8" 1/4"

1 ag" ae"

18 114

172"

04

Port Size

01:6148"
02:G14"
03:G3/8"
0d:G1/2"
06:G3/4"
10:61"

4500
3

O]

Drain Type
Elank:Manual

Draln Type
D:Aute Drain Type
{Avalble for 2000 or abova)

Modael W2000 | XMA AWS MAW3000 | XMAWA000 | XMA! AW4 MAWS000 XMAWSEO00
-01 -02 03 -03 -06 -10

Ensurad Prassura Raslstanoe

ml 1-
14

KMAW3000~-4000

; K.
T A
our L%Jz |1
Pressurs
gauge
| Puortalze %
: HMAWI00D:
; Mex.3.5
! P HNAW4000-G6000:
L] Max.5
XMAWS00O0

“ﬂﬂﬂﬂﬂﬂﬂ-n-“ﬂ

XMAW2000 1/8"-1 14"
3000 1/4"-3/8"s

XMAWADDO 1/2°g

XMAWS000 374m-1"

186.5 568
57.5 2325 B25 53 £0.8 38 40 45
74 278 12 70 705 482 54 53.5
76.5 282 114 70 70.5 452 54 55.5
a0 sk 118 a 755 492 &4 82

65
8.5
8.5
85

10.5
10.5
10.5

70 23 72.5
70 2.3 72.5
0 23 80

—t
|

HA

HavKon®

PNELUMATIC

| | XMAF 2000~5000 Series Air Filter

Model MAF2000 | XMA| FZUUO XMAF3000 F4UDO F4DUD MAF5000
-01 -02 -03 -06 -08 -10

Ensured F'ressure Resnstance
Oparatlng Tempenalura Renga
Filter Precision '
Contamer Matarial
' - i 750
18"
15
&
.
— Ff
IN T LRy ik
mgf wlze
g T

| Ordering Code 3
XMA F

Function
code
Fliter

3000 — 04
Specification Code Port Slre

2000 01:.G18"
3000 02:.G1/4"
4000 03:.Gae"
5000 oGr/2"
08:G34"

16:G1"

O

Draln Type

BlanicManual
Draln Type

D:Auto Draln Type
{Avalbla for

2000 or above)

15MPa(15kgﬂcm’)
1.0MPa(10kgficm™
5~60°C
250 & S5p& 50p
Aluminum Dis Casting
1500 4000 6000 7000
1/4 ae g 1/2= 34" 34" 1
20 45 45 130
L L
5 2 g @ ‘Lj
M
1 T sy T
“4£B— {:F.EJ.*_ r i w } 4€h 'él:" —I—- i
] T A d | I :
i | e e |4 [T oo &)
Brac ::": Brackst :  Parl.
Cinf3: [ ey
i !
o
!
i I
i '
L]
D;lln /
o :
XMAF3000-~-4000 XMAFS000

“ﬂﬂ“ﬂﬂ“ﬂ“-“ﬂ

XMAF2000

XMAF4000

XMAFS000

1871 /4"
1/4°-3/8"8
172"
34"
341"

67.4
74
78.5
20

1198.5
154
184
188
283

14 53 16
18 70 17
20 70 14
24 80 23

40 23 8.5 8 53
54 26 8.5 10.5 70
54 25 8.5 10.5 70
ag a5 1M 13 a0

2.3 &5
23 72.5
2.3 72.5
32 90




& HavKon®

PNEUMATIC

|| MAL 2000~5000 Series Lubricator

| Ordering Code

il XMA L 3000 — 04
il 1 | |
Sigxcee Serles Function code Specification Code Port Skze
cza XBAA saries Lubsicator 2000 01:G1/8"
f 3000 02:G1/4"
"i' 4000 03:G3/8"
E 5000 o412
: | 06:G3/4"
10:G1"
| KMAL4000-04 | [ XMAL2000-02|
mtmn
AL2000 MAL3000 | XMAIL 3000 AL4000 L4000 XMAL4000 | XMAL
-01 -02 -02 03 06 -10
Ensured Pressure Reslstanee 1 5MPa(15kgf.~'um’)
'Highest Workin 1.0MPa{10kgtlem?)
Operahng Temperalure Range 5~60°C
scommended Oll Use Turble NO.1 Ol ISOVG32
Contelner Metenel Aluminum Die Casting
Minimeal Flow of Oil Drop{Limin) 15 30 40 40 50 50 180
Rated FIow(_UmIn_) 800 1700 5000 6300 7000
Port Size(G) 118 144 114* <3 8" 112° - e 1#
Bowl Capacity 25 50 130 130 130
L Py . N s .
I-'——|G4 K Mz D 2 K - L ~HE Lﬁb_-l‘a
: l = ] |
Dol o p i N oy
c :;r |,]==u —J! = :E[ " | e ”
e - Fe e - o Hend ™ [N F
N I ouT A pon i ! ol =T Pon ;
B =5 Brackel/ I -_jﬁ = [W@m i il
i . |
up : i i
A p A P
AMALSODO~4000 XMALS000

“ﬂ“ﬂﬂﬂ“-n-nﬂ

XMALZ000 11871 /147

XMAL3000 1714"-318" 57.4

XMAL4000 12" 74
XMALA4000-06 374" 765

XMALS000 EY/LRL 80

154.5 39 53 41
185.5 41 70 50
185.5 38 i 50
2825 45 a0 86.5

40 23 8.5 & 53 2.3 55
54 26 85 10.5 70 23 725
54 25 8.5 10.5 70 2.3 725
88 a5 1" 13 80 3.2 0

|| AC,BC Series Air Source Treatment Unit{F.R.L)

4

HavKon®

PNEUMATIC

| Ordering Code
BC — 3000 —
Series Port Size
AC:Small Skzs 1500:G1/8"
BC:Middle Size 2000:61/4"
3000:G3/B"
4000:G1/2°

| Specification &
I N N N N N
Opsrating Fluid
Port Size Gl Gl G1i4" Ga/s"
Filering Eloment Reughnese 40p
Range of Adlustable Pressure 0.05~0.85MPa
Maix Adlustable Pressure D.95MPa
Ensu red Pressure Res! -3 1.5MPa
Operelmg Temperature Range 5~60C
~ Capacitv of Filter Cup 15¢c 60 cc
Capacity of Oll Feed Cup 25¢ce a0 co
Suggested Lube IS0 VG 32 or Same Grads Ol
Weight 0.7KG 0.9 KG
Body Aluminum Dle-casting Forming
‘Material Container Cup PE
- Fitier AF1500 AF2000 BF2000 BF3000
gﬂ“mw Regulator AR1500 AR2000 BR200O ER3000
Lubricator AL1500 AL2B00 BL2000 BL3000
I g Pligg -y |
136 i
0 3-G1/” |
w4 T jl -
b 5 - T —ri I
TN I 2 AEEE
T Il | = ouT T _l_ __|'
s &
1

7.
=
o
:"IL
Lﬂ B
= -
1a3.8
&

AC Series

LT

O

Drain Type

Blank:Manual Drain Type

D:Auto Drain Type

o) frag

BF4000
BR400O
BL40GO




=I5 |Hav Kon®

PNEUMATIC

IS HavKon®

PNEUMATIC

| | | AFC,BFC Series Air Source Treatment Unit{FR.L)

| Ordering Codo & | Ordoring Code &

BFC 7= 3000 = L]
‘ ‘ BFR — 3000 — [l
Series Port Size Draln Type ‘ ‘
AFC:Small Skza 1500:G1/8" Blank:Manual Draln Type Serles Port Slze Drain Type
BFC:Middle Slze 2000:G1/14" D:Auto Drain Type AFR:Small Size 1500:G1/8" Blank:Manual Drain Type
3000:G3/8" BFR:Middls Size 2000:G1/4" D:Auts Drain Typa
i 4000:G1/2" 3000:Gam"
8 T 4000:G1/2"
| ! - T S
[BFC3000| | AFE2000| Graphic Symbol }@;éi@ BFR3000 AFR2000 Graphic Symbal ’_@Q
' T H ' [
PR SR s, M b M)

| | $pecification

| Model | _AFC1500 | _ AFC2000 BFC2000 BFC3000 BFC4000 u
Air

i Operating Fluid

Port Size Qs G144 a1/ Gs" atpe"
Fitiering Element Reughness 4p I Specification
Range of Adlustable Pressure 0.05~0.85MPa
Max Adlustable Pressure 0.05MPa
Ensurad Pressure Resistance 1.5MPa Operating Fluld Alr
Operating Temperature Range 5-80T Port Size Gim" G1/4" G4 Gya" Gz
Capacitv of Fiter Cup 15 oo 60 oo Range of Adlustable Prassure 0.05-0.85MPa
Capacity of Oil Feed Cup 250 80 oo Max Adlustable Pressure 0.95MPa
Suggested Lube ISO VG 32 or Same Grade Qll Ensursd Pressure Resistance 1.5MPa
Welght 0.5KG 0.7KG Operating Temperature Range 5-60C
: Bndy Aluminum Dis-casting Forming Capacity of Filter Cup 15¢ce 80 o
Material Contalner Cup PE Weight 0.26 KG 0.40KG
\ Protedive Cup Cover o Iron Body Aluminum Dis-casting Forming
Composing Fitier & Regulator AFR1500 AFR2000 BFR2000 BFR3000 BFF4000 Material Container cup PE
Elerments Lubricator AL1500 ALZ000 BL2000 BL3000 BL4000 Protadive Cup Cover - iron
32 40 63 =
@} 84 ‘ﬂ:‘ W
6 Tﬂ A A
B :||. ?JJ. z‘% . . ; i -l- 3 Il o
5 Ili@é —:n" = 2 i‘_ _r—|:|;1 1 2 ! hﬁ[ 3 m JII; ] \\gj‘ i AT N
e i R ouT i g L g g 3 W%_LT L e
b ouT gy i T IN l :\ﬁ ok *mrr W%M ,_ﬂ[ - R AN
: ) I . ez Loy ; T —
- AFCIOND B . 8 - :H . N | priiecpt ﬂ 'ﬂ' BERA00CG3/5"
" . |
P 037§
_Lles o 5

AFC Serles BFC Serles AFR Serles BFR Serles




=I5 |Hav Kon®

PNEUMATIC

| | | AF,BF Series Alr Filter

BF == 3000 — Ll
— Series Port Size Drian Type
T AF:5mall Slze 1500:G1/8" Blank:=Manual Draln Typs
; BF:Middle Slze 2000:G1/4" D:Auto Drain Type
A000.G3/8"

. 4000:G1/2"
3=
k|

-~
BF3000

Graphic Symbol &

nl

Operating Fluld
Port Size G1/8" G14" G1/M4" G3e" G12"
Fitiering Element Reughness 40u
Enwred Pressura Reslstance 1.5MPa
Operatlng Tempserature Range 5~60°C
:apacitv of Filter Cup 15¢ce a0 cc
Walght 014 KG 0.33KG
 Body Aluminum Die-casting Forming
Material Contalner Cup PE
Protedive Cup Cover : Iron

. i} 5
30
2
+1H — B
N OAUT
| ~
5
., EF2000:014°
-1 BE000.01/2
2 3 2
- ]

AF Seories BF Saries

AF1500 AF2000 BF2000 BF3000 BF4000

5 |Hav Kon®

PNEUMATIC

| | AR,BR Series Regulator

| Ordering Codo 8

BR — 2000
Seriss Port 8ize
AR:Small Slze 1500:G1/8"
BR:Midcdle Siza 2000:G1/4°
300G
4000:G1/2°
BR |: Graphic Symbol 7;

| Specifieation & o
AR1500 _ BR3000 BRA00O

Operating Fluld
Port Size G G4 G14" G3/8" el
Range of Adjustable Pressure 0.05~0.85MPa
Max.Adjustable Pressure 0.85MPa
Ensured Pressure Resistance 1.5MPa
Operating Temperature Range 560C
Welght 0.20KG 0.23KG
Material of Body Alsminum Die-casting Fomming
|| Overail Dimensions
) (53) 5575 -
#21.5
b} 2{JF 1|: \:lé i =U:=|=F FUEIJT‘
= IgSjiE e
u'ﬁ/& : - —W[ d 7S 3
Umedtel O 3 A
BEEE, AR BOO:G1/8" i
T e aRz0o0:c1i” [/ o Ll
AR Series BR Series




Oparating Fluid
Port Size a1/
Ensured Pressure Resistance
Suggested Lube
Capacity of Oil Feed Cup
Weight

Contalner Cup

40
Ef 55
i 1l
y R

== AL1500:G1/8"
| 2 AL2000:G1/4"

. 8

AL Serles

25cc
17T KG

|_|q HavKon®

PNEUMATIC

BL — 2000
Serles Port Slze
AL:Small Slze 1500:G1/8"
BL:Middle Size 2000:G1/4"

khlniRcxlig
4000:G1/2"

Graphlc Symbol _<>_

AL1500 BL2000 BL3000 BL400C
Air

a14" a14" Gam"
1.5MPa
60T
180 VG 32 or Same Grade Oll
ce
025KG
Aluminum Dlecasting Forming
PE
I
B3
12,55
il
mm 121
B e
U o BR2000:G 144"
BRAODO:GAR"
BRADON:G 122"
0 8
i
|
1
4
Y
BL Series

a1z

=I5 |Hav Kon®

PNEUMATIC

| | | XACT300 Series Air Source Treatment Unit

| ordering Code

v

Port Size Code 8A 10A 154
Port Size Dimension G4 G G

Operating Prassure Rérige 0~0.95MPa
Pressure Resistance 1.5MPa
Pressure Range 0.05-0.85MFa
Operating Fluld Alr
Ambisnt Tomperature 5-80C
Capacity Of Oll Fead Cup BSce
Min. Air Flow of Oil 50 u/min 69 1/min 60 1 /min
Recommended Oil Use Machine Oll SO-VG32
Accessory Pressure Gauge/braket
VERE
%_

28.5!25.5

XACT300 — 10A Graphic Symbol
T
Series Port Size ! =i
SAG1/4" - =
10A:G3/8"
15A:G1/2"
| Flow Chat
“ BA Onetime slde pressure  7kgficm®
E g
&
2s
24
2
2 3
[
22
g1
=]
gD 500 1000 1500 2000 2200

FlowRate  t/min.{ANR}

= g 104,154 Onetimeslde pressure  7kgffocm®
(1]
Es
P
e S—
g 4 =
: R
®
P
"
g1
o 500 1000 1500 2000 2200
FlowRate  ¢/min.(ANR)
&0 35
447X13 |
Il 52
ﬁ 1 g™
. z
T T L
h - i : 1 g
| < z g8
4 |
1] ] J
| _|.___:._

el

]
Sl
é 84 Draln port

206

2-G1M4" o
Il

2-G3/a
2-G142" /

135




=|5|HAvKonN e

PMNELIMATIC

IS HavKon®

PNEUMATIC

| | XACP300 Series Air Source TreatmentUnit | | _PIR Series Precision Regulator
| Ordering Codo T

XACP300 — 10A Port Size G1/8",G1/4",G3/8"
‘ ‘ Graphic Symbol Standard Type, Autom Drain Type and Metal Cup as Optional,
I 1 l i 1 - , . I
; s i i é? i R == Designed to be compact and light weight with high output flow
Bunes ::212'.“ o @F I@ﬂ and precise sefting presure, Can ba mountad easlly with braciet
oippla i il I | i} or assemble with XA series F.R.L
15A.G1/2"
1 Graphic Symbol
T Fiow Chat 5 S e
Te BA Onatime glde pressure  Tkgf/em® PI|R - 2|0 - 0|0 o|z Order Example
2, Serles Valve Body Size  Pressure Range Port Skze 1)PIR Serles, Vaive Body: 20, PotSize: Q1/4,
- PIR sariss o ety o1Ge Pressure Renge: 10, Modal; PIR-2010-02
g i pa : . : ) .
E ) a0 20(0.01~0.8Mpa) Py 1).|I:IH Series, Vahm:;dy. 3a, Phpl'lc3|za.1G1!2,
. 8 raaslne Range: + Model: R-3010-04
Operahng Pressure Range 0~0.99MPa o e
1.5MPa =2 — | | specification
p,',gsgm Rangg 0.05~0.85MPa £ 1 PIR1000-01| PIR1010-01 | PIR1020-01 | PIR2000-02 | PIR2010-0.2| PIR2020-02 | PIR3000-03404/ PIR3010-03/04 PIR3020~03/04
Operating Fluid Alr go =00 1000 1500 000 2200 Pressure Range 000502  0.01-04 0.M~08  0.005~0.2  0.01~02 0.01~0.8 0.01~0.2 0.01~0.4 0.01-0.8
Amblant Temperature 5-80T Femitle  dnanNR Port Size G1/8 G4 G¥8, G112
Fliter Precision Sum Air consumption Max 3.5L/min Max 3.1L/min Max 8.5L/min  Qutist: Aax 21/min
Capacity Of Oil Feed Cup Sce - _ 10A,15A Onetimesidepressure  7kgfjem® ‘Minimum pressure Satfing pressure+0.05 Setting pressure+0.05 Setting pressure+0.05
‘Min. Air Flowof Ol | 50 «/min 80 i /min 80 1 /min g8 Mandtmum pressure 1.0MPa
Recommendsd Oll Use Machine Oil $0-VGaz £5 ‘Sensitivity Within 0.2% of full span
Assembly NAFRIO0,XAL300 g4 [~ =— Repeatabllity Within + 0.5% of full span
Accassory Prassure Gauge/brakest E 3 [l Amblent anc -5~+50 { with no freezing }
22 I —— Pressure Gauge Port Gi/8
[ ]
E1
E I LW LV I T B TR L
&0 500 1000 1500 2000 2200 e ]
FlowRate  ¢/min.(ANR} :
o P A
Vi 1 e Brackat ' -
I i R TN | - : % optiona) Mouniing hoks N | %
Y
Pllot outlat B T T | T [
o B i"‘l—"| _—'—,
: 2-47X13 € .3 Slﬁ*HGH—H‘ﬂL‘” HI% ,- K
| . Ll LJ-—-
| | o K \o
I | | — A Preasure gauge port <
lal 18 0 2 “ﬂﬂﬂﬂﬂnlﬂn-“-nﬂﬂﬂ
i # é, _!_ ol = PIR1000-01 35 /e 85 GUB 4105
T 11 i | PIR1010-01 35 80 35 10 &1 44 43 25 42 2 Gle 28 45 $B5 Gl 4105
@ E T | L' g PIR1020-01 35 80 35 10 51 44 43 25 42 2 GI/8 28 45 ¢85 Gi8  $105
M ’i“ PIR2000-02 50 122 B0 18 71 83 &0 30 50 2 G186 28 55 $95 GIB ¢125
| " PIR2010-02 50 123 50 18 71 63 60 30 50 2 Gis 36 55 ¢85 GI/8 §125
| ZZPIHEMB—GE 50 123 50 18 bl 683 60 a0 50 2 ai/s a6 5.5 $85 @18 ¢125
s PIH3000-03 66 148 66 22 76 76 68 48 @82 23 GU8 &0 9 4185 4125
- PIR3010-03 &6 148 &6 22 76 78 68 48 82 23 QU8 60 g 158 #12.5
+&-Drain Port Gi/2
PIR2020-03 68 148 @8 22 76 76 o8 48 82 23 GUS8 80 8 $155 $125




-5 |HAv Kon®

PHREUMATIC

5 |Hav Kon®

PRNEUMATIC

|| XU Serles Alr Source Treatment Unit

| | Ovdering Code
Graphic Symbol
XS — FC — 200 - XU — C — 02 — 0O
‘ ‘ P—5 XSFC ‘ ‘
Serles Funetion cods Port Slze Series  Functlon code Port Skze Drain Type
X5 sorles FC:FRter&Regulater+  200:61/4 ? XSL XU Series C:Filler+RegulatorsLubricator  02:G1/4° BlankMarual
Lubricator 300:G3/8" WL Filter&Ragulator+Lubricator 03:G3/8 Drain Type
FR:Ra?ulaiar&Fltar 400:G1/2" W:Flitsr&Regulator 04:.G1/2" D:Auto Drain Type
L:Lubricator R-Regulator 06:G3/4"
_ﬁ*‘ XSFR F:Fitar 08:G61"
L:Lubricator

ol { spectication

[ Model  [XSFC/FR/L-200 XSFCIFRIL-SDO XSFCIFRIL-dDO

The product have the function of filter,regulator and - .Port._SIze i a1
lubricator.its stucture tightly,flow rate largely,cutput Pressusr Gauge Bore G1e G1E Sall
steadlly and Installation simply.The slement has Ensured Pressure Resnstanoe 1.5MPa
pressure gaugs,installation bracket and lubricator. | Highest Working Pressu 1.0MPa
The lubricator can non-stop gas.All have the cup shape Emvironment and Fluld Temperau.lra §5~60C
profect cover.Use safe and appearance slegant. Protective Cover Avallable
» Treatment Unit
XC 1 04 — C — 5
Series Speciication Port Slze Group Type Filter Pracislon
XC Series  1=G14" 04=G1/4" C=D+L B=5um
2=G3/8". Gl B=GY" E=V+D+L 25=251m
04=G1" 02=G1/2" G=D+L+AVP
01=G1" HNA=V+DHL+AVP+PRESS NO
HNC=V+D+L+AVP+PRESS NC
N=V+D
p=D+AVP
Q=V+D+AVP
T=V+HDHL+AVP
U=F13+FB3(Only G3/8. G1/2,G1)
ZNA=V+DHAVP+PRESS NO
ZNA=V:DHAVP+PRESS NG
| | Specification
Compact-Type
Material Alalloy, Brass, Nylon, NBR
Port Size G14", GI/8", G1/2", G1°
Inslallgtion Typg Upright place. board connaction or wall installation
Woridng Temperature 5~60T(1MPa)
Surface Coat Palnted
I XC Soriss Fillter,Reguator & Lubrcator Combination Code
Regulator&Filter Combination 0-1 Mpa AVP Eletricity control soft startvalve
Sembauto draln,filter precislon S m or25u m PRESS Prassurs switch{NC or NO)
v Two-position three-way separate valve F13 Fliter auto drain{only G3/8,G1/2,G1)iter precislon S5emor25 1 m
L Lubricator Fb3 Gather Fliter auto draln{only G3/8",G1/2",G1%)

 spocinication 5

T | XUCWLW-02 | XUCWLMW-03 | XUCWLWO04 | XUCAWLW0E | XUCWLW-08 |
" XUFR/L-02 XUFIRJ‘L—OS XUFR/L-04 XUF!R!L—OB XUFIRIL-OB
Port Size G4 el
Fluid Alr
Pressure Range 0.05~0.85MPe
Mz Flow rate(NIImln) 2050 2500 7900 8100
“ Ambient Tmmhm -10-801C
Filter Precision Standard:20 sm
DIl Recommended Turbine oil(ISO VG32)
Cu_p Material Folycarbonate
TR R
| | | H Series High Pressure Regulator/Filter
|| Ordering Code &
QTYH — 15 QSLH 15
High prassure Connectlon High Pressure Pors Skze
Regulator B:G1/4" Fliter a:G1a”
15:61/2" 15:G1/2"
20:634" 20:G3/4
25:61" 25:61°
- Graphic Symbol QTYH-O QSLH-O — —
QSLH15 oy
QSLH -8{15) QTYH-25 Max, pressure 3.5MPa
= E Pressure Regulating Range 0.5~3.5MPa
] ‘Ambisnt and Fluid Ter 'F" rature -5-50C
-G } ‘E_E

- I LN B Pl

178.5

QTYH-15

&5 R R
BEE S

o= “ﬂ-ﬂﬂﬂ

QTYH-8 Gl
feilra 150 a4
QTYH-20 eIl 235 91

—F.| o | QTYH-25 a1 235 91

58X 58
60 55X 55
85 80X 80
84 80X B0




I&|HAav Kon®

PNEUMATIC

=I5 |Hav Kon®

PNEUMATIC

| | | HAD402 series Auto Drain | | | XADV Series Auto Drain

| | $pecification _ | ordering Code
HAD402-02 HAD402-04 XADV — 200 —  FN/W
. Ensured Pressure Reslstance 1.5MPa 2
Y. = Operating Pressure. 0.15MPa~1.00MPa
""H——""' Ambient and Fluid Temperature 5~80°C - il Sories Machine Typa Drain Principle
_ Port Size m— = e _ XADV Series 200 Seriag F:Floating ball Type
e - 300 Saries {N:Female Thread
Drain Bore G A00 Serkes W'.Male Thread)
i Drain Status Normal Open type BC Serles '
LEARee Working Medium Compraasad Air
- XADV 300-FN XADV 300-FW I Ovdering Code
™| e
| Overall Dimensions H Range of Application: XADV — 200 — G10
This product often applles to auto remove the see per at the
i l [ 3 lower places of piping,frozen type air drying machine.Oil separator,
P air storage tanks and the bottomn of various air filters. It can be instalied : b Saries Machine Type Draln Principle
8 [ In the places Inconvenlant for manual discharge of sewage,such as XADV Serles 20 Series G:Level Type(10,12 Number H
- TTed=] higher,lower and narrow places,especially there slarge consumption 300 Series Stands for Inner diameter of
of air or frequent water drains. It can prevent the compressed air baing ;t::o x equipped water cup)
) re-polluted by con-dense water nesuliing from neglect of manual draln. MA Sories
B Features: AL Satled
Auto Drain/Alr Shutoff Draln/Manual Draln [XADV 400-FN(BC-FN)| [XADV 400-FW(BC-FW}|
Graphic Symbol The water cup is provided with metal proiective cover
[ | Pomts.for Att.entlon: . . _ m Range of Application:
o When using,the draine r should be instaliad ve riically the drain This preduct is installed at the bottom of water cups for auto
port facing down

| dlschargers,alr fliters and alr fliter regulators and can auto
: discharge the condense water gathered in the water cup.

H Technical Requirements:
Working medium:Compressed air
Amblent and madia temperature:5~60C
Opaerating pressure range:0.15~1.00Mpa

| Specification

L SAH402.02 SAHAG2.04 | - s
G (e ¥ Frsured Pragy Resigtance ZaMFa ; Auto dralner/Alr Shut off Drain/Manual Draln
L mm—— Giﬁrﬁﬂng 3 Eis sair 0.15MPa~2.00MPa - B Points for Attention:
Ambient a"d_F_"'"ﬂ Temperature 5607 ' When using,the dralner should be Installed vertically the draln
Port Size G4 Gae Gz port facing down.
. Draln Bore G1/8" (L1 o ey
ke Drain Status Normal Open type [XADV 200-G10{AC-G10)]  [XADV-MA-G14]
Working Medium Comprassed Air
ﬁ Y I rrm==" mRange of Application: | | Pimensional Drawing of Water Cup Conn
' This product serves as a drainer for high-pressure alr source 3 i
— * = ¥ systern and functions to divert water for the whole pipeline system. |
(T T + It is generally used for the equipment inconvenient for manual | -
[T T TT TTT discharge of water or comparativaly high frequency of water discharge " 1 J b i
= % i = o s i | 5 Ed -8 ] B22E
. such as the low spots of pipeline,freezing type air drier and the water £ s T i -l ]
deposit place of air chamber etc. E™ b 5] ﬁ e . b 4
2 e : A = = # & # o
& B Features: ' T~ T - o 5
i Auto Drain 210, | L2412, 2
Metal protective cover with view window XADV 400-012 XADV 300-G12 ®15 218 oz
%{ v Whan using,the draine r should be Installed vertically the drain port } IR

§ Drain facing down.




Ha

HavKon®

PNEUMATIC

MiZX125[ T 1]
—exiat

B85
8.5

16%1.25

RCH

Mj6x125| 3

g

KADV-BC-FW

383

M1ZX1.25

RCAR

XADV-400-G12

NADV-BC-Q18

81

XO Serles Alr Unit Accessorles

IJ1II

485

Ceale]

XADV-400-FN[BC-FN}

Midx1

KADV-MA-Q14

3]

Egle o 4]k

L-EiE-]

. - M
L

g L

R e i "
1
g% M2X1.26

= RC1A

ADV-300-FN ADV-300-FW

XADV-300-@12
(MADV-300-Q14)

KADV-200-Q10
{XADV-AC-Q10)

| Model | B1|B2| B3] D1 H]

OHC-MINI 2 18 73 43 43
OHC-MIDI/MAXI 2 19 B3 &3 70

" Model | H2 | H3 | He | LT

OHC-MIHI_ 35 55 11 12
OHG-MIDI/MAXI B0 165 22 14

Mounting bracket OHO

__T_%_
o T -

I LA ITITRE O
ﬂﬂ-ﬂﬂﬂﬂ

OHO-MINI/MAX] 225 38.5 35
QHO-MIDI 30 525 48 70 H3 12 85

IIIII-IE-IIIIII

OHO-MINI/MAXI 10 20 40.4
OHO-MIDI 105 17.5 27 56.5 20 4 2

Ha

Ry
HavKon®

PNEUMATIC

OMA-10-1/8
OMA-16-1/8
OMA-10-1/4
OMA-16-1/4

Pressurs gauge OMA

XA Serles Alr Unit Accessorles

40 Gi/8

50 G1/4

[——

| Modo A B
HMR-MINI/MAXI 44 45
? 'HMR-MIDI 80 62
[ Model | C | D _
A HMR-MINIfMAXI M36x1.5 7
g 'HMR-MIDI M52x1.5 B

Pneumatic connection _Indicating range

0-10 bar
0-16 bar
0-10) bar
0-16 bar

The Prassure gaugs is used bo maasure and display the pressurs of the controlles system.

: >
\C

Bracket for ARJAW
[ tese LA T [o Dl ool ) LCLLINTR LT Applicable Model
B120 ars 25 205 123 225 ARJAWI000
522{1 55 34 25 18 50 30 335 20 10 154 54 27 23 ARAWZ000/AR2500
B320 53 40 215 14 84 39 425 25 15 8 @5 325 23 ARJAW3000
B420 70 54 27 18 792 492 525 a0 2 105 85 426 23 AR/AWACDO0-5000
™ A
x B
n L4 |_
£ 2
s M e
s = 1N B
’ 5/‘ 2.0H
e oo
- J
-1
i
Bracket for ALJAF

e LA Te Lo T e e Tont s T DL LN D [ Lty Seow | Aoptaio oo

m 53 40 33 32 225 45 35 15 B 198
B440 70 54 47 38 35 55 47 2 105 20
BS540 7O 54 47 38 275 55 47 2 105 20
BG40 %0 88 @4 52 43 @5 80 2 13 28

8.5
8.5
a5
"

325 23 M4 X8
425 23 M5x 10
425 23 M5x10
55 32 Max10

AF/AL2000
AF/AL300D
AFIALADDD
AF/AL4000-06
AF/ALS000




IS HavKon®

PNEUMATIC

=] HavKonN

PNEUMATIC

Solenoid valves are used for change directional of air flow, control by electricity. There are 3/2,

L‘
)

5/2 and 5/3 way/position as optional, and the port size from 1/8" to 1/2".XCPC never stop its step
- to improve the quality, 2 times life time, less friction inside the valve body and high dust prevention,
f% F.R.LCanter Line . h I. . I.f i I fl"i . i .d h I b d d h. h d .
| };&ﬁ g & the new type of solenocid valve is available now.
— 4 =
- _:IZ/E_
= e
: 2
L-Type Spacer E B

Spacer With L-Type bracket

[ Model | SpacorwilL-TpeBracket | A | B | C | D | E | F | G| R | L | Apicablobodel |
Y10L 20 12 45 3 25 5 B 225 27

B110L AC1000

Ya0L 24 15 55 3 30 5 10 275 33 AC2000
Y3oL 35 16 7 4 41 7 1" 3.5 45 AC2500~3000
Y40L 40 22 ) 4 50 7 14 45 50 AC4000
Y50L 40 22 2 4 50 7 14 45 50 AC4000-08
YB0L 80 23 12 4 628 108 15 -] 63 ACS0O00
T
.
G L
I_f F.R.L Centar Line g i fé
7 % A e
RS b £
| » == :
LT Ry
H [}
= F| M~
% . T-Type Spacer E =

Spacer With T-Type bracket

[ Model | SpacerwihT-Tpetracket | A | B | G | D | E | F | G| H | R | L | Applosbloosel |
12 4.5 3 25 5 ] 40

L
225 27 AC1010

B110T Y10T 20
Y20T 24 15 55 3 3 5 10 48 275 33 AC2010
YaoT % 18 7 4 #4 7 M 70 35 45 AC3010
Y40T 40 22 9 4 50 7 14 80 4.5 =0 AC4000
Y50T 40 22 8 4 50 7 14 B0 4.5 50 ACAHO-06
B&1 ) Y80T 50 23 12 4 688 105 15 100 6 83 AC5D10
[ | | Pressure Gauge
; " Model |ProssuroRangol | A | B | G | D | E hovicaoose
c AR1000
H D G27-10-R1 GiMe" 26 175 M1 65 1N AW1000
0~1MPa{Red)
- o 42 385 24 10 11 AR200-2000
Lj | 0~150psi(Blus) W2000-3000
Pol

- AR4000~-5000
G46-10-02 G1/4™ 525 435 25 10 14 AWAD00-E0C0




|_|q HavKon®

PRNELIMATIC

=I5 |Hav Kon®

PNEUMATIC

This solenoid valve is our new developed product. All the installation dimension is the same as 3V, 4V series, and the valve spindle material is
still aluminum, but we changed the material outside valve spindle into POM (polyformaldehyde). Then it will be not only the seal+ing that operate

separatsly, which will bring the new product two advantages: 4A110-410
[ No | Dosgnatn |
If you nead this new product, pleass add the word "new” { abbreviation "N” } 1 Alr control cover
after the ordering code, for exampls: 4V210-08-N. :
2 Pigton
3 Scraw
44120420 4 Vi ldly
5 Spool
6 O-Ring
7 Spring
8 Rear cover
9 Back seat
44130430 10 Spring seat
11 C-type bucide
1. High dust prevention, air-proof _
2. One or twice lifetime than normals’ H- ]
«
1 Spookmateral alurinum 6061 woso o B
T : e =] 1 End Cap
2 O-ring:material NBR o il ﬁ i %_ . = m i
3 White case:Material POM 1 T \is Yo \20 3 Spring 14 Woarlng
4 O-Ring [ 15 Pigton
._eﬁ E‘-—‘ 5 Body 16 Serew
6 O-Ring 17 O-Ring
8 ares4sdd Tt 7 Spool 18 Active Amature
3V120-420 £ TE[ - 8 O-Ring 18 Cail
avi1o-a10 E - A Qn Body | 2(; Nut
. - 1 Spring = Connector
T z o
Bhion b anssacil ol Bl s
1 ) 1 Connector Seal ring
l/) 7181514 13 — 2 Nut _ "-‘13 O-Ring
3 Cod 14 Bpool
wIn-am S 4 Active Amatiire 15 O-Ring 3A110~410
N 5 Selpm 18 sprg NO | Dosgnatn |
_3_/ JLZE,@_/ 1/ &/ 6 Piston e Pin 1 Alr control cover
7 Body 18 Spring Seat 2 Pigton
B Waaring 18 Spring 3 Screw
° SR 20 Shin Cowar 4 Valve bady
b 10 Screw 21 Spring Seat 5 Spool
4V130~430 = ; } 11 Spring 3A120-420 6 O-Rling
] N EI LS | 7 Spring
18719 ; 8 Rear cover




=5 |HAv Kon®

PNEUMATIC

5 HavKon®

PNELUMATIC

B3.5
[ m rwmn]
-
T |swsxon Eal _-[ Eg 2422 ES
| B e
4A120-06 aVi20-08 3A110-06 avii10-08 ul $ N I17 saI D jl
{1241 L, 1EH {1

| ordering Code ,e
avizo-ms N[/ avizo08 SN/
4V 1 10 — 06 [l = AC220V — ]
1N.] 535
T w8
Specification Cods Serles Code Coll and Places Port Slze Peort cennection Standard Voltage Wiring Form Fe ) J P R J ]
4V:Two(Thres)-position 100 Serles 10:Single-haad Doublsposiin. M5:MSX0.8  and Initial State DC12v Blank:Standard
Flve-way Solencid Valve 20:Doubls-head Double-posiion 06:G1/8” NC:LWﬂ-porgionw_m- DC24v Gonnector | | | | | |
4A:Two{Three)-position Five- 30CDoubie-head wayMormalGlosa Typs — acoqy  50Hz/60Hz  LD:With Lightd [ 1] seexaa [ [ | e O
way pneumalic cantrol vaive Throepostion Closs Type NO:Two-positonThrse-  chioy soiea;  Connector { all / sl
£ Two-poalton Throospwey HEDouble-head wayNormalOpenTYPS  acooov sOHz0Hz  LD1:With Lightl wrg S|
Solenold valve Z : ghung of 4&” S5 {g%
3A:Two-position Three-way Three-position Exhevst Typs AC3BOV 50HzMG0HZ Gennector d | o —:! A 5
pneumatic control valve 30P-Double-haad W:Lead Wirs Type o 18 S5 "
Three-pasition Pressure Typa b I%
| T : =
|| |3 5 3 EEE & # 3
| | specification 1 o Tane
_— =t
Posﬂlun and Way NQ. Twe-positlon Flve-way Three-positlon Flve-way Two-positlon Flve-way Three-posltion Flve-way ' i Al A a0C 20m a0e
T s 2 2 kY ) A B A8
—————— EPRiEN= I ARG =R aviso-ms =0T SNV L A avizo-0s <N\, [/ Y77 N 77
it | sviaos | sauama | mwimas | awsie | Svizpos an1z0-00
Position and Way NC. Two-posltion Three-way Two-position Three-way it e
Eﬁ'ec.-hve Saction Area 10mm*(CV=0.586) 12mm{CV=0.87) rrm e _—
i JolntPlpe Bom Alr Inlet=Alr Qutlet=Exhaust=M5x0.& Alr Inlet=Alr Outlst=Exhaust=G1/8" 7 ‘ @ -
Working Medium 40 Micron Flitered Alr || Eg | _nJ
Motion Pattern Inner Guide T f &
ype ?-_ﬁ.r . M-L
Wﬂﬂﬂﬂg-pressure 0.15~0.8 M Pa ] e ] 242 .
Max. Pressu lieMica @_f poss maRf ]
Operatlng Temperature 5~50C ] A3 ‘“@] ‘ r< A1
: a| e i 4 ) E
+10% e i ? y & T
AC:2.5VA DGC:2.5W 7 | b -
LUl F Class. IP§5 i Egl g 3 o | -2 , 25| ] g
W'nng Form Lead Wire or Connactor typs Y ' || E 2 '
HiGheREACIBH FreqUenEs 5 Cycle f Second } —‘ & }
simie
Shorlest Excitation Time 0.05 Sscond -H ool ¥ -
27 |




=I5 |HAav Kon®

PNEUMATIC

-I&|Hav Kon®

PNEUMATIC

NG NO NG NO
sa110-06 [N\ [J7- avido-ms LA NP avi1o-06 L3/ I\
o 2
ﬂ\ H LITTIT]
ENEY0A L“ P /mm- 3 ] 3953 ‘@ g J @
] - , o
_ 4 - o] z-eas 3-0148 ] Eord| aseaa
ia g‘}/ ] * ;’ i Pl i A sl a I'L'E“' ;
T d p T W ea] - il >
& 2 % ] b 3 e MIE: = &7 = e &
B " E O P @ e 5 B ?
Po 8 I\\ﬁl E " N gj@ N ) - gl [+ i i j> E ; b ] f o Q]
[ 2 x t | L HI e 1 - 823/ = Frd
L os_| \ 2433 g les| | \2eas -
= 18 r -'J:-.-
3Vi20-Ms «{_\[/ = 3Vi20-086 o[ [/ |u
L 4w gﬂ; ,5"
an1z0-ms —M\[/7}- an1z0-08  —[M\[/f}- - - - _—
| | | ¢|
- . b i i -l st
Bhmx0s ﬁt___‘ij 2-422 S-G1 {_] 2433 _7!/_ u‘f“‘m —[ —7] - ——
/ / il wad | [HY el T4 crd | |48 iR
s of I | zoas o ] an | 9 # i | i | B
TR CP( @ i f ¢, Q, . EI—;,J Ezﬂ
H | @ s é i Id4 = j; 8 ==F ﬁ z %g 3 i1 d ﬁ g %9
8. > e Pl -4
: 3] 3 . nnk 1 & | 3 5 ,, == ,,
HI I 1 * i n l il
!i_ J| II_ J! !L J! L L, bl
o5 e ,,‘“" _'ﬂ_t'_ N o NG o
z * aat1o-ms AL LA sat10-06 A7 FINH
Bi/ma" L3

006 S0P ME e 3P SeE —[135 = -! o == [ qﬂi__ _! = _—
A130-Ms M7 VI S IA- aatse-08 i V- -mu - ry gf S - £
L\ &d,j E &l__é?) -1l @ RE |
4 2G4 g i &
i i G | |/ = 1 iALE
B i 2833 / =
EAAX08 2432 sl aean
/] x
fe8 3{ ] 2438 :5’ ] 2-43.8 r 3A120-MS "‘@E" G
¢( g £ i ,'{ ¥ I {: . a1m

> * = N e e i | 2433 [ scim i 2438
N 4 R s | 9 . . 8 T FLi -ﬁ s L ﬁ JECEE

3 P : {: }‘S:"! 2 2 I&gj— — 2893 @q *'*\(j — | 2439 p @—[

‘s 8 ] 3 A 1l a % A _; ) 3 nE _45:% g { ) P @—;}- o o . ar - an .

il L i il L Al ‘l 3 | s ,{ ; ,,l

h2a] i Las| A =z L e i %"I_l [ i i
M- S s 0 3, -] i £




4A210-08 2AZ210-08 4V220-08
| Ordring Code
av 2 10 — 08 O — Ac2v — O
Splclﬂcatlon Code Sallos Code Coll|and Places Por|t Slze Port annactIon Standard Voltage erln|g Form
4V Two{Thres)-position 200 Sarias 10:8ingle-head doubla- pg:.G1/8" and Initlal State DC12V Blank:Standard
:k&mr;:ﬂmx Flve- gg?g:funbla-head bouble- e \':{a:!}-rﬂ?mp:rgl_g:: #;;: ﬁx 50Hz/E0HzZ gmdf_righﬁm
way pneumatic control valve posgition NO:Two-positiOn Three-
3V:Two-position Thres-way 30C:Double-head Three- way Normal Open Type Al 1Y gg::gg:i %q"&ﬁru -
Solenold Valve posltion Close Type AGZ20V : ghng
3A Two-positien Three-way 30E:Double-head Thres- AG380V 50Hz/60Hz  Connactor
Pneumatic Control Valve position Exhaust Type W:Lead ¥ire Typs
30P:Double-haad Three-
posltlon Pressure Type
| spocitication 5
Position and Way NO. Two-position Flve-way Three-position Flve-way Two-position Flve-way Three-position Flve-way
active Sectional Area 14mmi{CV=0.78) 12mmH{CV=0.67) 18mm*(CV=0.58) 12mm(CV=0.67)
Position and Way NO. Twao-position Thras-way Two-pogition Three-way
Effective Section Area 14mm*(CV=0.78} 16mm*(CV=0.88)
Joint F-'lp_e_: Bare Alr Inlat=Alr QOute=Exhaust=G1/&" Alr Inlet=Alr Cutet1/4" Exhaust=GL"1/8"
Working Medlum 40 Micron Flitarad Alr
‘Motion Patten Innar Guide Typa
Worldng-pressurs 0.15~0.8 MFa
Max. Pressure Reslstance 1.2MPa
Operating Temperatura 5~50TC
Voltage Range +10%
Power Consumption AC: 2.5VA DG 2.5W
Insulation & Protection Class F Clags. IP65
erlng Form Laad Wirs or Connactor typs
Highest Actlon Frequeancy 5 Cycla/ Sec
Shortast Excltation Time 0.05 Second

—i4

(B
HaviKon®
PNEUMATIC

I eIy MO NSrn

a1t
ol e
/
ot
2=
8 | &
j PV

For
o
||
i | eove ﬁ S_E_._ Z-bda
V514 i
e Ef
by 3 e
B o i @
8 = = 2| i
%
3 | Lo
P 30? ‘ SYGP ; OTUE

B0
P

..._E_..I
T hed 13

ﬁé,‘ 2.u=
:| pen|

i

2-44.3

_=f a
i 0 ho.a
g
I

T84

@
HavKon

PNELUMATIC

avzi0-08 [\\[/7

2-014"
A

7 f-.{f 351440

4A,3A200 Series Pneumatic Cont

m

e

a-43.%

21

k|

A2 B

i
|
e R | e
e T
|| & et
A
Ry
" me .
s:::% #
-]
o0c 3P

;

|

!

i
||
=

!

.

H 201

i 4
”(:P,

2 @
P
=

i
$I

g1 1

.

|

£

TaA

21

24332

S T R




o

&
N

e

L

185

Fd LE ]

T

18

sl |

N
ik

402

3

_:@Lf”h Pitin?

g

v ul o

b

48

b

Fd L2

432

5-@178°
 o-ete
/!
Ty
£
o e

LT

1B

X It

2432

—I5 HavKon®

PHNEUMATIC

/M L _} 2833
] '_:{/ 3" 2448
";‘{?’ Wi | 4
£ ki al g _I L=
. é
S = 7] ;l o 187 "I
el bl
s 22 |
44220-08 - ¥
210 i__j} 2-43.2
" f:;{/ 8-Q14" 1448
T {? # I
5 gg g ¥ = % =
] HF B &
Pl
3Hc J0P 3E
il
T 2-G1/B" 2-93.2
/ 3 @14 43
£
1 g
4 d 3 )

2
F—
e

' -~

¢

&

I { W | I

T4.5

&£

186

Er

e DB
==

1

T

-

3 G1m
S

bmiil o
L

17
il | sqime
| saur

s

452

15

a .

ol L[N

ALE

4

F o

N =
- |

/]

HE -

2432

=
F—
I

o
)

2-932

HavKon®

PNEUMATIC

1118

o o

31

B NeH
=

B

oF ™

548

o BT

Ta b

1 = BN =0

|| z-easz




® ®
== HavKon |_|q HavKon
PNEULUMATIC PNELIMATIC
4v310-08 S\ 7= avato-10 -\ 7=
o 'i_. AF& APSE
“u ] a8
L] 40 PR | I
i g frim i i
' - & s &
i
4A310-10 3V310-10 3A310-10 R, | i | svaa | pove ﬂl i . HE, o
Tt I K s G i
# || . J %
| Ordering Code =1 ERREID Yk L 4| 4]
p |
_ — - 1 | S 8 K e K i
4V 3 10 10 O AC220V L1 E . 2 8 caaimi P
| | | | | | | an | [\a-ean P a5 |Ye-e4a ﬁ;
Specification Code Series Code Coll and Places Port Size Port connection Standard Voltage  Wiring Form ] Bk 2l — sl
4V:Two{Three}-posiion 300 Serles 10:Singie-head Double-posion  08:G1/4" and Initlal State DC12v Blank:Standard
Five-way Solenold Valve 20:Double-head Double-posion  10:G3/8" NC:Tan-pnfgon T¥raa- DC24vV Connector i
4A:Two(Thres)-position Five- :Double-head wayNomal Close TYpe  apoqy  sOHziSOMz  LD:With Lightl 4V320-08 4V320-10 Em:‘“
way pneumatic control Vialve ﬁ-pmcmawpa N0 Two posilion These- Ac11t\;v 50Hz/E0HZ COnnwtoL:g o [m]
3V:Two-pasttion Three-way 30EDouble-head wayNommalOpenTyPe  \Cooov soHzOHz  LD1:With Light » L
Solsnold Valve : ng — —
3A:Two-pasition Thres-way Three-poslion Exheust Type AC380V S0H=zM60Hz Cf:nnector rim — _— AT .
Prneumatlc Control Valve 30F-Double-head W.Lead Wire Typs i
Three-posiion Pressire Tyvpe L & - &
| EG1a° E:JEJ__ Eﬁ | 281" [ ]ﬂﬁ 2943
bd S E == e .
| Specification € FERE Psii ey 43 4]
> o bt
Matel § Cay € e B
3 : . 4 .@
Position and Way NO. Two-position Flve-way Thres-posltion Flve-way Two-posltion Flve-way Thraa-positlon Five-way a H { 3 p- n % b 3 M Eml 3
Effective Sectional Area 25mm*(CV=1.40) 18mmCV=1.00) 30mmA(CV=1.68) 18mmi{CV=1.00) " } &|° n &
T “Model | ava10.06 | 3va20-08 | 3A3I000 | 3A320-08 | V1010 | SVO20-10 | 3A310-10 | 3A320-10 | : g j g
Position and my NO. Two-position Three-way Two-posltion Thres-way
Effective Section Area 25mm*(CV=1.40) 30mmA{CV=1.68)
Joint Plpe Bore Alr Inlet=Alr Oute=Exhaust=G1/4" Alr Inlet=Alr Outet=3/8" Exhaust=G1/4" 30c 3P 90E 30c 0P 20E
Workdng Medium 40 Micron Flitered Alr 4V330-08 o} LJ Fid= 1 =L} |;\."1.J =1 =L} Ii 5 H = 4¥330-10 «}) L J PiA= 1 =L} |;.\:‘;| Ffd=R =LY} H. f ’«_I =]
Motion Pattern Inner Gulde Typs
Working-pressure 0.15-0.8 M Pa = —a
N s s B s o o
Opsrating Temperature 5~50C [mﬂ i % g &
Voltags Range +10% ]ﬁé
Power Consumptlon AC:4.5VA DC:3W ﬁfl ;
Insulation & Protection Class F Class. IP65 canw 2ane 2eas
Wiring Form Lsad Wire or Connector Type ot apa
T et od i 2943 # 3G o i /
Highest Action Frequency 5 Cycle / Sec i Al D Des | 4.4 e
Shortest Excitation Time 0.05 Second € s 45 ar Ll® —%@ v 2 R oz @
b = — - =
€' a @ f}? & @-L
- ; bt :
Ll [ 3 | 3 U e K i 4 .Mi
W .@B by ‘@ﬁ
- -




5 HavKon®

PFNEUMATIC

=I5 |Hav Kon®

PNEUMATIC

4A310-10 7 va0-10 [\
AR . .
2-G1m" (Rl ) E mﬂ @ I
L @ ®
/M b4 ) /.H_‘IH: /M /_?_H\
%3( i 222 @E L (“}é;‘}/ ] 3049 AT L 5 ]mﬁm[ F-v43 o Eﬁiﬂ_ d Almﬁﬁ.% 243
= €¢ ) i I 65 & %ﬁ" E}_r_:\/ . 1Y i A % =
& | 4 14| 7 s |° IREDD Tl Q@;l & i r\@;l
L ] Hi 3
%& N —€3 o | & | | é@_ NC 3 ) El b @}J g . - I
= o o7 I g | ¢ i E g i 2
R y i # 4 a £2 e EN
: svsz0-08 o[ \[/ v ava20-10 o \[/ [
Ao an yrimy ’ T piiny = |
aa3zo-os M|/ 4A320-10 —m ET Py DT
2014 Fachll ,H_I.H: R 2448 j;}&
an [— - K # : & 2442 ]/
8-G1M" 2943 /w =943 gé 2—_1!..2.4/ 4 ;E':i 4 & N #

iy

:| 2-44.3

N
0
%

&
.L..L.I
111
2
i
LN )
i /m/rrf%]
RUE
2
111
- -
W
50
g

=5 :
3 8 ~ o<
° % 3 9 No No JNE No
[ L i sasto-08 f 7] /[N sasto-t0 Li[7]- AI0-
(R | S i ] a0 Aa .-_.é:-_. G L
: il — 1 L —_— K] _— iR 2|
il | s-cue"
e S0P 30E anc 0P E 6}@— rl@ 5 ﬁ%@_ Egl J’l@ " @%@j
A g H &
ARII0-08 vt M- - 4A330-10 _my M7 - - b &, g g JI o] JLY
= w
2-G1/8" 2 @ h H /1 i El ki 5{ E/ ®
| 2443/ Lag] L2 | 2 44, a 2]
hid T Ml B Bl Rle =
e =t zave e 3A320-08 m aaazo-10 -[\[7]-
A L]
:| 2443 A 3( 2-44.5 W .
Qﬁf 2 g;}? G g ] 4 2 e 5 N - z-sm" | "
' & J i Lid T
1 HI p g E? & J kSi74 Pt 2ted -Gy 2448
i \_§ @'é & 4{ s 7 o Aor i 7
} - ﬁ% = g 2 2T = =
3 g 3 f i | o | 3 y Bea 7| W os o | &
E 11 E| Ps i 2 s 4l 2
i £
] B.5 |28 .| !—] 8] E] 7 ;I Ei b %
Ly i _._-m_f.i -:é:- L i i iTi I i i
Pl | he—fle Eiu_ BaiTasd




4V &

Specification Code
4V:Two(Thraa}-position
Flve-way Sclenold Valve
44:Two(Thrae)-position Five-
way Pnasumatic control Valve
AV Two-position Threa-way
Saolsncid Valve
BA:Two-position Thres-way
Pneumatic Control Valve

Serles Code
400 Saries

| specttication 5

Modsl

Position and Way NO.
Sectional A

Position and Way NO.
Effective Section Area
Joint Pips Bore
Worklng Medlum

Mation Pattern
Worklng prsssure
Operatlng Tempsrature
S ERE

Pmnmr Cbnsumpllon

Shortes1 Excitatlon Time

-l HavKon

®

PNEUMATIC

IV410-18 4M'Iﬂ—'l 4V420— 8
10 — 10 1 — AC220v — [

| | | | |
Coll and Places Port8lze Port connection Standard Voltage Wiring Form
10:8ngiehead Doublepoelion  15:G1/2°  and Initlal State DCA2V Blank:Standard
20 Double-head Double-posiion NC:Two-position Thres- DC24v Connector
30C:Double-head :g!#&%ﬁ}g’nﬁm; AC24V  50Hz80Hz  LD:With Lighting
Three-position Close Type wayNormal OpsnType  ACTIOV 50Hzi60Hz  Conmnactor
30EDouble-head AC220V 5OMzB0Hz  LD1:With Lighting
Three-position Exhast Tvpe AC380V 50HzM0Hz Connector
A0PDouble-head W-Lead Wire Typs
Three-position Preesure Typs

Two-poslition Flve-way
50mm’(CV=2.78)

4V410-15 4V420-15 4V430C-15 4V430E-15 4V430P-15

Threa-posltion Flve-way
30mm*(CV=1.68)

3V410-08 3V420-08 3A410-08 3A420-08

Two-position Three-way
50mm{CyY=2.79)

Alr Inlat=Alr Qutlet=Exhaust=G1/2"

40 Micren Flitered Alr
Inner Guide Typs
0.15~0.8 M Pa
1.2MPa
B~50C
+10%
AC:4.5VA DC:3W
F Class. IP85
Lead Wire or Connsctor Typs
5 Cyola / Sec
0.05 Second

avaio-15 “{\\[//l=

i3

5 |Hav Kon®

PNEUMATIC

F LR
i | o
& Ep)
- II it §
e ey
& \ ll b7
| 1EH
[TIERTEE
(PR . S
aag10-15 DA/AF
aim"
[kl o i j
e s
y i :I [ 11
\S= prren )
Y eff—a e
(S5 & b4 it
a] i
€ iIN4
—H e
== M

ANC ‘ND
vato-18 LA/ LN

7a.8

] ]

B

?
E M 3443
i = 4
= 5
Al 5 2
i i it
_%_ 18 »lLE
NG NO
3A410-15 “djﬂﬂ "dﬂ}
aum
?
. ? 8-G1H" 75
€e
3 =2, ; N
A L
2z | HLE i

avazo-18 «{\\[//I=
P il P ME

[

s h 2455
& H
& 1

aa420-15 W
4843018 ﬂ?ﬁﬂkﬂiﬁlﬂ}{mﬁﬂ}
2018,
-@1/2" L _ma4a
4
o 147 fe
D A1 e
&
il S| ap
A Ll U

4

2543

anazo-15 —{ \[7 |-

2443

s
Y

-
L %:_.jf




P HavKon®

PNEUMATIC

IS HavKon®

PNEUMATIC

)
010 mr e
W i i
. EN L = s
Al A 3 e b
431010 | g rgtd
AR = (31 4 i
: o ¢
L. 12 s
10 — 06 — AC220V — [l o ' 2 ]
‘ ‘ 4M220-08 4M220-08
Specification Code  Body Size Coll and Places Port Size Standard Voltage Wiring Form i\ =i\
4M:Two-position 2:1/8" and 114" 10:5nglehead 08:G1/8" DC12V Blank:Standard s
Fhlve-way Plate Type Valve body Deuble-position 0g.G1M4" DC24y Connector
Valve 3:1/4" and /8" 20Dcuble-head 10:G3/8" AC24V  50Hz/80Hz LD:With Lighting
Valve body Double-position AC110V 50H2/60Hz Connector
AC220V 50H2/80Hz LDA:With Lighting
ACI80V 50HZ/60Hz Connector Lﬁ paur
s W-Lead Wire Type -
srpricsymbol M\ [77Tn A\ 77} e
RP 8 3 '{{@eg-w
i a ) 943
—F — = S 110 | osignaion| NO | Deolgnaion
N H = = 1 Connactor 8 Vaiva body
2 Nt | @  Spool
~~~~~ o = 3 Goll 10 ©O-Ring
4| Plotunts |11 Spring '
ﬁ g 5 Plate 12  Rearcover amato-08 77
= 8 Pision |13 Scrow
4M 210-310 4M 220320 A1 GRS RS
| Spectiication
4M210-06 | 4M220-06 | 4M210-08 | AM220-08 | 4M310-08 | 4M320-08 | 4M310-10 | 4M320-10 | 2
Workln_g Medlum 40 Micron Flitered Alr
‘Motion Pattern innsr Guids Typa
Position and Way NO. Two-position Five-way
Effective Section Area 14mm*(CV=0.78) 16mni(CV=0.89) 25mm(CV=1.38) 30mm(CV=1.67) _
Port SIza Aif Inls=Exhaust=G1/8"  Air Inlst=01/4"Exhaust=G1/8"  Air Inlet=Exhaust=G1/4" Al Inlst=G/B"Exhaust=G1/4" J—— Em]
Working-Pressure 0.15~0.8MFa
Operating Temperature B-60T
Voliage Range ' -15%~+10%
r Consumption AC3I80V:2.5VA,AC220V:2,0VA, ACT10V:2.5VA AC24V:3.5VA, DC24V:3,0W,DCA2V:2.5W p
Wiring Form Lsad wira or Connactor Type
Highest Action Frequency 5 Gyels | Sec
Shortest Excltation Time 0.05 Second




IS HavKon®

PNEUMATIC

IS HavKon®

PRNELUMATIC

[ | | VF. VZ Series Solenoid Valve
I'Aar L RS K )

2618 (R1 AZPort) P

VF3130 Gt ;g b 4 VYF3230 | =l 8 ﬂ
B o k2T T

: —— i Ta{APowitian: 102}
VF8i20 . - Fl .
8
(=T a [l = H:HLJ *
ﬁ - '$;
I Ordering Code <7 %4 AYLJ % g tlo2o, | N 2-ststals
g |
VF3 1 — 30 AGC220V — O -
% gl?:ﬁr N & *
LRI G RTR
284 Hla Lllﬂ M|M'[PA.B."P“:_ﬂ]_ 2-24.3Hols %9- NEas
. 28 01 8, Por
Series No. Coll and Places Order No. Standard Voltage Wiring Form
VF3 Series 1:Single-Coil Doulda-pogition VF3:30 DC12v Blank: Standard Connector
VFS Series 2:Double-Coil Doubla-pasition VF5:20 DC24v LD:With Lighting Connactor I e
VZ5 Serles 3:Double-Coil Three-position Closs Type VZ5:20 AC24v  S0Hz/60Hz W:Lead Wirs Type
4:Double-Coil Three-position Exhaust Type AC1Ov 50Hz/60Hz i A T
5:Double-Coil Thres-position Pressure Typs AC220v 50Hz/60Hz VF5120 VF5220 ﬁ @ ( v @ Hi
AC380v 50Hz/80Hz :
| spocification 5 —
12| | Hen: 4
__ VF5220 VF53( | VZ5120 | VZ5220 VZ53(3’4)2° ﬁ T —
Position and Way No. T\',':“‘p"’“ . mm;n ,__ T"E"p“'m F' Tﬁ}pﬂ; I ,_-“ - . i { ] ab [ XI
Me&mﬂmm | 18mm{CV=0.88) 12mm(CV=057) 25mm{CV=1.40) 18 {CV=1.00) 12mm{CV=0.67) Smm “{CV=0.50) |
\M:rlchg Medlum 40 Micron Filberad Air EN i I
i Inner Guide Type i | I s TETm __l : .
0.15-0.8MPa = [} L Ty 32 B ek
1.2MPa TSN Hered
§~50C
+10%
AC45VA DC:awW
IPBS/F Clags.IP85 B GA"{PABRY,AZ Port) 2/ER A BRI P
Lead Wire or Connactor Typa vZ5120 st [ o At [ ] ; vZs5220 [ IMI? AT ] |
' I.I-&ﬁﬁﬂJJﬁ e
5 Cycle / Sec s bl )
0.05 Second =
104
- 3.3Hnla
w———
: P
192




® ®
=4 HavKon == HavKon
PNEUMATIC PMNELIMATIC
|| 3V1 Series Solenoid Valve || | Base For 4V, 4A Series Valve
o’ﬂ““d. Fe *" — I i Firdl PR e
it ™™
il I 4V — 100M == CIF
3V 1 06 - B AC220V — O = - o) ‘
T \ V%
g = - Sorias Code Specification Code Jolnt Base Number
Specification Port Slze Voltage [ 4V:For 4V Serles ues  100M:Basa for 100 Serles Use 100M:Wantonty Joint
Code M5:M5X0.8 g‘;"z':' o g:::g:n::: ' ' ' 9 4A:For 4A Serles ues  200M:Base for 200 Serles Use 200M:Wantonly Joint
3V: Two-position 08:G1/8" DC24v Connactor 300M:Base for 300 Serles Use 300M:Wantonly Jolnt
Solenoid Valve AC110v 50Hz/80Hz  Type | Overall Dimensions
AC220v S0HzI60Hz  L:With Lighting
i AC3B0v S0HzI60Hz  Connecto
?;;nsuscodo hectar 4A Series 4V Serles
arles
Connecting Type " E 2 Y —=
Blank-Pipe Connection Type g P L T E— TR
B:Plate Connaction Typa iy o HE [Tl rt; E. .l
=t LN B R oE +H+l+k
i I ; 2E E -
F bl ) ) T )
lp.ellleltlon I wvarall Dimen , e vis @ﬂ{@ ;@ﬂ o / NECPC I P Vi L 'gt-’@‘
) ¥ : jmq: s g G; ol gmn:! - £ 1
Model 3Vi-M5 3V1-06 =4Iy N <+ t@*ﬁ : @@ L, [° L7 b7 b 2 by ol
Waorlking Madium 40 Micron Flltarad Alr s "I>=‘ B X Hr \Biind Piate g
Motion Pattern ' Direct Drive Type ey 2 i ' F ]|\ oy e |
Joint Pipe Bore M5 18" wvi-08 ' ey
~Amblent Temparature | -10~+80'C Wﬂﬂj {o l ST
Gas Temperatum 5~60°C L
Air Outiet Diameter 1.0mm mnﬂlﬂﬂnn..n_ &
Lubrcaton emT— T—a—— 1F | 2F | 9F | 4F | 5F | 6F | 7F | 8F | 8F [10F| 11F |12F | 3F |14F 16F| 16F
AR S —— T 100MLF 58 432 183 19 10 08 134 38 14 152 171 190 200 228 247 266 205 304 323
Wak Predgurs Reslstanee ' T [T 200MIF 61 507 21 45 224 23 6 12 12 17 48 69 92 115 138 161 184 207 230 253 276 290 322 345 388 391
T — R Y SDOM-EIF 75 848 26 45 273 27 € 135 25 1888 54 B2 110 138 166 14 22 260 278 %06 334 |2 - - - -
P | q 400M-{IF 104 845 32 55 343 315 7 145 5 2218 63 98 133 168 203 238 273 - - - - - - - . . D
Connection Form — L P
Lo a 7 odel | M o R & T B ¥W XY
Material of Body Aluminum alloy ®(2[ 3 @@ 1F 2F 3F 4F 5F 6F 7F 8F 8F 10F 11F 12F 13F 14F 15F 16F
Highsat Action Frequency 10Cydle / Sec N oo 7 100M-LIF 1545 28 47 66 85 104 123 142 161 180 190 218 237 256 275 204 313 GI4° 40 30 20 14 © 78 25 27
Insulation F Cluss —ﬂﬂ\ﬂu— 200M-LOF 180 34 57 80 103 126 149 172 195 218 241 264 287 310 233 256 379 GIM" 43 32 305 145 9 93 26 35
Voltage Range ' +10% 300M-CIF 208 42 70 98 126 154 182 210 238 266 294 322 350 - - - - G 63 48 375 135 1M 995 I 40
Shortast Excitation Time 0.05 Second Q0OM-OOF 245 49 B4 M9 154 188 224 25 - - - - - - - - - A2 68 67 52 1B5 1B 125 38 50
Illlnunolon Shoot{4V Serle
[ Overail Dimensions Modal nﬂnﬂlun'.n_
3V1-08-3F 3V1-06B-3F avi-oes V[ \[/ | - 100M-OF 58 432 183 19 10 08 81 57 76 95 114 133 152 171 180 200 228 247 268 265 304 323
e gveiin e o e e ; o & 200MLIF 61 507 21 45 224 23 6 12 12 92 48 €9 92 115 138 161 184 207 230 253 276 299 322 345 388 391
— ' _ 591 5 300MLIF 75 648 26 45 273 27 6 135 25 111 54 B2 110 138 166 194 22 250 278 306 334 362 - - - -
= ~ L e ~ 400MLIF 104 945 32 55 343 315 7 145 5 142 71 98 133 188 203 238 273 - - = = = = = = =
& | & | % ] r Bl i s B
b " M QR 8 T UL N X ¥
atr & |« 1F 2F 3F 4F 5F 6F 7F 8F 8F 10F 11F 12F 13F 14F 15F 16F
“I D O € €¥—’ 8 98 28 47 66 85 104 123 142 161 180 199 218 237 266 275 294 313 GW4" 40 30 20 14 9 25 27
@ | @ @%‘:{ Al Y ? = 11 34 57 B0 103 126 149 172 185 218 241 264 287 310 333 256 379 GI4" 43 32 305 145 8§ 26 95
I D T N e bov: 130 42 70 98 126 154 182 210 238 266 204 322 350 - - - - GW 53 48 375 135 11 30 40
k3 d ol
- 4 o 163 40 B84 119 154 180 224 268 - - - - - - - - - @i 68 67 52 185 18 38 S50




=I5 |Hav Kon®

I-|&|HAvKon &

PNEUMATIC

al Valve
human or machine, to switch the direction of air flow. The

button control, rotary and foot valve. Body is made from ali
. XCPC used the high grade of material and imported machine to n

VF3000M

Specification Code Joint Base Number

VF3000M:For VF3 Series Use VF3000M:Wantonly Joint
VF5000M:For VF5 Serias Use VFS000M:Wantonly Joint
VZ5000M:For VZ5 Series Use VZ5000M:Wantonly Joint

I LI B IR iy il . 2 310 Hole 2n-M4-TH{Deep}a 3n-b7 Port
Dsap12bommg-enmh:‘£ ———— i /ﬂ"u'5J
NE g A
Ay @ W L B : %ﬂl
TE& YE v TEYe
_(_. i i i
Biact Ty B g i o il ]
VF3000M @— EP— @
I 27 6ne286
2n-M4-TH {Dew '
» 3 12 Hola sn-uz.sP\nrt /_(Tppa 4-355Hole N !
Desp 12 bath sds noodsses 3« P \{> {!{B B 1.4 / . "
\ 2 @4- & & ¢ -

(3, )
MR

,E.m
:

J{gé =
[ < ! i i 5
@) Bl APk ;[’ ' HAvKON i
4 o | Lo e e il |_PRfeveomre _ H! fukion
VFS000M N D® D% -0 -0 Ot ' ; ' i / TG
13| B5 ..ZE_. 65
155 30 a3 33 33 30
i — ST e al e'
B-G14" Port 410 Hob 397 Port JMeTHDepl  4-45SHrie _
Deep 12 both ends noodieses S — I / Hﬁ HavKon'
i T — . : 7 | FHEUMATIC
N $6°0 20202 Ity 2 |
& mla —
o Do Do Do DellShs
vZsooouM |'|ﬁ H*’«Vl(om
|10 .13 2| Lel "NE.Jmmc
.._29:_3._12..._19...._13...._19.. P
1gn+28
| | | Base For 4M Series Valve _
& ' = .
m Blind plate Operating Instructions:
| - 4M — 100M — B When base quantity is more than
{ solenoid (pneumatic) valve quantity,
i .l can use blind plata to seal the
Sorlos Code  Specification Code  Blind Plate Code  redundant valve base temporary,
\\, 4M:For 4M 100M:For 100 Serles Use  B:Base Purposed and then change it if add extra
Serles ues ggm;g g% 5’"’53. 3: Bilnd Plate solenold (pneumatic) vaive. Like
400M:For 400 Serles Use this can expand system.




ssoH:ree Vismn

I;ﬂ

=5 |HAvKoON ©

PNEUMATIC

(| | MSV Series

-

L] "[’
w ,
[MSVE6522-EB MSVB6522-PB MSVB6522-TB |MSV86522-LB MSVAG522-PF [MSV86522-PPL [MSVE6522-R| [ JM-02 ] | MJ-03 | [ JMS-04| [ JMJ-06 | | J9aJ-07|
| Ordering Cods || Spectiication & | Ordering Code | Specification
MSV 98 32 1 R MSVB6321 | MSVBE522 | MSVe8322 JMJ = 01 JMJ-01, 02, 03. 04, 05, 0. 07
‘ ‘ ‘ ‘ Working Medium 40 Micron Filtared Air ‘ 14"
Twa-position Two-position Two position Ar
Specification Position and Port Size Button type [Poslion and WayNo. o Eivoy T Spacification Code Type Tai = T
Code Way Number 1:61/8"  Blank-Nomal Type il Joint Plpe Bore G1/4 Two-position 01:Selectiva Knoh peratu g
Mechanical Valva 32 Two-position 2:G1/4"  R: Roller Type Effectiva Section Area 12mm (CV=067) 16mmiCV=0.48) 16mnA(CV=0.89) Three-way Mechanical Valve gﬁ;ﬁ:ﬂ;ﬂﬁw Pressure Rangs 0~1MPa
TB:Sslactive Knob [ w— - = - "
Series Code EWT ot LB:Sirangthened Knob Port Size G1/8 G4 G4 04:Large Round Button Effective Sechon Area 25mmt
98 Series Flve-way PB:Large Round Boutton Prassura Range 0~D.8Mpa 05:Plat Round Button ; Not Necessary
86 Series PP:Piat Round Button T o = 0~80'C usomm Round Button
FPL:Convex Raund Button O7:With Lock Butbon
EB:With Lock Button
JMJ-03 JMJ-05 JMLI-07
MEVesa2i $36.5
B 4315 $36.5 $31.5 4305 #4315 L}
28 35,5 * = 18 $15
il - By e == I
I ‘ [TTTTINTTTITT 2 f F‘I I 1 2- 32 2
| _ N iE3 = " gaasd T
; 2 2.69.2 ] @ — | {2492 <
2ay i Py i e T T o P
o mig A | ¢ EEImE FECIE I A 8 a7
"'“_"1 18 ot Y il e 2445 4] \4: 2 u.w? &= 244.5 /] =
—ar i75] 19 174 o 17, g 17.6 T
22 L85 ] L2 3 | 22 35 & -;s
EB R
e Eﬂg = ]
- ¥ g £ T 3
= ] 3
I q \h\\ QI b
elel E 7
o oF 4 H g
o1 02 03 04 05 06 07
_ Svmb°"”°dﬂ' “___“-E--_ L iz
MSVEB522 136.5 107.5 ; 0 [ 5
B 39.5 24.5 26.5 36.5 39.5 37.5 425 3 5 < Mt 2
A 106 111 125 129.5 126 123 9.5 . 8 . 7 -
2 39.5 245 265 285 305 375 425 E | | g g
A 68 7 85 885 86 83 59.5 [Eﬁ Lﬁ§£ 1 *
1 1
e B 39.5 245 265 %5 295 75 425 : ; ; -

=15

HavKon®

PNEUMATIC




sor‘:ree Vismn

I;;—-ﬂ

|_|q HavKon®

PNEUMATIC

IS HavKon®

PNEUMATIC

| Ordering Code

i JM 05
Riin al |
# - 8pecification Code Button Type
) ir Stop-type Machinery Valve 05:Selective Knob W
= 06:With Lock Button M)
06A:Plat Round Button
[JM-06 |JM-0BA] WINE-07 | 07:Raoller Type w
|| Specification || Overall Dimensions 4R110-06 4R210-08 3R210-08
| Model | JM-05 | JM06 | JMOBA | JMO7 .
Working Medium 40 Micron Filtersd Alr e ~ | Ordering Code
Position and Way No. 0~0.BMPa
Port Slze G144 4R 2 10 06
Working-pressure Range Two-posltion Three-way, Two-position Two-way
o]
Operating Temperature g-gaT Specification Code Serfes Code Number of Places Port Skze
£y 4R:Two-position Five-way Hand-draw Valve 200 Sarias 10:Single-haad Doubls-position 08:G1/8"
Dimsnsion Shoe Rl - 8 2 3R:Two-position Three-way Hand-draw Vialve 300 Sarias 08:G1/4™
-1 1 400 Sarina 10:G3/8"
| Model | UM05 | JM06 | JMOBA | JMO7 @) It 15:617
A 14 M1 96 845 b —
B %65 385 305 425 " i | spectication
MOV Serles Mechanlca 4R10-06 | 4R210-08 | 4R310-10 | 4R410-15 | 3R11006 | 3R210-08 | 3R31010 | 3R410-15 |
Working Madium Compresses Alr n
I ning Position and Way No wo-pas ve-way position -way
— S Joint Pipe Bare G Gl G Gl Gl G4 G Gl
MOV — 01 Working-pressure Range 0~1.0MPa
e Operetlng Temperature Range -5~80°C
S 2 2 _ | ) . Diract Action Type
a0 e Specification Code  Butlon Type Lubrcation Not Required
- . Machine-Caontrol, 01:Selactiva Knob
Hand-Control Valve 02:Roller Type
03:With Lock Bution
MOV-02 [MOV-03)| [MOV-04] 04-Plat Round Bution | | Overall Dimensions

| Specilication & 4R210-08 A/ /0 3R210-08 e PN D

_ o e g
Z W b2 $22
Wurk]ng Medlum . pr— .. i 2

Two-position Two-way MOV-02 . o =2
aime & & 9 ” Midx1
0~0.8MPa "155%5\ N 4 "
0-707C 251 NZ-4.2 vty o 2-G1ME" one o ]
: a7 - g o, i N
: ) & = E »‘} EEE »;}
- 3 e | 1 e =
=§ S5 | | N7 |
= ! d = £
4 Js e ot @ Si : J
2 - ST
2l = = = = = =
24 n 3
MOV-03 ¢ % MOV-04 3 A 3
\2-&4.! . L-zz-lgi,j \, 2-94.2 . . : 451 54 2




ressaqr. Eree Version

-y [T

§o—_

| | Ordering Code

HY — 02 [l
Specification Code Port Size Joint Pips Type
Hand-switching Valve 02:G1/4"  BlankPlps Connaction Type

03:33/8"  B.Plate Connection Type
D4:a1r2"
I SpocHication
Wond_r_lg_ Medlum
Port Size G17/4"
Operating Temperature Range

| Overall Dimensions

=I5 |HAv Kon®

PNEUMATIC

?.. & i
K3-RL8D K34-R-LED
K 34 — R L8 D
Specification Code Position and Type Cods Port Sizs Base Jeoint
Hend-gwitching Valve  way NO. RyHand-switching  L&:G1/8"
24:Two-position Valve LB:G1/4"

Four-way
34:Thras-position

Faur-smay

40 Micron Flltered Alr

Mot | Hvoz | hves | Hvoe | KMRAS | KaRds

30rman’(cvr1.60) 18mm’(ev+1.00)
cys” G112 Ge" G4
0~0.8MPa
0~60"C

e

=

| | Ordering Code

4HV 230 — 08
Specification Cods Number of Places Port Size
4HV: Hand-switching  Z30: Thres-posiion Four-way  08: PT1/4"
Valve 330: Three-position Four-way  10: PT3/8"

430: Three-posiion Four-way  15: PT1/2"

| | | 4HV Series Hand-switching Valve

— T

Install Type
Blank: Body of
Valve Install

T: Panel Install

IS HavKon®

PNEUMATIC

TSV86

8pecification Code
Hand-pull Valve

| speciication

TSVas522-M
52 2 — M
Pozltionand PortSize Type Code
Way NO. 1:G1/8" M:Machinary
Two-position 614" Locking Type
Flve-way S:Spring Relum
Type

TSVas 32 2 — M
Specification Code Position and Port3lze  Type Code
Hand-pull Vahve Way NO. 1:G1/8" M:Machinery

Two-position 2614 Locking Typa
Three-weay S5:Spring Retum
Type

Working Madilum
Effective Sedctional Area
Working-pressure Range

M22x1.5

#
th
79.5

40 Micron Filtered Air
Direct Drive Type
18mm*{CV=1.00)

G114
0~1.0MPa
0~80°C

1]
I

244/

E oo
Y
| &
LA

€
@




sqr.Eree Version

§o—_

=5 |Hav Kon®

PNEUMATIC

5 |Hav Kon®

PNEUMATIC

| | | 4H Serles Hand-pull Valve

| | Ordering Code

XC — 322N — HVY — 6
=, Serles Code 322N:Two-position Three-way(3/2) HV:Manual Valve  Port Bize
= 332N :Two-position Three-way(3/2} 06:1/8"
| - 522N Two-posltlon Flve-way(5/2) 08:1/4"
" LI 532N:Two-position Flve-way(5/2)

4H33010 4H210-06
| Grdering Code IEE 20
XC322N-HVE XC332N-HV8 XC522N-HVE XC532N-HV8
4H 2 10 — 06 — O

Working Medium Compresses Alr
‘ ‘ Ptmiﬁunand‘why No. Two-position Thres-way Two-position Flve-way
G1/8" Gi/4 G1/8" G1/4
Specification Code Button Type Epecification Code Port Slze Type Code e Po.'.-l__..SI%E
4H:Two(Three)-posttion 2:200 Serles 10Single-head Double-posion 06:G 178" BlanicThree-position Five-wey Resst Typs Working-pressure Range 0~-1.0MPa
Five-way Hand Pull Valve 3:300 Serles 3xSingle-head Three-postion 08:61/4" L:Three-position Five-way Locking Type Operating Temperature Range =5~60C
4:400 Sedes 10:G38"
15:G1/2" | Gverall Dimenslon
-Spoelﬂﬂtlon
A A
421006 | 421008 4431008 | 4H310-10 | 4433010 | 4H41015 | aHdsn s xcazam-nve T,/ xcsazm-mve [ T[/]..
Working Medlum 40 Micron Flitered Alr R:E i
‘Mction Pattern Direct Drive Typs
Effective Section Area  14mni{CV=0.78) 18mm{CV=089) 12mm{CV=067) 26mmi(Cv=14) S0mi{C=188) S0mmi{CV=188  S0nmi(CV=2T8  SOMi(OV=27S) =t - s, i
5 Alr Inlet=Alr Alr Inlet=Alr Outlet= Alr Inlst=Alr Alr Inlet=Alr Outlet= Alr Inlet=Alr Outiet=
Port Size el Exhiaust=G1/4" pio et 4n  GUE® Exhaus=G14" Exhaust=G172"
Worlking-Pressure Range 0~1.0MPa b | -
Operating Temperature Range 0~807C A %
2-433
3 Eeaz e ﬁ‘& ﬁ} 442 o 2-43.3
217 PP I = &5, H: | {; B o % a1/ % 3 {3 a
S } i §3/ ‘é" | g i‘_@ ¢ o 'ﬁ
=] = 3 e N ¥
Fll o 16 ' 16
a [ AL |, 234, |55 185, PRI 265 |4 | 105,
dH Series e 1ut_____ £ a2 25
& fﬁ | D - —H—
L] < z2n] efd |1
Mﬂ %%- =k A B A B
e XCS22N-HVE Mﬂv\/ XCB532N-HVE Mﬂ“’

( j\ RPS RPS
e WL 0 + .
M il S 7"3’{:\1 4
F \\ ,":":"7
SymbolModel | A | Bl C|DJEJF]GIH]I]JI/KILIMIN]O/|P] D
4H210-08 76 665 3.5 22 B85 65 665 18 20 3 2 3/ 2 Gl GRS 43 - i TiT
4H230-06 76 565 315 22 95 85 665 18 20 3 21 3/ 21 GUE G 43 - | - il
4H230-06(AufomaticReset) 95 755 315 22 95 85 8556 18 20 3 21 3 21 GIE G 43 - | 1
- e Hsaum + He W
4H210-08 76 565 315 22 8 65 665 18 20 3 21 35 21 G G4 43 15 i 4 Tg A L 3 4 ez |l B
" w| o = T = -
4H230-08L 76 565 315 22 95 65 665 18 20 3 21 36 21 GUE" GIM4° 43 15 Wi i fg g GQ}T ?f §
4H23008(AutomaticResef) 95 755 315 22 95 65 855 18 20 3 21 3 21 G G4 43 15 KAl o 4 " % 2 Eu[
4H310-08 82 725 40 27 100 76 825 18 24 45 24 40 27 Gl G4T 43 = w1 L | & Ls
— -~ 6.5
4H310-10 92 725 40 27 100 75 525 18 24 45 24 40 27 G14" G338 43 2 22 24|55 | 17| 2 p2a st
4H410-15 126 {02 655 34 {00 75 114 18 28 63 36 60 3 G GI2° 55 - A




i 1 iE::" [¥

==

w B
-

o

sar Free Version

s

HavKon®

PNEUMATIC

| Speciiication

Model XC322N-R8 mm XC332N-RAS | XCE22N-RB | XCEI2N-RE | XCBE22N-RBS | XC532N-RAS

Working Madium
Posttion and Way NO.
Port Size
‘Warking-pressure Range
Opurating Temperaturs Range

| overail Dimensions %

1)
i

4
T,
|

s

=

148
i
o
2
Ji
h!

Two-posltion Three-way

A

H.1T/]

RP

Serles Cods g

322N
|

22N Two-posltion Three-way{3/2)
32N: Two-position Thres-way{3/2)

R:Hand-
draw Valve 06:1/8"

522N: Two-position Five-way(5/2) 08:1/4"
532N: Two-posltion Flve-way(5/2)

k- ]

AT

],I=

A B
RP3
== P &5
=
I \ 1
Lk
< R s
3083 Ak 3
oo b
& § |
L] §-H 3 1
fi\@. ) ¢'\F@
=
- K éﬁ
L} | = A
¥ &7 n ol
[T N - E—

CompressasAlr

Twe-position Flve-way

Port 8lze S:Spring Raturn

G1/8"
0-1.0kFa
-5~80T
A
XC332N-R8 ;:gm
RP
< &=
T L
I I
1,71
SR Y
£ &
MM|
A sels 41 i
sens S0 [0 W &
3 &
ol aammans
A B
XCBI2N-RE ;:m
RPS
T 1 i
RN KL
& 5 | 8
A=l §
2433 —_—]
| saur 7
w 2o - )
5 )
g 8 g =3 "
i) "
. 4 :
g =I 2
10e 8], ses

I_lq HavKon®

PNEUMATIC

| Ordering Code

XC — 522N — H — 6 — 8
Serles Code 322N:Two-position Thres-way(3/2) H:Hand-pull valve Port 8lze S:Spring return
332N:Two-posltion Three-way(3/2) 06:1/8"
522N:Two-position Flve-way({5/2) Da:1/4"

532N:Two-posltion Flve-way(5/2)
533N:Three-posgition Five-way(5/3)

| spocification

Working Madium 40Micron Filterad Air

Posltion and Way NO Two-position Thres-way Two-position Flve-way
Oparating Mathod Direct Drive Type
Effective Ssctional Area 18mm® (CV=1.00)
Port Size G1/8" G1/4” G1/8" G1/4"
Working-preasurs Range. 0~1.0MPa
Operating Tsmpearaturs Ranges 0-80TC
I ] I g
XC322N-H6 L '
A vl
SEmIVAYS 2 9
b,
e $H— ®
P Y D) r _¢_ "Ié 3’ A
of |87 | = @
- a2
e i £ | 3-G1/8 ™
d 23.4 5.9
s 52 17
T
L—22 .|
XC332N-Ha
[miya%
| ] AR
] ©
RP
e S
&
4 H j
8 P2 |2eus 3-04.2 ,76 b @38 é} o
“ T @5 ] '@_—
] b |
WIRE: 285 |8
.25 | 40 18,5




ssqr Free Version

o it 'L
=
]

|

-|5|HAavKon e

PNEUMATIC

-5 |HAv Kon®

PNEUMATIC

X -I I Ordering Code
@
| XC — 322N — MV — A
o] o | | | |
' . ""' Serles Code 322N:Two-position MV:Mechanlcal Valve A:AType
2 Thres-way(3/2)
% 4 522N:Two-pogition
1...T. 5 Flve-way(5/2)
-%3 . : S | | Specification
el K gl ] gl
e 32 17| Working Mesdlum Compresses Alr
KCE32N-H8 110 | _ Port Size ekl
A B /Tﬂ' 0~1.0MPa
P : -
MM :;I ;\:f-’:g;"":}’ g} Operating Temperature Range 0-607C
- L LA )
7 S L
A - voug| . I Overall Dimensions © A ® A B
£ % g as xcszzn-mva =[]/ | xcszzN-mva =[] /|
+ |scus £ 3 4 |12
3 4;% b @«| RP RPS
| 1 Pt
= . E =
hgle ? f : |
28.5 I
40 18.5

G118

263 18
. 28

| | xC-MV Serles

3-03.3 |
f | | ordering Code 8 s @@ft
o I
) XC — 522N — HDV — 8 e s [T
W liokor | | |
b Serles Code 522N: Two-posltion HD¥: Hand- Port Size
= f Five-way (5/2) draw Valve 06:1/8"
” 08:1/4"
* B || Ordering Code
E XC — 322N — MV — B
P U i i = iti = =
XC52IN-HDVE XC522N-HDVE — ® 8 Saries Code _?_ﬁf:::l’::y&og)tmn MV:Machanlcal Valve B:B Typa
Working Medium Compresses Alr "
Posltlon and Way number Two-position Five-way I Specification. I
. o A
Port Size G118" G1/4" bm CEEW
Oparating Temperature Range 5~B0'C XCE22N-HDVS | [1=22], irid =I Working Medlum Campregses Air 2943 1.8
“I' E w%f{vtz * Position and Way number Two-position Three-way ISP NCE R
4 b,
a2 M
i Port Blze . D4 /*\ 4_/‘5 .r— =
SI EJ ~ Working-pressurs Range 0~1.0MPa \2 q B I8 g
§org Oparating Tamparaturs Rangs 0~B80T K:)I’IE 1__ K
8- — | % L]
._‘ﬁf_l [EX] .J?I__




ssor. Eree Version

=
A
]

.

TS HavKon®

PNELUMATIC

=I5 |HAv Kon®

PNEUMATIC

é;% | Ordering Code &

== XC — 322N = MV — C
‘ “@ ' Serles Code 322N:Two-posltion MV: Mechanical Valve C:C Type - - g
. Three-way(3/2) - \, 5 \mv( L
L]
4F210-08L 4F210-08 4F210-08LG
| | Specification _ | | Overall Dimensions - -
PeEnTY
Working Madium Compregses Air —l_i_l_ L . .
Posltion and Way No. Two-pasition Three-way XC322N-MVC ’—‘-4—‘ 4F 2 10 G 0 FV 320
Port Slza o4 A B i ‘ ‘
_ T T . IR :
S BB ire Range 0~1.0MPa 0-!I" \W | Speciiication Code  Serles NO. Number of Placas PortSlze  Type Code Specification Code Position N!.I_mbﬂl'
Opsrating Terpscatury Range g-60°C RP AT ! 4FTwo-posiion 2200 Serles  10:Single-head 08:G1/4"  Blanicstandard type FV.Foot Valve 320:Two-position
@ Five-way Foot Valve Double-positon Lowith lock Three-way
w o _ : Grwlith cover 420: Two-pasition
5 . LGrwith lock and cover Four-way

| Specification u
4F210-06 4F210-08L 4F210-08G 4F210-08LG Fva20

Working Madium 40 Micron Flttered Alr

B,

Two-postion Five-way mm m"
!_i!__ XC — 322N — MV — D Direct Drive Type
. ‘—i‘iﬁf_{; A Series| Code 322N:Tw1|:|-positinn MV:Mecha|nicaI Valve D:D '|I'ypa Alr Inlst=Alr Outlet=Exhaust=G1/4" Alr Inlet=Alr Qutist=G1/4" Exhaust=61/*
i Thres-way(3/2) Working-pressure Range 0.15~0.9MPa
Operating Temparature Range 0~-60C

= 3=

arz10-08 L 4F210-08L M

[ specitication 5 ey A
180
Working Madium Compresses Alr Gy et @\,—Hﬂq . ' Ezm@j -
Posltlon and Way NO | Two-posgition Three-way XC322N-MYVD (P ~ EH _E:EIE-'_\ :\ s _\Iz"'a - Taa m\ = \w~
Effective Sectional Arsa 18mm? (CV=0.88) W 3 ‘K:; 8 3 = “@@ 0 \"ﬁ%@
P SRivAR f 4 1Bl {1 ¢
Working-pressure Range 0~1.0MPa =5 2888 _ KE? 5 : [T = 8 — 2 il 3 aI e
perating Temperaturs Range 0-807T b ﬁi . 100
18.2 Fo |




-I5|Hav Kon®

PNEUMATIC

-l |Hav Kon®

PNEUMATIC

| | | 4F.FV Series Foot Valve | | | RE Serles Flow Control Valve

| | Overall Dimensions | Ordering Code
RE — 01
| | >
4F210-08Q 245 - Series Code Port Size
‘k “ s | - RE:Ordinary Typs 01:G1/8" Graphic Symbol
& S e _ e Flow Control Vaive 02:G1/4"
: y bt 3 — o ~ 5 ; 03:Gam"
N{SS = ) | — 04:G1/2"
AFPH r-:. 1 EH 4 P | ?!
| | B éﬂ 5 | | | Specification Dverall Dimension:
3 =it i |
i Sael = | reo e Lneo Lo —
2R A Port Size GiET G4t GNE  GIE
Working-pressure Range 0-0.95MFa a1
Operating Temperature Range o-60C : o
|
Im A |
HE
2 | Mol | A | 8 | ¢ [ o0 | & [ F | G |
a0 . RE-D1 45 19 43 50 @19 M14X1 G1/8
arzio-osta e W ' RE-02 45 18 43 50 @19 M14x1 G14
o N RE-03 55 25 55 62 025 M1BX1 G3B
HE®, sl & -
“M :Inj @ RE-04 55 25 58 62 25 M18X1 (1)
| | Ordering Code
125 K
. ASC — 08
Fv420 & P ‘ ‘
1 L ok
£ AL AN AN g Serles Code Port Skze
"‘4 ‘>< }ﬁ\ e N AoCacouas Ty (BCIEL Graphic Symbol
Lt AN ] e o | e Flow Control Valve 08:61/4" raphicSym
AR 10:G38"
120 o k 15:G1/2"
| Speciiication
ASC-06 ASC-10 | ASC-15 5 |
~ PortSize G G G e L.
125 K} ~ Waorking Medium Alr - 2-2F
FV320 & ; ) Working-pressure Range 0~0.95MPa A d
Fas &4 Operiiing Tetnperaiiine Fargs & 7= il o
~ /d EPREN ) | R— SN R
NAS adl - oo ~ T b ~
; B T N\I_JJ EI \-j . I imaneion SNoa
w] [Tl
120 N ow |~ 1 | Mogd | A [ B | ¢ | D | E | F [ 6 | H | I [ J | K |
o1 ASC-06 2 32 G118 22 27 43 497 565  MBX0S5 MIZX075 12 18
ASCDB 26 36 G114 22 27 43 497 565  MBX05 MIZX075 12 18
ASC-10 28 40 Gas 25 30 43 527 505  MBX05 MI2X075 13 22
ASCA5 28 40 Gz 30 35 43 58.7 655  MBXO5 MIZX075 135 2%




: sqr,_E,ree Version

i‘""

& |HAav Kon®

PNEUMATIC

I ! L KLA — 10
W |
® L5 ]
i L Specification Code Port Size
— KLA-Check Valve 06:G1/8"
@Q‘E.'lt‘.”?‘*-‘ f 08:G1/4"
ooy 10:Ga8" Graphlc Symbol
15:G1i2"
| | Specification
Workmg Medium
Pﬂﬂ Size G1/8" G114 Gag" (chfr
Worlung-prassure Ranga 0.5~0.95 Kgifem®
e R ; 15.0 Kgffem®
Oparaﬂng Tsmparature Range =5-60°C
R oF Aluminum Alloy Lyl2
Check Valve 200 450 1250 1850
Ona-way Valve 400 800 1500 2000

J 5 ﬂ=\ g@l
=, . O
E | 2l fof I
S5

\d | .
A B

: L 13
KLA-0& KLA-0B KLA-10 KLA-15 )
©

“ﬂﬂﬂﬂﬂﬂﬂ-—_n-“-ﬂ

KLA-06 PT1/8 46.8 523 MBX0.5  M12X0.75
KLA-08 26 36 PT1/4 23 27 4.3 50.8 56.3 MBX0.5  M12X0.75 13.5 13 30 a.s
KLA-10 35 60 G38 32 37 53 65 74 M8x075  MIEx1 175 28 405 102
KLA-15 35 S0 G1/2 32 37 53 65 74 MBXO.75 M16x1 175 28 405 10.2

=S

®
HavKon™

PNEUMATIC

|| | KA Series Check Valve

==
)
[ FRka]
. KA-DB
¥
 specification =

| Model | KA-LOG | KALOB | KAL10 | KAL1S | KAL20 | KAL25 | KAL32 | KA-L4O | KALSO |

Workmg-pressure

Madium Tsmperalurs

Circulating Ability
Startup Abllty

KA—LB
KA-LS
KA-L10
KA-L15
KA-L20
KA-L25
KA-L32
KA-L40
KA-LSO

6
8
10
15
20
25

32
40
50

| Ordering Code

KA

Series Code
KA:Check Valve

| Product Expiain

L3

Port 8Size
Los:G1/8"
LoB:G1/4"
L10:as8"
L15:G1/2"
L20:GY4"

L25:G1"

L32:G1/4"
L40:G1-142"

Ls0-G2"

Therefore the produdt is also called non-retum valve.

0.05-0.8MPa
-10-+557T
0~=+55T
10 20 40 110 180 300
=0.03MPa
50 80 120 120 250 250 500
003
2150
| e W L T T
a3
a = = N& @
( T_
i
al g1
a

MB X1
G1/8 M10 X1
G114 M12X1.5
G3BM18X1.5
G1/2M20X1.5
G314 M27T X2
G1M33x2
G11/4 M422
G112 M4BX 2
G2MBOX 2

¢13
18
20
26
32
&40
45
54
70

©15
©28
28
40
D40
©55
©55
<88
88
100

EHAE588RER

Graphlc Symbol

ENRRBRRERS @

O

The valve is unidirectional control element. When passing the valve the working
medium can only flow along a given direction.In operation,when the madium pressurs
direction changes,the valve functions to stop the retum of the medium In the system.

500

s 14 o
§ 14 3,
10 18 35,4
10 18 5,
12 18 3,
12 27 342
22 27542
2 27542
26 453548

650




ssor. Eree Version

§o—_

IS HavKon®

PNEUMATIC

=|5|HavKon &

PNELMATIC

| | | KAM Serles Check Valve

KAM = 15 Graphic Symbol
Series Code Port Slze | (oA ( P
; ey Wk Series Code Specification Code Port Skze
KAM:KAM Series Check Valvs ssa1e" . A ““‘" r ' AS:Check Velve 4000 02:G1/4" L{éﬂ
10:Ga/8” B ' 03:G3/8"
15:G1/2" =T 04:G1/2
| specHication
Port Size eyl G14"
Flow mm*/S 10 20 40 ) _
Leak Out Flow{om*/min} <45 <60 <80 <95 Fee Bae e %
QWMH Medium Compress Alr Frou Flow, y(L/min) 1670 m
Worlkdng Temperatura Range S5~-E07T E'I’fedlve Seotlonal Area(mm‘) 255 UL 20104172 “
e B 0.05-1.2MPa Controlied | ' 1670 st 1 ; E
Flow E'ITeeﬂva Sactlonal Araa(mm‘) 255 T — =
I L U] L IR i I L Ei ' gl i 2 1.5MPa ,.;I HI ; | 4
L — m-_-— L sk e B
| Gi/8" ' Lowest Working Pressurs ' 0.06MPa 2M4 dsepd ez
m GA/A" 4_3 1 7 Ambient and Media Temperature 5~60T
v " Flow Tu 8~9 AS4000
& m KAM-10 G3/8 50 21 Regulated Flow Tumsq
\W’ \\% KAM-15 G1/2" 60 24 Note*:Input pressura is 0.5MPa.
: Note*:8 turns for AS4000
|| | XQ Serles Quick Exhaust Valve i | | | QE Series Quick Exhaust Valve
r ""',— The valve | generally Installed on the pipaline between I Ordering Code I Ordering Code
the cylinder and reversal valve and near the cylinder, which "
directly discharge the air from cylinder without passing the
i I raversal valva and thusto achiave the goal of fest reversion xQ - 1 70800 Graphic Symbaol QE — 01
of cyindar. The effect on imgroving cylinder spsed is espacially ‘ ‘ RING Sy ‘ ‘
obwvious. Rl
I‘ 2 8. I P: Connect reversal valve export Berles Code Port Size ) Series Code Port Size AR
p— T J A: Connact eylinder XO:Quilck Exhaust Valva  170800:G1/8" P——O R QE:Quick Exhaust Valve o :G1f8: 02:G1M4" R
S R: Connect mulfler 170800:G1/4" 03:G3J8_ 04:G15°
171000:G3/8" 06:G34 Graphle Symbol
| Spocitication TR |
LS L R A [
Mol | xairoso XQ170800 xarrion xairisn o j
Joint Threaded G1e" G14" Fs i
Port Size 6mm gmm smm 15mm G Gue  Gue G G Nk F
Flow 20.9m’/min 20.9m*min 225m'fmin =4.5m'imin E clional Arez 1emm"  27.5mm’  38mm®  Time?  725mm’ ° L D
S ._ ren Thousand Time ) <200 Worldng Medlum Alr
Worklng Pressure Renge 0.12~1.0MPa Working Pressure Range 0~1.0MPa i’ ',:_' | i
<0.03 <0.03 <0.04 <0.05 Operatling Temperature Range 0~60C i i
i == | Dimension Shest
3T
| _-_-_--__-_
L __- QE-01 Gire”
N - AT il 3z QE-02 G1/4” 32 25 40 39 5.8 33.5 55
? XQ170800 G 51 45 QE-03 Ga/8” 62 25 40 39 5.6 33.5 55
TIT HGTERRS Gaip” 68 62 QE04 | G2 88 38 64 60 8.5 51 80
o *Q171500 el v 77 86 QE-06 Ga4" 2] 38 64 60 85 51 a0




: sqr,_E,ree Version

i‘""

|_|q HavKon®

PNEUMATIC

| | Ordering Code

-
& XKP — L15 Y
C e | | ]
(FRn Serles Code Port Size Q hae
| HG Moy ‘ XKP:-Quick Exhaust Valve L6:G1/8”
TRy . LB:G1/4"  L25:61"
4 LI0:G3/E"  L32:G1-4" Graphic Symbol
e P L15:G12"  L4n:G1-72"
L20:G34"  LEO:G2"
| Spocification
P L15 mm XKP4-4° -
- n A—'-E[ 20 40 60 110 190 300 400 650 900
Leak Out Flow{cm®/min) =10 =25 =50 =70
: Working Medium Comprass Alr
Operating Temperature Range -5~+60C
K B
2-0d \
SR
o A "'_I 3-M
R
w &
)
T
A
-_--_--_--
XE-L6 75 36 41 10
XKP-L8 G1l4
XKP-L10 Ga/8
XKPL15 | Gi2 82 68 44 60 23 8 T
XKP-L20 G4
128 88 72 85 36 8 10
XKP125 G1
XKP-L32 G1'4
158 126 88 112 44 10 10
XKP-L4D G1/2
XKP-L50 G2z 180 148 102 130 52 10 12

|45 |Hav Kon®

PNEUMATIC

. | Ordering Code

=
L
Rt !l Sk N 9 A
e S | |
B 4 Sarles Cods Port Skze By P
= ST-Shuttle Vahe M:G1e" oaGle
02:G1/4" 08:G34"
| 03:G3/8"  0B:G1" Graphlc Symbol
[ Model | SO ST-02 ST-08
Working Medium
Effective Sauﬂm Area 7.5mm? 21mm’ 40mm® 60mm?’ 110mm? 190mm?
Port Skze &1/8° G1/4" fexll G1/2" fex il G1"
‘Working Pressure Range 0~1.0MPa
Operating Temperahre Range -5-60°C

2-8D B 3
\\( ST-01 G1/e
\i @_ 20 ST-02 50 35 22 5 5 35 25 G1/4n
w ) L ST-03 75 48 30 7 50 42 G3/a"
e @ ST-04 75 48 30 7 50 2 e
ST-08 110 72 40 7 70 58 G4
A c - ST-08 110 72 40 7 70 58 a1
Vacuum Valve
| Ordering Code
=
— 15L
e cv 5
i | |
. - Seres Code Port Skze
- ST-Shutfla Vahe 10L:G1/8"
15L:G1/4°
200:Ga/0"
[ specification
CV-10L CV-15L
Worklng Medlum
; re 1.0MPa
Shortas‘t Exdtatlon 11me .05 Second
Leakage Volume = 10cnmin
| | Overall Dimensions
8 J0
Al swia : swia - Fu-
& L B R e
L = == | PN S == I -
e M i i = E 1 HE
16 4/ |_20 |_14 | 10 i = B ess 4 ==] 10
= 2 78 = ag 6,/ az 28 20
106
CV-10L CV-15L CV-20L




|5 |HAav Kon®

FNEUMATIC

( ®
RS LN 5 1 citon 2 Way Sollenond Valves
L L PNEUMATIC

This kind of valve widely used in wide different
industry, you can find the valve with different
material like brass, stainless steel, engineering
plastic, and they are used for pressure range

|| | HSV Hand Sliding Valve

| Ordering Code _ from 0 to 50 bar, temperature from -10°to 180°.
If there is no current models with your meet,
HSV e 03 W please contact us, we are available to provide
| | Graphic Symbol s specialized valves according to ypur requirement-.i
Specification Code Port Size A \ S—
HS8V:Hand 01:G1/8" ;
Slldlnga\:!rve 02:61/4° — _& | - -
03:Ga/B" R P
04:0172°
06:G3/4"

This valve Is a two-posttion thres-way hand sliding valve,which Is usually
instalied in the piping to fum on/off airs. When it is tumed off the air pressure in
the presumatic system is exhausted simultaneously.

[ Spocification
T Mol | Hsvor Hov-02 HSV-03 Hov-04 HSV-06
Port Size Gl4"
Flow Bore 4mm 7mm 10mm 12mm 18mm
Working Medium Flitared Alr

Workdng-prassure 0-1.0MPa
Ambient Tempsrature Range 5~607C

20N 30N

oB

troke D E

HSV—DZ 27 1 B 1 9 5 32 43 G1/4
HSV-03 30 21 22 5 32 48 G3/e
HEV-D4 38 24 27 10 40 70 G1/2
HSV-06 45 32 34 10 45 75 G3/4




=I5 |Hav Kon®

PRNEUMATIC

| | | General Information

I Inner structure and categories of two way s

Direct acting solenocld valves

Including normal close style {N.C.) and normal open style(N.0Q.). The N.C. style sclenoid valve stay close at power off condition.
When poweron, the coil yields electricity-magnetic force, which exceed the spring force and hence pulls active armature
approaching to static armature, the valve hecomes open; when powaer off, the slactricity-magnetic force disappear and the active
armature go back o its original place by the spring force, the valve close. The N.O. style is just opposite. These valve are normally
simple structure, depsndable actlon, fast resporse, high, frequency and with <6mm small orlfice slze(N.O. style <4mm ).

Diaphragm pilot solenoid valves
This style valve makes maln valve and pliot valve together, when power on, the coll vlelds sleciriclty-magnetlc forzce pulls actlve
armature approaching to statlc armature, the pliot valve open and control the maln valve to open; when powaer off, the electriclty-
magnetlc force disappear and with the gravity and spring force, the actlve armature closs the pllot valve, which control the main
valve to close. The N.Q. style is just opposite.These valve are normally with bigger orifice size and s<<10Bar working pressure and
with zero differential working pressurse.

Plston pliot solenold valves
Similar with piston pilot solenoid valves, but supports for higher pressure and temperature,with =1 Bar differential working
prassure.

___Material

Medlum . Applicabllity

Highest working temperature 120C 120%C 180T 120C 200 80T
Lowest working temperaturs -5T -10C -20C 40 —50°C _50T -20%

Anti-burning x *® X A Lo o A

Steam x A ¢} 8] A O %

el o o x A o o o

o, A o o o o o -3

Chemical A o Q o o o o

Acld A o o A o o %

Alkallty 0 @ o A G o x

Vvater Q o 4] o] 0 e o

Wearing s} o O * O a o

Antt distortion o o o o o - <

Tension [+ o o X o X o

Description of the symbol: © Vary good O Good A Normal level X Not OK

| NO | Designation

S0 0N o s N

Valve body
O-ring
Seal pad
Filot
Spring
Armature
Coil
Steel washer
Washer
Spring washer
Nut

FI5

[ NO | Designation

=

'h-; :—.j W m ~m .ﬁ o & -_

-
£a ||

Valve body
Dlaphragm
Diaphragm spring
Valve cover
Hexagon scrow
Pilet units
Plunger Spring
O-ring

' Plunger tube assembly

C-ring
Coil
Connector
Gasket
Lock Nut

HavKon®

PRNEUMATIC

L 28 e N m oW N

=
L

esignation
Vaive body
Washer
Seal pad
Valve core
Seal
Gasket
Gulde ring
Spring
Valve needle
Pln
Armature
Seal ring

13

14

15
16
17

18

B~ B

el

[NO | Designation J N0 |_Dosignation _

20

Statle armature
Nut
Gasket
Bushing
Stesl plate
Goil
Stesl plate
Nut
Steel cover
Min plate
Spring washer
Nut




|_|q HavKon®

PNEUMATIC

-5 |HAav Kon®

PNEUNMATIC

|| | 2V Series 2/2 Solenoid Valve ||| 2V Series 2/2 Solenoid Valve

| Ordering Cods | internal structure 3
2V 025 06 — AC1M0V — V [T
1 L NO | Nams
‘ ‘ w0 1 Body Of Valve
Specification Code  Aparture of PortSize  Standard Voltage Oil Seal Code 8 = 2 Dlephragm
2V:Two-positionTwo-way  Flow Rate 06:G1/8" DCi2v Blank:NBR ‘ "..? ‘ 3 Spring
Solencld Valve 025:2.5mm 08:G1/4" DC24V VVITON(Fer High Q =
130:13mm 10:G38" AC24Y 50HzMG0Hz temperature) 5 i 4 Socket Haxagon Screws
250:25mm 15:G12" ACTOV 50Hz/G0H=z 5 7‘___________-----"_ 5 Cover board
20:G3/4" AC220V 50Hz/a0Hz 4 [ : 5
25:G1" AC380V 50Hz/60Hz 3 - Gruciform Slot Screw
7 Platen
— 2 . 8 Assembly OFf Iron Core
T
i 9 Assembly Of Iron Core

A A S
oresmo [ T] =} T2 ,
P P /

10 Col
| | Smecliication n i
[ Model | 2V02506 | 2v02508 | 2V180-10 | 2V130-15 | 2V250-20 2v250-25
Working Medlum Air Watar, Oil I Dwerall Dimension
Motion Pattsm Direct Drive Type Guide Type
Narmal Close Type 80
2 . 28 I i 10 1101 p— T
0.23 62 23 T T ]
G1a" c1M4" Gasa" G2 Gi4" G1" o
Operaﬂun Fluld Viscoslty 20 CST {Bslow) | 0 Ti) — e | | |- |
Working-pressure AirWeter,0il 0~0.8MPa AirWater,0il 0.05-0.7MPa o or G1/2" -
Max. Pressure Resistance 12kgffcm’ 10,5kglcm’ Ggﬂ_ . - P i
Operating Temperature Range R rrz} i,i,_-_-:; or L | ] P ! ! 1 . !

Vottage Range +10% - al | ol | N ]

Protect Gass s 20 — 3 ®ld N
Power Consumption ACITVABBOHZ PC:SW -

et 2-M4x0.7 18] 18
Insulation F Class [omiliadadit i B8

Material of Body Aluminum or Brass Brags 2025 Gl T

Material of Oil Seal NBR or VITON NBR or VITON L—"% 2v130
Shortest Excitatlon Time 0.05 Second
T
—

I'H_TFI/J N0 | Neme |
= _

Body Of Valva

Spring

o
+®
4

7 1
P 2
E | 3 Asssmbly Of Iron Cora
“ $2 ‘ 5 4 Asssmbly ©f Iron Cora | T—
*
//’: [ Gruciform Slot Screw Tﬂ ( ) ‘ |
== (] Platen / o
u i e o
] TT——_3 7 Coll g3 >§b =% = 5
\ P Nut 102 "

2V250

STIE




I5|HAv Kon®

PNEUMATIC

2P Series 2/2 Solenoid Valve ({Plastic S$teel Type)

| | Ordering Code

2P 025 — 06 — AC1ov — [O
Specification Code Aperture of Port Skze Standard Voltage Wiring Form
2P-Two-poaltion Flow Rate 06:G1/8" DC12V DC24v Blank:Lead wire Type
Two-way Sclencld Valve (25.25mm  08:G1/4" AC24V 50Hz/60Hz D: Joln Connector
{Relnforced plastic AC110V 50H=z/60Hz
steel type) AC220¥ 50Hz/60Hz
AC380V 50Hz/80Hz
i
Graphic Symbol [/ -
| Spoctiication & i
2P025-06 2P025-08
Working Medlum Alr,\Water,Cll,gas
M ' Direct Drive Typa
MNormal Close Typa
2.5
0.23
G18” G4
20 CST (Balow)
0~0.7MP&
1.0MPa
-5-+20°C
+10%
1al : Enginesaring Plastic Stesl
Matenal of 0|I Seal NBR EPDM or VITON
_|}
“
i 2-M4X0.7 o
i 1 G1/8"orG1/4"
ol ) el [ I o

IS HavKon®

PNEUMATIC

| Ordoring Gode 5

2W 025
Specification Code Aperture of
2WN-Two-pogition Two-wery Flow Rate
solanoid valve direct drive type M2:1.2mm
2WH:Two-position Two-way 020:2.0mm
solsnold valve{High prassurs 025:2.5mm
dlect drive Typs) 040:4 Omm
| specincation

Port Skze
06:G1/8"
08:G1/4"
10:G3/8"

F

Initial Estate
Blank:Pipe Jiort
typa
F: Flangs Type

— AC110V

Standard Voltage
DC12v  DC24v

AC24V  50HzAG0Hz
AC3IBY  S0Hz/60Hz
AC110V 50H2/60Hz
AC220V  BQHz/60Hz
AC3B0V GH0Hz/G0Hz

Graphic Symbol

= -

Wiring Form
Blank:Lead Wirs Typa
DO:doin Connector
E:Blast-proaf Coll
G-wWatsr-proaf Coll

| Model | 2W025.08 | 2W02508 | 2W040-10 | 2WHO1206 | 2WHO1208 | 2WH020-10 |

Wnrlung Medlum

Type
ture of Flow Rate(mm)
CV Value
Port Size
Operation Fluid Viscosity
‘Working-pressurs
Meax. Preasure Reslstance

T _._g;. i ﬁf%
Material of Oil Seal

25
023
G1ma"

G1/4"

Air Water,Oil, Gas:0~0.7MPa

1.0

Air,Water,Oil, Gas
Direct Drive Typs
Normal Close Type
4 12
0.80 0.05

015

Gara" G118 G14" Gag

20 C5T (Below)

AlrWater,Oll:0~2.0MPa
a5

-5~+807C
+10%
Brass
NBR EPDM or VITON




|5 |HAavKon @

PNEUMATIC

IS HavKon®

PNEUMATIC

|| | 2w{uD) Aperture 2/2 Direct Drive Type §

| Internal structure
- L NO | Name
1 1 Body Of Valve
10 2 I O-ring
3 Asgembly OFf Iron Core
-..-____________8 l Asgsembly Of Iron Core
7 5 Magnetic Plats — - Graphic Symbol
8 . =
6 Spring 2 -
| 5 m% e
- 7 Assembly Of Coll E‘I‘j’v"
9 4 & | Iron Cover
Sy 9 Gord-locks
1 gL 1 =
2 10 Nams Plate I Ordoring Code
— 1 11 Gaslost
12 Head Cover Nut 2W 160 - 15 - F AC1 10V — EI
I Dverall Dimension: Spacification Code Aperture of Port Size Initlal Estate Standard Voltage Wiring Form
2N Two-pasition Flow Rate 10:Ga/m" BlanicPipa Jiort DC12v  DC24V Blank:Lsad wire Typs
two-way solenoid 180:18mm 15:G142° typa AC24v  SOHz/60H=z D: Joln Connector
valve (direct drive 200:20mm 20:G34" F: Flange Type AC38V SO0H=z/S0Hz
type) 250:25mm 25:.G61" AC1OV S0Hz/60Hz
350:35mm 35:G1'4" AC220V S0Hz/60Hz
400:40mm 40:G1'72" AC380V 50Hz/60Hz

i ] E 500:50mm 50:G2"

| Specification
< MWMMMM

O Woﬂtlng Medlum Alr,Water,Oll ges
tion Patterr . Direct Drive Typs
== —, [ —— | Type ' Normal Closs Type / Normal Opan Type
@) Aperiurs of Flow Rate{mm) 18 20 25 3 40 50
\k% - CV Value 4.8 76 12 24 29 48
5 B K Port Size | cwer G/ Ga" G Gl G G
Operation Fluld Viscosity 20 CST Balow)
Ar0-0.7MPa  Water:0-D.5MPa  Oil.0~0.5MPa  Gas: 0~7MPa
Max. Pressure Resisiance 1.0MPa
I lJ L] ISl S :t1°%
I S S S S S S o orss
415 bl Matanal Df 0I| Seal NBR EPDM or VITON
W25 68 304 75 415 G1i4"
zw25-1o 74 322 B5.5 53 GA8"
2WH12-08 _ 66 30.3 75 405 G1/8"
2WH12-08 66 30.3 75 405 14"

2WH12-10 74 223 855 53 G38"




IS HavKon®

PNEUMATIC

|_|q HavKon®

PRNEUMATIC

BN No | Name | -E-—

11 2 Asgambly Of Diaphragm _ '1-1 . Spring A
- K 10 3 Valve Cover 12 Assembly Of Coil Emjw
14 I B 4 Pull Spring 43 Iron Cover T
g 5 Geekst 14 Cord-ocks
8 Socket Hexagon Screws 15 Name Plate
7 | 1
Assembly Of Iron Core 18 Gaskst - :
2 T L a Saal Gasket 17 Head Cover Nut
g Asaambly Of Irah Core
4 25 030 — 08 F AC110V O
Specification Code  Aperiure of Flow Rate Port Size Initial Estate Standard Voltage Wiring Form
28 Two-position 030:3.0mm 08:G14" BlanicPipa Jiont type DCi2v  DC24V Blank:Lsad Wirs Typs
I T — two-way solencid 040:4.0mm 10:Gy8" F: Flange Type AC24V  5DHz0Hz D : Joln Connacier
valve (direct drive 160:16mm 16:Gl/2" AG3IBV  B50HzME0Hz E : Blast-proof Call
typs) 200:20mm 20:Gy4" AC1OV B0HzAE0Hz G : Waterproof Coil
. 250:26mm 25:G1" ACZ20V 50Hz/80Hz
350:35mm 3561 AC3BOV 50Hz/60Hz
400:40mm 40:61'12"
500:50mm oG
| | Specification 8
I )
Wy
- W 28030-06(08) | 28050-10 | 28160-10(15)| 2820020 | 2S260-25 |28350-35(40) | 25500-50 |
— Working Medium Alr,Water,Oll,Gas
8 Motion Pattern Diract Drive Typa
K Type Nomal Closs Type
‘Aperture of Flow Rate(mm) 25 5 16 20 85 50
zw(m. Aporl:ur.) GV Value 0.23 0.60 48 7.8 24 48
Port Slze. Ga8” G4 G G3/8" G1/2" Ga” Gi" G1'M4" G1'72" G2
| Dimanslon Shee! Operation Fluld Viscosity 20 CST (Below)
E T NS N S S S S Workig-pressure Avo-a e WalscO-05PR AKO-07MPa OO-0SHUPA Gas0~07HES
WWME0-10 1015 57 &7 50 a5 Max. Pressure Resistance 1.05MPa
2W160-15 1015 57 17 &7 50 36 Gz ‘Operating Temperature Range. L
2W200-20 107 57 1235 72 50 3 ca4” _hltags Rengs +10%
2W250-25 M5 735 194.6 92 50 36 G1" Material of Body Sisicea el
2W400-40 142 95 172 125 705 56 G1hz Note:25 Series Solenocid Valve's Oevrall Dimension, Flow Chart and Inner Structure all Same as 2W Series.
2wW500-50 172 123 208 168 705 56 G2"




@} ®
|_|q HavKon |_|q HavKonN™
PNEUMNMATIC PNEUMATIC
|| | 2L{US) Series 2/2 Solenoid Valve
| ordering Code
2L 170 — 15 — AC110V
Spacification Code Aperture of Port Size Standard Voltage
2L.:Steam type Two-pesition Flow Rate 10:Gg" DCi2Y DC24V
Graphic Symbol Two-way Solenold Valve 170:17mm 15:G12" AC24V 50Hz/60Hz
A 200:22mm 20:G3/4" AC38V 50Hzf80H=z
300:30mm 25:G1" ACTI0V 50Hz/80Hz
EEI‘/W S00:50mm 35:G1'4" AC220V B60Hz/B0Hz
Nelb AC380V S0Hz/60H
| Ordering Code P 40017z z
A
2W 160 — 10 — NO AC110V — O Graphic Symbol EZ[DEW
| | | | specification 5 e :
- . P, - —— S — T Tp— P 2L170-10 2L170-15 2L170-20 21.200-25 2L300-35 21.300-40 2L.500-50
2W:Two-position 040:4.0mm 10:G30" NO: Normal Open DC12v  DC24V Blank:Lead Wirs Type Working Medlum Alr, Water. Siaenr
two-way solencid 160:18mm 15:G12" AC24V  S0Hz/E0Hz D : Joln Connecter Motion Pattemn Gulde Type
valva (direct drive typs) ~ 200:20rmm 20:G3/4" AC36Y  SOHz/B0Hz E : Blast-proof Coil Nomnal Closs Type
25:Stainless stesl two 250:25mm BEG" AC110V S0Hz/60Hz G : Watar-proof Coil 17 20 20 50
poaltion two way solenocid AC220v SOH/60Hz
valve(direct drive typs) AC380V S0Hz/60Hz 48 12 20 48
Gz Gau" G1" G4 G1Rr Gz
| speciiloation 20 CST(Balow)
Alr, Water, Steam:0.1~1.5M
2W/25(040-10NO) | 2Wi25({160-10NO) | 2W/2S({160-15NO) | 2W/25({200-20NO) | 2W/25(250-25NO) | = > 25MP: —
Working Medium Alr,Water,Oll,Gas AR
Motlon Pattern Diract Drive Type +10%
Typg . Nomal Open Type Brass
Aperture of Flow Rate(mm) 4 18 16 20 25 PTFE
CV Value 0.6 48 48 76 12
Port Size ] GB" ce" G12" Gy Gi"
Operatlon Fluld Viscoslty 20 CST (Below)
Workng prassues | R ——— . Name I NO|  Name | —
T T A I ) 3
Operating Temperature Range -5-+80C . 4 _F "'l& _ :
Voltag e Rangs +10% 2 | Assambly Of Piston J g Magnetic Plate Magnshc Plata
Matﬁﬁal &fBﬁdg 2W- Brags; 25: Stainless ateal 3 Springineas Spacar 10 Gaskat 1? Cord-ocks
Materlal of Oll Seal NBR EPDM or VITON 4 Wear Strip 1 Bush 18 Iron Cover
5 Spring 12 Assgembly Of Iron Core i Name Piate
| | Overall Dimenslons 6 Nut [18  Asssmbly Of Col 21 Gasket
7 C-ring 14 Bush 21 Head Cover Nut
58 $70.5 I
2W040-10NO 53 54 £
ZW1B0-1ONO _ 16 52 & —--_--_-_
2W1 80—1 5NO &0 116 62 211 70-10.
2W250—25NO 99 135 a2 =
2120025 138 54 162 915 G
21.300-35 148 76 185 "M Gl
5\ /b 2L300-40 148 76 185 1 a1
5 2L500—50 176 .5 223 164 G2




Version

=5 |HAvKoON 2

PNEUMATIC

|_|q HavKon®

PNEUMATIC

12
== 2
T T 10
“g H i — . N0 | Name _J NO |
*x a 1 Body Of Valve 7 Asgembly Of Iron Cora
7 2 Asnzambly OF Diaphragm 8 _ Assembly Of Iron Cora
’ B 3 Pull Spring ) Spring
" [T 5 4 Socket Hexagon Screws 10 Call
A Pl 4 5 Valve Cover 1 Gasket
Graphic Symbal V\ADJEE . 3 © O-ring 12 Nut
ororing Cods T rre——

PU 220 02 — A AC110V  — T
Specification Code Motlon Pattem Port Size initial Estate Standard Veltage Wiring Form I —— =
PL:Two -position 200:Directdrive Typs ~ 01:G1/8" 02:G1/4" A: Large Flix AC220V Blank:Standard Coil B e
Two -way solencid valve 03:G3mT Md.eu2” AR: Small Aperture ACIHDV T:Timer Goll
08:G3/4" 08:G1" Direct Driva DC12v
12E1% 14612 F: Flangs Type DC24V
202"

| spocitication -
C " hodel | PUZ0OIAR | PUZ202AR | PUZZ0GAR | PUZ20-03A | PUZZ-OAA | PU22OOGA | PUZ20-0BA

Working Madlum Alr, Water, Oll
Motion Pattemn 22¢:Direct Drive Type/225:Guide Type
Nomal Closs Type
15 23 8 13 13 20 25
010 018 1.00 4.00 4.00 8.60 1.00
Joint Pipe Bors G G4” G GaiE i Ga/4" G | Port —— ;|
Operation Fluid Viscosity 50 8T & A
il | Dimension Sheet
[ Mo | Pt | A | B | _c W=
U220-01AR Gl 22 72 2
PU220-024R G14" 35 72 254
9 PU220-024R Ge" 55 785 30
Pt s L No | Name PU220-03A Gae" 655 101 "
= .P__L'. 1 Body OFf Valve PU220-04A Gz 655 101 48
‘ £ ‘ [ il 2 | Assembly of Diaphragm PUZ20-06A | GA4" 71 107 58
x 4 Sl 3 O-ring PU220-08A Gr" 97 120 70
5% —————f 4 _ Assembly Of Iron Gore
g 2l 5 Asgembly Of Iron Core
| TR ) 6 Spring
2 T Coll
= —t 8 Gasket
9 Nut




Modeal

Working Medlum
Motion Pattern
Type
erturs of Flow Rats(mm)
CV Value

Operatlon FIuId Vlsmslty
‘Working-pressurs
Max Pressure Resnstance

Model
EUZ205h

| | PU 225 Series 2/2 Solenoid

1=

HavKon®

PNEUMATIC

| Ordering Code
PU 225 — 03 — A AC220v — T
Specification Code  Motlon Patterm Port SIL InIIIaI‘ Estate  Standard Voltage  Wiring Form
PU-Two-pasition bwo- 225 Guide Typa 03:G3/8" A: Standard Typa AC220V Blank-Standard Coll
way solenold vaive oG F: Flange Type  ACT10V T: Timar Call
SPU: Stainless steel 06:G34" D12V
two-position two-way 08:61" DC24v
solenoid valve 12:61'4"
14:61'/2 i
20:62

Graphic Symbol WE_T—_‘E

P

| PU225-03A | PU225-04A | PUZ25-DBA | PU225-08A

SPU225-03A | SPU225-04A | BPU225-06A | SPU225-08A | SPU225-12A | BPU225-14A

Alr,\Water,Cl
Guide Type

Nosmal Close Typa

13 13 25

4.50 4.50 12,

00

Gae" G12" Gai4"

ch Fry

G3/4"
G1"

c1'/4

el r
Gz

25 s 38
12.00 22,00 30.00
af" G4 Gl
50 CST (Below)
0.05~1.0MPa
1.5MFa
S5~+80"C
Brazs or stesl

66.5 106.5
86.5 106.5
72.0 113.0
86.0 121.0
128.0 1455
12B.0 1455
161.0 160.5

S8.0

70.0

86.0

968.0
1120

-5 |Hav Kon®

PNEUMATIC

| | PU 225 Series Solenoid Valve{Steam Type)

| Ordering Cade

| Specification

PU

Spacification Cods Motion Pattem

PU:Two-position two-  225: Guide Type
way solencld valve

A

225 — 03 — S AC220V
Port Size Inktial Estate Standard Voltage
03:G3/R8" 04:G1/2° S: Steam Typs ACZ30V  ACI1OV
06:G3/M4" 08:.61" DC12y  DC24v

Graphic Symbol \Amj

Mokl | Puzboas | Pusmes PUZ25.065 PU225-085

Working Medlum
‘Mation Patten
Type
yerture of Flow Rate{rmm)
CV Value
msm
Operahon Fluid V‘soosny

45
G3/a"

Alr, Watar, Ol
Gullds Type
Normal Cloga Type
13 25
450 12.00
Gz G3/4"
50 C8T
0.05~1.0MPa
1.5MPa
-10~+1857C
fia]
A

12.00
G-

PU225-OSS

"_”2_25_053_

clirg
Ga4"
(Chig

65 121
a7 162
a7 152

48
70
70




=I5 |HAv Kon®

PNEUMATIC

|| | VX Series 2/2 Solenoid Valve

| Ordering Code 8
VX2120 — 08 — A —  AC220V

Speciication Code Port Slze  Inital code Standard Voltage
06:1/8" Blank: Standard Type DC12V DC24V
08:G1/4" A Large Flux AC24v  50H=z/80Hz
10:G3/8" AC1T10V 50Hz/60Hz
1531427 AC220v 50Hz/80Hz

AC380V 50Hz/80Hz

A

Graphic Symbol V\/ﬂ:‘ﬂj

| Specification
L Model | VX212008 | VX212008 | VX2120-10 | VX2120-10A | VX2120-15 |

Working Madlum Alr, Water, Steam
‘Motion Patter Dirsct Drive Type
Typa Nermal Clase Type
Working-pressure 0~1.0MPa
Aperdure of Fow Rale(mm) 3 10 13
Port Slza _ Gie" Gi/d" G38" GHB" G1/2"
Opsratlng Tempsratura Range S~+150°C S5~+80'C
: ‘Geal VITON NBR
[ | inrtomnal structun
]
i H—— m Code Name
E — 1 VX2120-08-01 Body Of Vialve
D z VX2120-08-02 Assembly Of Iran Cors
a VX2120-06-03 O-ring
4 VX2120-06-04 Agsembly OFf Iron Core
4 5 VX2120-06-05 Spring
3 & VX2120-06-08 Spring
— 2 7 VX2120-08-07 Coil
i 8 VX2120-06-08 Name Plats
) VX2120-06-09 Clp
iC
—-E-_“
(4] V2120-06 G1im 40 a8
—T R — VX2120-08 G 26 40 66
/N VX2120-10 G3/8" 44 48 a0
1Y ’j\ 'm‘l Qﬂk Qe 47 &6 86
< VX2120-15 Gli2* 47 88 88
A N\ Port B

=|&|HAavKon =
PHNEUMATIC
| | VXF Series Solenoid Valve [
| | Ordering Code
VX2150 — 06 — AC220V L]
Specification Port Size Standard Voltage Wiring Form
Code 06:G3/4" DC12V  DC24V BlankLead
10:G1" AC24V  50Hz/B0Hz Wirs Typs
14:G1 1!2- AC3IBV  5OHzMB0Hz D:Jain
: ACT10V 50Hz/80Hz Connactor
AC220V 50Hz/B0Hz
AC380V SOHZ/60HZ
A
arpncome [ ] |5
P
| Specification
_m-mm- VX2250-14
_ Port Slze G1y2"
Max. Operating Differential Pressure 1.0MPa
Min. Opera‘ung Differential Pressure 0.031MPa
Saction (mm) j 20 27 40
Effective Area of Sectlon 170 330 810
GV Vaiw B.5 185 45
Exhaust Orifice Rc{PTHM4
I LT Ll R R T
c
A
- K 290£10 L
, A
AN200-02 ‘ [ ﬂ
Sliancer
o™ f __
~ - A
[ | |- pawy Jy

e

\e¥

2-RC{PT)P /

T m

>

VXF2150 Gais”
VXF2160 37 48 a9 e 45 74 33.5 118 125 20 23 30 G1”
VXF2280 28 68 81 58 10 110 62.5 174 184 23 25 s G112




5 |Hav Kon®

PNEUMATIC

& HavKon®

PNEUMATIC

|| | VXF Series Solenoid Valve
|| internal structure 4

14 Graphic Symbol
1_3///-
12
1 F
1 ]
8 ——— 5 R
r [Ii==mN | -
J - 4
3
. | Ordering Cade
N [ XC 23 — 06 — AGC220V
? Factory Code The Peosition counting Port Size Standard Voltage
22 : Two position two way 06:G3/4" 200442\\; %X
: i 08:G1" z
23 : Two posiion three way Hz
ACTOV 50/60Hz

AC220V 50fé0Hz

N | Coe | Name AC380V 50560tz

; 215000 cocy o vae {specifiation =
2 VXF2150-06-02 Asasambly Of Diaphragm
3 VXF2150-08.03 Pul Spring [ Modl [ XC2206 | XC2208 | XC23-06 | XC23-08
4 VXF2150-06-04 Valve Cover Working Medium Alr, Watsr, Ol AlF
5 VXF2150-06-05 Assembly Of Iron Core perture of Flow Rate{mm) 18 24 32 40 18
8 VXF2150-08-08 O-ring CV Value 0.10 021 0.33 0.43 0.1
7 VXF2150-06-07 Spring - Portsize G1iE" G144 Gi/8" G1i4"
8 GB70.85 Gaskst Working-pressure Range 0~1.5 0-1.0 0~0.7 0-0.5 0~0.9
8 GB858-87 Socket Hexagon Scraws ‘Voltage Rangs +10%
10 VXF2150-08-08 Assembly Of Iron Gore Material of oil seal NER or VITON
1 VXF2150-06-08 Spring
M2 VXF2150-06-10 Cail I B LT N O
13 VXF2150-05-11 Nam Plate
14 VXF2150-06-12 clip e
’_._;

2-M6x0.8

uw
. 4 g2
| >
_ -3 @
Lk C/’J
148" or 1/4° —L i B I

41




IS HavKon®

PNELULMATIC

|| XC5404 Serles High Pressure,

| Ordering Code 5
XC 5404 — 04 — AC1I0V — B
Factory Code Modsl Port 8ize Standard Voltage ~ Wiring Form
o4:Glizn DC12y  DC24V Blank:Lead Wire Type
05:G3/4" AG24V 50/60Hz D:Joint Connector
081" AC38Y S0/60Hz
AC1M0V 50/60Hz
AG220V 50/60Hz
AGIBOV 50B0Hz

Graphic Symbol :
| Speciilcation 8 R
Working Medium Alr, Water, Oll, Gae
Motion Pattern Guide Type
Typa Normal Close Type
ure of Flow Rate(mm) 12 25 25
KV Value 2.0 50 10.0
Joint Plpe Bore. G2 G4 (el
Worlung—pmssum(kgffan’) Gas:1~50,Ligukd:1~50 Gas:1~40, Liguld:=01~25 Gas:1~40, Liguld:1~25
Max. Pressure Resistance(kgfiom’) 7% =
Operahng Tamparatura Range('C) -5-+150C
+10%
IPE5
ACSS5VA DCOW
F Class
aterial of Body Brass
Matenal of Oil Seal FTFE

II]
=
|

12.0
20.0 Ga/4" 88.5 125 16
25.0 a1" 83.5 125 18

888
SR 2
&8 &N

TS HavKon®

PNEUMATIC

| | XC8213 Series Diaphragm Type Solenoid Valve

| Ordering Gode &
XC — 6213 — 04 — AC10V — [

Factory Code Modsl Port Size Siandard Voltage Wiring Form
02:G1/4" DC12v BlanicLead Wire Type
03:G3/8" DC24v Dikoint Connector
MGz AC3IBY  50/80Hz
06:G34" AC24Y 50/0Hz

0B:G1" AC110V 50/80Hz
AC220V 50/0Hz
AC380V 50/80Hz A
i
e ——
Graphic Symbol L] T |

XC8213-0 m T m XC6213-08

Inside nominal dlamster{mm}

Peyts'iza G1/4" Gas" e} [ Gz G4 ca” G1°
Working Pressure{MPa) 0.03~1.0
Medium Temparatum(‘C) -10~+80
Ky Valus(m'f) 2 ag 83 8.3 1 1
_ Power AG(VA) 1
e p
Change Frequency{Hz) =1 =05
ower/Voltage ' AC: 50HZz 24V.38V,110V.220V, DC:24V,12V
I LSBT o1 | fl
...... _ [ ff :
HHHH HHHH @?ﬁ
| ' (HHHHHHH& 3
d l—_l AT =
% 2 IEEEEIR - (} = =
_____ IL s R MNE=S
| K N Q\_ k—Fl-F'—H—F!H-H-Fl—H— A
f ) INPZ14 .
g — ™
; F =
L o

-_---_--_-_-

XCB213-02 Gl 50 5
XCB213-03 G a8 14 50 26 71 85 35 7
XC6213-04 eyl g 3a 14 50 26 71 85 35 71
XC6213-04 e 45 16 58 3 82 96 35 80
XC8213-08 G4 45 18 58 1| 82 9 5 80
XC6213-06 GI4" 85 18 80.5 41 28 17 35 a0
XC6213-08 G1" 65 18 80.5 41 58 M7 35 80




I5 HavKon®

PNEUMATIC

|_|q HavKon®

PNEUMATIC

|| | 20 Series Air Contor Two-Way Valve || SLP Series 2/2 Solencid Valve{Normal Close)
| Ordering Code
20 — 200 — 25 a
Specification Code Aperture of Port Size ‘ ,
20 Two position two way Flow Rate 15:61/2" 3 ' :
Air Control valve 180:18mm gg:g:w' f
20022 G1"
250.25mm 35:G1'/4"
350:35mm a0:G61'12"
400:40mm 50:G2" i
m Graphic Symbal  [/55] g
| Ordering Code P
| | A
: | T
Graphic Symbol _
| spociication I=g Rl SLE 06 . E 3k B H

Working Medlum Air, Water, Oil, Gas Serles 08: G1/8° 08:G1/4"  material E1:ACT10V 1L:1.0  1.5L:1.5  Blank: Brass Blank: Normal closs
; o Patern Diract Drive 10: G3/8" 15: G1/2° Blank: NBR E2: AC220V 2.5L:25 3L:3.0 51. 85316 H: Normal open
L 20: G34" 25:G1" V- VITON E3: AC3BOV 4L:4.0 5L:5.0
Aperture of Flow Rate{mm) 16 20 25 35 40 50 a5: G1-1/4" E: EFDM E4: DC24V BL:5.0  10L:10.0
T 40: Gi-1/2" E5: DG12V 10.5L: 10.5
CV Value 4.8 12 78 2 2 48 50: @2° E6: AC36V 13L:13.0
fefrad fex T/ o G1" 51-74" G1-y levad F: Flanga E7: AC24V 20L:200
E8: DC110V 25L:25.0 | Cancelif
50 CBT{Below) E9: DC48V 35L:35.0 »same with
E10: DC3sY A0L:40.0 | portslze
bl 50L: 50.0
1.05Mpa
Range 0.3~0.6Mpa * SLP serles,2 port,2 poslilon, 1/8° port slze, NBR Seal, AC110V, Oriflce: 3mm, Brass valve body, normal close, model: SLPOSE1-3L
Anarating reR 'i. = S~100°C * SLP series,2 port, 2 position, 3/8" port size, VITON Seal, AG220V, Orifice: 13mm, $5318 valve body, normal open,modsl: SLP10VE2-13LS1H
Material of Body Brass
T i | Product Featurs
Control Joint Pipe Bore 25 2-G1/8° 2-Gim" 2-614" 2-G1A4" 2-G1/4" * Normal Closs,availabla body: brass, §5316.

* Multiple seals are avallabls for different medium.
* Wida slze ranga from 1/8" to 2° with both thread and flange connection.
* Diaphragm pilot salenoid valve, with lower working prassurs.

s
LN ax
L 2E ©10.5mm, G1/4",G3/8",G1/2" big orifice
At B/l c [ D[ E| F |
o i 87 89 57 75 M5  Gi2" 2.M5
—\% n —\QEU 88 M8 &7 85 GI8" G i)
— T —— 88 116 57 85 Glm &1 ;
: : 127 123 o3 87  Gl4" Gl ; ; o
1 STAR © oo miin
E k ! 128 148 95 18 GIM" G2 .
o \ 2 170 185 1B 114 G174 gon ) s |
A c . (A
N B




I—Iq HaviKon® I_Iq HavKon®
ENELINI ST PNEUMATIC
| | | SLP Series 2/2 Solenoid Valve{Normal Close}
| speciioation
Prassurs dlﬂ'arence(Bar) Power Model
ov Overall dimension SrepnieSymbal
(3) value ure| Alrs Water. Het | Lightall lam%?tm Dc Length xWidth X Height “ﬂ I 3
prm Gas Liquid| <20CST Brass Stainless stesl A % B XH{mm) Z
a 023 0 80 SLPOBE2-3L  SLPOBE2-3LS1 * P
18 azai 13 13 . 130 22 13 SLPOSEEZ-3L  SLPDEEE2-3LS1
3 023 0 13 13 10 120 22 13 SLPOSVE2-3L  SLPOGVE2-3LS1 =B " A
a 023 0 13 13 10 80 22 13 SLPOBE2-3L  SLPOBEZ2-3LS1 = , T
3 023 0 13 13 . 130 22 13 SLPOBEE2-3L SLPOBEEZ-3L$1 =] = L
it 2 023 0 13 13 10 120 22 13 SLPOSVEZ-3L  SLPOSVEZ-3LS1 % _ P
105 147 90 10 10 10 80 22 13 SLPO8E2-10.5L -
165 147 0 10 10 - 130 22 13 BLPOBEE2-10.5L =
105 147 0 10 10 10 120 22 13 SLPOBVE2-10.5L -
a 03 o 13 13 10 a0 22 13 SLP10E2-3L  SLP10EZ-3LS1 | Pro:
a 03 o0 13 13 10 130 22 13 SLP10EE2-3L  SLP10EEZ-3L81
3 0.3 0 13 13 10 120 22 13 SLP10VE2-3L SLP10VE2-3LS1 *Normal open,avallable body: brass, 88316
4 0.6 0 8 8 6 80 22 13  SLP10E2-4L SLP10E2-4LS1 * Multiple seals are available for different medium
4 0.6 0 8 8 6 130 22 13 SLP10EE2-4L SLP10EE2-4L81 * Wide size range from 1/8" to 2°, with both thread and flange connection
3 4 0.8 1] (] (] 6 120 22 13 SLP10VE2-4L SLP10VE2-4LS51 * Dlaphragm pliot sclenold valve, with lower working pressure
- 105 1.68 0 10 10 10 80 22 13 SBLP10EZ2-10.5L 3
105 1868 0 10 10 - 130 22 13 BLP1OEE2-10.5L a
105 1.88 0 10 10 10 120 22 13 BLP1OVE2-10.5L g | T ——
13 45 05 18 18 13 80 22 13 SLP1DE213L  SLP1DE2-13LS1
13 4.5 0.5 18 18 130 22 13 SLP10OEE2-13L SLP10EE2-13LS1 ®1-©2.5mm, G1/8",G1/4° ®©3-03mm, G1/8%,G1/4" big orifice
139 45 05 18 16 13 120 22 13 SLP1OVE2-13L SLP10VE2-13LS1 .
105 175 0 10 10 10 a0 22 13 SLP1SE2-10.5L E 68X48X112 — !
105 175 O 10 10 e 130 22 13 SLP15EE2-10.5L 2 B8X48X112 5 37 E‘ il '[IH:L
i 05 175 0 10 10 10 120 22 13 SLP1EVE2-10.5L - 68X48X112 ' A " i
' 13 45 05 18 18 13 a0 22 13 SLP{5E2-13L  SLP1SE2-13L81 66X48X112 3 :
13 45 05 18 16 130 22 13 SLP15EE2-13L SLP1SE2-13L51 66X48x112 : = ' 1 x ’_Ei
13 45 05 18 18 13 120 22 1% SLP15VE2-13L  SLP1SEz-13LS1 86X 48X112 ; ; . =
20 78 05 16 16 13 80 22 13 SLP-20E2 SLP-20E281 75X 58X 118 i e @ E@H’_ 21 T
34" 20 76 05 16 16 130 22 13  SLP-20EE2 SLP-20EE2S1 75X 58X 118 : ; A= %}’\
20 76 05 16 16 13 120 22 13  SLP-20VvE2  SLP-20VE281 75X58X118 .25 | .40 27 &ME A B NGO
25 12 05 18 18 13 80 22 13 SLP-25E2 SLP-25E281 B8XT0X 131
1 26 12 05 18 16 130 22 13  SLP-25EE2 SLP-25EE281 88X70%131
25 12 05 16 16 13 120 22 13  SLP-25VE2 SLP-25VE251 98X70X131
3 22 05 18 18 13 ] 22 13 SLP-35E2 SLP-35E281 131X98%X 148
114" 35 22 05 18 16 130 22 13  SLP-35EE2 SLP-35EE281 131X 96X 146
35 22 05 16 16 13 120 22 13  SLP-35VEZ SLP-35VE2S1 131X 86X 146 Frsssiirs differsnon(far) e Rowar
40 30 05 18 16 13 80 22 13  SLP-40E2 SLP-40E281 131X 96X 148 Portsize ov | emparature | A1 ¥ | 220NAE SOOIz
/2 40 3w 05 18 18 130 22 13  SLP-40EE2 SLP-40EE251 131X 86X 148 {c}] value pms;m Alr. Water. Hot | Lightoll ) DC
40 30 05 18 16 13 120 22 13  SLP-40VE2 SLP40VE281 131X 96X 148 Gas | water. Liquid | <20CST 24v RS Sginisssaienl
50 48 05 16 16 13 80 22 13 SLP-S0EZ SLP-50E281 165X 120X 167 1 0.04 0 30 a0 25 a0 SLPOSEZ-1LH SLPOBE2-1LS1H
2 50 48 05 16 16 130 22 13  SLP-50EE2 SLP-SOEE2$1 165X 120X 167
50 48 05 18 18 13 120 22 13  SLP-50VE2 SLP-50VE281 165X 120X 167 - ha & il il i i = B SRR, il e
Flangs' 25 12 05 18 16 13 80 22 13 - SLPFE2-25L51 134X 110X 160 1 004 0 30 30 25 120 22 13  BLPOBVEZ-1LH SLPOGVEZ-1LS1H
25 i2 0.5 18 18 130 22 13 - SLPFEE2-250L51 134x 110180 1.5 0.09 o 20 20 15 80 22 13 SLPOBE2-1.5LH SLPOSE2-1.5L51H
25 12 05 18 18 13 120 22 13 - SLPPFVE-25VLS1 134X 110X 160 1.5 0.09 0 20 20 . 130 22 13 SLPDBEE2-1.5LH  SLPOBEE2-1.5LS1H
3% 22 05 18 18 13 80 22 13 = SLPFE2-35L81 160X135X 175 i 1.5 0.08 0 20 20 15 120 22 13 SLPOGVEZ2-1.5LH SLPOEVE2-1.5L81H
32 ii g': :: :: - :22 :: :Z . gtsiﬁiigzt: :33?1322:;: B 25 02 o 15 15 12 80 22 13 SLPOSE2-2.5LH  SLPOSE2-2.5L81H
at 31 05 8 16 14 AN 55 i3 : SLREED a9y SaBociabatil 25 02 0 15 15 g 130 22 13 SLPOBEE2-2.5LH  SLPOSEE2-2.5LS1H
40 30 05 16 16 13 120 22 13 - SLPFVE2-40LS1 160X 145X 180 3 0.25 0 12 12 10 80 22 13 SLPOSE2-3LH SLPOBE2-3LS1H
50 48 05 18 18 13 80 22 13 = SLPFE2-50LS1 200X160X207 3 025 0 12 12 : 130 22 13  SLPOBEE2-3LH SLPOSEE2-3LS1H
50 48 05 18 16 130 22 13 - SLPFEE2-30L51 200x160x 207 3 025 0 12 12 10 120 22 13  SLPOSVE2-3LH SLPOBVEZ-3LS1H
50 48 05 18 18 13 120 22 13 - SLPFEE2-50LS1 200X180X207
[ [108]




4 HavKon”® TS HavKon”
FPRNEUMATIC PNEUMATIC
[ | | SLP Series 2/2 Solenoid Valve{Normal Open)
| speciication
wet
Port | orifics| cv Max.  [valw| 220VAC  50/80Hz Overall dimensicn
@) | M) |valus| rv Hot | Lightell tamp(?cr?tm De Length x Width x Height
. Gas |water. Liquld|<pocsT 24v BESEs Sainied st A X B X H{mm) Graphic Symbol
1 004 D ap a0 25 B8O 22 13 SLPOBEZ-1LH  SLPDBE2-1LS1H i
1 004 O a0 a0 5 130 22 13 SLPOSEE2-1LH SLPOBEE2-1LS1H < ¥ [ T
1 004 O 30 a0 25 120 22 13 SLPOBVE2-1LH SLPOBVEZ-LS1H 1 /=] L
15 009 © 20 20 15 B0 22 13 SLPOBE2-1.5LH SLPOBE2-1.5LS1H . :
i5 009 0 20 20 E 130 22 13 SLPOBEE2-1.SLH SLPOBEEZ2-1.5.81H oA -
e i5 009 0 20 20 15 120 22 13 SLPOSVE2-1.5LH SLPOBVEZ2-1.5.81H
' 25 02 o 15 15 12 80 22 13 SLPOBE2-2.5LH BLPOBE2-2.5L81H
25 02 0 15 15 = 130 22 13 SLPOSBEE2-2.5LH SLPOSEEZ25LS1H | Ordering Code
25 02 O 15 15 12 120 22 13 SLPO8VE2-2.5LH SLP0OBVEZ-25.S1H
3 025 0 12 12 10 RO 22 13 SLPOBE2-3LH  SLPOBE2-3LS1H _
3 025 D 12 12 = 130 22 13 SLPOSEE2-3LH SLPOBEEZ-3LS1H THP 06 B2 L] 2.5L S2 L] L]
3 025 O 12 12 10 120 22 13 SLPOSVE2-3LH SLPOBVEZ-USIH ‘ ‘ ‘
13 45 05 B 8 7 (] 33 32 SLP10E2-13LH SLP10E2-13LS1H BEX4BX 124
B 13 45 05 8 8 120 33 32 SLP10EE2-13LH SLP10EEZ-13LS1H BEX4BX 124 ;HPI g;g;;z_e 08: G14" g:_'}\%qi:w 30:' taf g;il_f.i;;(mml g::g:;::fiﬂl BCI:::]:L:;{:O Coll typa
13 45 05 B 8 7 120 33 32 SLP10VE2-13LH SLP1OVEZ-13LS1H E6X48X 124 e hGsh oo Cikcesnv m:n::’N'BR R TE Sy gansa " ee &:’:l':t:’r'“
13 4.5 0.5 B B T 80 33 32 SLP1SEZ2-13LH SLP1SEZ2-13L81H BEEX48X 124 20: Gy/4" 25:G1"° E3: AC380V T: Taflon 15L: 15. 52: 55304 H: Nermal open F:Flying leads
1" 19 45 05 B8 B 120 33 32 SLP1S5EE2-13LH SLP15EEZ-13LS1H BBX 48X 124 35: G1-1/4" E4: DC24v V:VITON 20L:20.0 | oo poalif
40: G1-1/2° ES: DC12V E: EPDM 25L:25.0 :
13 45 05 8 8 7 120 33 32 SLP1SVE2-13LH SLP1SVE2-13LS1H 68X 48X 124 50: G2 E6- AGIGY (NV.Eoriflce  35L-35.0 sama with
. 20 76 05 8 8 7 80 33 32  SLP-20E2H  SLP-20E251H 75X58X 130 25F: 1" Flange E7: AC24V < 055mm  40L:400 | Pertsize
£ 20 78 05 B B 120 33 32 SLP-20EE2H  SLP-20EE251H 75X 58X 130 igi”;‘z‘ l'::::g: ng gglg" opltional) 50L: 50.
20 78 05 8 8 7 120 33 32 SLP-20VE2H  SLP-20VE2S1H 75X58X 130 SOF: 2* Flange E10: DC3BY
2 12 0§ 8 8 7 B0 33 32  SLP-25E2H SLP-25E2S81H 98X 70X 143
Mg 25 12 0.5 -] ] 120 33 32 SLP-25EE2H SLP-25EE251H 98X 70X 143 * THF ssries,2 port,2 position, 1/8 port size, AC110V, NBR Seal, Orifice: 2. 5mm, Brass valve body, normal closs, DIN coll, modsl:THPOSE1-2.5L
25 12 0.5 8 8 7 120 33 32 SLP-25VE2H SLP-28VE2S81H BEXTOX 143 *THP serles,2 port,2 position, 3/8" port slza, AC220V, teflon Seal, Oriflce: 15mm, 55304 valve body, normal opan,flying leads coll,
as 22 05 8 8 7 B0 33 32  SLP-35E2H SLP-35E2S81H 131X 96X 158 model: THP10TE2-15L82HF
114 35 22 05 8 8 120 33 832 SLP-35EE2H  SLP-35EE2S1H 131X 96X 158
3 22 05 8 8 7 120 33 32 SLP-35VE2H  SLP-35VE281H 131X 86X 158
40 30 05 8 8 7 80 33 32  SLP-40E2H SLP-40E281H 131X 06X 158 I
142" 40 30 05 8 8 120 33 32 SLP-OEE2H  SLP-40EE281H 131X08X 158 * Normal Close, available body: brass,$§304, $8318
4 30 05 8 B 7 120 33 32 SLP-40VE2H  SLP-40VE2S1H 131X 86X 158 * Multiple seals are avallable for different medium
560 48 05 8 S 7 80 33 32  SLP-50E2H SLP-50E251H 165X 120X 178 * Wide slze range from 1/8° to 2"
56 48 05 8 B 120 33 32 SLP-50EE2H  SLP-50EE2S1H 185X 120X 179 “DiN styls/ flying leeds coil; threadi/ fiangs connaotion
50 44 0.5 8 8 i 1 33 32 SLP-S0VEzH SLP-50VE2S1H edstal it * Plston pliot solenold valve with high working pressure and temperature
26 12 05 8 8 7 BO 33 a2 SLPFE2-26L81H 134X 110X 172
25 12 05 8 8 120 33 a2 SLPFEE2-25L81H 134X 110X 172
25 12 05 8 8 7 120 33 3z SLPFVEZ-25LS1H 134X 110X172 | Dverall Dimenslon lm
3 22 05 8 8 7 BO 33 3z SLPFEZ-35LS1H 160X 135X 187
3 22 05 8 8 120 33 32 SLPFEEZ-35LS1H 160X 135X 187 .
3 22 05 & 8 7 120 33 32 SLPFVEZ-35L81H 160X 135X 187 DI s Wier
4 30 05 8 8 7 80 33 32 SLFFEZ-40LS1H 160X 145% 192 E £ 3000
40 30 05 8 8 120 33 32 SLPFEE2-40LS1H 160X 145X 182 w 69 =
40 30 05 8 8 7 120 33 32 SLPFVE2-40LS1H 160X 145X 192 on —
50 48 05 8 B 7 80 33 a2 SLPFE2-50LS1H 200X 160%218 [L‘Jl 1500 —
56 48 05 8 8 120 33 32 SLPFEEZ-50LS1H 200X 180X 218 . = 1000 L] —
50 48 05 8 8 7 120 33 32 SLPFVE2-50LS1H 200X 180X218 é @_ o 500 | e | [ i M e
AT g 200225050 fﬁif = ]
7 g nEs o
[ ™S
g B 0.5 2 4 8 8 19 13 18 20 25
A - Prassure Bar




®
HavKon™

PNEUMATIC

HavKon®

PNEUMATIC

H4) =14

il
[ Spechiication

THP Series 2/2 Solenoid Valve{Normal Close)

Prassura dlffarant:e(Bar) Modsl
o Max worklng rsasiive Max. Powar 2OO0VAC  50/60Hz Overall dimension Graphle Symbal
S Orifica | oV temparature - A
mm} | valug (C) |
) | ¢ Lengthx Width xHelght =
Pm Brass Stainless steel A xBxH{mm) - k]
P
25 023 0 s 8 8 8 6 6 10 180 THPOBT-2.5L " 48X 25X 85.5
i 25 023 0 131313 13 7 7 10 110 22 13 THPOBV-2.5L % ABX25X85.5
18"
45 06 0 74 T 4 4 4 7 165 22 13 THPOGT-4.5L - 58X 25X85.5
45 08 0 T4 7 4 4 4 7 110 22 13 THPOSV4.5L - 58X 25X85.5
25 028 0 74 7 4 4 4 10 180 22 13 THPOBT2-2.5L Z 48X 25X 85.5
U 25 023 © 131313 4 7 7 A0 10 22 13 THPOSV-2.5L = 48X 25%85.5 || Overail Dimensions
. | 45 08 0 74 7 4 4 4 7 165 22 13 THPOST-4.5L - 58X 25X 85.5
z * Normal open,avallable body: brass, 58304, 88316 I P
o | s 0 e e - <218 EHERB AL 2ERERIS S * Multiple seals are avallable for diffarent medlum :
| 15 45 05 2520 25 20 20 20 110 33 32 THPOT-15L  THP10T-15L52 75X52X 129 * Wide size range from 1/8" to 2"
- GyB” 10 * DIN style / flying leads coil, thread / flange connection
16 45 05 2520 25 20 20 20 185 30 26 THP{0T-16LF THP10T-16LS2F 76X52X128 * Piston pilot solenoid valve with high working pressure
ey 15 45 05 252025 20 20 20 110 33 32 THP-1sT THP-15T82 75%52%129 Andismparaiure
15 45 05 252025 20 20 20 10 185 30 25  THP-15TF THP-15TS2F 75%52% 129
, 20 90 05 2520 25 20 20 20 10 aa 32 THP-20T THP-20TS2 85X60X 141
| 20 90 05 252025 20 20 20 19 185 30 25  THP-20TF THP-20TS2F 85X60X 141
o 25 13 05 252025 20 20 20 10 a3 32 THP-25T THP-25TS2 100X 70X 148
- 25 13 05 2520 25 20 20 20 @ 185 30 25  THP-25TF THP-25TS2F 100X 70% 148 E)\ r_G
Grqe 3° 2 05 252025 20 20 20 10 10 33 32 THP-36T THP-35TS2 120X 90% 168 V
35 28 05 2520 25 20 20 20 185 30 25  THP-35TF THP-35TS2F 120X 90X 188 | specification
ol ¥ 28 05 252025 20 20 20 10 10 33 32 THP40T-35L  THP40T-35LS2 120X90X188 e ———— " Power | i R
8 28 05 2520 25 20 20 20 185 30 25 THP40T-35LF THP40T-35L82F 120X90%168 Port |Orifice| o [ Mexworkingpressure | Mﬂ-t valw | 220VAC  50/60Hz ¥arall dimanalon
. amperaiure
e | 50 48 05 2520 25 20 20 20 110 33 32 . THP-50TS2 150X 110X 180 SZO | (mm) |value | sira | AIfs | Water Lol o () B Stainlass ates | LONGUL U
Gz 10 (@) Gas Lf('qu‘ * l<20csT| oA 24V it 304 Axhx hg(mm)
50 48 0.5 2520 25 20 20 20 185 30 25 S THP-50TS2F 150X 110X 180 !
o 8 8 8 130 32 THP10T-15LH THP10T-15LS2H 75X52X147
25 13 0.5 25200 25 20 20 20 110 33 32 % THFPFT-25L52 134X 110185 ' 15 4.5 0.5 s 8 & 8 130 33 32 THP1OT-15LHF THP10T-15LS2HF TEX52X 147
25 13 05 2520 25 20 20 20 1° 185 30 25 = THPFT-25L52F 134X 110X 185 qjo- NSRS IS 8 8 8 8 130 33 52  THP-15TH THP-15TS2H 75X52x 147
TR 46 p—— N — P —— 15 45 o5 8 8 8 8 130 33 32  THP-15THF THP-15TS2HF 75X52% 147
G114 - -35L8 X138 | 2 80 05 8 8 8 130 33 32  THP-20TH THP-20TS2H 85X60X 158
Flangs 35 26 05 2520 25 20 20 20 10 185 an 25 B THPFT-35L32F 160X 135X200 26 8.0 05 8 8 8 8 130 33 32 THP-20T2HF THP-20TS2HF 85X 60X 159
Gla 35 28 05 2620 25 20 20 20 10 a3 32 - THPFT-40LS2 180X 145X 205 go IEEERESR O B e 2 159 ol AN (T 2 i VB2t TR tRETNt0n
Flange - . 25 13 o5 @ 8 8 8 130 33 32  THP-25THF THP-25TS2HF 100X 70X 166
35 26 05 2520 25 20 20 20 185 ap 25 THPFT-40LS2F 160X 145X 205 L % 26 o5 6 2 & & 555 = R ae T SO EE
@z 59 45 05 2520 25 20 20 20 10 110 3as 32 - THPFT-50L82 200X 156X 250 35 26 05 B B B 6 130 33 82  THP-35THF THP-35TS2HF 120X 90X 186
Flangs : 5 xa0x
50 45 05 2520 25 20 20 20 185 30 25 - THPFT-50LS2F 200X156X 250 1 252808 B . - . it il il WA B s ES el T
38 26 05 6 ] 6 6 130 33 32 THP4OT-35LHF THP4OT-35LS2HF 120X 90X188
= 25 25 05 8 8 8 8 130 33 322 . THP-25FE2TS2H 134X 110X200
Flange 55 13 o5 &8 ] 8 8 130 a3 32 - THP-25FE2TS2HF 134X 110X200
14/4" 3 26 05 6 6 8 B 130 33 32 . THP-35FE2TS2H  160X134%215
Flange 15 26 05 @ 8 8 8 130 a3 32 ; THP-35FE2TS2HF  180X134X215
/s 40 26 05 6 ] 6 ] 130 33 22 . THP-40FE2TS2H  160X145X200
Flange 4, 23 o8 8 8 8 8 130 33 32 - THP-40FE2TS2HF  160X145X200




-5 |HAv Kon®

PNEUMATIC

|| | XMFZ Serles Right Angle Pulse Valve

| spectication 5

X MF — Z — 25 — P EX

XCPC Product Fulse Valve Typa Code Oriflce S8ize Thead Type Wiring Form
Z:Solencld Control Blank:Normal  Blank:Normal Type
Q:PneumatiC Control Thread Type EX:Ex-proof type
AThread Type+
Inasrt pipe
P:Thread Type
8:Double Diaphragms
JiThread Type

m Speclality (Evonamy Tyhe)

Adopt intemational advanced technology.

Usad for dust mmover.

Kay paris all made of Imported materials.

Preurnatic control type,solenoid control type,ex-proof solencid control type for choose.
Famale thread connection port,sasy to be mounted.

Woring Prossurs

atively Humicity

0.3~0.6MPa

H-65T

<B5%

Cloan Alr

ACTIOVIAC220V/DC24Y
Ovar 1000k Cycies

20 425 & 25 &35 G40 450 62 +76 4100
G334 a1" a1" G112 G1'z" @Gz2" Gl Gy #100

7

145 105
- 825
$50 5

| Modsl |XMF-2-20A| XMF-Z-20P| XMF-2-20 | XMF-Z:25 | XMF-Z-25P | XMF -Z-35P | XMF-Z-40S | XMF-2-508 XMFZ 625 | XMF-Z-76S DMF-2-1008
A 173 124 10 110 124 142 168 202 245 368.5

222
890.5 105 121 132 210 210 2305 2865
75 825 % 5 - 2 5 s
- = 112 $137 b 185 $185 $200 o221

5 HavKon®

PNEUMATIC

| | XMFY Series In Line Pulse Valve

| ordering Code

X MF — Y — 50 — § EX
XCPC Product Pulse JetValve Typs Cods  Orifice  Double Diaph Wiring Form
Y:Solenold Control ragms Blank:Normal Type
Q:PneumatiC Control EX:Ex-proof Type
m Speciality
Adopt International advanced technology
Used for dust remover

Key parts all made of Imported materials
Pnaumatic control type.solencid control type.ex-proof solenoid control type for choose

I Specification Directing mountad fo gas bag better hlowing effectand small loss of air scurce.
Working Pressure 0.3~0.6MP=a
Ambient Temperature 5-55T
Relatively Humidity <85%
Working Med lum Claan Air
Voltage ACTMOVIAC220W/DC24V
Life sycies e
Orifice(mm} &50 b82 ¢78
‘Gonnection Port v62 #80 »90

I NSNS ON o

Hd | H3

| Model | A1 | A2 | A3 | B1 | B2 [ B3 | B4 | HI | H2 | H3 | H4 |
100 25 Ey

&l
XMF-Y-50S

XMF-Y-765

$84.5 $78.5 b118 84115 200 ¢ 180 168 187
$80 b 83.5 4145 5411 & 226 5204 b 185 187 107 345 35
$90 [k: L] &1 8011 &248 & 227 200 205 113 27 34




IS |HAv Kon®

PNEUMATIC

|| | XMF Series Insert Pipe Type Pulse Valve
|| Ordering Code &
X MF — 25 — DD EX

XCPC Product Pulse Jet Valve Orifice Insart Plpe Type Wiring Form
Biank:Nomnal Type
EX:Ex-proof Type

m Speciality
Adopt International advanced tachnology
Used for dust remover
Kay parts all made of imported materials

Pneumatic contral type.solenoid control type,ex-proof solencid control type for choose.

Inse rt plpe style,much sasler to be mountad.

| spocification 5
Model | xMF28DD | XM4@D

Working Pressum 0.3~0.6MPa
Ralatlvaly Humldlty <B§%
N 1! Clean Air
AC1OWACZZIVIDC24V
Over One Million Cydes
425 b 40
$35 50

A

|

_L________
—
| S—

__-___

XMF-25DD

237 178.5 - &126

=|5|HAavKon ®

PNELUMATIC

Bevel Valve

XCP — 15 ]
XCP Series Plastic Port Size Type
Bavel Valve 15mm BC:8ingle Actlon Normal Close
20mm DO:Double Action Normal Open
25mm
32mm
40mm
S0mm
A A A
. oLy T
Graphle Symbol —— la - —
P == P = —;
Double-Acting Normally Closed Normally Open
| | Speciication
Orifice Size -_““-_-_“
Port size Gz Gy4" G1-1/4" G112
KV Value{m’/h) 42 8 19 275 42 55
Ma)_(._quklng__lPressu_l‘eh{_M _pa)__ 0~1.8 0~1.1 0~1.1 0-1.5 0~1.25 1.0
fin.Pliot Pressure(Mpa) 0.39 0.39 042 0.5 .44 A
Polyamide 50 50 53 63 63 80
Medium Temperature -10~+180°C
Flow Direction A(Flow Direction Below The Seat) or B{Flow Direcion above The Seat)

| Overail Dimensions 8

i h v Anpe
A/H Jﬂ ‘é | Flow AspaotB

NHOTISak

Orifice| port abor Slze(«b mm}

S e

15 Gy 112 137

20 G 50 . 95 178 B 12 84 - 44 . 112 B 145 - 35 23
25 GI" &3 : 105 212 p 14 80 p 52 . 120 p 173 . a0 41
32 G4 e 100 118 238 278 16 &0 140 52 70 120 138 189 950 35 55
40 G111 83 100 1230 230 270 18 80 140 52 70 120 128 189 250 35 55
50 G2 80 125 150 238 300 20 100 170 52 83 120 1851 250 280 3 70




IS HavKon®

PNEUMATIC

{ XC — 10 — 40 — QB
\ -
XC Serles Port Size Actoator Slze Type
W Stainless Steel 10:Gasg” 40:40mm 8C:Single Actlon
Bavel Valve 152" 50:50mm Normal Closs
20:G3/4" 63:53mm 50:5Ingle Actlon
25617 80:80mm Normal Open
A 32G1-14° 100:100mm DC:Doubla Action
3 40:G1-112" Normal Closa
s0:G2° DF:Double Action
“‘“'*-.“__! ¥ Fres Instaniistion
Snocitiontion-il}
XC10-50SG/SO/DC/DF XC10-50SC/SO/DC/DF
Port 5|ze DN10-DNS0 Annlisaie meditin Water,liguld neutral gas water steam

hread GG vl l slight corrosive gas and liquid
Wolded DIN11850 2DIN11850 31502037

Temperature range PTFE-10C to +180°C
Valve bodv GFaM Amblent femperature -10°C f0 +60C
Actyator CF8 max. 800mm'/s
Sweat seals PTFE Any pesition
Stemn seals PTFEFKM Alr or neutral gas
Piston seals FKM/NBR 0.3-1M

| Owerall Dimenslons

Q
b o
RN 50°
E sw — /r;'
p # =E
b 0]
| P !
LB
L LA
Al A2
Specification | Actuator Welded
(""") ﬂmmmmmmm
DN15 Gie"  Gi2” 213 285
DNEB 50 60 35 G1/8" GI4° 13 137 758 16 82 26.9 13 136 108 30 345
DN25 50 60 35 Gifs" G1° 140 148 80 17 38.5 337 140 180 112 32 3.85
3 a3 T 43 GI&° G1° 165 174 80 17 3.5 3ar 185 175 12 32 3.85
63 7T 43 G118 G110 175 188 11§ 21 50 aa 175 193 138 40 3.36
53 T 43 Gi/8" G112 178 180 116 21 553 42 178 193 148 40 32
63 T 43 Gim” G2 184 203 138 22 T0 54 184 206 160 45 2.7
a0 88 52 GI14° Gz2f 195 218 138 2 70 &4 195 220 160 45 2.7

5 |Hav Kon®

PNEUMATIC

[ | | XQ22HD Series (Right angle valve)

X @ 2 HWb — OO0 — 0O — @O

XCPC Rightangle Two way Aircontrol Connaction slze S:Single acling type Material

Product valve code two positon llquid valve 15:G1/2" 20:G34" D:Double acting typa Blank: Normal type
25:G1"  40:G1'2" K:Normally opsn wlgh temperature
50:G2"

Classlcal deslgn, durabla Alr control daeslgn, anergy saving and environmental protection Blg flow rate, safety and Preclslon

Can work at low pressure, smartness for on and off, good seal performance. There are two kinds of structure single acting type and double

acting type.
Application: food, medicine, industry, abstersion, landificafion, printing, ste.

Remark: Normally open: Flow comes under the plston seal, agalnst amow on body.

| Spacification
| Model | Orffice | Media | Working pressu Kv value <m’fk)
XQ22HD-15  13mm
piston | XQ2ZHD-20 18mm Compress 0.5-60C -
Seal XQ22HD-25 22mm Air Water 0~0.8MPa 0.4~0.8MPa 0.5-150°C 10
XQ22HD40  35mm oll (High tetmp) 2%
XQ22HD-50 45mm 40
The front cover | — Piston stem
':“_" e
— + |: Seal
ValveBody ||

2.M c
--__
XQ22HD-15 28
XQ22HD-20 54 32
xazan-zs 66 34
! . 2 8o 53
- /M1 xazzHD-eso 105 66
Ll L[ -s--:--_
XQ22HD-15 Gl
2y ?§ XQ22HD-20 o 107 a1
- - &% XQ22HD-25 a1 118 Gi/g"
XQ22HD-40 G1-1/2" 162 Gi/e"
D B XQ22HD-50 G1a" 180 G1/4"




® =
=15 HavKon =S HavKon®
B INEE MIVAENT PNEUMATIC
|| | HLP Series Pressure Controller || Special Solenocid Vaive
[Descriptions Spedfcaln “Model | Procuct Speaitcaon
For use with fluorinated refrigerants as well as with a air and water. : mmm E:hﬂn:::az%ﬁmﬁx
' I- : {Allowable Fluid Temp.: -10'C~+1107T) o Fluid Air{io be filsrad by 401 fiter slement} “Normal Close (212,362
s, Type {2/2,32)
L U Varlous contact functlons avallable, 'm'm“ 0.95-1.0MPa Orifice:1.2mm
&, W range : XR2 Connectlon port:G1/8"
Y - With SPDT contact mechanism, AVXC-08 _Flfmﬂfmﬁ-‘liﬂl‘a Valve Warking pressure:0~0.8Mpa
é = Renovated micro-switch stucture ensures the rellable switch function, Volinge ranga-10%~+10% Group Working temparaturs:-20°C~80C
: Range:DCE8~220V,
o A =5 Y Manual-centrolled and no uss of other instruments to have a function test, Wmﬂfﬁm&w Voitage “%'&mmiw%
r. = ét Flexible mounting plate suits various kinds of application. Mac faquency:5 cydec Matarlal of Body:Aluminum alloy
= i : Qur products can substitute for congeneric import products, such as Min actvating ime:0.05 secretary Seal:NBR
9 ‘ JOHNSON., DANFOSS, SAGINOMIYA. 35, RANCO and sc an Flukd medium:Compress Alr Med|umeWatar Staam
Pattam:Direct acting DL-6A Pattam:Direct acting
XCZ- Typaanmﬂ Cloga, Two-position Threewsy  DL-8B TypeNormial Close
110-10-A Orifice:0.7mm DL-6K - Orifionc2 Smm{DL-GADL 4K
Iilr.-ltlan = Connsciion portMS DL Orifice Connection portG1/4™.G1/8"
Small Working pressure:0-0.8Mpa % Working pressure:0~0.8Mpa
: Adjustable -
Ranga(bar) Differantial({bar} Factory Setting{bar) Valve Warking temparature:0-~80C Ambient temperaiure:0. 1~180°C
Madel Max. Bsllows Press{bar) Group Voltage Range:DC12V-DC24V, +10%  Steam Voltage:AC24 ACTIOV ACZ20-240V,
-m_-zmm‘:— Power&aw Solencid SOz 10%
HLP503 -D.? 3 0.2 2 1 16.5 Material of Body:Aluminum Valve Material of Body:Stalniess SteeH Brass
HLP508 07 8 0.8 4 3 2 185 i i
HLPsnsu 0.7 & Duplicats voltage disparity=c1 3 Menual Reset 16.5 ::m :‘Niumr;mﬁ
HLP110 1 10 1 3 6 5 16.5 \ " W’ ’“‘mmm“&w
e = 18 ! 4 10 ° ¥ Port size: M10X 1,G1/8 xE114 2L ket 3hoss
: S : porthi M5(Female)
HLP520 5 24 Z 5 " 13 35 Q22XD-2L Use ;?aessura:n.1 5 to 0.8Mpa Medical Working preuura:ﬂ-O.BMpa)nd’
HLP530D 5 30 5 10 20 15 a5 QzaxD-2L Apply Temperaturs: 5T ~50C 50\’!:'"9"1 Working temperature:0~80°C
HLP530 8 30 Fixed3-5 20 16-17 35 ve e - i &m&%AC11WmM5OHz.
HLP530M B a0 Duplicate voltage disparity<4 20 Manugl Resat a5 = Meterdal ‘;f Body:Brass
Saal:NBR,Si
Range(bar} Differential (bar) Factory Setting(bar) Max. Bellows Fluld medium:Petrol and solvents Worldng Medlum:Alr
Model | ProesSide e e e sl Gr s s oy VIZF- v of Fow Rae etz
_ Low Side -0.7 16.5 F17 Petrol Orifica: # 1.Bmm, # 3mm 15/10~ 3A16mmi25mm
HLP83% TN g a0 Fixed 36 7 15 35 Solendld Connection port: 44 hase 25120 Port Skza,G1/2° / G3/8",G1" / G3/4”,
9 aln Working praasure:0~0.35Mpa SAKZF- Working-pressure:0~1.0MPa
Low Side -0.7 & 06 4 3 2 165 Valve Working tamperature:-40C~80°C 15/10~ Max. Pressura Resistance:1.5MPa
HLP830HM Duplicate valtage Manual Voltage Range:DC12V DG24V 90 Voltag_e Ranga:-10%~_+10%
. . 3 Material of -Al
High Side 8 30 disparity<d 20 Reset 35 SM:;G‘I'\I’TI ToofNBody'POM Body-Aluminum
ﬂ Duplicate voltage Marual
- Low Side -0.7 ] disparity<4 3 Raseat 16.5 A
HLP830HLM . valva Type:2/2 Guide Type Solencld Medium Temporaure:0-100°C
Duplicats valtags Mdbngl Valve; Nomal Clogs Type Ervironment Tomperaiurs:0-£0C
Hign Sids 2 B disparity<4 20 Resst 35 Materlal of Valve Body:Brass A meb A i
xC Seal MaterIaI:E.F'DM RSC-1 . Pressure:Normally close 0~8bar
E 21108 Jaint Plpe Bore: 26 RSC-2 - Boby material:PP 1/8” black 174" white
Bore:11 * Sealing materal-EPDM
| stight Moring Swith's Fluld Temporaturs: -40°C~120C £’ Heat resistance grade:class B 130°C
_ﬁ';“,é"g?c"‘ Temparature: R Weter D ey CONEnUOLS Sarvios:100%
ia =
Solencid Veiva Gifs~giza® ' Longthi30em(1Z)
AGC 125|AC 125 Working Medium:Air o Working Madium:Air
Working pregsure Range: Working pregsure Range:
0.15~0.8MPa 0.15~0.9MPa
) T Sios L T e eaesToe
Ll Maximum Load s o2 SH-4028 Postton Number: SF-4025 il Postion Number:
Twinking Electre Cumrent 288 72 SH-4035 Two-posliion Flve-way SF-4035 e Two-position Five-way
Blank:immobility T Blankclmmobility Type
S:Spring RssaltlyTypyga 5:Spring Raoa}y Ty”??




® G
=5 |HavKon -l |HavKon -
PNEUMATIC FPNEUMATIC
|| | Solenoid Valve Accessories | | | Solenocid Valve Accessories
| Model | Product |  Specificsion [ Model | Product |  Specification | Model | Product | Spedcificsion | Model | Product | Specification
XCE01 3/2 Oftan used for 4v110 otc  XC803 32 2V,2P gﬂlmﬂ“-helshh ﬂlmm: i
- 1 L r y " i powear
XCB02 2/2 ~] and smallsized specla  XCB04 2/2 Ateaosginbe s 08 Serles Soxbattin MW Coll and Voltags
{Armature) : eleciromagetiem valves.  (Armature) ) Coil AC 8VA 12220V AG BVA 12220V
DG 6 W 6v-110V DC 6W 6V-110V
m1;|~:|
o2+
XCB0b 3/2 Oftan used for matching DIN Profscion ClossdPESTRIELS Stuaton ofEC) PU220 PU220-03A PLI225 PU225-03A
XC606 2/2 smal-aized 32and 22 43650A Pisking VoNege AGE0 DGO Series g Serles gl
(Armature) alactromagnetism valves. (Gnmsuhs} :&umm::i&mf Diaphragm PUZ20-08A Diaphragm PLU225-08A
Fliing Sorew: M3 X28
Distanca:8.4mm
Fom:2+1 GND W-160-15
= _ Prataction Claan P85 00-20
DIN " ‘ . (30629 Stuation of IEC) 2w %350_25 2L{us) §t';§&;§" 1520
438508 = - Workdry Vst AC250V DCS00V Series DW-350-35 Series :
R & Nid S rai AR ; 2L-350-35/40
( ) w ContactReslsanos <50 Brepiragm 2W-400-40 Piston 250050
Max Conductor Section:3 %0.76mm* 2W-500-50
Fiting ScrmarM3 X 25
Cail apertu re,Height: Coil apertu re,Haight:
28X $9X295
Coll sl Coll E' s | | | Explosion-proof Coil& Timmer
AC BVA 12220V AC BVA 12v-220V
BC SW G110V DO SWav-t10v Overall Dimension
Normal Voitage ACZ20V ACT0VAV24V,DC24V,DV12 Other Voitage can be customizd
2w : g‘:‘!“‘xg?‘m“-h"'ﬂht W g"‘“saxl’;;“ re,Helght: RSt NG Normal Powsr AC5.5VA,DCSW Other Power can be customizd
{1]8}] - [{1]55] e :
Series Vs Coil v 4 s i Pt Exploslon-proaf level Exm [/T T4
Coil AC 28VA 24-380V up-15 e S AC 18VA 24V£380V 0080,0981
UD-08 DC 12 W 8-380V == DC 18W 12V-380V Connection Type Connector Type
Applicablity EX-proof Sofencld Valve
- Cail Aperture,height: W ¢ Codl Aparturs, height: Normal Voltage ACZ2OV ACTIOV,A/24V,DC24V,DV 2V Other Voltage can be customizd
2w = ®16x17 (2L.Us) - ©23X55
(W) Applicable Power Large o p Applicable Power Product No Normal Power ACS.5VA,DCSW Other Power can be customizd
o A 26VA54.380 ‘“"SL':."’ - AC 28V 54,300V i Explosion-proof level Bxm /1 T4
DC 24 W 24-380V US-H DC 24 W 24-380V R 133?9
’ Connection Type Connector Typa Cable
Supply voltag _
Large D22 ©16X38
Aperture Applicable Power AB410A Applicable Power Supply voliage 24,240V ACDC-50H2/60Hz for"CE"marked Timer
Plastic And Voltage: And Voltage: Absorption curmant 4 mA max
Capsulation AC 28VA 24-380V AC 28VA 24-380V Operationg tamperature -10T+50°C
Coll DC 24 W 24-380V DC 18 W 12-220V Class protection IPE5-ENE0S529
Switch holding voltage 400V Max
Switch capacity 1A
Valver Inrush current 10A for 10ms
i ight: Coll aps riu re,Helght: Timmer-1 Duty cycle 100% ED
PU go‘;!‘mm,haimt VX & 11 : 35 - Switch Lifs axio*
Appilcabls Power Applicable power Tima ON Form 0.5 to 10s.
Series And Voltage: Serles ard Viliags Tima OFF Form 0.5 to 458.
Coil % }gw\ mw Cail AC 12VA 12\L380V micaahl:rs - Yell% LED
5 - BV-3RDV Nl OVBmoe
e Termination DIN43650A




